

# Victorian regional bus fares supplement



Effective 1 January 2026



Department  
of Transport  
and Planning



Authorised and published by  
Head, Transport for Victoria,  
1 Spring Street, Melbourne VIC 3000.

© Head, Transport for Victoria 2025



This work, The Regional Bus Fares Supplement, is licensed under a Creative Commons Attribution 4.0 licence <https://creativecommons.org/licenses/by-nc/4.0/>. Except for any logos, emblems, trademarks, artwork and photography you may use the work for non-commercial purposes under that licence, on the condition that you credit Head, Transport for Victoria as copyright owner, indicate if changes were made and comply with the other licence terms.

## Contents

Locating fares	7
<b>Chapter 1: Introduction</b>	8
Introduction	9
<b>Chapter 2: Ticket conditions</b>	10
Ticket conditions	11
Single	11
2 hour	11
Return	11
Daily	11
Weekly	11
Weekend cap	11
Monthly	11
Student passes	11
Conveyance Allowance Program	11
<b>Chapter 3: Student passes and concession fares on regional buses</b>	12
Student passes, free travel and Youth myki	13
Term passes	14
Barwon region	14
Colac to Warriorn school fares	14
Gippsland region	15
Latrobe Valley school fares	15
Grampians region	15
Hume region	16
Mount Beauty – Albury/Wodonga service	16
Loddon Mallee region	17
Outer metropolitan region	17
Concession fares on school services	18
Gippsland region	18
Hume region	18
Baranduda and Bandiana schools	18
Albury/Wodonga schools	18
Loddon Mallee region	19
Outer metropolitan region	19
<b>Chapter 4: Town bus fares</b>	20
Regional city and town service fares – Category A	21
Regional city and town service fares – Category B	22
Geelong transit and Bellarine transit fares	22
Flexi Ride	23
Woodend Flexi Ride	23
Yarrawonga Flexi Ride	23

<b>Chapter 5: Intertown fares</b>	24
Barwon region (south west) fare tables	25
Casterton – Hamilton Town School service	25
Colac – Apollo Bay (summer service)	26
Colac – Geelong	28
Colac – Lorne (summer service)	29
Geelong – Bannockburn	29
Inverleigh – Geelong (myki fares)	30
Mortlake – Warrnambool	31
Penshurst – Hamilton	32
Portland – Hamilton	33
Port Fairy – Warrnambool	34
Terang – Warrnambool (summer school holidays)	35
Timboon – Cobden – Camperdown	38
Timboon – Warrnambool	39
Warrion – Colac	42
Warrnambool – Allansford/Kraft	43
Warrnambool – Ararat	44
Grampians region (west) fare tables	47
Ararat – Ararat Prison	47
Ararat – Maryborough	48
Ballarat – Creswick – Smeaton (Ballarat transit school service)	49
Ballarat – Maryborough via Clunes	49
Birchip – Warracknabeal – Horsham	51
Daylesford – Hepburn Springs	52
Hepburn – Creswick via Daylesford	52
Hopetoun – Rainbow – Horsham	54
Kaniva – Horsham	56
Lake Bolac – Ararat	57
Maryborough – Avoca – Lexington – Ballarat	58
Maryborough – Bendigo	59
Mildura – Horsham	61
Mount Egerton – Ballan (myki fares)	62
Mount Egerton – Ballarat	64
Murtoa – Rupanyup	66
Naracoorte – Horsham	66
Old Hepburn – Ballan (includes Daylesford – Ballan) (myki fares)	69
Rokewood – Ballarat	74
Snake Valley – Ballarat	75
St Arnaud – Stawell via Ararat	76
St Arnaud – Stawell via Marnoo	80
Loddon Mallee (north) fare tables	81
Boort – Bendigo	81
Bendigo – Shepparton	83
Castlemaine – Chewton – Taradale	88
Castlemaine – Harcourt	88
Donald – Horsham	88
Heathcote – Bendigo	90
Kerang – Echuca	91
Kyneton – Riddells Creek – Sunbury	92

Kyneton – Clarkefield – Sunbury	94
Kyneton – Riddells Creek – Gisborne	96
Lockington – Rochester	98
Maldon – Castlemaine – Wesley Hill	99
Malmsbury – Kyneton	99
Ouyen – Sea Lake	99
Ouyen – Pinnaroo	100
Robinvale – Mildura	101
Sea Lake – Ouyen – Mildura	101
Sea Lake – Swan Hill	101
Tooleybuc – Swan Hill	102
Ultima – Lake Boga – Swan Hill	103
Woodend – Kyneton	103
Woomelang – Bendigo	104
Wycheproof – Swan Hill	106
Hume (north east) fare tables	107
Alexandra – Seymour	107
Alexandra – Marysville	108
Beechworth – Stanley (school service)	108
Beechworth – Wooragee – Yackandandah (school service)	109
Beechworth – Yackandandah – Albury (school service)	110
Beechworth – Mount Pilot (school service)	110
Corowa – Albury	111
Corryong – Albury (via Walwa)	113
Eildon – Alexandra	114
Eildon – Melbourne (myki fares)	114
Euroa – Shepparton	119
Mount Beauty – Albury	123
Mulwala – Yarrawonga – Wangaratta	124
Myrtleford – Yackandandah – Albury (school service)	125
Puckapunyal – Seymour (includes school service)	126
Tallangatta – Albury	126
Town bus fares for travel between Wallan, Hidden Valley and Beveridge	126
Wallan – Kilmore (school service)	127
Wangaratta – Bright	127
Wangaratta – Corowa (school service)	128
Wangaratta – Glenrowan	129
Whitfield – Wangaratta (King Valley – Wangaratta)	129
Whittlesea – Wallan	130
Woori Yallock – Warburton (school service) (myki fares)	133
Gippsland (east) fare tables	134
Bairnsdale – Lakes Entrance – Lake Tyers	134
Bairnsdale – Omeo	136
Bairnsdale – Sale	138
Boolarra – Churchill – Morwell (myki fares)	139
Coronet Bay – Corinella – Tenby Point – Grantville	140
Coronet Bay – Wonthaggi	140
Cowes – Wonthaggi	143
Cowes – Frankston	148

Garfield – Traralgon	149
Gelantipy – Bairnsdale (includes Nowa Nowa – Bairnsdale)	158
Genoa – Mallacoota	163
Koo Wee Rup – Pakenham/Pakenham South	163
Lakes Entrance – Bairnsdale (includes Marlo – Orbost – Lakes Entrance)	163
Lakes Entrance – Johnsonville (school service)	170
Moe – Morwell – Traralgon (myki fares)	171
Moe – Traralgon via Yallourn North (myki fares)	172
Noojee – Warragul	173
Omeo – Bright	176
Paynesville – Bairnsdale	177
Poowong – Warragul	177
Sale – Loch Sport	179
Sale – Maffra – Tyers – Traralgon	180
Sale – Seaspray	182
Sale – Stratford	182
San Remo – Cowes (flat fee service)	183
Traralgon – Churchill (includes Churchill to Boolarra) (myki fares)	184
Traralgon South – Traralgon (myki fares)	185
Tyers – Traralgon (myki fares)	186
Wonthaggi – Cape Patterson – Inverloch – Leongatha (school service)	186
Wonthaggi Town Service (Cape Paterson)	186
Wonthaggi – Inverloch – Leongatha	187
Wonthaggi – Traralgon (includes Inverloch – Leongatha, Wonthaggi – Inverloch and Wonthaggi – Leongatha)	187
Yallourn North – Newborough – Moe (school service) (myki fares)	188
Yarram – Traralgon	189
<b>Chapter 6: Operator-set fare tables</b>	190
Grampians region (west) fare tables	191
Ararat – Horsham (includes Stawell – Horsham)	191
Maryborough to Bendigo via Dunolly	192
Melton – Ballarat (school service) (includes Greendale – Ballarat school service)	195
Stawell – Ararat (school service)	196
Stawell – Ballarat	196
Stawell – Pomonal – Halls Gap	197
Loddon Mallee (north) fare tables	198
Echuca – Barmah	198

## Locating fares

This document is produced and distributed electronically. To locate the fares for a particular route, use the 'Find' (ctrl+F) or 'Search' (ctrl+shift+F) functions in Acrobat Reader to locate it.

# Chapter 1:

## Introduction

# Introduction

This volume contains fares and ticket information for buses in regional Victoria. It does not include metropolitan fares or V/Line fares which are included in the *Victorian fares and ticketing conditions*.

Conditions of travel on regional bus services, including concessions and free travel arrangements, are also detailed in the *Victorian fares and ticketing conditions*. Concessions and free travel arrangements are standardised across all operators, including regional bus operators.

The contents of this volume set out the ticket conditions and fares that have been determined or approved by the Head, Transport for Victoria for the regional bus services listed in this volume. It includes self-funded services that do not receive a government subsidy but have fares that are approved by the Head, Transport for Victoria.

This volume takes effect from, and including, 1 January 2026.

This document can be downloaded from [transport.vic.gov.au](http://transport.vic.gov.au)

This document is regularly updated to reflect changes to fares and services. Always refer to the most recent version. The document should be read in conjunction with any updates that have been issued.

# Chapter 2:

## Ticket conditions

# Ticket conditions

Where a ticket type is mentioned in this document, the following rules apply unless an exception is stated. Tickets are only valid on the services of the operator who issued the ticket. This does not apply to paper tickets issued on route C27 Snake Valley via Haddon (Snake Valley on-demand) bus service which are valid on regional bus services within the City of Ballarat. Not all ticket types are available on all services.

## Single

A single ticket allows travel between an origin and a destination for which a fare has been paid.

## 2 hour

A 2 hour ticket allows unlimited travel on bus services for at least two hours. Tickets purchased after 6pm are valid until 3am. A passenger may transfer to any local bus or train service before their ticket expires, even if the journey extends beyond the ticket's expiry time.

## Return

A return ticket allows for a return trip between an origin and a destination for which a fare has been paid.

## Daily

A daily ticket allows unlimited travel on nominated bus services on the day of issue until 3am the next day.

## Weekly

Weekly tickets allow unlimited travel between the origin and destination printed on the ticket for 7 consecutive days.

The ticket expires 7 days from the start date printed on the ticket. For example, a ticket valid from Tuesday will expire at the end of services for the following Monday (3am on Tuesday).

A weekly ticket used between midnight and 3am must be valid for the previous day.

## Weekend cap

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Monthly

Monthly tickets allow unlimited travel between the origin and destination printed on the ticket, for a month.

The ticket expires one month from the start date printed on the ticket.

A monthly ticket used between midnight and 3am must be valid for the previous day.

## Student passes

Unless otherwise noted, student passes are only valid on school days, for travel to and from school. Where noted, student passes are also valid on other services.

## Conveyance Allowance Program

The Victorian Government subsidises travel for students in regional areas to their nearest school when travelling more than 4.8 kilometres. Full terms and conditions of the scheme are available from schools. In many cases, student pass fares listed in this document are paid for by the State Government via the Conveyance Allowance Program. The Conveyance Allowance is administered by the Victorian Department of Education and Training.

# **Chapter 3:**

## **Student passes and concession fares on regional buses**

# Student passes, free travel and Youth myki

Services operated by, or on behalf of, the Victorian Government are subject to the regional fare cap introduced on 31 March 2023.

From January 1 2026, all passengers under 18 years old travel for free on public transport, anytime, anywhere. The Youth myki card is open to anyone aged 5–17 years old. Children under 5 travel free. For more information visit [transport.vic.gov.au](http://transport.vic.gov.au).

Victorian seniors, Disability Support Pension recipients and carers enjoy free travel on weekends, statewide.

Services operated by private operators are not subject to the regional fare cap. These services are indicated in the document by an asterix (\*) after the route name. The fares for these services are determined by the operator. Customers using services by private operators will pay the operator set fare for their travel on that service (this may be higher than the regional fare cap) and if transferring to a service operated by, or on behalf of, the Victorian Government, the customer will need to pay the additional fare of the subsidised service up to the regional fare cap amount.

The Term price is based on the number of children travelling from the same family. There is a Term price for the first child and then a Term price for when 2 or more children are travelling. These fares are indicated in the document by a hashtag (#)

## Victorian and regional city transit student passes

Student Pass		Half-year	Year
Victorian Student Pass	Allows unlimited travel on metropolitan trains, trams and buses, on all regional town bus services and all V/Line train and coach services operating within Victoria.	\$407.00	\$782.00
Ballarat Transit Student Pass (Zone 8 + 9)	Allows unlimited travel on all bus services in the Ballarat area and on V/Line trains between Ballarat and Wendouree stations.	\$196.00	\$392.00
Bendigo Transit Student Pass (Zone 13)	Allows unlimited travel on all bus services in the Bendigo area and on V/Line trains between Bendigo, Eaglehawk, Epsom and Kangaroo Flat stations.	\$147.00	\$294.00
Geelong Transit Student Pass (Zone 4 + 5)	Allows unlimited travel on all bus services in the Geelong area and on V/Line trains between Marshall, South Geelong, Geelong, North Geelong, North Shore, Corio, Waurn Ponds and Lara stations.	\$196.00	\$392.00
Southwest Transit Student Pass (Warrnambool)	Allows unlimited travel on all bus services in the Southwest Transit Zone.	\$147.00	\$294.00
Colac Transit Zone Student Pass	Allows unlimited travel on bus services in the Colac Transit System except for special or chartered services.	\$147.00	\$294.00
Portland Transit Zone Student Pass	Allows unlimited travel on bus services in the Portland Transit System except for special or chartered services.	\$147.00	\$294.00

## Term passes

Student Pass	Term 1	Term 2	Term 3	Term 4
Bandiana to Wodonga (one zone)	\$138.00	\$144.00	\$147.00	\$159.00
Baranduda to Wodonga (one zone)	\$138.00	\$144.00	\$147.00	\$159.00
Border Christian College and Trinity Thurgoona (two zones)	\$184.00	\$192.00	\$196.00	\$212.00
Central Albury Schools (one zone)	\$138.00	\$144.00	\$147.00	\$159.00
North Albury and West Albury schools (two zones)	\$184.00	\$192.00	\$196.00	\$212.00
Travel to and from Albury – Dean St only (one zone)	\$138.00	\$144.00	\$147.00	\$159.00
Travel within Wodonga – all routes (one zone)	\$138.00	\$144.00	\$147.00	\$159.00
Wangaratta school town service – any one route	\$138.00	\$144.00	\$147.00	\$159.00
Wangaratta school town service – High School and Galen College	\$184.00	\$192.00	\$196.00	\$212.00
Wangaratta school town service – South Wangaratta and Yarrunga areas	\$184.00	\$192.00	\$196.00	\$212.00
Wangaratta school town service – Yarrunga and West End routes	\$184.00	\$192.00	\$196.00	\$212.00

## Barwon region

Regional Student Pass	Term 1	Term 2	Term 3	Term 4
Casterton – Hamilton school service	\$262.20	\$273.60	\$279.30	\$302.10
Coleraine – Hamilton school service	\$262.20	\$273.60	\$279.30	\$302.10
Hamilton school town service	\$128.80	\$134.40	\$137.20	\$148.40

## Colac to Warrion school fares

Student Pass	Section	Term 1	Term 2	Term 3	Term 4
Colac	1	\$82.80	\$86.40	\$88.20	\$95.40
Colac	2	\$105.80	\$110.40	\$112.70	\$121.90
Colac	3	\$105.80	\$110.40	\$112.70	\$121.90
Colac	4	\$133.40	\$139.20	\$142.10	\$153.70
Colac	5	\$165.60	\$172.80	\$176.40	\$190.80
Colac	6	\$193.20	\$201.60	\$205.80	\$222.60
Coragulac	8	\$262.20	\$273.60	\$279.30	\$302.10
Bogatt	11	\$262.20	\$273.60	\$279.30	\$302.10
Bullock Swamp	12	\$262.20	\$273.60	\$279.30	\$302.10
Warrion	14	\$262.20	\$273.60	\$279.30	\$302.10

## Gippsland region

Student Pass	Term 1	Term 2	Term 3	Term 4
Lakes Entrance – Bairnsdale	\$262.20	\$273.60	\$279.30	\$302.10
Leongatha school town service	\$87.40	\$91.20	\$93.10	\$100.70
Swan Reach – Kalimna – Lakes Entrance	\$262.20	\$273.60	\$279.30	\$302.10

## Latrobe Valley school fares

Student Pass	Term 1	Term 2	Term 3	Term 4
Churchill – Morwell	\$225.40	\$235.20	\$240.10	\$259.70
Churchill – Traralgon	\$262.20	\$273.60	\$279.30	\$302.10
Hazelwood – Traralgon	\$225.40	\$235.20	\$240.10	\$259.70
Moe – Newborough	\$193.20	\$201.60	\$205.80	\$222.60
Moe – Traralgon	\$262.20	\$273.60	\$279.30	\$302.10
Morwell – Traralgon	\$262.20	\$273.60	\$279.30	\$302.10
Newborough North – Traralgon	\$262.20	\$273.60	\$279.30	\$302.10
Yallourn North – Moe	\$262.20	\$273.60	\$279.30	\$302.10
Yallourn North – Newborough	\$262.20	\$273.60	\$279.30	\$302.10
Yinnar – Traralgon	\$262.20	\$273.60	\$279.30	\$302.10

## Grampians region

Student Pass	Term 1	Term 2	Term 3	Term 4
Ararat – Halls Gap*	\$1,490.40	\$1,555.20	\$1,587.60	\$1,717.20
Ararat – Stawell*	\$869.40	\$907.20	\$926.10	\$1,001.70
Bacchus Marsh school town service	\$124.20	\$129.60	\$132.30	\$143.10
Bacchus Marsh school town service > 4.8km	\$151.80	\$158.40	\$161.70	\$174.90
Ballarat – Bacchus Marsh*	\$938.40	\$979.20	\$999.60	\$1,081.20
Ballarat – Greendale*	\$938.40	\$979.20	\$999.60	\$1,081.20
Ballarat – Melton*	\$952.20	\$993.60	\$1,014.30	\$1,097.10
Ballarat – Myrniong*	\$929.20	\$969.60	\$989.80	\$1,070.60
Daylesford – Ballarat*	\$837.20	\$873.60	\$891.80	\$964.60
Daylesford – Hepburn Springs	\$179.40	\$187.20	\$191.10	\$206.70

## Hume region

Student Pass	Term 1	Term 2	Term 3	Term 4
Albury – Yackandandah	\$262.20	\$273.60	\$279.30	\$302.10
Beechworth – Albury	\$262.20	\$273.60	\$279.30	\$302.10
Beechworth – Stanley	\$262.20	\$273.60	\$279.30	\$302.10
Beechworth – Stanley (Diffy Road)	\$262.20	\$273.60	\$279.30	\$302.10
Beechworth – Wooragee	\$262.20	\$273.60	\$279.30	\$302.10
Beechworth – Yackandandah	\$262.20	\$273.60	\$279.30	\$302.10
Beechworth school town service	\$151.80	\$158.40	\$161.70	\$174.90
Benalla school service	\$124.20	\$129.60	\$132.30	\$143.10
Cobram Town school service	\$142.60	\$148.80	\$151.90	\$164.30
Mooroopna school service	\$262.20	\$273.60	\$279.30	\$302.10
Puckapunyal – Seymour	\$193.20	\$201.60	\$205.80	\$222.60
Seymour Town Service (includes Telegraph Road)	\$161.00	\$168.00	\$171.50	\$185.50
Shepparton School Fares (conveyance)	\$262.20	\$273.60	\$279.30	\$302.10
Staghorn Flat – Albury/Wodonga	\$262.20	\$273.60	\$279.30	\$302.10
Wallan/Kilmore Town Service (4.8km–10km)	\$161.00	\$168.00	\$171.50	\$185.50
Wallan Secondary school services (> 10km)	\$262.20	\$273.60	\$279.30	\$302.10
Wangaratta – between Springhurst and Wangaratta	\$174.80	\$182.40	\$186.20	\$201.40
Wangaratta – Rutherford	\$262.20	\$273.60	\$279.30	\$302.10
Wangaratta – Springhurst	\$234.60	\$244.80	\$249.90	\$270.30
Wangaratta – Wahgunyah	\$262.20	\$273.60	\$279.30	\$302.10

## Mount Beauty – Albury/Wodonga service

Student Pass	Term 1	Term 2	Term 3	Term 4
Dederang – Albury/Wodonga	\$262.20	\$273.60	\$279.30	\$302.10
Kiewa – Albury/Wodonga	\$262.20	\$273.60	\$279.30	\$302.10
Kergunyah – Albury/Wodonga	\$262.20	\$273.60	\$279.30	\$302.10
Kergunyah South (Boyd's Lane) – Albury/Wodonga	\$262.20	\$273.60	\$279.30	\$302.10
Mongan's Bridge – Albury/Wodonga	\$262.20	\$273.60	\$279.30	\$302.10
Mount Beauty – Albury/Wodonga	\$262.20	\$273.60	\$279.30	\$302.10
Wodonga – Albury	\$170.20	\$177.60	\$181.30	\$196.10

## Loddon Mallee region

Student Pass	Term 1	Term 2	Term 3	Term 4
Bendigo – Castlemaine*	\$837.20	\$873.60	\$891.80	\$964.60
Braemar College – Zone 1*	\$630.20	\$657.60	\$671.30	\$726.10
Braemar College – Zone 2*	\$814.20	\$849.60	\$867.30	\$938.10
Braemar College – Zone 3*	\$952.20	\$993.60	\$1,014.30	\$1,097.10
Castlemaine – Junortoun/Victory College*	\$910.80	\$950.40	\$970.20	\$1,049.40
Swan Hill Town Service	\$87.40	\$91.20	\$93.10	\$100.70

## Outer metropolitan region

Student Pass	Term 1	Term 2	Term 3	Term 4
Berwick – Upper Beaconsfield	\$147.20	\$153.60	\$156.80	\$169.60

# Concession fares on school services

## Gippsland region

Route	Concession fares		
	Single	Daily	Weekly
Paynesville – Bairnsdale Secondary College	\$5.60	\$5.70	–
Leongatha school town service	\$1.50	\$3.00	\$14.00
Paynesville Primary/Eagle Point Primary	\$5.60	\$5.70	–
Wonthaggi school town service	\$1.30		
Bairnsdale – Nagle College	\$1.70		

## Hume region

Route	Concession fares		
	Single	Daily	Weekly
Mooroopna School	\$1.50	\$3.00	\$14.00
Shepparton School (conveyance)	\$1.50	\$3.00	\$14.00

## Baranduda and Bandiana schools

Route	Concession fares		
	Single	Daily	Weekly
Bandiana to Wodonga (one zone)	\$1.50	\$3.00	–
Baranduda to Wodonga (one zone)	\$1.50	\$3.00	–

## Albury/Wodonga schools

Route	Concession fares		
	Single	Daily	Weekly
Border Christian College and Trinity Thurogona (two zones)	\$2.00	\$4.00	–
Central Albury schools (one zone)	\$1.50	\$3.00	–
North Albury and West Albury schools (two zones)	\$2.00	\$4.00	–
Travel to and from Albury – Dean St only (one zone)	\$1.50	\$3.00	–
Travel within Wodonga – all routes (one zone)	\$1.50	\$3.00	–

## Loddon Mallee region

Route	Concession fares					
	Single	Daily	Weekly	Monthly	Term price 1 child	Term price 2+ children
Castlemaine – Junortoun/Victory College*	\$9.60	\$19.20	\$89.60	–		
Maryborough school service*	\$0.50	\$1.00	\$5.00	–		

Route	Concession fares					
	Single	Daily	Weekly	Monthly	Term price 1 child	Term price 2+ children
Mildura Transit (Sunraysia)	–	–	–	\$101.30		
Lancefield – Romsey school special	\$1.90	\$3.00				
New Gisborne – Gisborne school services	\$2.50					
Charlton school services <sup>#</sup>					\$48.20	\$78.20

## Grampians region

Route	Concession fares		
	Single	Daily	Weekly
Daylesford – Ballarat*	\$9.40	\$18.80	–
Daylesford – Hepburn Springs*	\$1.50	\$3.00	\$14.00
Warracknabeal – Horsham	\$5.60	\$5.70	–

## Outer metropolitan region

Route	Concession fares		
	Single	Daily	Weekly
Berwick – Upper Beaconsfield	\$2.00	\$4.00	–

# Chapter 4:

## Town bus fares

Services operated by, or on behalf of, the Victorian Government are subject to the regional fare cap introduced on 31 March 2023.

## Regional city and town service fares – Category A

Locations	Ticket type	One zone	Two zones
Bacchus Marsh			
Bairnsdale	Single (full)	\$3.00	\$4.00
Ballarat			
Benalla			
Bendigo (includes V/Line trains between Eaglehawk and Kangaroo Flat stations and bus services between Bendigo and Strathfieldsaye)	Single (concession)	\$1.50	\$2.00
Cobram			
Colac			
Drouin			
Echuca/Moama			
Geelong (includes V/Line trains between Marshall and Lara stations)	Daily (full)	\$6.00	\$8.00
Hamilton			
Horsham			
Kilmore			
Korumburra	Daily (concession)	\$3.00	\$4.00
Kyneton			
Lakes Entrance			
Maryborough			
Mildura	Weekly (full)	\$28.00	\$40.00
Moe			
Morwell			
Portland			
Rochester	Weekly (concession)	\$14.00	\$20.00
Sale			
Seymour			
Shepparton/Mooroopna			
Swan Hill	Monthly (full)	\$118.60	\$167.80
Traralgon			
Wangaratta			
Warragul			
Warrnambool			
Wodonga/Albury	Monthly (concession)	\$59.30	\$83.90
Wonthaggi			

## Regional city and town service fares – Category B

Locations	Single (full)	Single (concession)	Daily (full)	Daily (concession)	Student Weekly
Ararat Stawell	\$3.00	\$1.50	\$6.00	\$3.00	\$11.60

## Geelong transit and Bellarine transit fares

Ticket type	Locations	Single (full)	Single (concession)	Daily (full)	Daily (concession)	Weekly (full)	Weekly (concession)
GTS Zone 4	Batesford Belmont Ceres Corio Geelong Grovedale Highton Leopold Marshall Moolap Mooraboo Newcomb Norlane North Shore Waurn Ponds						
Zone 5	Barwon Heads Bellarine Breamlea Clifton Springs Collendina Connewarre Curlewis Drysdale Freshwater Creek Indented Head Jan Juc Mannerim Marcus Hill Moriac Murradoc Mount Duneed Ocean Grove Pettavel Portarlington Pt. Lonsdale Queenscliff St Leonards Torquay Wallington	\$3.00	\$1.50	\$6.00	\$3.00	\$28.00	\$14.00
Zone 4 + 5	For travel between zones 4 and 5.	\$4.00	\$2.00	\$8.00	\$4.00	\$40.00	\$20.00

# Flexi Ride

## Woodend Flexi Ride

	Single	Return
Full	\$3.00	\$6.00
Concessions	\$1.50	\$3.00

## Yarrawonga Flexi Ride

	Single	Return
Full	\$3.00	\$6.00
Concessions	\$1.50	\$3.00

# Chapter 5:

## Intertown fares

# Barwon region (south west) fare tables

Services operated by, or on behalf of, the Victorian Government are subject to the regional fare cap introduced on 31 March 2023.

**Please note:** Customers who are not entitled to free travel should always pay a fare, even if travelling only a single stop. When a customer travels between non-listed stops within the same town, a single zone fare is charged (\$3.00 for full fare and \$1.50 for concession).

Due to the large number of stops within Victoria, only major stops are listed in fare tables.

## Casterton – Hamilton Town School service

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Casterton	Coleraine	\$4.40	\$2.20	\$8.80	\$4.40
	Hamilton	\$9.60	\$4.80	\$11.40	\$5.70
Coleraine	Casterton	\$4.40	\$2.20	\$8.80	\$4.40
	Hamilton	\$5.80	\$2.90	\$11.40	\$5.70
Hamilton	Casterton	\$9.60	\$4.80	\$11.40	\$5.70
	Coleraine	\$5.80	\$2.90	\$11.40	\$5.70

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Colac – Apollo Bay (summer service)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Colac	Birregurra	\$4.00	\$2.00	\$8.00	\$4.00
	Barwon Downs	\$5.80	\$2.90	\$11.40	\$5.70
	Forrest	\$5.80	\$2.90	\$11.40	\$5.70
	Barramunga	\$6.60	\$3.30	\$11.40	\$5.70
	Turtons Track	\$8.00	\$4.00	\$11.40	\$5.70
	Skenes Creek	\$9.60	\$4.80	\$11.40	\$5.70
	Apollo Bay	\$11.40	\$5.70	\$11.40	\$5.70
Birregurra	Colac	\$4.00	\$2.00	\$8.00	\$4.00
	Barwon Downs	\$4.00	\$2.00	\$8.00	\$4.00
	Forrest	\$4.00	\$2.00	\$8.00	\$4.00
	Barramunga	\$4.40	\$2.20	\$8.80	\$4.40
	Turtons Track	\$5.80	\$2.90	\$11.40	\$5.70
	Skenes Creek	\$6.60	\$3.30	\$11.40	\$5.70
	Apollo Bay	\$9.60	\$4.80	\$11.40	\$5.70
Barwon Downs	Colac	\$5.80	\$2.90	\$11.40	\$5.70
	Birregurra	\$4.00	\$2.00	\$8.00	\$4.00
	Forrest	\$3.00	\$1.50	\$6.00	\$3.00
	Barramunga	\$4.00	\$2.00	\$8.00	\$4.00
	Turtons Track	\$4.40	\$2.20	\$8.80	\$4.40
	Skenes Creek	\$5.80	\$2.90	\$11.40	\$5.70
	Apollo Bay	\$6.60	\$3.30	\$11.40	\$5.70
Forrest	Colac	\$5.80	\$2.90	\$11.40	\$5.70
	Birregurra	\$4.00	\$2.00	\$8.00	\$4.00
	Barwon Downs	\$3.00	\$1.50	\$6.00	\$3.00
	Barramunga	\$3.00	\$1.50	\$6.00	\$3.00
	Turtons Track	\$4.00	\$2.00	\$8.00	\$4.00
	Skenes Creek	\$4.40	\$2.20	\$8.80	\$4.40
	Apollo Bay	\$6.60	\$3.30	\$11.40	\$5.70
Barramunga	Colac	\$6.60	\$3.30	\$11.40	\$5.70
	Birregurra	\$4.40	\$2.20	\$8.80	\$4.40
	Barwon Downs	\$4.00	\$2.00	\$8.00	\$4.00
	Forrest	\$3.00	\$1.50	\$6.00	\$3.00
	Turtons Track	\$4.00	\$2.00	\$8.00	\$4.00
	Skenes Creek	\$4.40	\$2.20	\$8.80	\$4.40
	Apollo Bay	\$5.80	\$2.90	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Turtons Track	Colac	\$8.00	\$4.00	\$11.40	\$5.70
	Birregurra	\$5.80	\$2.90	\$11.40	\$5.70
	Barwon Downs	\$4.40	\$2.20	\$8.80	\$4.40
	Forrest	\$4.00	\$2.00	\$8.00	\$4.00
	Barramunga	\$4.00	\$2.00	\$8.00	\$4.00
	Skenes Creek	\$4.00	\$2.00	\$8.00	\$4.00
	Apollo Bay	\$4.40	\$2.20	\$8.80	\$4.40
Skenes Creek	Colac	\$9.60	\$4.80	\$11.40	\$5.70
	Birregurra	\$6.60	\$3.30	\$11.40	\$5.70
	Barwon Downs	\$5.80	\$2.90	\$11.40	\$5.70
	Forrest	\$4.40	\$2.20	\$8.80	\$4.40
	Barramunga	\$4.40	\$2.20	\$8.80	\$4.40
	Turtons Track	\$4.00	\$2.00	\$8.00	\$4.00
	Apollo Bay	\$4.00	\$2.00	\$8.00	\$4.00
Apollo Bay	Colac	\$11.40	\$5.70	\$11.40	\$5.70
	Birregurra	\$9.60	\$4.80	\$11.40	\$5.70
	Barwon Downs	\$6.60	\$3.30	\$11.40	\$5.70
	Forrest	\$6.60	\$3.30	\$11.40	\$5.70
	Barramunga	\$5.80	\$2.90	\$11.40	\$5.70
	Turtons Track	\$4.40	\$2.20	\$8.80	\$4.40
	Skenes Creek	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Colac – Geelong

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Colac	Birregurra	\$4.00	\$2.00	\$8.00	\$4.00
	Winchelsea	\$6.60	\$3.30	\$11.40	\$5.70
	Deakin University/ Waurn Ponds	\$11.40	\$5.70	\$11.40	\$5.70
	Geelong	\$11.40	\$5.70	\$11.40	\$5.70
Birregurra	Colac	\$4.00	\$2.00	\$8.00	\$4.00
	Winchelsea	\$4.40	\$2.20	\$8.80	\$4.40
	Deakin University/ Waurn Ponds	\$8.00	\$4.00	\$11.40	\$5.70
	Geelong	\$9.60	\$4.80	\$11.40	\$5.70
Winchelsea	Colac	\$6.60	\$3.30	\$11.40	\$5.70
	Birregurra	\$4.40	\$2.20	\$8.80	\$4.40
	Deakin University/ Waurn Ponds	\$5.80	\$2.90	\$11.40	\$5.70
	Geelong	\$5.80	\$2.90	\$11.40	\$5.70
Deakin University/ Waurn Ponds	Colac	\$11.40	\$5.70	\$11.40	\$5.70
	Birregurra	\$8.00	\$4.00	\$11.40	\$5.70
	Winchelsea	\$5.80	\$2.90	\$11.40	\$5.70
	Geelong	\$3.00	\$1.50	\$6.00	\$3.00
Geelong	Colac	\$11.40	\$5.70	\$11.40	\$5.70
	Birregurra	\$9.60	\$4.80	\$11.40	\$5.70
	Winchelsea	\$5.80	\$2.90	\$11.40	\$5.70
	Deakin University/ Waurn Ponds	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Colac – Lorne (summer service)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Colac	Birregurra	\$4.00	\$2.00	\$8.00	\$4.00
	Deans Marsh	\$5.80	\$2.90	\$11.40	\$5.70
	Lorne	\$8.00	\$4.00	\$11.40	\$5.70
Birregurra	Colac	\$4.00	\$2.00	\$8.00	\$4.00
	Deans Marsh	\$4.00	\$2.00	\$8.00	\$4.00
	Lorne	\$5.80	\$2.90	\$11.40	\$5.70
Deans Marsh	Colac	\$5.80	\$2.90	\$11.40	\$5.70
	Birregurra	\$4.00	\$2.00	\$8.00	\$4.00
	Lorne	\$4.40	\$2.20	\$8.80	\$4.40
Lorne	Colac	\$8.00	\$4.00	\$11.40	\$5.70
	Birregurra	\$5.80	\$2.90	\$11.40	\$5.70
	Deans Marsh	\$4.40	\$2.20	\$8.80	\$4.40

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Geelong – Bannockburn

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Geelong	Batesford	\$3.00	\$1.50	\$6.00	\$3.00
	Gheringhap	\$4.00	\$2.00	\$8.00	\$4.00
	Bannockburn	\$4.40	\$2.20	\$8.80	\$4.40
Batesford	Geelong	\$3.00	\$1.50	\$6.00	\$3.00
	Gheringhap	\$3.00	\$1.50	\$6.00	\$3.00
	Bannockburn	\$4.00	\$2.00	\$8.00	\$4.00
Gheringhap	Geelong	\$4.00	\$2.00	\$8.00	\$4.00
	Batesford	\$3.00	\$1.50	\$6.00	\$3.00
	Bannockburn	\$3.00	\$1.50	\$6.00	\$3.00
Bannockburn	Geelong	\$4.40	\$2.20	\$8.80	\$4.40
	Batesford	\$4.00	\$2.00	\$8.00	\$4.00
	Gheringhap	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Inverleigh – Geelong (myki fares)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Inverleigh	Murgheboluc	\$3.00	\$1.50	\$6.00	\$3.00
	Stonehaven	\$4.00	\$2.00	\$8.00	\$4.00
	Fyansford	\$4.40	\$2.20	\$8.80	\$4.40
	Geelong	\$4.40	\$2.20	\$8.80	\$4.40
Murgheboluc	Inverleigh	\$3.00	\$1.50	\$6.00	\$3.00
	Stonehaven	\$3.00	\$1.50	\$6.00	\$3.00
	Fyansford	\$4.00	\$2.00	\$8.00	\$4.00
	Geelong	\$4.00	\$2.00	\$8.00	\$4.00
Stonehaven	Inverleigh	\$4.00	\$2.00	\$8.00	\$4.00
	Murgheboluc	\$3.00	\$1.50	\$6.00	\$3.00
	Fyansford	\$3.00	\$1.50	\$6.00	\$3.00
	Geelong	\$3.00	\$1.50	\$6.00	\$3.00
Fyansford	Inverleigh	\$4.40	\$2.20	\$8.80	\$4.40
	Murgheboluc	\$4.00	\$2.00	\$8.00	\$4.00
	Stonehaven	\$3.00	\$1.50	\$6.00	\$3.00
	Geelong	\$3.00	\$1.50	\$6.00	\$3.00
Geelong	Inverleigh	\$4.40	\$2.20	\$8.80	\$4.40
	Murgheboluc	\$4.00	\$2.00	\$8.00	\$4.00
	Stonehaven	\$3.00	\$1.50	\$6.00	\$3.00
	Fyansford	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Mortlake – Warrnambool

From	To	Single (full)	Single (concession)	Daily (full)	Daily (full)
Mortlake	Ellerslie	\$4.00	\$2.00	\$8.00	\$4.00
	Ballangeich	\$5.80	\$2.90	\$11.40	\$5.70
	Purnim	\$6.60	\$3.30	\$11.40	\$5.70
	Bushfield	\$8.00	\$4.00	\$11.40	\$5.70
	Warrnambool City	\$9.60	\$4.80	\$11.40	\$5.70
	Warrnambool RS	\$9.60	\$4.80	\$11.40	\$5.70
Ellerslie	Mortlake	\$4.00	\$2.00	\$8.00	\$4.00
	Ballangeich	\$4.00	\$2.00	\$8.00	\$4.00
	Purnim	\$4.40	\$2.20	\$8.80	\$4.40
	Bushfield	\$6.60	\$3.30	\$11.40	\$5.70
	Warrnambool City	\$8.00	\$4.00	\$11.40	\$5.70
	Warrnambool RS	\$8.00	\$4.00	\$11.40	\$5.70
Ballangeich	Mortlake	\$5.80	\$2.90	\$11.40	\$5.70
	Ellerslie	\$4.00	\$2.00	\$8.00	\$4.00
	Purnim	\$4.00	\$2.00	\$8.00	\$4.00
	Bushfield	\$4.40	\$2.20	\$8.80	\$4.40
	Warrnambool City	\$5.80	\$2.90	\$11.40	\$5.70
	Warrnambool RS	\$5.80	\$2.90	\$11.40	\$5.70
Purnim	Mortlake	\$6.60	\$3.30	\$11.40	\$5.70
	Ellerslie	\$4.40	\$2.20	\$8.80	\$4.40
	Ballangeich	\$4.00	\$2.00	\$8.00	\$4.00
	Bushfield	\$4.00	\$2.00	\$8.00	\$4.00
	Warrnambool City	\$4.40	\$2.20	\$8.80	\$4.40
	Warrnambool RS	\$4.40	\$2.20	\$8.80	\$4.40
Bushfield	Mortlake	\$8.00	\$4.00	\$11.40	\$5.70
	Ellerslie	\$6.60	\$3.30	\$11.40	\$5.70
	Ballangeich	\$4.40	\$2.20	\$8.80	\$4.40
	Purnim	\$4.00	\$2.00	\$8.00	\$4.00
	Warrnambool City	\$3.00	\$1.50	\$6.00	\$3.00
	Warrnambool RS	\$3.00	\$1.50	\$6.00	\$3.00
Warrnambool City	Mortlake	\$9.60	\$4.80	\$11.40	\$5.70
	Ellerslie	\$8.00	\$4.00	\$11.40	\$5.70
	Ballangeich	\$5.80	\$2.90	\$11.40	\$5.70
	Purnim	\$4.40	\$2.20	\$8.80	\$4.40
	Bushfield	\$3.00	\$1.50	\$6.00	\$3.00
	Warrnambool RS	\$3.00	\$1.50	\$6.00	\$3.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (full)
Warrnambool RS	Mortlake	\$9.60	\$4.80	\$11.40	\$5.70
	Ellerslie	\$8.00	\$4.00	\$11.40	\$5.70
	Ballangeich	\$5.80	\$2.90	\$11.40	\$5.70
	Purnim	\$4.40	\$2.20	\$8.80	\$4.40
	Bushfield	\$3.00	\$1.50	\$6.00	\$3.00
	Warrnambool City	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Penshurst – Hamilton

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Penshurst	Tarrington	\$4.40	\$2.20	\$8.80	\$4.40
	Hamilton	\$5.80	\$2.90	\$11.40	\$5.70
Tarrington	Penshurst	\$4.40	\$2.20	\$8.80	\$4.40
	Hamilton	\$3.00	\$1.50	\$6.00	\$3.00
Hamilton	Penshurst	\$5.80	\$2.90	\$11.40	\$5.70
	Tarrington	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Portland – Hamilton

		Hamilton	Yulecart	Branxholme	Blacks Corner	Condah	Myamyn	Milltown	Greenvale	Heywood	Heathmere	Bolwarra	Portland
Single													
Portland	Full	\$11.40	\$11.40	\$11.40	\$9.60	\$8.00	\$8.00	\$6.60	\$4.40	\$4.40	\$4.00	\$3.00	
	Conc.	\$5.70	\$5.70	\$5.70	\$5.70	\$4.00	\$4.00	\$3.30	\$2.20	\$2.20	\$2.00	\$1.50	
Bolwarra	Full	\$11.40	\$11.40	\$9.60	\$8.00	\$6.60	\$6.60	\$5.80	\$4.00	\$4.00	\$3.00		\$6.00
	Conc.	\$5.70	\$5.70	\$4.80	\$4.00	\$3.30	\$3.30	\$2.90	\$2.00	\$2.00	\$1.50		\$3.00
Heathmere	Full	\$11.40	\$11.40	\$8.00	\$6.60	\$6.60	\$5.80	\$4.40	\$4.00	\$3.00		\$6.00	\$8.00
	Conc.	\$5.70	\$5.70	\$4.00	\$3.30	\$3.30	\$2.90	\$2.20	\$2.00	\$1.50		\$3.00	\$4.00
Heywood	Full	\$11.40	\$9.60	\$6.60	\$5.80	\$5.80	\$4.40	\$4.00	\$3.00		\$6.00	\$8.00	\$8.80
	Conc.	\$5.70	\$4.80	\$3.30	\$2.90	\$2.90	\$2.20	\$2.00	\$1.50		\$3.00	\$4.00	\$4.40
Greenvale	Full	\$9.60	\$8.00	\$6.60	\$5.80	\$4.40	\$4.00	\$4.00		\$6.00	\$8.00	\$8.00	\$8.80
	Conc.	\$4.80	\$4.00	\$3.30	\$2.90	\$2.20	\$2.00	\$2.00		\$3.00	\$4.00	\$4.00	\$4.40
Milltown	Full	\$6.60	\$6.60	\$4.40	\$4.00	\$3.00	\$3.00		\$8.00	\$8.00	\$8.80	\$11.40	\$11.40
	Conc.	\$3.30	\$3.30	\$2.20	\$2.00	\$1.50	\$1.50		\$4.00	\$4.00	\$4.40	\$5.70	\$5.70
Myamyn	Full	\$5.80	\$5.80	\$4.00	\$3.00	\$3.00		\$6.00	\$8.00	\$8.80	\$11.40	\$11.40	\$11.40
	Conc.	\$2.90	\$2.90	\$2.00	\$1.50	\$1.50		\$3.00	\$4.00	\$4.40	\$5.70	\$5.70	\$5.70
Condah	Full	\$5.80	\$4.40	\$4.00	\$3.00		\$6.00	\$6.00	\$8.80	\$11.40	\$11.40	\$11.40	\$11.40
	Conc.	\$2.90	\$2.20	\$2.00	\$1.50		\$3.00	\$3.00	\$4.40	\$5.70	\$5.70	\$5.70	\$5.70
Blacks Corner	Full	\$4.40	\$4.40	\$3.00		\$6.00	\$6.00	\$8.00	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40
	Conc.	\$2.20	\$2.20	\$1.50		\$3.00	\$3.00	\$4.00	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70
Branxholme	Full	\$4.00	\$3.00		\$6.00	\$8.00	\$8.00	\$8.80	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40
	Conc.	\$2.00	\$1.50		\$3.00	\$4.00	\$4.00	\$4.40	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70
Yulecart	Full	\$3.00		\$6.00	\$8.80	\$8.80	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40
	Conc.	\$1.50		\$3.00	\$4.40	\$4.40	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70
Hamilton	Full		\$6.00	\$8.00	\$8.80	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40
	Conc.		\$3.00	\$4.00	\$4.40	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70
Return fare													

## Port Fairy – Warrnambool

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Port Fairy	Killarney	\$4.00	\$2.00	\$8.00	\$4.00
	Koroit	\$4.40	\$2.20	\$8.80	\$4.40
	Illowa	\$4.40	\$2.20	\$8.80	\$4.40
	Warrnambool	\$5.80	\$2.90	\$11.40	\$5.70
Killarney	Port Fairy	\$4.00	\$2.00	\$8.00	\$4.00
	Koroit	\$3.00	\$1.50	\$6.00	\$3.00
	Illowa	\$4.00	\$2.00	\$8.00	\$4.00
	Warrnambool	\$4.00	\$2.00	\$8.00	\$4.00
Koroit	Port Fairy	\$4.40	\$2.20	\$8.80	\$4.40
	Killarney	\$3.00	\$1.50	\$6.00	\$3.00
	Illowa	\$3.00	\$1.50	\$6.00	\$3.00
	Warrnambool	\$4.00	\$2.00	\$8.00	\$4.00
Illowa	Port Fairy	\$4.40	\$2.20	\$8.80	\$4.40
	Killarney	\$4.00	\$2.00	\$8.00	\$4.00
	Koroit	\$3.00	\$1.50	\$6.00	\$3.00
	Warrnambool	\$3.00	\$1.50	\$6.00	\$3.00
Warrnambool	Port Fairy	\$5.80	\$2.90	\$11.40	\$5.70
	Killarney	\$4.00	\$2.00	\$8.00	\$4.00
	Koroit	\$4.00	\$2.00	\$8.00	\$4.00
	Illowa	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Terang – Warrnambool (summer school holidays)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Terang Station	Noorat Post Office	\$3.00	\$1.50	\$6.00	\$3.00
	Mortlake V/Line stop (Dunlop St)	\$4.40	\$2.20	\$8.80	\$4.40
	Ellerslie-Sisters Rd (cnr Mortlake- Framlingham Rd)	\$5.80	\$2.90	\$11.40	\$5.70
	Ballangeich Hall (bus stop)	\$6.60	\$3.30	\$11.40	\$5.70
	Purnim V/Line stop	\$8.00	\$4.00	\$11.40	\$5.70
	Grassmere Junction	\$9.60	\$4.80	\$11.40	\$5.70
	Bushfield (V/Line stop outside oval)	\$9.60	\$4.80	\$11.40	\$5.70
	Warrnambool (Koroit St terminal)	\$11.40	\$5.70	\$11.40	\$5.70
Noorat Post Office	Terang Station	\$3.00	\$1.50	\$6.00	\$3.00
	Mortlake V/Line stop (Dunlop St)	\$4.00	\$2.00	\$8.00	\$4.00
	Ellerslie-Sisters Rd (cnr Mortlake- Framlingham Rd)	\$4.40	\$2.20	\$8.80	\$4.40
	Ballangeich Hall (bus stop)	\$5.80	\$2.90	\$11.40	\$5.70
	Purnim V/Line stop	\$6.60	\$3.30	\$11.40	\$5.70
	Grassmere Junction	\$8.00	\$4.00	\$11.40	\$5.70
	Bushfield (V/Line stop outside oval)	\$8.00	\$4.00	\$11.40	\$5.70
	Warrnambool (Koroit St terminal)	\$9.60	\$4.80	\$11.40	\$5.70
Mortlake V/Line stop (Dunlop St)	Terang Station	\$4.40	\$2.20	\$8.80	\$4.40
	Noorat Post Office	\$4.00	\$2.00	\$8.00	\$4.00
	Ellerslie-Sisters Rd (cnr Mortlake- Framlingham Rd)	\$4.00	\$2.00	\$8.00	\$4.00
	Ballangeich Hall (bus stop)	\$4.40	\$2.20	\$8.80	\$4.40
	Purnim V/Line stop	\$5.80	\$2.90	\$11.40	\$5.70
	Grassmere Junction	\$5.80	\$2.90	\$11.40	\$5.70
	Bushfield (V/Line stop outside oval)	\$6.60	\$3.30	\$11.40	\$5.70
	Warrnambool (Koroit St terminal)	\$6.60	\$3.30	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Ellerslie-Sisters Rd (cnr Mortlake-Framlingham Rd)	Terang Station	\$5.80	\$2.90	\$11.40	\$5.70
	Noorat Post Office	\$4.40	\$2.20	\$8.80	\$4.40
	Mortlake V/Line stop (Dunlop St)	\$4.00	\$2.00	\$8.00	\$4.00
	Ballangeich Hall (bus stop)	\$3.00	\$1.50	\$6.00	\$3.00
	Purnim V/Line stop	\$4.00	\$2.00	\$8.00	\$4.00
	Grassmere Junction	\$4.40	\$2.20	\$8.80	\$4.40
	Bushfield (V/Line stop outside oval)	\$4.40	\$2.20	\$8.80	\$4.40
	Warrnambool (Koroit St terminal)	\$5.80	\$2.90	\$11.40	\$5.70
Ballangeich Hall (bus stop)	Terang Station	\$6.60	\$3.30	\$11.40	\$5.70
	Noorat Post Office	\$5.80	\$2.90	\$11.40	\$5.70
	Mortlake V/Line stop (Dunlop St)	\$4.40	\$2.20	\$8.80	\$4.40
	Ellerslie-Sisters Rd (cnr Mortlake-Framlingham Rd)	\$3.00	\$1.50	\$6.00	\$3.00
	Purnim V/Line stop	\$3.00	\$1.50	\$6.00	\$3.00
	Grassmere Junction	\$4.00	\$2.00	\$8.00	\$4.00
	Bushfield (V/Line stop outside oval)	\$4.00	\$2.00	\$8.00	\$4.00
	Warrnambool (Koroit St terminal)	\$4.40	\$2.20	\$8.80	\$4.40
Purnim V/Line stop	Terang Station	\$8.00	\$4.00	\$11.40	\$5.70
	Noorat Post Office	\$6.60	\$3.30	\$11.40	\$5.70
	Mortlake V/Line stop (Dunlop St)	\$5.80	\$2.90	\$11.40	\$5.70
	Ellerslie-Sisters Rd (cnr Mortlake-Framlingham Rd)	\$4.00	\$2.00	\$8.00	\$4.00
	Ballangeich Hall (bus stop)	\$3.00	\$1.50	\$6.00	\$3.00
	Grassmere Junction	\$3.00	\$1.50	\$6.00	\$3.00
	Bushfield (V/Line stop outside oval)	\$4.00	\$2.00	\$8.00	\$4.00
	Warrnambool (Koroit St terminal)	\$4.00	\$2.00	\$8.00	\$4.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Grassmere Junction	Terang Station	\$9.60	\$4.80	\$11.40	\$5.70
	Noorat Post Office	\$8.00	\$4.00	\$11.40	\$5.70
	Mortlake V/Line stop (Dunlop St)	\$5.80	\$2.90	\$11.40	\$5.70
	Ellerslie-Sisters Rd (cnr Mortlake- Framlingham Rd)	\$4.40	\$2.20	\$8.80	\$4.40
	Ballangeich Hall (bus stop)	\$4.00	\$2.00	\$8.00	\$4.00
	Purnim V/Line stop	\$3.00	\$1.50	\$6.00	\$3.00
	Bushfield (V/Line stop outside oval)	\$3.00	\$1.50	\$6.00	\$3.00
	Warrnambool (Koroit St terminal)	\$4.00	\$2.00	\$8.00	\$4.00
Bushfield (V/Line stop outside oval)	Terang Station	\$9.60	\$4.80	\$11.40	\$5.70
	Noorat Post Office	\$8.00	\$4.00	\$11.40	\$5.70
	Mortlake V/Line stop (Dunlop St)	\$6.60	\$3.30	\$11.40	\$5.70
	Ellerslie-Sisters Rd (cnr Mortlake- Framlingham Rd)	\$4.40	\$2.20	\$8.80	\$4.40
	Ballangeich Hall (bus stop)	\$4.00	\$2.00	\$8.00	\$4.00
	Purnim V/Line stop	\$4.00	\$2.00	\$8.00	\$4.00
	Grassmere Junction	\$3.00	\$1.50	\$6.00	\$3.00
	Warrnambool (Koroit St terminal)	\$3.00	\$1.50	\$6.00	\$3.00
Warrnambool (Koroit St terminal)	Terang Station	\$11.40	\$5.70	\$11.40	\$5.70
	Noorat Post Office	\$9.60	\$4.80	\$11.40	\$5.70
	Mortlake V/Line stop (Dunlop St)	\$6.60	\$3.30	\$11.40	\$5.70
	Ellerslie-Sisters Rd (cnr Mortlake- Framlingham Rd)	\$5.80	\$2.90	\$11.40	\$5.70
	Ballangeich Hall (bus stop)	\$4.40	\$2.20	\$8.80	\$4.40
	Purnim V/Line stop	\$4.00	\$2.00	\$8.00	\$4.00
	Grassmere Junction	\$4.00	\$2.00	\$8.00	\$4.00
	Bushfield (V/Line stop outside oval)	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Timboon – Cobden – Camperdown

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Timboon	Cobden	\$4.00	\$2.00	\$8.00	\$4.00
	Camperdown	\$6.60	\$3.30	\$11.40	\$5.70
Cobden	Timboon	\$4.00	\$2.00	\$8.00	\$4.00
	Camperdown	\$4.40	\$2.20	\$8.80	\$4.40
Camperdown	Timboon	\$6.60	\$3.30	\$11.40	\$5.70
	Cobden	\$4.40	\$2.20	\$8.80	\$4.40

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Timboon – Warrnambool

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Timboon	Port Campbell	\$4.00	\$2.00	\$8.00	\$4.00
	Peterborough	\$4.40	\$2.20	\$8.80	\$4.40
	Nirranda South	\$8.00	\$4.00	\$11.40	\$5.70
	Nirranda	\$8.00	\$4.00	\$11.40	\$5.70
	Nullawarre	\$8.00	\$4.00	\$11.40	\$5.70
	Mepunga	\$9.60	\$4.80	\$11.40	\$5.70
	Kraft	\$9.60	\$4.80	\$11.40	\$5.70
	Allansford	\$11.40	\$5.70	\$11.40	\$5.70
	Warrnambool	\$11.40	\$5.70	\$11.40	\$5.70
Port Campbell	Timboon	\$4.00	\$2.00	\$8.00	\$4.00
	Peterborough	\$4.00	\$2.00	\$8.00	\$4.00
	Nirranda South	\$5.80	\$2.90	\$11.40	\$5.70
	Nirranda	\$5.80	\$2.90	\$11.40	\$5.70
	Nullawarre	\$5.80	\$2.90	\$11.40	\$5.70
	Mepunga	\$6.60	\$3.30	\$11.40	\$5.70
	Kraft	\$8.00	\$4.00	\$11.40	\$5.70
	Allansford	\$8.00	\$4.00	\$11.40	\$5.70
	Warrnambool	\$9.60	\$4.80	\$11.40	\$5.70
Peterborough	Timboon	\$4.40	\$2.20	\$8.80	\$4.40
	Port Campbell	\$4.00	\$2.00	\$8.00	\$4.00
	Nirranda South	\$4.40	\$2.20	\$8.80	\$4.40
	Nirranda	\$4.40	\$2.20	\$8.80	\$4.40
	Nullawarre	\$4.40	\$2.20	\$8.80	\$4.40
	Mepunga	\$5.80	\$2.90	\$11.40	\$5.70
	Kraft	\$5.80	\$2.90	\$11.40	\$5.70
	Allansford	\$6.60	\$3.30	\$11.40	\$5.70
	Warrnambool	\$8.00	\$4.00	\$11.40	\$5.70
Nirranda South	Timboon	\$8.00	\$4.00	\$11.40	\$5.70
	Port Campbell	\$5.80	\$2.90	\$11.40	\$5.70
	Peterborough	\$4.40	\$2.20	\$8.80	\$4.40
	Nirranda	\$3.00	\$1.50	\$6.00	\$3.00
	Nullawarre	\$3.00	\$1.50	\$6.00	\$3.00
	Mepunga	\$4.00	\$2.00	\$8.00	\$4.00
	Kraft	\$4.00	\$2.00	\$8.00	\$4.00
	Allansford	\$4.40	\$2.20	\$8.80	\$4.40
	Warrnambool	\$5.80	\$2.90	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Nirranda	Timboon	\$8.00	\$4.00	\$11.40	\$5.70
	Port Campbell	\$5.80	\$2.90	\$11.40	\$5.70
	Peterborough	\$4.40	\$2.20	\$8.80	\$4.40
	Nirranda South	\$3.00	\$1.50	\$6.00	\$3.00
	Nullawarre	\$3.00	\$1.50	\$6.00	\$3.00
	Mepunga	\$4.00	\$2.00	\$8.00	\$4.00
	Kraft	\$4.00	\$2.00	\$8.00	\$4.00
	Allansford	\$4.40	\$2.20	\$8.80	\$4.40
	Warrnambool	\$5.80	\$2.90	\$11.40	\$5.70
Nullawarre	Timboon	\$8.00	\$4.00	\$11.40	\$5.70
	Port Campbell	\$5.80	\$2.90	\$11.40	\$5.70
	Peterborough	\$4.40	\$2.20	\$8.80	\$4.40
	Nirranda South	\$3.00	\$1.50	\$6.00	\$3.00
	Nirranda	\$3.00	\$1.50	\$6.00	\$3.00
	Mepunga	\$4.00	\$2.00	\$8.00	\$4.00
	Kraft	\$4.00	\$2.00	\$8.00	\$4.00
	Allansford	\$4.00	\$2.00	\$8.00	\$4.00
	Warrnambool	\$4.40	\$2.20	\$8.80	\$4.40
Mepunga	Timboon	\$9.60	\$4.80	\$11.40	\$5.70
	Port Campbell	\$6.60	\$3.30	\$11.40	\$5.70
	Peterborough	\$5.80	\$2.90	\$11.40	\$5.70
	Nirranda South	\$4.00	\$2.00	\$8.00	\$4.00
	Nirranda	\$4.00	\$2.00	\$8.00	\$4.00
	Nullawarre	\$4.00	\$2.00	\$8.00	\$4.00
	Kraft	\$3.00	\$1.50	\$6.00	\$3.00
	Allansford	\$3.00	\$1.50	\$6.00	\$3.00
	Warrnambool	\$4.00	\$2.00	\$8.00	\$4.00
Kraft	Timboon	\$9.60	\$4.80	\$11.40	\$5.70
	Port Campbell	\$8.00	\$4.00	\$11.40	\$5.70
	Peterborough	\$5.80	\$2.90	\$11.40	\$5.70
	Nirranda South	\$4.00	\$2.00	\$8.00	\$4.00
	Nirranda	\$4.00	\$2.00	\$8.00	\$4.00
	Nullawarre	\$4.00	\$2.00	\$8.00	\$4.00
	Mepunga	\$3.00	\$1.50	\$6.00	\$3.00
	Allansford	\$3.00	\$1.50	\$6.00	\$3.00
	Warrnambool	\$4.00	\$2.00	\$8.00	\$4.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Allansford	Timboon	\$11.40	\$5.70	\$11.40	\$5.70
	Port Campbell	\$8.00	\$4.00	\$11.40	\$5.70
	Peterborough	\$6.60	\$3.30	\$11.40	\$5.70
	Nirranda South	\$4.40	\$2.20	\$8.80	\$4.40
	Nirranda	\$4.40	\$2.20	\$8.80	\$4.40
	Nullawarre	\$4.00	\$2.00	\$8.00	\$4.00
	Mepunga	\$3.00	\$1.50	\$6.00	\$3.00
	Kraft	\$3.00	\$1.50	\$6.00	\$3.00
	Warrnambool	\$3.00	\$1.50	\$6.00	\$3.00
Warrnambool	Timboon	\$11.40	\$5.70	\$11.40	\$5.70
	Port Campbell	\$9.60	\$4.80	\$11.40	\$5.70
	Peterborough	\$8.00	\$4.00	\$11.40	\$5.70
	Nirranda South	\$5.80	\$2.90	\$11.40	\$5.70
	Nirranda	\$5.80	\$2.90	\$11.40	\$5.70
	Nullawarre	\$4.40	\$2.20	\$8.80	\$4.40
	Mepunga	\$4.00	\$2.00	\$8.00	\$4.00
	Kraft	\$4.00	\$2.00	\$8.00	\$4.00
	Allansford	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Warriön – Colac

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Warriön	Bullock Swamp Rd (Coragulac)	\$3.00	\$1.50	\$6.00	\$3.00
	Coragulac	\$3.00	\$1.50	\$6.00	\$3.00
	Alvie	\$4.00	\$2.00	\$8.00	\$4.00
	Cororookene	\$4.40	\$2.20	\$8.80	\$4.40
	Colac	\$5.80	\$2.90	\$11.40	\$5.70
Bullock Swamp Rd (Coragulac)	Warriön	\$3.00	\$1.50	\$6.00	\$3.00
	Coragulac	\$3.00	\$1.50	\$6.00	\$3.00
	Alvie	\$4.00	\$2.00	\$8.00	\$4.00
	Cororookene	\$4.00	\$2.00	\$8.00	\$4.00
	Colac	\$4.40	\$2.20	\$8.80	\$4.40
Coragulac	Warriön	\$3.00	\$1.50	\$6.00	\$3.00
	Bullock Swamp Rd (Coragulac)	\$3.00	\$1.50	\$6.00	\$3.00
	Alvie	\$3.00	\$1.50	\$6.00	\$3.00
	Cororookene	\$4.00	\$2.00	\$8.00	\$4.00
	Colac	\$4.40	\$2.20	\$8.80	\$4.40
Alvie	Warriön	\$4.00	\$2.00	\$8.00	\$4.00
	Bullock Swamp Rd (Coragulac)	\$4.00	\$2.00	\$8.00	\$4.00
	Coragulac	\$3.00	\$1.50	\$6.00	\$3.00
	Cororookene	\$3.00	\$1.50	\$6.00	\$3.00
	Colac	\$4.00	\$2.00	\$8.00	\$4.00
Cororookene	Warriön	\$4.40	\$2.20	\$8.80	\$4.40
	Bullock Swamp Rd (Coragulac)	\$4.00	\$2.00	\$8.00	\$4.00
	Coragulac	\$4.00	\$2.00	\$8.00	\$4.00
	Alvie	\$3.00	\$1.50	\$6.00	\$3.00
	Colac	\$3.00	\$1.50	\$6.00	\$3.00
Colac	Warriön	\$5.80	\$2.90	\$11.40	\$5.70
	Bullock Swamp Rd (Coragulac)	\$4.40	\$2.20	\$8.80	\$4.40
	Coragulac	\$4.40	\$2.20	\$8.80	\$4.40
	Alvie	\$4.00	\$2.00	\$8.00	\$4.00
	Cororookene	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Warrnambool – Allansford/Kraft

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Warrnambool	Deakin	\$3.00	\$1.50	\$6.00	\$3.00
	Allansford	\$3.00	\$1.50	\$6.00	\$3.00
	Kraft	\$4.00	\$2.00	\$8.00	\$4.00
Deakin	Warrnambool	\$3.00	\$1.50	\$6.00	\$3.00
	Allansford	\$3.00	\$1.50	\$6.00	\$3.00
	Kraft	\$4.00	\$2.00	\$8.00	\$4.00
Allansford	Warrnambool	\$3.00	\$1.50	\$6.00	\$3.00
	Deakin	\$3.00	\$1.50	\$6.00	\$3.00
	Kraft	\$3.00	\$1.50	\$6.00	\$3.00
Kraft	Warrnambool	\$4.00	\$2.00	\$8.00	\$4.00
	Deakin	\$4.00	\$2.00	\$8.00	\$4.00
	Allansford	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Warrnambool – Ararat

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Warrnambool	Port Fairy	\$4.40	\$2.20	\$8.80	\$4.40
	Macarthur	\$11.40	\$5.70	\$11.40	\$5.70
	Byaduk	\$11.40	\$5.70	\$11.40	\$5.70
	Byaduk Nth	\$11.40	\$5.70	\$11.40	\$5.70
	Hamilton	\$11.40	\$5.70	\$11.40	\$5.70
	Dunkeld	\$11.40	\$5.70	\$11.40	\$5.70
	Halls Gap	\$11.40	\$5.70	\$11.40	\$5.70
	Pomonal	\$11.40	\$5.70	\$11.40	\$5.70
	Moyston	\$11.40	\$5.70	\$11.40	\$5.70
	Ararat	\$11.40	\$5.70	\$11.40	\$5.70
Port Fairy	Warrnambool	\$4.40	\$2.20	\$8.80	\$4.40
	Macarthur	\$6.60	\$3.30	\$11.40	\$5.70
	Byaduk	\$8.00	\$4.00	\$11.40	\$5.70
	Byaduk Nth	\$9.60	\$4.80	\$11.40	\$5.70
	Hamilton	\$11.40	\$5.70	\$11.40	\$5.70
	Dunkeld	\$11.40	\$5.70	\$11.40	\$5.70
	Halls Gap	\$11.40	\$5.70	\$11.40	\$5.70
	Pomonal	\$11.40	\$5.70	\$11.40	\$5.70
	Moyston	\$11.40	\$5.70	\$11.40	\$5.70
	Ararat	\$11.40	\$5.70	\$11.40	\$5.70
Macarthur	Warrnambool	\$11.40	\$5.70	\$11.40	\$5.70
	Port Fairy	\$6.60	\$3.30	\$11.40	\$5.70
	Byaduk	\$4.00	\$2.00	\$8.00	\$4.00
	Byaduk Nth	\$4.00	\$2.00	\$8.00	\$4.00
	Hamilton	\$5.80	\$2.90	\$11.40	\$5.70
	Dunkeld	\$9.60	\$4.80	\$11.40	\$5.70
	Halls Gap	\$11.40	\$5.70	\$11.40	\$5.70
	Pomonal	\$11.40	\$5.70	\$11.40	\$5.70
	Moyston	\$11.40	\$5.70	\$11.40	\$5.70
	Ararat	\$11.40	\$5.70	\$11.40	\$5.70
Byaduk	Warrnambool	\$11.40	\$5.70	\$11.40	\$5.70
	Port Fairy	\$8.00	\$4.00	\$11.40	\$5.70
	Macarthur	\$4.00	\$2.00	\$8.00	\$4.00
	Byaduk Nth	\$3.00	\$1.50	\$6.00	\$3.00
	Hamilton	\$4.40	\$2.20	\$8.80	\$4.40
	Dunkeld	\$8.00	\$4.00	\$11.40	\$5.70
	Halls Gap	\$11.40	\$5.70	\$11.40	\$5.70
	Pomonal	\$11.40	\$5.70	\$11.40	\$5.70
	Moyston	\$11.40	\$5.70	\$11.40	\$5.70
	Ararat	\$11.40	\$5.70	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Byaduk Nth	Warrnambool	\$11.40	\$5.70	\$11.40	\$5.70
	Port Fairy	\$9.60	\$4.80	\$11.40	\$5.70
	Macarthur	\$4.00	\$2.00	\$8.00	\$4.00
	Byaduk	\$3.00	\$1.50	\$6.00	\$3.00
	Hamilton	\$4.00	\$2.00	\$8.00	\$4.00
	Dunkeld	\$6.60	\$3.30	\$11.40	\$5.70
	Halls Gap	\$11.40	\$5.70	\$11.40	\$5.70
	Pomonal	\$11.40	\$5.70	\$11.40	\$5.70
	Moyston	\$11.40	\$5.70	\$11.40	\$5.70
	Ararat	\$11.40	\$5.70	\$11.40	\$5.70
Hamilton	Warrnambool	\$11.40	\$5.70	\$11.40	\$5.70
	Port Fairy	\$11.40	\$5.70	\$11.40	\$5.70
	Macarthur	\$5.80	\$2.90	\$11.40	\$5.70
	Byaduk	\$4.40	\$2.20	\$8.80	\$4.40
	Byaduk Nth	\$4.00	\$2.00	\$8.00	\$4.00
	Dunkeld	\$4.40	\$2.20	\$8.80	\$4.40
	Halls Gap	\$11.40	\$5.70	\$11.40	\$5.70
	Pomonal	\$11.40	\$5.70	\$11.40	\$5.70
	Moyston	\$11.40	\$5.70	\$11.40	\$5.70
	Ararat	\$11.40	\$5.70	\$11.40	\$5.70
Dunkeld	Warrnambool	\$11.40	\$5.70	\$11.40	\$5.70
	Port Fairy	\$11.40	\$5.70	\$11.40	\$5.70
	Macarthur	\$9.60	\$4.80	\$11.40	\$5.70
	Byaduk	\$8.00	\$4.00	\$11.40	\$5.70
	Byaduk Nth	\$6.60	\$3.30	\$11.40	\$5.70
	Hamilton	\$4.40	\$2.20	\$8.80	\$4.40
	Halls Gap	\$9.60	\$4.80	\$11.40	\$5.70
	Pomonal	\$11.40	\$5.70	\$11.40	\$5.70
	Moyston	\$11.40	\$5.70	\$11.40	\$5.70
	Ararat	\$11.40	\$5.70	\$11.40	\$5.70
Halls Gap	Warrnambool	\$11.40	\$5.70	\$11.40	\$5.70
	Port Fairy	\$11.40	\$5.70	\$11.40	\$5.70
	Macarthur	\$11.40	\$5.70	\$11.40	\$5.70
	Byaduk	\$11.40	\$5.70	\$11.40	\$5.70
	Byaduk Nth	\$11.40	\$5.70	\$11.40	\$5.70
	Hamilton	\$11.40	\$5.70	\$11.40	\$5.70
	Dunkeld	\$9.60	\$4.80	\$11.40	\$5.70
	Pomonal	\$4.00	\$2.00	\$8.00	\$4.00
	Moyston	\$5.80	\$2.90	\$11.40	\$5.70
	Ararat	\$6.60	\$3.30	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Pomonal	Warrnambool	\$11.40	\$5.70	\$11.40	\$5.70
	Port Fairy	\$11.40	\$5.70	\$11.40	\$5.70
	Macarthur	\$11.40	\$5.70	\$11.40	\$5.70
	Byaduk	\$11.40	\$5.70	\$11.40	\$5.70
	Byaduk Nth	\$11.40	\$5.70	\$11.40	\$5.70
	Hamilton	\$11.40	\$5.70	\$11.40	\$5.70
	Dunkeld	\$11.40	\$5.70	\$11.40	\$5.70
	Halls Gap	\$4.00	\$2.00	\$8.00	\$4.00
	Moyston	\$4.00	\$2.00	\$8.00	\$4.00
	Ararat	\$5.80	\$2.90	\$11.40	\$5.70
Moyston	Warrnambool	\$11.40	\$5.70	\$11.40	\$5.70
	Port Fairy	\$11.40	\$5.70	\$11.40	\$5.70
	Macarthur	\$11.40	\$5.70	\$11.40	\$5.70
	Byaduk	\$11.40	\$5.70	\$11.40	\$5.70
	Byaduk Nth	\$11.40	\$5.70	\$11.40	\$5.70
	Hamilton	\$11.40	\$5.70	\$11.40	\$5.70
	Dunkeld	\$11.40	\$5.70	\$11.40	\$5.70
	Halls Gap	\$5.80	\$2.90	\$11.40	\$5.70
	Pomonal	\$4.00	\$2.00	\$8.00	\$4.00
	Ararat	\$4.00	\$2.00	\$8.00	\$4.00
Ararat	Warrnambool	\$11.40	\$5.70	\$11.40	\$5.70
	Port Fairy	\$11.40	\$5.70	\$11.40	\$5.70
	Macarthur	\$11.40	\$5.70	\$11.40	\$5.70
	Byaduk	\$11.40	\$5.70	\$11.40	\$5.70
	Byaduk Nth	\$11.40	\$5.70	\$11.40	\$5.70
	Hamilton	\$11.40	\$5.70	\$11.40	\$5.70
	Dunkeld	\$11.40	\$5.70	\$11.40	\$5.70
	Halls Gap	\$6.60	\$3.30	\$11.40	\$5.70
	Pomonal	\$5.80	\$2.90	\$11.40	\$5.70
	Moyston	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

# Grampians region (west) fare tables

**Please note:** Customers that are not entitled to free travel should always pay a fare, even if travelling only a single stop. When a customer travels between non-listed stops within the same town, a single zone fare is charged (\$3.00 for full fare and \$1.50 for concession). Due to the large number of stops within Victoria, only major stops are listed in fare tables.

## Ararat – Ararat Prison

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Ararat	Ararat Prison	\$3.00	\$1.50	\$6.00	\$3.00
Ararat Prison	Ararat	\$3.00	\$1.50	\$6.00	\$3.00

## Ararat – Maryborough

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Ararat	Eversley	\$4.40	\$2.20	\$8.80	\$4.40
	Elmhurst	\$5.80	\$2.90	\$11.40	\$5.70
	Amphitheatre	\$8.00	\$4.00	\$11.40	\$5.70
	Avoca	\$9.60	\$4.80	\$11.40	\$5.70
	Maryborough	\$11.40	\$5.70	\$11.40	\$5.70
Eversley	Ararat	\$4.40	\$2.20	\$8.80	\$4.40
	Elmhurst	\$3.00	\$1.50	\$6.00	\$3.00
	Amphitheatre	\$4.40	\$2.20	\$8.80	\$4.40
	Avoca	\$6.60	\$3.30	\$11.40	\$5.70
	Maryborough	\$9.60	\$4.80	\$11.40	\$5.70
Elmhurst	Ararat	\$5.80	\$2.90	\$11.40	\$5.70
	Eversley	\$3.00	\$1.50	\$6.00	\$3.00
	Amphitheatre	\$4.00	\$2.00	\$8.00	\$4.00
	Avoca	\$5.80	\$2.90	\$11.40	\$5.70
	Maryborough	\$8.00	\$4.00	\$11.40	\$5.70
Amphitheatre	Ararat	\$8.00	\$4.00	\$11.40	\$5.70
	Eversley	\$4.40	\$2.20	\$8.80	\$4.40
	Elmhurst	\$4.00	\$2.00	\$8.00	\$4.00
	Avoca	\$4.00	\$2.00	\$8.00	\$4.00
	Maryborough	\$5.80	\$2.90	\$11.40	\$5.70
Avoca	Ararat	\$9.60	\$4.80	\$11.40	\$5.70
	Eversley	\$6.60	\$3.30	\$11.40	\$5.70
	Elmhurst	\$5.80	\$2.90	\$11.40	\$5.70
	Amphitheatre	\$4.00	\$2.00	\$8.00	\$4.00
	Maryborough	\$4.40	\$2.20	\$8.80	\$4.40
Maryborough	Ararat	\$11.40	\$5.70	\$11.40	\$5.70
	Eversley	\$9.60	\$4.80	\$11.40	\$5.70
	Elmhurst	\$8.00	\$4.00	\$11.40	\$5.70
	Amphitheatre	\$5.80	\$2.90	\$11.40	\$5.70
	Avoca	\$4.40	\$2.20	\$8.80	\$4.40

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Ballarat – Creswick – Smeaton (Ballarat transit school service)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Ballarat	Creswick	\$4.00	\$2.00	\$8.00	\$4.00
	Smeaton	\$5.80	\$2.90	\$11.40	\$5.70
Creswick	Ballarat	\$4.00	\$2.00	\$8.00	\$4.00
	Smeaton	\$4.40	\$2.20	\$8.80	\$4.40
Smeaton	Ballarat	\$5.80	\$2.90	\$11.40	\$5.70
	Creswick	\$4.40	\$2.20	\$8.80	\$4.40

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Ballarat – Maryborough via Clunes

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Ballarat	Creswick	\$4.00	\$2.00	\$8.00	\$4.00
	Clunes	\$5.80	\$2.90	\$11.40	\$5.70
	Dunach	\$6.60	\$3.30	\$11.40	\$5.70
	Talbot	\$8.00	\$4.00	\$11.40	\$5.70
	Daisy Hill	\$8.00	\$4.00	\$11.40	\$5.70
	Maryborough	\$9.60	\$4.80	\$11.40	\$5.70
Creswick	Ballarat	\$4.00	\$2.00	\$8.00	\$4.00
	Clunes	\$4.40	\$2.20	\$8.80	\$4.40
	Dunach	\$5.80	\$2.90	\$11.40	\$5.70
	Talbot	\$6.60	\$3.30	\$11.40	\$5.70
	Daisy Hill	\$6.60	\$3.30	\$11.40	\$5.70
	Maryborough	\$6.60	\$3.30	\$11.40	\$5.70
Clunes	Ballarat	\$5.80	\$2.90	\$11.40	\$5.70
	Creswick	\$4.40	\$2.20	\$8.80	\$4.40
	Dunach	\$4.00	\$2.00	\$8.00	\$4.00
	Talbot	\$4.00	\$2.00	\$8.00	\$4.00
	Daisy Hill	\$4.40	\$2.20	\$8.80	\$4.40
	Maryborough	\$4.40	\$2.20	\$8.80	\$4.40
Dunach	Ballarat	\$6.60	\$3.30	\$11.40	\$5.70
	Creswick	\$5.80	\$2.90	\$11.40	\$5.70
	Clunes	\$4.00	\$2.00	\$8.00	\$4.00
	Talbot	\$3.00	\$1.50	\$6.00	\$3.00
	Daisy Hill	\$3.00	\$1.50	\$6.00	\$3.00
	Maryborough	\$4.00	\$2.00	\$8.00	\$4.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Talbot	Ballarat	\$8.00	\$4.00	\$11.40	\$5.70
	Creswick	\$6.60	\$3.30	\$11.40	\$5.70
	Clunes	\$4.00	\$2.00	\$8.00	\$4.00
	Dunach	\$3.00	\$1.50	\$6.00	\$3.00
	Daisy Hill	\$3.00	\$1.50	\$6.00	\$3.00
	Maryborough	\$3.00	\$1.50	\$6.00	\$3.00
Daisy Hill	Ballarat	\$8.00	\$4.00	\$11.40	\$5.70
	Creswick	\$6.60	\$3.30	\$11.40	\$5.70
	Clunes	\$4.40	\$2.20	\$8.80	\$4.40
	Dunach	\$3.00	\$1.50	\$6.00	\$3.00
	Talbot	\$3.00	\$1.50	\$6.00	\$3.00
	Maryborough	\$3.00	\$1.50	\$6.00	\$3.00
Maryborough	Ballarat	\$9.60	\$4.80	\$11.40	\$5.70
	Creswick	\$6.60	\$3.30	\$11.40	\$5.70
	Clunes	\$4.40	\$2.20	\$8.80	\$4.40
	Dunach	\$4.00	\$2.00	\$8.00	\$4.00
	Talbot	\$3.00	\$1.50	\$6.00	\$3.00
	Daisy Hill	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Birchip – Warracknabeal – Horsham

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Birchip	Warracknabeal	\$9.60	\$4.80	\$11.40	\$5.70
	Dooen	\$11.40	\$5.70	\$11.40	\$5.70
	Horsham S/C	\$11.40	\$5.70	\$11.40	\$5.70
	Horsham (Roberts Ave)	\$11.40	\$5.70	\$11.40	\$5.70
	Longerenong	\$11.40	\$5.70	\$11.40	\$5.70
Warracknabeal	Birchip	\$9.60	\$4.80	\$11.40	\$5.70
	Dooen	\$6.60	\$3.30	\$11.40	\$5.70
	Horsham S/C	\$8.00	\$4.00	\$11.40	\$5.70
	Horsham (Roberts Ave)	\$8.00	\$4.00	\$11.40	\$5.70
	Longerenong	\$11.40	\$5.70	\$11.40	\$5.70
Dooen	Birchip	\$11.40	\$5.70	\$11.40	\$5.70
	Warracknabeal	\$6.60	\$3.30	\$11.40	\$5.70
	Horsham S/C	\$3.00	\$1.50	\$6.00	\$3.00
	Horsham (Roberts Ave)	\$3.00	\$1.50	\$6.00	\$3.00
	Longerenong	\$4.40	\$2.20	\$8.80	\$4.40
Horsham S/C	Birchip	\$11.40	\$5.70	\$11.40	\$5.70
	Warracknabeal	\$8.00	\$4.00	\$11.40	\$5.70
	Dooen	\$3.00	\$1.50	\$6.00	\$3.00
	Horsham (Roberts Ave)	\$3.00	\$1.50	\$6.00	\$3.00
	Longerenong	\$4.00	\$2.00	\$8.00	\$4.00
Horsham (Roberts Ave)	Birchip	\$11.40	\$5.70	\$11.40	\$5.70
	Warracknabeal	\$8.00	\$4.00	\$11.40	\$5.70
	Dooen	\$3.00	\$1.50	\$6.00	\$3.00
	Horsham S/C	\$3.00	\$1.50	\$6.00	\$3.00
	Longerenong	\$4.00	\$2.00	\$8.00	\$4.00
Longerenong	Birchip	\$11.40	\$5.70	\$11.40	\$5.70
	Warracknabeal	\$11.40	\$5.70	\$11.40	\$5.70
	Dooen	\$4.40	\$2.20	\$8.80	\$4.40
	Horsham S/C	\$4.00	\$2.00	\$8.00	\$4.00
	Horsham (Roberts Ave)	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Daylesford – Hepburn Springs

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Daylesford	Hepburn Springs	\$3.00	\$1.50	\$6.00	\$3.00
Hepburn Springs	Daylesford	\$3.00	\$1.50	\$6.00	\$3.00

## Hepburn – Creswick via Daylesford

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Old Hepburn	Hepburn Springs	\$3.00	\$1.50	\$6.00	\$3.00
	Daylesford	\$3.00	\$1.50	\$6.00	\$3.00
	Eganstown	\$4.00	\$2.00	\$8.00	\$4.00
	Blampied	\$5.80	\$2.90	\$11.40	\$5.70
	Newlyn	\$6.60	\$3.30	\$11.40	\$5.70
	Springmount	\$8.00	\$4.00	\$11.40	\$5.70
	Creswick	\$9.60	\$4.80	\$11.40	\$5.70
Hepburn Springs	Old Hepburn	\$3.00	\$1.50	\$6.00	\$3.00
	Daylesford	\$3.00	\$1.50	\$6.00	\$3.00
	Eganstown	\$4.00	\$2.00	\$8.00	\$4.00
	Blampied	\$4.40	\$2.20	\$8.80	\$4.40
	Newlyn	\$6.60	\$3.30	\$11.40	\$5.70
	Springmount	\$8.00	\$4.00	\$11.40	\$5.70
	Creswick	\$9.60	\$4.80	\$11.40	\$5.70
Daylesford	Old Hepburn	\$3.00	\$1.50	\$6.00	\$3.00
	Hepburn Springs	\$3.00	\$1.50	\$6.00	\$3.00
	Eganstown	\$4.00	\$2.00	\$8.00	\$4.00
	Blampied	\$4.40	\$2.20	\$8.80	\$4.40
	Newlyn	\$5.80	\$2.90	\$11.40	\$5.70
	Springmount	\$6.60	\$3.30	\$11.40	\$5.70
	Creswick	\$8.00	\$4.00	\$11.40	\$5.70
Eganstown	Old Hepburn	\$4.00	\$2.00	\$8.00	\$4.00
	Hepburn Springs	\$4.00	\$2.00	\$8.00	\$4.00
	Daylesford	\$4.00	\$2.00	\$8.00	\$4.00
	Blampied	\$4.00	\$2.00	\$8.00	\$4.00
	Newlyn	\$4.40	\$2.20	\$8.80	\$4.40
	Springmount	\$5.80	\$2.90	\$11.40	\$5.70
	Creswick	\$6.60	\$3.30	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Blampied	Old Hepburn	\$5.80	\$2.90	\$11.40	\$5.70
	Hepburn Springs	\$4.40	\$2.20	\$8.80	\$4.40
	Daylesford	\$4.40	\$2.20	\$8.80	\$4.40
	Eganstown	\$4.00	\$2.00	\$8.00	\$4.00
	Newlyn	\$4.00	\$2.00	\$8.00	\$4.00
	Springmount	\$4.40	\$2.20	\$8.80	\$4.40
	Creswick	\$5.80	\$2.90	\$11.40	\$5.70
Newlyn	Old Hepburn	\$6.60	\$3.30	\$11.40	\$5.70
	Hepburn Springs	\$6.60	\$3.30	\$11.40	\$5.70
	Daylesford	\$5.80	\$2.90	\$11.40	\$5.70
	Eganstown	\$4.40	\$2.20	\$8.80	\$4.40
	Blampied	\$4.00	\$2.00	\$8.00	\$4.00
	Springmount	\$3.00	\$1.50	\$6.00	\$3.00
	Creswick	\$4.40	\$2.20	\$8.80	\$4.40
Springmount	Old Hepburn	\$8.00	\$4.00	\$11.40	\$5.70
	Hepburn Springs	\$8.00	\$4.00	\$11.40	\$5.70
	Daylesford	\$6.60	\$3.30	\$11.40	\$5.70
	Eganstown	\$5.80	\$2.90	\$11.40	\$5.70
	Blampied	\$4.40	\$2.20	\$8.80	\$4.40
	Newlyn	\$3.00	\$1.50	\$6.00	\$3.00
	Creswick	\$4.00	\$2.00	\$8.00	\$4.00
Creswick	Old Hepburn	\$9.60	\$4.80	\$11.40	\$5.70
	Hepburn Springs	\$9.60	\$4.80	\$11.40	\$5.70
	Daylesford	\$8.00	\$4.00	\$11.40	\$5.70
	Eganstown	\$6.60	\$3.30	\$11.40	\$5.70
	Blampied	\$5.80	\$2.90	\$11.40	\$5.70
	Newlyn	\$4.40	\$2.20	\$8.80	\$4.40
	Springmount	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Hopetoun – Rainbow – Horsham

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Hopetoun	Yaapeet	\$5.80	\$2.90	\$11.40	\$5.70
	Rainbow	\$6.60	\$3.30	\$11.40	\$5.70
	Jeparit	\$11.40	\$5.70	\$11.40	\$5.70
	Antwerp	\$11.40	\$5.70	\$11.40	\$5.70
	Dimboola	\$11.40	\$5.70	\$11.40	\$5.70
	Pimpinio	\$11.40	\$5.70	\$11.40	\$5.70
	Horsham	\$11.40	\$5.70	\$11.40	\$5.70
Yaapeet	Hopetoun	\$5.80	\$2.90	\$11.40	\$5.70
	Rainbow	\$4.00	\$2.00	\$8.00	\$4.00
	Jeparit	\$6.60	\$3.30	\$11.40	\$5.70
	Antwerp	\$6.60	\$3.30	\$11.40	\$5.70
	Dimboola	\$11.40	\$5.70	\$11.40	\$5.70
	Pimpinio	\$11.40	\$5.70	\$11.40	\$5.70
	Horsham	\$11.40	\$5.70	\$11.40	\$5.70
Rainbow	Hopetoun	\$6.60	\$3.30	\$11.40	\$5.70
	Yaapeet	\$4.00	\$2.00	\$8.00	\$4.00
	Jeparit	\$5.80	\$2.90	\$11.40	\$5.70
	Antwerp	\$6.60	\$3.30	\$11.40	\$5.70
	Dimboola	\$6.60	\$3.30	\$11.40	\$5.70
	Pimpinio	\$11.40	\$5.70	\$11.40	\$5.70
	Horsham	\$11.40	\$5.70	\$11.40	\$5.70
Jeparit	Hopetoun	\$11.40	\$5.70	\$11.40	\$5.70
	Yaapeet	\$6.60	\$3.30	\$11.40	\$5.70
	Rainbow	\$5.80	\$2.90	\$11.40	\$5.70
	Antwerp	\$4.00	\$2.00	\$8.00	\$4.00
	Dimboola	\$5.80	\$2.90	\$11.40	\$5.70
	Pimpinio	\$8.00	\$4.00	\$11.40	\$5.70
	Horsham	\$11.40	\$5.70	\$11.40	\$5.70
Antwerp	Hopetoun	\$11.40	\$5.70	\$11.40	\$5.70
	Yaapeet	\$9.60	\$4.80	\$11.40	\$5.70
	Rainbow	\$6.60	\$3.30	\$11.40	\$5.70
	Jeparit	\$4.00	\$2.00	\$8.00	\$4.00
	Dimboola	\$4.00	\$2.00	\$8.00	\$4.00
	Pimpinio	\$5.80	\$2.90	\$11.40	\$5.70
	Horsham	\$8.00	\$4.00	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Dimboola	Hopetoun	\$11.40	\$5.70	\$11.40	\$5.70
	Yaapeet	\$11.40	\$5.70	\$11.40	\$5.70
	Rainbow	\$9.60	\$4.80	\$11.40	\$5.70
	Jeparit	\$5.80	\$2.90	\$11.40	\$5.70
	Antwerp	\$4.00	\$2.00	\$8.00	\$4.00
	Pimpinio	\$4.00	\$2.00	\$8.00	\$4.00
	Horsham	\$5.80	\$2.90	\$11.40	\$5.70
Pimpinio	Hopetoun	\$11.40	\$5.70	\$11.40	\$5.70
	Yaapeet	\$11.40	\$5.70	\$11.40	\$5.70
	Rainbow	\$11.40	\$5.70	\$11.40	\$5.70
	Jeparit	\$8.00	\$4.00	\$11.40	\$5.70
	Antwerp	\$5.80	\$2.90	\$11.40	\$5.70
	Dimboola	\$4.00	\$2.00	\$8.00	\$4.00
	Horsham	\$4.00	\$2.00	\$8.00	\$4.00
Horsham	Hopetoun	\$11.40	\$5.70	\$11.40	\$5.70
	Yaapeet	\$11.40	\$5.70	\$11.40	\$5.70
	Rainbow	\$11.40	\$5.70	\$11.40	\$5.70
	Jeparit	\$11.40	\$5.70	\$11.40	\$5.70
	Antwerp	\$8.00	\$4.00	\$11.40	\$5.70
	Dimboola	\$5.80	\$2.90	\$11.40	\$5.70
	Pimpinio	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Kaniva – Horsham

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Kaniva	Nhill	\$5.80	\$2.90	\$11.40	\$5.70
	Dimboola	\$11.40	\$5.70	\$11.40	\$5.70
	Pimpinio	\$11.40	\$5.70	\$11.40	\$5.70
	Horsham Plaza	\$11.40	\$5.70	\$11.40	\$5.70
	Horsham (Roberts Ave)	\$11.40	\$5.70	\$11.40	\$5.70
Nhill	Kaniva	\$5.80	\$2.90	\$11.40	\$5.70
	Dimboola	\$5.80	\$2.90	\$11.40	\$5.70
	Pimpinio	\$8.00	\$4.00	\$11.40	\$5.70
	Horsham Plaza	\$11.40	\$5.70	\$11.40	\$5.70
	Horsham (Roberts Ave)	\$11.40	\$5.70	\$11.40	\$5.70
Dimboola	Kaniva	\$11.40	\$5.70	\$11.40	\$5.70
	Nhill	\$5.80	\$2.90	\$11.40	\$5.70
	Pimpinio	\$4.00	\$2.00	\$8.00	\$4.00
	Horsham Plaza	\$5.80	\$2.90	\$11.40	\$5.70
	Horsham (Roberts Ave)	\$5.80	\$2.90	\$11.40	\$5.70
Pimpinio	Kaniva	\$11.40	\$5.70	\$11.40	\$5.70
	Nhill	\$8.00	\$4.00	\$11.40	\$5.70
	Dimboola	\$4.00	\$2.00	\$8.00	\$4.00
	Horsham Plaza	\$4.00	\$2.00	\$8.00	\$4.00
	Horsham (Roberts Ave)	\$4.00	\$2.00	\$8.00	\$4.00
Horsham Plaza	Kaniva	\$11.40	\$5.70	\$11.40	\$5.70
	Nhill	\$11.40	\$5.70	\$11.40	\$5.70
	Dimboola	\$5.80	\$2.90	\$11.40	\$5.70
	Pimpinio	\$4.00	\$2.00	\$8.00	\$4.00
	Horsham (Roberts Ave)	\$3.00	\$1.50	\$6.00	\$3.00
Horsham (Roberts Ave)	Kaniva	\$11.40	\$5.70	\$11.40	\$5.70
	Nhill	\$11.40	\$5.70	\$11.40	\$5.70
	Dimboola	\$5.80	\$2.90	\$11.40	\$5.70
	Pimpinio	\$4.00	\$2.00	\$8.00	\$4.00
	Horsham Plaza	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Lake Bolac – Ararat

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Lake Bolac	Wickliffe	\$4.00	\$2.00	\$8.00	\$4.00
	Willaura	\$4.40	\$2.20	\$8.80	\$4.40
	Maroona	\$5.80	\$2.90	\$11.40	\$5.70
	Ararat	\$8.00	\$4.00	\$11.40	\$5.70
Wickliffe	Lake Bolac	\$4.00	\$2.00	\$8.00	\$4.00
	Willaura	\$3.00	\$1.50	\$6.00	\$3.00
	Maroona	\$4.40	\$2.20	\$8.80	\$4.40
	Ararat	\$6.60	\$3.30	\$11.40	\$5.70
Willaura	Lake Bolac	\$4.40	\$2.20	\$8.80	\$4.40
	Wickliffe	\$3.00	\$1.50	\$6.00	\$3.00
	Maroona	\$4.00	\$2.00	\$8.00	\$4.00
	Ararat	\$5.80	\$2.90	\$11.40	\$5.70
Maroona	Lake Bolac	\$5.80	\$2.90	\$11.40	\$5.70
	Wickliffe	\$4.40	\$2.20	\$8.80	\$4.40
	Willaura	\$4.00	\$2.00	\$8.00	\$4.00
	Ararat	\$4.00	\$2.00	\$8.00	\$4.00
Ararat	Lake Bolac	\$8.00	\$4.00	\$11.40	\$5.70
	Wickliffe	\$6.60	\$3.30	\$11.40	\$5.70
	Willaura	\$5.80	\$2.90	\$11.40	\$5.70
	Maroona	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Maryborough – Avoca – Lexington – Ballarat

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Maryborough	Avoca	\$3.00	\$1.50	\$6.00	\$3.00
	Lexton	\$3.00	\$1.50	\$6.00	\$3.00
	Waubra	\$4.00	\$2.00	\$8.00	\$4.00
	Learmonth	\$5.80	\$2.90	\$11.40	\$5.70
	Miners Rest	\$8.00	\$4.00	\$11.40	\$5.70
	Ballarat	\$9.60	\$4.80	\$11.40	\$5.70
Avoca	Maryborough	\$3.00	\$1.50	\$6.00	\$3.00
	Lexton	\$3.00	\$1.50	\$6.00	\$3.00
	Waubra	\$4.00	\$2.00	\$8.00	\$4.00
	Learmonth	\$5.80	\$2.90	\$11.40	\$5.70
	Miners Rest	\$8.00	\$4.00	\$11.40	\$5.70
	Ballarat	\$9.60	\$4.80	\$11.40	\$5.70
Lexton	Maryborough	\$3.00	\$1.50	\$6.00	\$3.00
	Avoca	\$3.00	\$1.50	\$6.00	\$3.00
	Waubra	\$4.00	\$2.00	\$8.00	\$4.00
	Learmonth	\$5.80	\$2.90	\$11.40	\$5.70
	Miners Rest	\$8.00	\$4.00	\$11.40	\$5.70
	Ballarat	\$9.60	\$4.80	\$11.40	\$5.70
Waubra	Maryborough	\$4.00	\$2.00	\$8.00	\$4.00
	Avoca	\$4.00	\$2.00	\$8.00	\$4.00
	Lexton	\$4.00	\$2.00	\$8.00	\$4.00
	Learmonth	\$4.40	\$2.20	\$8.80	\$4.40
	Miners Rest	\$5.80	\$2.90	\$11.40	\$5.70
	Ballarat	\$6.60	\$3.30	\$11.40	\$5.70
Learmonth	Maryborough	\$5.80	\$2.90	\$11.40	\$5.70
	Avoca	\$5.80	\$2.90	\$11.40	\$5.70
	Lexton	\$5.80	\$2.90	\$11.40	\$5.70
	Waubra	\$4.40	\$2.20	\$8.80	\$4.40
	Miners Rest	\$4.00	\$2.00	\$8.00	\$4.00
	Ballarat	\$4.40	\$2.20	\$8.80	\$4.40
Miners Rest	Maryborough	\$8.00	\$4.00	\$11.40	\$5.70
	Avoca	\$8.00	\$4.00	\$11.40	\$5.70
	Lexton	\$8.00	\$4.00	\$11.40	\$5.70
	Waubra	\$5.80	\$2.90	\$11.40	\$5.70
	Learmonth	\$4.00	\$2.00	\$8.00	\$4.00
	Ballarat	\$3.00	\$1.50	\$6.00	\$3.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Ballarat	Maryborough	\$9.60	\$4.80	\$11.40	\$5.70
	Avoca	\$9.60	\$4.80	\$11.40	\$5.70
	Lexton	\$9.60	\$4.80	\$11.40	\$5.70
	Waubra	\$6.60	\$3.30	\$11.40	\$5.70
	Learmonth	\$4.40	\$2.20	\$8.80	\$4.40
	Miners Rest	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Maryborough – Bendigo

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Maryborough	Carisbrook	\$3.00	\$1.50	\$6.00	\$3.00
	Baringhup	\$4.40	\$2.20	\$8.80	\$4.40
	Maldon	\$5.80	\$2.90	\$11.40	\$5.70
	Castlemaine	\$8.00	\$4.00	\$11.40	\$5.70
	Harcourt	\$9.60	\$4.80	\$11.40	\$5.70
	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
Carisbrook	Maryborough	\$3.00	\$1.50	\$6.00	\$3.00
	Baringhup	\$4.00	\$2.00	\$8.00	\$4.00
	Maldon	\$5.80	\$2.90	\$11.40	\$5.70
	Castlemaine	\$6.60	\$3.30	\$11.40	\$5.70
	Harcourt	\$9.60	\$4.80	\$11.40	\$5.70
	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
Baringhup	Maryborough	\$4.40	\$2.20	\$8.80	\$4.40
	Carisbrook	\$4.00	\$2.00	\$8.00	\$4.00
	Maldon	\$4.00	\$2.00	\$8.00	\$4.00
	Castlemaine	\$4.40	\$2.20	\$8.80	\$4.40
	Harcourt	\$6.60	\$3.30	\$11.40	\$5.70
	Bendigo	\$9.60	\$4.80	\$11.40	\$5.70
Maldon	Maryborough	\$5.80	\$2.90	\$11.40	\$5.70
	Carisbrook	\$5.80	\$2.90	\$11.40	\$5.70
	Baringhup	\$4.00	\$2.00	\$8.00	\$4.00
	Castlemaine	\$4.00	\$2.00	\$8.00	\$4.00
	Harcourt	\$4.40	\$2.20	\$8.80	\$4.40
	Bendigo	\$8.00	\$4.00	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Castlemaine	Maryborough	\$8.00	\$4.00	\$11.40	\$5.70
	Carisbrook	\$6.60	\$3.30	\$11.40	\$5.70
	Baringhup	\$4.40	\$2.20	\$8.80	\$4.40
	Maldon	\$4.00	\$2.00	\$8.00	\$4.00
	Harcourt	\$4.00	\$2.00	\$8.00	\$4.00
	Bendigo	\$5.80	\$2.90	\$11.40	\$5.70
Harcourt	Maryborough	\$9.60	\$4.80	\$11.40	\$5.70
	Carisbrook	\$9.60	\$4.80	\$11.40	\$5.70
	Baringhup	\$6.60	\$3.30	\$11.40	\$5.70
	Maldon	\$4.40	\$2.20	\$8.80	\$4.40
	Castlemaine	\$4.00	\$2.00	\$8.00	\$4.00
	Bendigo	\$4.40	\$2.20	\$8.80	\$4.40
Bendigo	Maryborough	\$11.40	\$5.70	\$11.40	\$5.70
	Carisbrook	\$11.40	\$5.70	\$11.40	\$5.70
	Baringhup	\$9.60	\$4.80	\$11.40	\$5.70
	Maldon	\$8.00	\$4.00	\$11.40	\$5.70
	Castlemaine	\$5.80	\$2.90	\$11.40	\$5.70
	Harcourt	\$4.40	\$2.20	\$8.80	\$4.40

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Mildura – Horsham

		Horcham	Warracknabeal	Brim	Beulah	Rosebery	Hopetoun	Patchewollock	Speed	Tempy	Ouyen	M.V Junction	Nowingi	Carwarp	Red Cliffs	Mildura
Single																
Mildura	Full	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$6.60	\$6.60	\$5.80	\$4.00	
	Conc.	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$3.30	\$3.30	\$2.90	\$2.00	
Red Cliffs	Full	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$4.40	\$4.40			\$8.00
	Conc.	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$2.20	\$2.20			\$4.00
Carwarp	Full	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$8.00	\$3.00	\$3.00			\$8.80
	Conc.	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$4.00	\$1.50	\$1.50			\$5.70
Nowingi	Full	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$8.00	\$3.00				\$11.40
	Conc.	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$4.00	\$1.50				\$5.70
M.V Junction	Full	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$8.00					\$11.40
	Conc.	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$4.00					\$5.70
Ouyen	Full	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$8.00	\$5.80	\$4.40						\$11.40
	Conc.	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$4.00	\$2.90	\$2.20						\$5.70
Tempy	Full	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$4.40	\$3.00							\$11.40
	Conc.	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$2.20	\$1.50							\$5.70
Speed	Full	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$9.60	\$4.00								\$11.40
	Conc.	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$4.80	\$2.00								\$5.70
Patchewollock	Full	\$11.40	\$11.40	\$11.40	\$9.60	\$8.00	\$6.60									\$11.40
	Conc.	\$5.70	\$5.70	\$5.70	\$4.80	\$4.00	\$3.30									\$5.70
Hopetoun	Full	\$11.40	\$8.00	\$5.80	\$4.40	\$3.00										\$11.40
	Conc.	\$5.70	\$4.00	\$2.90	\$2.20	\$1.50										\$5.70
Rosebery	Full	\$11.40	\$6.60	\$4.40	\$3.00											\$11.40
	Conc.	\$5.70	\$3.30	\$2.20	\$1.50											\$5.70
Beulah	Full	\$11.40	\$5.80	\$4.00												\$11.40
	Conc.	\$5.70	\$2.90	\$2.00												\$5.70
Brim	Full	\$11.40	\$4.00													\$11.40
	Conc.	\$5.70	\$2.00													\$5.70
Warracknabeal	Full	\$8.00														\$11.40
	Conc.	\$4.00														\$5.70
Horsham	Full															\$11.40
	Conc.															\$5.70
Return fare																

## Mount Egerton – Ballan (myki fares)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Mount Egerton – General Store	Mount Egerton – McIntosh's Lane	\$3.00	\$1.50	\$6.00	\$3.00
	Mount Egerton – Millbrook Road	\$3.00	\$1.50	\$6.00	\$3.00
	Railway Crossing	\$3.00	\$1.50	\$6.00	\$3.00
	Gordon – cnr Russell St and Main St	\$3.00	\$1.50	\$6.00	\$3.00
	Gordon Cemetery	\$3.00	\$1.50	\$6.00	\$3.00
	Ballan – cnr Cowie St and Old Melbourne Rd	\$4.00	\$2.00	\$8.00	\$4.00
	Ballan Station	\$4.00	\$2.00	\$8.00	\$4.00
Mount Egerton – McIntosh's Lane	Mount Egerton – General Store	\$3.00	\$1.50	\$6.00	\$3.00
	Mount Egerton – Millbrook Road	\$3.00	\$1.50	\$6.00	\$3.00
	Railway Crossing	\$3.00	\$1.50	\$6.00	\$3.00
	Gordon – cnr Russell St and Main St	\$3.00	\$1.50	\$6.00	\$3.00
	Gordon Cemetery	\$3.00	\$1.50	\$6.00	\$3.00
	Ballan – cnr Cowie St and Old Melbourne Rd	\$4.00	\$2.00	\$8.00	\$4.00
	Ballan Station	\$4.00	\$2.00	\$8.00	\$4.00
Mount Egerton – Millbrook Road	Mount Egerton – General Store	\$3.00	\$1.50	\$6.00	\$3.00
	Mount Egerton – McIntosh's Lane	\$3.00	\$1.50	\$6.00	\$3.00
	Railway Crossing	\$3.00	\$1.50	\$6.00	\$3.00
	Gordon – cnr Russell St and Main St	\$3.00	\$1.50	\$6.00	\$3.00
	Gordon Cemetery	\$3.00	\$1.50	\$6.00	\$3.00
	Ballan – cnr Cowie St and Old Melbourne Rd	\$4.00	\$2.00	\$8.00	\$4.00
	Ballan Station	\$4.00	\$2.00	\$8.00	\$4.00
Railway Crossing	Mount Egerton – General Store	\$3.00	\$1.50	\$6.00	\$3.00
	Mount Egerton – McIntosh's Lane	\$3.00	\$1.50	\$6.00	\$3.00
	Mount Egerton – Millbrook Road	\$3.00	\$1.50	\$6.00	\$3.00
	Gordon – cnr Russell St and Main St	\$3.00	\$1.50	\$6.00	\$3.00
	Gordon Cemetery	\$3.00	\$1.50	\$6.00	\$3.00
	Ballan – cnr Cowie St and Old Melbourne Rd	\$4.00	\$2.00	\$8.00	\$4.00
	Ballan Station	\$4.00	\$2.00	\$8.00	\$4.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Gordon – cnr Russell St and Main St	Mount Egerton – General Store	\$3.00	\$1.50	\$6.00	\$3.00
	Mount Egerton – McIntosh's Lane	\$3.00	\$1.50	\$6.00	\$3.00
	Mount Egerton – Millbrook Road	\$3.00	\$1.50	\$6.00	\$3.00
	Railway Crossing	\$3.00	\$1.50	\$6.00	\$3.00
	Gordon Cemetery	\$3.00	\$1.50	\$6.00	\$3.00
	Ballan – cnr Cowie St and Old Melbourne Rd	\$4.00	\$2.00	\$8.00	\$4.00
	Ballan Station	\$4.00	\$2.00	\$8.00	\$4.00
Gordon Cemetery	Mount Egerton – General Store	\$3.00	\$1.50	\$6.00	\$3.00
	Mount Egerton – McIntosh's Lane	\$3.00	\$1.50	\$6.00	\$3.00
	Mount Egerton – Millbrook Road	\$3.00	\$1.50	\$6.00	\$3.00
	Railway Crossing	\$3.00	\$1.50	\$6.00	\$3.00
	Gordon – cnr Russell St and Main St	\$3.00	\$1.50	\$6.00	\$3.00
	Ballan – cnr Cowie St and Old Melbourne Rd	\$4.00	\$2.00	\$8.00	\$4.00
	Ballan Station	\$4.00	\$2.00	\$8.00	\$4.00
Ballan – cnr Cowie St and Old Melbourne Rd	Mount Egerton – General Store	\$4.00	\$2.00	\$8.00	\$4.00
	Mount Egerton – McIntosh's Lane	\$4.00	\$2.00	\$8.00	\$4.00
	Mount Egerton – Millbrook Road	\$4.00	\$2.00	\$8.00	\$4.00
	Railway Crossing	\$4.00	\$2.00	\$8.00	\$4.00
	Gordon – cnr Russell St and Main St	\$4.00	\$2.00	\$8.00	\$4.00
	Gordon Cemetery	\$4.00	\$2.00	\$8.00	\$4.00
	Ballan Station	\$3.00	\$1.50	\$6.00	\$3.00
Ballan Station	Mount Egerton – General Store	\$4.00	\$2.00	\$8.00	\$4.00
	Mount Egerton – McIntosh's Lane	\$4.00	\$2.00	\$8.00	\$4.00
	Mount Egerton – Millbrook Road	\$4.00	\$2.00	\$8.00	\$4.00
	Railway Crossing	\$4.00	\$2.00	\$8.00	\$4.00
	Gordon – cnr Russell St and Main St	\$4.00	\$2.00	\$8.00	\$4.00
	Gordon Cemetery	\$4.00	\$2.00	\$8.00	\$4.00
	Ballan – cnr Cowie St and Old Melbourne Rd	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Mount Egerton – Ballarat

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Mount Egerton	Gordon	\$3.00	\$1.50	\$6.00	\$3.00
	Millbrook	\$4.00	\$2.00	\$8.00	\$4.00
	Wallace	\$4.00	\$2.00	\$8.00	\$4.00
	Bungaree	\$4.40	\$2.20	\$8.80	\$4.40
	Dunnstown	\$4.40	\$2.20	\$8.80	\$4.40
	Ballarat – Little Bridge St	\$5.80	\$2.90	\$11.40	\$5.70
	Ballarat Station	\$5.80	\$2.90	\$11.40	\$5.70
	Ballarat Base Hospital	\$5.80	\$2.90	\$11.40	\$5.70
Gordon	Mount Egerton	\$3.00	\$1.50	\$6.00	\$3.00
	Millbrook	\$3.00	\$1.50	\$6.00	\$3.00
	Wallace	\$3.00	\$1.50	\$6.00	\$3.00
	Bungaree	\$4.00	\$2.00	\$8.00	\$4.00
	Dunnstown	\$4.40	\$2.20	\$8.80	\$4.40
	Ballarat – Little Bridge St	\$5.80	\$2.90	\$11.40	\$5.70
	Ballarat Station	\$5.80	\$2.90	\$11.40	\$5.70
	Ballarat Base Hospital	\$5.80	\$2.90	\$11.40	\$5.70
Millbrook	Mount Egerton	\$4.00	\$2.00	\$8.00	\$4.00
	Gordon	\$3.00	\$1.50	\$6.00	\$3.00
	Wallace	\$3.00	\$1.50	\$6.00	\$3.00
	Bungaree	\$3.00	\$1.50	\$6.00	\$3.00
	Dunnstown	\$4.00	\$2.00	\$8.00	\$4.00
	Ballarat – Little Bridge St	\$4.40	\$2.20	\$8.80	\$4.40
	Ballarat Station	\$4.40	\$2.20	\$8.80	\$4.40
	Ballarat Base Hospital	\$4.40	\$2.20	\$8.80	\$4.40
Wallace	Mount Egerton	\$4.00	\$2.00	\$8.00	\$4.00
	Gordon	\$3.00	\$1.50	\$6.00	\$3.00
	Millbrook	\$3.00	\$1.50	\$6.00	\$3.00
	Bungaree	\$3.00	\$1.50	\$6.00	\$3.00
	Dunnstown	\$4.00	\$2.00	\$8.00	\$4.00
	Ballarat – Little Bridge St	\$4.40	\$2.20	\$8.80	\$4.40
	Ballarat Station	\$4.40	\$2.20	\$8.80	\$4.40
	Ballarat Base Hospital	\$4.40	\$2.20	\$8.80	\$4.40

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Bungaree	Mount Egerton	\$4.40	\$2.20	\$8.80	\$4.40
	Gordon	\$4.00	\$2.00	\$8.00	\$4.00
	Millbrook	\$3.00	\$1.50	\$6.00	\$3.00
	Wallace	\$3.00	\$1.50	\$6.00	\$3.00
	Dunnstown	\$3.00	\$1.50	\$6.00	\$3.00
	Ballarat – Little Bridge St	\$4.00	\$2.00	\$8.00	\$4.00
	Ballarat Station	\$4.00	\$2.00	\$8.00	\$4.00
	Ballarat Base Hospital	\$4.00	\$2.00	\$8.00	\$4.00
Dunnstown	Mount Egerton	\$4.40	\$2.20	\$8.80	\$4.40
	Gordon	\$4.40	\$2.20	\$8.80	\$4.40
	Millbrook	\$4.00	\$2.00	\$8.00	\$4.00
	Wallace	\$4.00	\$2.00	\$8.00	\$4.00
	Bungaree	\$3.00	\$1.50	\$6.00	\$3.00
	Ballarat – Little Bridge St	\$4.00	\$2.00	\$8.00	\$4.00
	Ballarat Station	\$4.00	\$2.00	\$8.00	\$4.00
	Ballarat Base Hospital	\$4.00	\$2.00	\$8.00	\$4.00
Ballarat – Little Bridge St	Mount Egerton	\$5.80	\$2.90	\$11.40	\$5.70
	Gordon	\$5.80	\$2.90	\$11.40	\$5.70
	Millbrook	\$4.40	\$2.20	\$8.80	\$4.40
	Wallace	\$4.40	\$2.20	\$8.80	\$4.40
	Bungaree	\$4.00	\$2.00	\$8.00	\$4.00
	Dunnstown	\$4.00	\$2.00	\$8.00	\$4.00
	Ballarat Station	\$3.00	\$1.50	\$6.00	\$3.00
	Ballarat Base Hospital	\$3.00	\$1.50	\$6.00	\$3.00
Ballarat Station	Mount Egerton	\$5.80	\$2.90	\$11.40	\$5.70
	Gordon	\$5.80	\$2.90	\$11.40	\$5.70
	Millbrook	\$4.40	\$2.20	\$8.80	\$4.40
	Wallace	\$4.40	\$2.20	\$8.80	\$4.40
	Bungaree	\$4.00	\$2.00	\$8.00	\$4.00
	Dunnstown	\$4.00	\$2.00	\$8.00	\$4.00
	Ballarat – Little Bridge St	\$3.00	\$1.50	\$6.00	\$3.00
	Ballarat Base Hospital	\$3.00	\$1.50	\$6.00	\$3.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Ballarat Base Hospital	Mt Egerton	\$5.80	\$2.90	\$11.40	\$5.70
	Gordon	\$5.80	\$2.90	\$11.40	\$5.70
	Millbrook	\$4.40	\$2.20	\$8.80	\$4.40
	Wallace	\$4.40	\$2.20	\$8.80	\$4.40
	Bungaree	\$4.00	\$2.00	\$8.00	\$4.00
	Dunnstown	\$4.00	\$2.00	\$8.00	\$4.00
	Ballarat – Little Bridge St	\$3.00	\$1.50	\$6.00	\$3.00
	Ballarat Station	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Murtoa – Rupanyup

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Murtoa	Rupanyup	\$3.00	\$1.50	\$6.00	\$3.00
Rupanyup	Murtoa	\$3.00	\$1.50	\$6.00	\$3.00

## Naracoorte – Horsham

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Naracoorte	Hyman	\$4.00	\$2.00	\$8.00	\$4.00
	Apsley	\$5.80	\$2.90	\$11.40	\$5.70
	Edenhope	\$8.00	\$4.00	\$11.40	\$5.70
	Goroke	\$11.40	\$5.70	\$11.40	\$5.70
	Gymbowen	\$11.40	\$5.70	\$11.40	\$5.70
	Mitre	\$11.40	\$5.70	\$11.40	\$5.70
	Mount Arapiles	\$11.40	\$5.70	\$11.40	\$5.70
	Natimuk	\$11.40	\$5.70	\$11.40	\$5.70
	Quantong	\$11.40	\$5.70	\$11.40	\$5.70
	Horsham	\$11.40	\$5.70	\$11.40	\$5.70
Hyman	Naracoorte	\$4.00	\$2.00	\$8.00	\$4.00
	Apsley	\$4.40	\$2.20	\$8.80	\$4.40
	Edenhope	\$6.60	\$3.30	\$11.40	\$5.70
	Goroke	\$11.40	\$5.70	\$11.40	\$5.70
	Gymbowen	\$11.40	\$5.70	\$11.40	\$5.70
	Mitre	\$11.40	\$5.70	\$11.40	\$5.70
	Mount Arapiles	\$11.40	\$5.70	\$11.40	\$5.70
	Natimuk	\$11.40	\$5.70	\$11.40	\$5.70
	Quantong	\$11.40	\$5.70	\$11.40	\$5.70
	Horsham	\$11.40	\$5.70	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Apsley	Naracoorte	\$5.80	\$2.90	\$11.40	\$5.70
	Hyman	\$4.40	\$2.20	\$8.80	\$4.40
	Edenhope	\$4.40	\$2.20	\$8.80	\$4.40
	Goroke	\$9.60	\$4.80	\$11.40	\$5.70
	Gymbowen	\$11.40	\$5.70	\$11.40	\$5.70
	Mitre	\$11.40	\$5.70	\$11.40	\$5.70
	Mount Arapiles	\$11.40	\$5.70	\$11.40	\$5.70
	Natimuk	\$11.40	\$5.70	\$11.40	\$5.70
	Quantong	\$11.40	\$5.70	\$11.40	\$5.70
	Horsham	\$11.40	\$5.70	\$11.40	\$5.70
Edenhope	Naracoorte	\$8.00	\$4.00	\$11.40	\$5.70
	Hyman	\$6.60	\$3.30	\$11.40	\$5.70
	Apsley	\$4.40	\$2.20	\$8.80	\$4.40
	Goroke	\$6.60	\$3.30	\$11.40	\$5.70
	Gymbowen	\$8.00	\$4.00	\$11.40	\$5.70
	Mitre	\$11.40	\$5.70	\$11.40	\$5.70
	Mount Arapiles	\$11.40	\$5.70	\$11.40	\$5.70
	Natimuk	\$11.40	\$5.70	\$11.40	\$5.70
	Quantong	\$11.40	\$5.70	\$11.40	\$5.70
	Horsham	\$11.40	\$5.70	\$11.40	\$5.70
Goroke	Naracoorte	\$11.40	\$5.70	\$11.40	\$5.70
	Hyman	\$11.40	\$5.70	\$11.40	\$5.70
	Apsley	\$9.60	\$4.80	\$11.40	\$5.70
	Edenhope	\$6.60	\$3.30	\$11.40	\$5.70
	Gymbowen	\$4.00	\$2.00	\$8.00	\$4.00
	Mitre	\$4.40	\$2.20	\$8.80	\$4.40
	Mount Arapiles	\$5.80	\$2.90	\$11.40	\$5.70
	Natimuk	\$6.60	\$3.30	\$11.40	\$5.70
	Quantong	\$8.00	\$4.00	\$11.40	\$5.70
	Horsham	\$11.40	\$5.70	\$11.40	\$5.70
Gymbowen	Naracoorte	\$11.40	\$5.70	\$11.40	\$5.70
	Hyman	\$11.40	\$5.70	\$11.40	\$5.70
	Apsley	\$11.40	\$5.70	\$11.40	\$5.70
	Edenhope	\$8.00	\$4.00	\$11.40	\$5.70
	Goroke	\$4.00	\$2.00	\$8.00	\$4.00
	Mitre	\$4.00	\$2.00	\$8.00	\$4.00
	Mount Arapiles	\$4.40	\$2.20	\$8.80	\$4.40
	Natimuk	\$5.80	\$2.90	\$11.40	\$5.70
	Quantong	\$6.60	\$3.30	\$11.40	\$5.70
	Horsham	\$8.00	\$4.00	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Mitre	Naracoorte	\$11.40	\$5.70	\$11.40	\$5.70
	Hyman	\$11.40	\$5.70	\$11.40	\$5.70
	Apsley	\$11.40	\$5.70	\$11.40	\$5.70
	Edenhope	\$11.40	\$5.70	\$11.40	\$5.70
	Goroke	\$4.40	\$2.20	\$8.80	\$4.40
	Gymbowen	\$4.00	\$2.00	\$8.00	\$4.00
	Mount Arapiles	\$3.00	\$1.50	\$6.00	\$3.00
	Natimuk	\$4.00	\$2.00	\$8.00	\$4.00
	Quantong	\$4.40	\$2.20	\$8.80	\$4.40
	Horsham	\$6.60	\$3.30	\$11.40	\$5.70
Mount Arapiles	Naracoorte	\$11.40	\$5.70	\$11.40	\$5.70
	Hyman	\$11.40	\$5.70	\$11.40	\$5.70
	Apsley	\$11.40	\$5.70	\$11.40	\$5.70
	Edenhope	\$11.40	\$5.70	\$11.40	\$5.70
	Goroke	\$5.80	\$2.90	\$11.40	\$5.70
	Gymbowen	\$4.40	\$2.20	\$8.80	\$4.40
	Mitre	\$3.00	\$1.50	\$6.00	\$3.00
	Natimuk	\$3.00	\$1.50	\$6.00	\$3.00
	Quantong	\$4.00	\$2.00	\$8.00	\$4.00
	Horsham	\$5.80	\$2.90	\$11.40	\$5.70
Natimuk	Naracoorte	\$11.40	\$5.70	\$11.40	\$5.70
	Hyman	\$11.40	\$5.70	\$11.40	\$5.70
	Apsley	\$11.40	\$5.70	\$11.40	\$5.70
	Edenhope	\$11.40	\$5.70	\$11.40	\$5.70
	Goroke	\$6.60	\$3.30	\$11.40	\$5.70
	Gymbowen	\$5.80	\$2.90	\$11.40	\$5.70
	Mitre	\$4.00	\$2.00	\$8.00	\$4.00
	Mount Arapiles	\$3.00	\$1.50	\$6.00	\$3.00
	Quantong	\$3.00	\$1.50	\$6.00	\$3.00
	Horsham	\$4.40	\$2.20	\$8.80	\$4.40
Quantong	Naracoorte	\$11.40	\$5.70	\$11.40	\$5.70
	Hyman	\$11.40	\$5.70	\$11.40	\$5.70
	Apsley	\$11.40	\$5.70	\$11.40	\$5.70
	Edenhope	\$11.40	\$5.70	\$11.40	\$5.70
	Goroke	\$8.00	\$4.00	\$11.40	\$5.70
	Gymbowen	\$6.60	\$3.30	\$11.40	\$5.70
	Mitre	\$4.40	\$2.20	\$8.80	\$4.40
	Mount Arapiles	\$4.00	\$2.00	\$8.00	\$4.00
	Natimuk	\$3.00	\$1.50	\$6.00	\$3.00
	Horsham	\$4.00	\$2.00	\$8.00	\$4.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Horsham	Naracoorte	\$11.40	\$5.70	\$11.40	\$5.70
	Hyman	\$11.40	\$5.70	\$11.40	\$5.70
	Apsley	\$11.40	\$5.70	\$11.40	\$5.70
	Edenhope	\$11.40	\$5.70	\$11.40	\$5.70
	Goroke	\$11.40	\$5.70	\$11.40	\$5.70
	Gymbowen	\$8.00	\$4.00	\$11.40	\$5.70
	Mitre	\$6.60	\$3.30	\$11.40	\$5.70
	Mount Arapiles	\$5.80	\$2.90	\$11.40	\$5.70
	Natimuk	\$4.40	\$2.20	\$8.80	\$4.40
	Quantong	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Old Hepburn – Ballan (includes Daylesford – Ballan) (myki fares)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Old Hepburn Hotel	Hepburn Primary School	\$3.00	\$1.50	\$6.00	\$3.00
	Hepburn – Newstead	\$3.00	\$1.50	\$6.00	\$3.00
	Fifth – Hepburn Springs	\$3.00	\$1.50	\$6.00	\$3.00
	CFA	\$3.00	\$1.50	\$6.00	\$3.00
	Ridge	\$4.00	\$2.00	\$8.00	\$4.00
	Telegraph	\$4.00	\$2.00	\$8.00	\$4.00
	Leonards Hill-South Bullarto	\$4.00	\$2.00	\$8.00	\$4.00
	Brickhouse	\$4.00	\$2.00	\$8.00	\$4.00
	Spargo Creek	\$4.40	\$2.20	\$8.80	\$4.40
	Dehnerts	\$5.80	\$2.90	\$11.40	\$5.70
	Cowie	\$5.80	\$2.90	\$11.40	\$5.70
	Ballan Railway Station	\$5.80	\$2.90	\$11.40	\$5.70
Hepburn Primary School	Old Hepburn Hotel	\$3.00	\$1.50	\$6.00	\$3.00
	Hepburn – Newstead	\$3.00	\$1.50	\$6.00	\$3.00
	Fifth – Hepburn Springs	\$3.00	\$1.50	\$6.00	\$3.00
	CFA	\$3.00	\$1.50	\$6.00	\$3.00
	Ridge	\$4.00	\$2.00	\$8.00	\$4.00
	Telegraph	\$4.00	\$2.00	\$8.00	\$4.00
	Leonards Hill-South Bullarto	\$4.00	\$2.00	\$8.00	\$4.00
	Brickhouse	\$4.00	\$2.00	\$8.00	\$4.00
	Spargo Creek	\$4.40	\$2.20	\$8.80	\$4.40
	Dehnerts	\$5.80	\$2.90	\$11.40	\$5.70
	Cowie	\$5.80	\$2.90	\$11.40	\$5.70
	Ballan Railway Station	\$5.80	\$2.90	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Hepburn - Newstead	Old Hepburn Hotel	\$3.00	\$1.50	\$6.00	\$3.00
	Hepburn Primary School	\$3.00	\$1.50	\$6.00	\$3.00
	Fifth - Hepburn Springs	\$3.00	\$1.50	\$6.00	\$3.00
	CFA	\$3.00	\$1.50	\$6.00	\$3.00
	Ridge	\$4.00	\$2.00	\$8.00	\$4.00
	Telegraph	\$4.00	\$2.00	\$8.00	\$4.00
	Leonards Hill-South Bullarto	\$4.00	\$2.00	\$8.00	\$4.00
	Brickhouse	\$4.00	\$2.00	\$8.00	\$4.00
	Spargo Creek	\$4.40	\$2.20	\$8.80	\$4.40
	Dehnerts	\$5.80	\$2.90	\$11.40	\$5.70
Fifth - Hepburn Springs	Cowie	\$5.80	\$2.90	\$11.40	\$5.70
	Ballan Railway Station	\$5.80	\$2.90	\$11.40	\$5.70
	Old Hepburn Hotel	\$3.00	\$1.50	\$6.00	\$3.00
	Hepburn Primary School	\$3.00	\$1.50	\$6.00	\$3.00
	Hepburn - Newstead	\$3.00	\$1.50	\$6.00	\$3.00
	CFA	\$3.00	\$1.50	\$6.00	\$3.00
	Ridge	\$3.00	\$1.50	\$6.00	\$3.00
	Telegraph	\$3.00	\$1.50	\$6.00	\$3.00
	Leonards Hill-South Bullarto	\$3.00	\$1.50	\$6.00	\$3.00
	Brickhouse	\$3.00	\$1.50	\$6.00	\$3.00
CFA	Spargo Creek	\$4.00	\$2.00	\$8.00	\$4.00
	Dehnerts	\$4.40	\$2.20	\$8.80	\$4.40
	Cowie	\$4.40	\$2.20	\$8.80	\$4.40
	Ballan Railway Station	\$4.40	\$2.20	\$8.80	\$4.40
	Old Hepburn Hotel	\$3.00	\$1.50	\$6.00	\$3.00
	Hepburn Primary School	\$3.00	\$1.50	\$6.00	\$3.00
	Hepburn - Newstead	\$3.00	\$1.50	\$6.00	\$3.00
	Fifth - Hepburn Springs	\$3.00	\$1.50	\$6.00	\$3.00
	Ridge	\$3.00	\$1.50	\$6.00	\$3.00
	Telegraph	\$3.00	\$1.50	\$6.00	\$3.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Ridge	Old Hepburn Hotel	\$4.00	\$2.00	\$8.00	\$4.00
	Hepburn Primary School	\$4.00	\$2.00	\$8.00	\$4.00
	Hepburn - Newstead	\$4.00	\$2.00	\$8.00	\$4.00
	Fifth - Hepburn Springs	\$4.00	\$2.00	\$8.00	\$4.00
	CFA	\$3.00	\$1.50	\$6.00	\$3.00
	Telegraph	\$3.00	\$1.50	\$6.00	\$3.00
	Leonards Hill-South Bullarto	\$3.00	\$1.50	\$6.00	\$3.00
	Brickhouse	\$3.00	\$1.50	\$6.00	\$3.00
	Spargo Creek	\$4.00	\$2.00	\$8.00	\$4.00
	Dehnerts	\$4.40	\$2.20	\$8.80	\$4.40
Telegraph	Cowie	\$4.40	\$2.20	\$8.80	\$4.40
	Ballan Railway Station	\$4.40	\$2.20	\$8.80	\$4.40
	Old Hepburn Hotel	\$4.00	\$2.00	\$8.00	\$4.00
	Hepburn Primary School	\$4.00	\$2.00	\$8.00	\$4.00
	Hepburn - Newstead	\$4.00	\$2.00	\$8.00	\$4.00
	Fifth - Hepburn Springs	\$3.00	\$1.50	\$6.00	\$3.00
	CFA	\$3.00	\$1.50	\$6.00	\$3.00
	Ridge	\$3.00	\$1.50	\$6.00	\$3.00
	Leonards Hill-South Bullarto	\$3.00	\$1.50	\$6.00	\$3.00
	Brickhouse	\$3.00	\$1.50	\$6.00	\$3.00
Leonards Hill-South Bullarto	Spargo Creek	\$4.00	\$2.00	\$8.00	\$4.00
	Dehnerts	\$4.40	\$2.20	\$8.80	\$4.40
	Cowie	\$4.40	\$2.20	\$8.80	\$4.40
	Ballan Railway Station	\$4.40	\$2.20	\$8.80	\$4.40
	Old Hepburn Hotel	\$4.00	\$2.00	\$8.00	\$4.00
	Hepburn Primary School	\$4.00	\$2.00	\$8.00	\$4.00
	Hepburn - Newstead	\$4.00	\$2.00	\$8.00	\$4.00
	Fifth - Hepburn Springs	\$3.00	\$1.50	\$6.00	\$3.00
	CFA	\$3.00	\$1.50	\$6.00	\$3.00
	Ridge	\$3.00	\$1.50	\$6.00	\$3.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Brickhouse	Old Hepburn Hotel	\$4.00	\$2.00	\$8.00	\$4.00
	Hepburn Primary School	\$4.00	\$2.00	\$8.00	\$4.00
	Hepburn - Newstead	\$4.00	\$2.00	\$8.00	\$4.00
	Fifth - Hepburn Springs	\$3.00	\$1.50	\$6.00	\$3.00
	CFA	\$3.00	\$1.50	\$6.00	\$3.00
	Ridge	\$3.00	\$1.50	\$6.00	\$3.00
	Telegraph	\$3.00	\$1.50	\$6.00	\$3.00
	Leonards Hill-South Bullarto	\$3.00	\$1.50	\$6.00	\$3.00
	Spargo Creek	\$3.00	\$1.50	\$6.00	\$3.00
	Dehnerts	\$4.00	\$2.00	\$8.00	\$4.00
	Cowie	\$4.00	\$2.00	\$8.00	\$4.00
	Ballan Railway Station	\$4.00	\$2.00	\$8.00	\$4.00
Spargo Creek	Old Hepburn Hotel	\$4.40	\$2.20	\$8.80	\$4.40
	Hepburn Primary School	\$4.40	\$2.20	\$8.80	\$4.40
	Hepburn - Newstead	\$4.40	\$2.20	\$8.80	\$4.40
	Fifth - Hepburn Springs	\$4.00	\$2.00	\$8.00	\$4.00
	CFA	\$4.00	\$2.00	\$8.00	\$4.00
	Ridge	\$4.00	\$2.00	\$8.00	\$4.00
	Telegraph	\$4.00	\$2.00	\$8.00	\$4.00
	Leonards Hill-South Bullarto	\$4.00	\$2.00	\$8.00	\$4.00
	Brickhouse	\$3.00	\$1.50	\$6.00	\$3.00
	Dehnerts	\$3.00	\$1.50	\$6.00	\$3.00
	Cowie	\$3.00	\$1.50	\$6.00	\$3.00
	Ballan Railway Station	\$3.00	\$1.50	\$6.00	\$3.00
Dehnerts	Old Hepburn Hotel	\$5.80	\$2.90	\$11.40	\$5.70
	Hepburn Primary School	\$5.80	\$2.90	\$11.40	\$5.70
	Hepburn - Newstead	\$5.80	\$2.90	\$11.40	\$5.70
	Fifth - Hepburn Springs	\$4.40	\$2.20	\$8.80	\$4.40
	CFA	\$4.40	\$2.20	\$8.80	\$4.40
	Ridge	\$4.40	\$2.20	\$8.80	\$4.40
	Telegraph	\$4.40	\$2.20	\$8.80	\$4.40
	Leonards Hill-South Bullarto	\$4.40	\$2.20	\$8.80	\$4.40
	Brickhouse	\$4.00	\$2.00	\$8.00	\$4.00
	Spargo Creek	\$3.00	\$1.50	\$6.00	\$3.00
	Cowie	\$3.00	\$1.50	\$6.00	\$3.00
	Ballan Railway Station	\$3.00	\$1.50	\$6.00	\$3.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Cowie	Old Hepburn Hotel	\$5.80	\$2.90	\$11.40	\$5.70
	Hepburn Primary School	\$5.80	\$2.90	\$11.40	\$5.70
	Hepburn - Newstead	\$5.80	\$2.90	\$11.40	\$5.70
	Fifth - Hepburn Springs	\$4.40	\$2.20	\$8.80	\$4.40
	CFA	\$4.40	\$2.20	\$8.80	\$4.40
	Ridge	\$4.40	\$2.20	\$8.80	\$4.40
	Telegraph	\$4.40	\$2.20	\$8.80	\$4.40
	Leonards Hill-South Bullarto	\$4.40	\$2.20	\$8.80	\$4.40
	Brickhouse	\$4.00	\$2.00	\$8.00	\$4.00
	Spargo Creek	\$3.00	\$1.50	\$6.00	\$3.00
Ballan Railway Station	Dehnerts	\$3.00	\$1.50	\$6.00	\$3.00
	Ballan Railway Station	\$3.00	\$1.50	\$6.00	\$3.00
	Old Hepburn Hotel	\$5.80	\$2.90	\$11.40	\$5.70
	Hepburn Primary School	\$5.80	\$2.90	\$11.40	\$5.70
	Hepburn - Newstead	\$5.80	\$2.90	\$11.40	\$5.70
	Fifth - Hepburn Springs	\$4.40	\$2.20	\$8.80	\$4.40
	CFA	\$4.40	\$2.20	\$8.80	\$4.40
	Ridge	\$4.40	\$2.20	\$8.80	\$4.40
	Telegraph	\$4.40	\$2.20	\$8.80	\$4.40
	Leonards Hill-South Bullarto	\$4.40	\$2.20	\$8.80	\$4.40

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Rokewood – Ballarat

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Rokewood	Corindhap	\$3.00	\$1.50	\$6.00	\$3.00
	Dereeel	\$4.00	\$2.00	\$8.00	\$4.00
	Enfield	\$4.40	\$2.20	\$8.80	\$4.40
	Napoleons	\$5.80	\$2.90	\$11.40	\$5.70
	Ross Creek	\$6.60	\$3.30	\$11.40	\$5.70
	Ballarat	\$8.00	\$4.00	\$11.40	\$5.70
Corindhap	Rokewood	\$3.00	\$1.50	\$6.00	\$3.00
	Dereeel	\$3.00	\$1.50	\$6.00	\$3.00
	Enfield	\$4.00	\$2.00	\$8.00	\$4.00
	Napoleons	\$4.40	\$2.20	\$8.80	\$4.40
	Ross Creek	\$5.80	\$2.90	\$11.40	\$5.70
	Ballarat	\$8.00	\$4.00	\$11.40	\$5.70
Dereeel	Rokewood	\$4.00	\$2.00	\$8.00	\$4.00
	Corindhap	\$3.00	\$1.50	\$6.00	\$3.00
	Enfield	\$4.00	\$2.00	\$8.00	\$4.00
	Napoleons	\$4.40	\$2.20	\$8.80	\$4.40
	Ross Creek	\$5.80	\$2.90	\$11.40	\$5.70
	Ballarat	\$6.60	\$3.30	\$11.40	\$5.70
Enfield	Rokewood	\$4.40	\$2.20	\$8.80	\$4.40
	Corindhap	\$4.00	\$2.00	\$8.00	\$4.00
	Dereeel	\$4.00	\$2.00	\$8.00	\$4.00
	Napoleons	\$3.00	\$1.50	\$6.00	\$3.00
	Ross Creek	\$4.40	\$2.20	\$8.80	\$4.40
	Ballarat	\$5.80	\$2.90	\$11.40	\$5.70
Napoleons	Rokewood	\$5.80	\$2.90	\$11.40	\$5.70
	Corindhap	\$4.40	\$2.20	\$8.80	\$4.40
	Dereeel	\$4.40	\$2.20	\$8.80	\$4.40
	Enfield	\$3.00	\$1.50	\$6.00	\$3.00
	Ross Creek	\$4.00	\$2.00	\$8.00	\$4.00
	Ballarat	\$4.40	\$2.20	\$8.80	\$4.40
Ross Creek	Rokewood	\$6.60	\$3.30	\$11.40	\$5.70
	Corindhap	\$5.80	\$2.90	\$11.40	\$5.70
	Dereeel	\$5.80	\$2.90	\$11.40	\$5.70
	Enfield	\$4.40	\$2.20	\$8.80	\$4.40
	Napoleons	\$4.00	\$2.00	\$8.00	\$4.00
	Ballarat	\$4.00	\$2.00	\$8.00	\$4.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Ballarat	Rokewood	\$8.00	\$4.00	\$11.40	\$5.70
	Corindhap	\$8.00	\$4.00	\$11.40	\$5.70
	Dereel	\$6.60	\$3.30	\$11.40	\$5.70
	Enfield	\$5.80	\$2.90	\$11.40	\$5.70
	Napoleons	\$4.40	\$2.20	\$8.80	\$4.40
	Ross Creek	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Snake Valley – Ballarat

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Snake Valley	Smythesdale	\$3.00	\$1.50	\$6.00	\$3.00
	Haddon	\$4.00	\$2.00	\$8.00	\$4.00
	Smythes Creek	\$4.40	\$2.20	\$8.80	\$4.40
Smythesdale	Snake Valley	\$3.00	\$1.50	\$6.00	\$3.00
	Haddon	\$4.00	\$2.00	\$8.00	\$4.00
	Smythes Creek	\$4.00	\$2.00	\$8.00	\$4.00
Haddon	Snake Valley	\$4.00	\$2.00	\$8.00	\$4.00
	Smythesdale	\$4.00	\$2.00	\$8.00	\$4.00
	Smythes Creek	\$3.00	\$1.50	\$6.00	\$3.00
Smythes Creek	Snake Valley	\$4.40	\$2.20	\$8.80	\$4.40
	Smythesdale	\$4.00	\$2.00	\$8.00	\$4.00
	Haddon	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## St Arnaud – Stawell via Ararat

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
St Arnaud (Market Square)	Paradise (Hall)	\$4.40	\$2.20	\$8.80	\$4.40
	Navarre (General Store)	\$5.80	\$2.90	\$11.40	\$5.70
	Landsborough (Comm Res Centre)	\$8.00	\$4.00	\$11.40	\$5.70
	Crowlands (Primary School)	\$9.60	\$4.80	\$11.40	\$5.70
	Ararat (Hospital)	\$11.40	\$5.70	\$11.40	\$5.70
	Ararat (Railway Station)	\$11.40	\$5.70	\$11.40	\$5.70
	Ararat (CBD)	\$11.40	\$5.70	\$11.40	\$5.70
	Great Western (V/Line stop)	\$11.40	\$5.70	\$11.40	\$5.70
	Stawell (Hospital)	\$11.40	\$5.70	\$11.40	\$5.70
	Stawell (Main Street)	\$11.40	\$5.70	\$11.40	\$5.70
Paradise (Hall)	St Arnaud (Market Square)	\$4.40	\$2.20	\$8.80	\$4.40
	Navarre (General Store)	\$3.00	\$1.50	\$6.00	\$3.00
	Landsborough (Comm Res Centre)	\$4.40	\$2.20	\$8.80	\$4.40
	Crowlands (Primary School)	\$5.80	\$2.90	\$11.40	\$5.70
	Ararat (Hospital)	\$9.60	\$4.80	\$11.40	\$5.70
	Ararat (Railway Station)	\$9.60	\$4.80	\$11.40	\$5.70
	Ararat (CBD)	\$9.60	\$4.80	\$11.40	\$5.70
	Great Western (V/Line stop)	\$11.40	\$5.70	\$11.40	\$5.70
	Stawell (Hospital)	\$11.40	\$5.70	\$11.40	\$5.70
	Stawell (Main Street)	\$11.40	\$5.70	\$11.40	\$5.70
Navarre (General Store)	St Arnaud (Market Square)	\$5.80	\$2.90	\$11.40	\$5.70
	Paradise (Hall)	\$3.00	\$1.50	\$6.00	\$3.00
	Landsborough (Comm Res Centre)	\$4.00	\$2.00	\$8.00	\$4.00
	Crowlands (Primary School)	\$5.80	\$2.90	\$11.40	\$5.70
	Ararat (Hospital)	\$8.00	\$4.00	\$11.40	\$5.70
	Ararat (Railway Station)	\$8.00	\$4.00	\$11.40	\$5.70
	Ararat (CBD)	\$8.00	\$4.00	\$11.40	\$5.70
	Great Western (V/Line stop)	\$11.40	\$5.70	\$11.40	\$5.70
	Stawell (Hospital)	\$11.40	\$5.70	\$11.40	\$5.70
	Stawell (Main Street)	\$11.40	\$5.70	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
King St – Landsborough	St Arnaud (Market Square)	\$8.00	\$4.00	\$11.40	\$5.70
	Paradise (Hall)	\$4.40	\$2.20	\$8.80	\$4.40
	Navarre (General Store)	\$4.00	\$2.00	\$8.00	\$4.00
	Crowlands (Primary School)	\$4.00	\$2.00	\$8.00	\$4.00
	Ararat (Hospital)	\$6.60	\$3.30	\$11.40	\$5.70
	Ararat (Railway Station)	\$6.60	\$3.30	\$11.40	\$5.70
	Ararat (CBD)	\$6.60	\$3.30	\$11.40	\$5.70
	Great Western (V/Line stop)	\$9.60	\$4.80	\$11.40	\$5.70
	Stawell (Hospital)	\$11.40	\$5.70	\$11.40	\$5.70
	Stawell (Main Street)	\$11.40	\$5.70	\$11.40	\$5.70
Crowlands Primary School	St Arnaud (Market Square)	\$9.60	\$4.80	\$11.40	\$5.70
	Paradise (Hall)	\$5.80	\$2.90	\$11.40	\$5.70
	Navarre (General Store)	\$5.80	\$2.90	\$11.40	\$5.70
	Landsborough (Comm Res Centre)	\$4.00	\$2.00	\$8.00	\$4.00
	Ararat (Hospital)	\$4.40	\$2.20	\$8.80	\$4.40
	Ararat (Railway Station)	\$4.40	\$2.20	\$8.80	\$4.40
	Ararat (CBD)	\$4.40	\$2.20	\$8.80	\$4.40
	Great Western (V/Line stop)	\$6.60	\$3.30	\$11.40	\$5.70
	Stawell (Hospital)	\$8.00	\$4.00	\$11.40	\$5.70
	Stawell (Main Street)	\$8.00	\$4.00	\$11.40	\$5.70
Ararat (Hospital)	St Arnaud (Market Square)	\$11.40	\$5.70	\$11.40	\$5.70
	Paradise (Hall)	\$9.60	\$4.80	\$11.40	\$5.70
	Navarre (General Store)	\$8.00	\$4.00	\$11.40	\$5.70
	Landsborough (Comm Res Centre)	\$6.60	\$3.30	\$11.40	\$5.70
	Crowlands (Primary School)	\$4.40	\$2.20	\$8.80	\$4.40
	Ararat (Railway Station)	\$3.00	\$1.50	\$6.00	\$3.00
	Ararat (CBD)	\$3.00	\$1.50	\$6.00	\$3.00
	Great Western (V/Line stop)	\$4.40	\$2.20	\$8.80	\$4.40
	Stawell (Hospital)	\$4.40	\$2.20	\$8.80	\$4.40
	Stawell (Main Street)	\$4.40	\$2.20	\$8.80	\$4.40

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Ararat (Railway Station)	St Arnaud (Market Square)	\$11.40	\$5.70	\$11.40	\$5.70
	Paradise (Hall)	\$9.60	\$4.80	\$11.40	\$5.70
	Navarre (General Store)	\$8.00	\$4.00	\$11.40	\$5.70
	Landsborough (Comm Res Centre)	\$6.60	\$3.30	\$11.40	\$5.70
	Crowlands (Primary School)	\$4.40	\$2.20	\$8.80	\$4.40
	Ararat (Hospital)	\$3.00	\$1.50	\$6.00	\$3.00
	Ararat (CBD)	\$3.00	\$1.50	\$6.00	\$3.00
	Great Western (V/Line stop)	\$4.40	\$2.20	\$8.80	\$4.40
	Stawell (Hospital)	\$4.40	\$2.20	\$8.80	\$4.40
	Stawell (Main Street)	\$4.40	\$2.20	\$8.80	\$4.40
Ararat (CBD)	St Arnaud (Market Square)	\$11.40	\$5.70	\$11.40	\$5.70
	Paradise (Hall)	\$9.60	\$4.80	\$11.40	\$5.70
	Navarre (General Store)	\$8.00	\$4.00	\$11.40	\$5.70
	Landsborough (Comm Res Centre)	\$6.60	\$3.30	\$11.40	\$5.70
	Crowlands (Primary School)	\$4.40	\$2.20	\$8.80	\$4.40
	Ararat (Hospital)	\$3.00	\$1.50	\$6.00	\$3.00
	Ararat (Railway Station)	\$3.00	\$1.50	\$6.00	\$3.00
	Great Western (V/Line stop)	\$4.40	\$2.20	\$8.80	\$4.40
	Stawell (Hospital)	\$4.40	\$2.20	\$8.80	\$4.40
	Stawell (Main Street)	\$4.40	\$2.20	\$8.80	\$4.40
Great Western (V/Line stop)	St Arnaud (Market Square)	\$11.40	\$5.70	\$11.40	\$5.70
	Paradise (Hall)	\$11.40	\$5.70	\$11.40	\$5.70
	Navarre (General Store)	\$11.40	\$5.70	\$11.40	\$5.70
	Landsborough (Comm Res Centre)	\$9.60	\$4.80	\$11.40	\$5.70
	Crowlands (Primary School)	\$6.60	\$3.30	\$11.40	\$5.70
	Ararat (Hospital)	\$4.40	\$2.20	\$8.80	\$4.40
	Ararat (Railway Station)	\$4.40	\$2.20	\$8.80	\$4.40
	Ararat (CBD)	\$4.40	\$2.20	\$8.80	\$4.40
	Stawell (Hospital)	\$3.00	\$1.50	\$6.00	\$3.00
	Stawell (Main Street)	\$3.00	\$1.50	\$6.00	\$3.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Stawell (Hospital)	St Arnaud (Market Square)	\$11.40	\$5.70	\$11.40	\$5.70
	Paradise (Hall)	\$11.40	\$5.70	\$11.40	\$5.70
	Navarre (General Store)	\$11.40	\$5.70	\$11.40	\$5.70
	Landsborough (Comm Res Centre)	\$11.40	\$5.70	\$11.40	\$5.70
	Crowlands (Primary School)	\$8.00	\$4.00	\$11.40	\$5.70
	Ararat (Hospital)	\$4.40	\$2.20	\$8.80	\$4.40
	Ararat (Railway Station)	\$4.40	\$2.20	\$8.80	\$4.40
	Ararat (CBD)	\$4.40	\$2.20	\$8.80	\$4.40
	Great Western (V/Line stop)	\$3.00	\$1.50	\$6.00	\$3.00
	Stawell (Main Street)	\$3.00	\$1.50	\$6.00	\$3.00
Stawell (Main Street)	St Arnaud (Market Square)	\$11.40	\$5.70	\$11.40	\$5.70
	Paradise (Hall)	\$11.40	\$5.70	\$11.40	\$5.70
	Navarre (General Store)	\$11.40	\$5.70	\$11.40	\$5.70
	Landsborough (Comm Res Centre)	\$11.40	\$5.70	\$11.40	\$5.70
	Crowlands (Primary School)	\$8.00	\$4.00	\$11.40	\$5.70
	Ararat (Hospital)	\$4.40	\$2.20	\$8.80	\$4.40
	Ararat (Railway Station)	\$4.40	\$2.20	\$8.80	\$4.40
	Ararat (CBD)	\$4.40	\$2.20	\$8.80	\$4.40
	Great Western (V/Line stop)	\$3.00	\$1.50	\$6.00	\$3.00
	Stawell (Hospital)	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## St Arnaud – Stawell via Marnoo

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
St Arnaud	Marnoo	\$4.40	\$2.20	\$8.80	\$4.40
	Callawadda	\$6.60	\$3.30	\$11.40	\$5.70
	Campbells Bridge	\$8.00	\$4.00	\$11.40	\$5.70
	Stawell	\$11.40	\$5.70	\$11.40	\$5.70
Marnoo	St Arnaud	\$4.40	\$2.20	\$8.80	\$4.40
	Callawadda	\$4.40	\$2.20	\$8.80	\$4.40
	Campbells Bridge	\$5.80	\$2.90	\$11.40	\$5.70
	Stawell	\$8.00	\$4.00	\$11.40	\$5.70
Callawadda	St Arnaud	\$6.60	\$3.30	\$11.40	\$5.70
	Marnoo	\$4.40	\$2.20	\$8.80	\$4.40
	Campbells Bridge	\$4.00	\$2.00	\$8.00	\$4.00
	Stawell	\$4.40	\$2.20	\$8.80	\$4.40
Campbells Bridge	St Arnaud	\$8.00	\$4.00	\$11.40	\$5.70
	Marnoo	\$5.80	\$2.90	\$11.40	\$5.70
	Callawadda	\$4.00	\$2.00	\$8.00	\$4.00
	Stawell	\$4.00	\$2.00	\$8.00	\$4.00
Stawell	St Arnaud	\$11.40	\$5.70	\$11.40	\$5.70
	Marnoo	\$8.00	\$4.00	\$11.40	\$5.70
	Callawadda	\$4.40	\$2.20	\$8.80	\$4.40
	Campbells Bridge	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Willaura – Ararat

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Willaura	Maroona	\$4.00	\$2.00	\$8.00	\$4.00
	Ararat	\$5.80	\$2.90	\$11.40	\$5.70
Maroona	Willaura	\$4.00	\$2.00	\$8.00	\$4.00
	Ararat	\$4.00	\$2.00	\$8.00	\$4.00
Ararat	Willaura	\$5.80	\$2.90	\$11.40	\$5.70
	Maroona	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

# Loddon Mallee (north) fare tables

**Please note:** Customers who are not entitled to free travel should always pay a fare, even if travelling only a single stop. When a customer travels between non-listed stops within the same town, a single zone fare is charged (\$3.00 for full fare and \$1.50 for concession).

Due to the large number of stops within Victoria, only major stops are listed in fare tables.

## Boort – Bendigo

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Boort	Mysia	\$4.00	\$2.00	\$8.00	\$4.00
	Borung	\$4.40	\$2.20	\$8.80	\$4.40
	Korong Vale	\$4.40	\$2.20	\$8.80	\$4.40
	Wedderburn	\$4.40	\$2.20	\$8.80	\$4.40
	Inglewood	\$9.60	\$4.80	\$11.40	\$5.70
	Bridgewater	\$9.60	\$4.80	\$11.40	\$5.70
	Marong	\$11.40	\$5.70	\$11.40	\$5.70
	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
Mysia	Boort	\$4.00	\$2.00	\$8.00	\$4.00
	Borung	\$3.00	\$1.50	\$6.00	\$3.00
	Korong Vale	\$4.00	\$2.00	\$8.00	\$4.00
	Wedderburn	\$4.00	\$2.00	\$8.00	\$4.00
	Inglewood	\$6.60	\$3.30	\$11.40	\$5.70
	Bridgewater	\$8.00	\$4.00	\$11.40	\$5.70
	Marong	\$11.40	\$5.70	\$11.40	\$5.70
	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
Borung	Boort	\$4.40	\$2.20	\$8.80	\$4.40
	Mysia	\$3.00	\$1.50	\$6.00	\$3.00
	Korong Vale	\$3.00	\$1.50	\$6.00	\$3.00
	Wedderburn	\$3.00	\$1.50	\$6.00	\$3.00
	Inglewood	\$5.80	\$2.90	\$11.40	\$5.70
	Bridgewater	\$6.60	\$3.30	\$11.40	\$5.70
	Marong	\$9.60	\$4.80	\$11.40	\$5.70
	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
Korong Vale	Boort	\$4.40	\$2.20	\$8.80	\$4.40
	Mysia	\$4.00	\$2.00	\$8.00	\$4.00
	Borung	\$3.00	\$1.50	\$6.00	\$3.00
	Wedderburn	\$3.00	\$1.50	\$6.00	\$3.00
	Inglewood	\$5.80	\$2.90	\$11.40	\$5.70
	Bridgewater	\$5.80	\$2.90	\$11.40	\$5.70
	Marong	\$9.60	\$4.80	\$11.40	\$5.70
	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Wedderburn	Boort	\$4.40	\$2.20	\$8.80	\$4.40
	Mysia	\$4.00	\$2.00	\$8.00	\$4.00
	Borung	\$3.00	\$1.50	\$6.00	\$3.00
	Korong Vale	\$3.00	\$1.50	\$6.00	\$3.00
	Inglewood	\$5.80	\$2.90	\$11.40	\$5.70
	Bridgewater	\$5.80	\$2.90	\$11.40	\$5.70
	Marong	\$9.60	\$4.80	\$11.40	\$5.70
	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
Inglewood	Boort	\$9.60	\$4.80	\$11.40	\$5.70
	Mysia	\$6.60	\$3.30	\$11.40	\$5.70
	Borung	\$5.80	\$2.90	\$11.40	\$5.70
	Korong Vale	\$5.80	\$2.90	\$11.40	\$5.70
	Wedderburn	\$5.80	\$2.90	\$11.40	\$5.70
	Bridgewater	\$3.00	\$1.50	\$6.00	\$3.00
	Marong	\$4.40	\$2.20	\$8.80	\$4.40
	Bendigo	\$6.60	\$3.30	\$11.40	\$5.70
Bridgewater	Boort	\$9.60	\$4.80	\$11.40	\$5.70
	Mysia	\$8.00	\$4.00	\$11.40	\$5.70
	Borung	\$6.60	\$3.30	\$11.40	\$5.70
	Korong Vale	\$5.80	\$2.90	\$11.40	\$5.70
	Wedderburn	\$5.80	\$2.90	\$11.40	\$5.70
	Inglewood	\$3.00	\$1.50	\$6.00	\$3.00
	Marong	\$4.40	\$2.20	\$8.80	\$4.40
	Bendigo	\$6.60	\$3.30	\$11.40	\$5.70
Marong	Boort	\$11.40	\$5.70	\$11.40	\$5.70
	Mysia	\$11.40	\$5.70	\$11.40	\$5.70
	Borung	\$9.60	\$4.80	\$11.40	\$5.70
	Korong Vale	\$9.60	\$4.80	\$11.40	\$5.70
	Wedderburn	\$9.60	\$4.80	\$11.40	\$5.70
	Inglewood	\$4.40	\$2.20	\$8.80	\$4.40
	Bridgewater	\$4.40	\$2.20	\$8.80	\$4.40
	Bendigo	\$4.00	\$2.00	\$8.00	\$4.00
Bendigo	Boort	\$11.40	\$5.70	\$11.40	\$5.70
	Mysia	\$11.40	\$5.70	\$11.40	\$5.70
	Borung	\$11.40	\$5.70	\$11.40	\$5.70
	Korong Vale	\$11.40	\$5.70	\$11.40	\$5.70
	Wedderburn	\$11.40	\$5.70	\$11.40	\$5.70
	Inglewood	\$6.60	\$3.30	\$11.40	\$5.70
	Bridgewater	\$6.60	\$3.30	\$11.40	\$5.70
	Marong	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Bendigo – Shepparton

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Bendigo	Goornong	\$3.00	\$1.50	\$6.00	\$3.00
	Colbinabbin	\$5.80	\$2.90	\$11.40	\$5.70
	Rushworth	\$6.60	\$3.30	\$11.40	\$5.70
	Stanhope	\$8.00	\$4.00	\$11.40	\$5.70
	Girgarre	\$9.60	\$4.80	\$11.40	\$5.70
	Kyabram	\$11.40	\$5.70	\$11.40	\$5.70
	Lancaster	\$11.40	\$5.70	\$11.40	\$5.70
	Merrigum	\$11.40	\$5.70	\$11.40	\$5.70
	Byrneside	\$11.40	\$5.70	\$11.40	\$5.70
	Tatura	\$11.40	\$5.70	\$11.40	\$5.70
	Varra Ville (Caravan Park)	\$11.40	\$5.70	\$11.40	\$5.70
	Mooroopna	\$11.40	\$5.70	\$11.40	\$5.70
	Shepparton	\$11.40	\$5.70	\$11.40	\$5.70
Goornong	Bendigo	\$3.00	\$1.50	\$6.00	\$3.00
	Colbinabbin	\$4.40	\$2.20	\$8.80	\$4.40
	Rushworth	\$5.80	\$2.90	\$11.40	\$5.70
	Stanhope	\$6.60	\$3.30	\$11.40	\$5.70
	Girgarre	\$8.00	\$4.00	\$11.40	\$5.70
	Kyabram	\$11.40	\$5.70	\$11.40	\$5.70
	Lancaster	\$11.40	\$5.70	\$11.40	\$5.70
	Merrigum	\$11.40	\$5.70	\$11.40	\$5.70
	Byrneside	\$11.40	\$5.70	\$11.40	\$5.70
	Tatura	\$11.40	\$5.70	\$11.40	\$5.70
	Varra Ville (Caravan Park)	\$11.40	\$5.70	\$11.40	\$5.70
	Mooroopna	\$11.40	\$5.70	\$11.40	\$5.70
	Shepparton	\$11.40	\$5.70	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Colbinabbin	Bendigo	\$5.80	\$2.90	\$11.40	\$5.70
	Goornong	\$4.40	\$2.20	\$8.80	\$4.40
	Rushworth	\$3.00	\$1.50	\$6.00	\$3.00
	Stanhope	\$4.00	\$2.00	\$8.00	\$4.00
	Girgarre	\$4.40	\$2.20	\$8.80	\$4.40
	Kyabram	\$6.60	\$3.30	\$11.40	\$5.70
	Lancaster	\$8.00	\$4.00	\$11.40	\$5.70
	Merrigum	\$8.00	\$4.00	\$11.40	\$5.70
	Byrneside	\$9.60	\$4.80	\$11.40	\$5.70
	Tatura	\$9.60	\$4.80	\$11.40	\$5.70
	Varra Ville (Caravan Park)	\$11.40	\$5.70	\$11.40	\$5.70
	Mooroopna	\$11.40	\$5.70	\$11.40	\$5.70
	Shepparton	\$11.40	\$5.70	\$11.40	\$5.70
Rushworth	Bendigo	\$6.60	\$3.30	\$11.40	\$5.70
	Goornong	\$5.80	\$2.90	\$11.40	\$5.70
	Colbinabbin	\$3.00	\$1.50	\$6.00	\$3.00
	Stanhope	\$3.00	\$1.50	\$6.00	\$3.00
	Girgarre	\$4.00	\$2.00	\$8.00	\$4.00
	Kyabram	\$5.80	\$2.90	\$11.40	\$5.70
	Lancaster	\$6.60	\$3.30	\$11.40	\$5.70
	Merrigum	\$6.60	\$3.30	\$11.40	\$5.70
	Byrneside	\$8.00	\$4.00	\$11.40	\$5.70
	Tatura	\$8.00	\$4.00	\$11.40	\$5.70
	Varra Ville (Caravan Park)	\$11.40	\$5.70	\$11.40	\$5.70
	Mooroopna	\$11.40	\$5.70	\$11.40	\$5.70
	Shepparton	\$11.40	\$5.70	\$11.40	\$5.70
Stanhope	Bendigo	\$8.00	\$4.00	\$11.40	\$5.70
	Goornong	\$6.60	\$3.30	\$11.40	\$5.70
	Colbinabbin	\$4.00	\$2.00	\$8.00	\$4.00
	Rushworth	\$3.00	\$1.50	\$6.00	\$3.00
	Girgarre	\$4.00	\$2.00	\$8.00	\$4.00
	Kyabram	\$5.80	\$2.90	\$11.40	\$5.70
	Lancaster	\$5.80	\$2.90	\$11.40	\$5.70
	Merrigum	\$5.80	\$2.90	\$11.40	\$5.70
	Byrneside	\$6.60	\$3.30	\$11.40	\$5.70
	Tatura	\$8.00	\$4.00	\$11.40	\$5.70
	Varra Ville (Caravan Park)	\$9.60	\$4.80	\$11.40	\$5.70
	Mooroopna	\$9.60	\$4.80	\$11.40	\$5.70
	Shepparton	\$11.40	\$5.70	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Girgarre	Bendigo	\$9.60	\$4.80	\$11.40	\$5.70
	Goornong	\$8.00	\$4.00	\$11.40	\$5.70
	Colbinabbin	\$4.40	\$2.20	\$8.80	\$4.40
	Rushworth	\$4.00	\$2.00	\$8.00	\$4.00
	Stanhope	\$4.00	\$2.00	\$8.00	\$4.00
	Kyabram	\$4.40	\$2.20	\$8.80	\$4.40
	Lancaster	\$4.40	\$2.20	\$8.80	\$4.40
	Merrigum	\$4.40	\$2.20	\$8.80	\$4.40
	Byrneside	\$5.80	\$2.90	\$11.40	\$5.70
	Tatura	\$5.80	\$2.90	\$11.40	\$5.70
	Varra Ville (Caravan Park)	\$8.00	\$4.00	\$11.40	\$5.70
	Mooroopna	\$8.00	\$4.00	\$11.40	\$5.70
	Shepparton	\$9.60	\$4.80	\$11.40	\$5.70
Kyabram	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
	Goornong	\$11.40	\$5.70	\$11.40	\$5.70
	Colbinabbin	\$6.60	\$3.30	\$11.40	\$5.70
	Rushworth	\$5.80	\$2.90	\$11.40	\$5.70
	Stanhope	\$5.80	\$2.90	\$11.40	\$5.70
	Girgarre	\$4.40	\$2.20	\$8.80	\$4.40
	Lancaster	\$3.00	\$1.50	\$6.00	\$3.00
	Merrigum	\$3.00	\$1.50	\$6.00	\$3.00
	Byrneside	\$4.00	\$2.00	\$8.00	\$4.00
	Tatura	\$4.00	\$2.00	\$8.00	\$4.00
	Varra Ville (Caravan Park)	\$5.80	\$2.90	\$11.40	\$5.70
	Mooroopna	\$5.80	\$2.90	\$11.40	\$5.70
	Shepparton	\$5.80	\$2.90	\$11.40	\$5.70
Lancaster	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
	Goornong	\$11.40	\$5.70	\$11.40	\$5.70
	Colbinabbin	\$8.00	\$4.00	\$11.40	\$5.70
	Rushworth	\$6.60	\$3.30	\$11.40	\$5.70
	Stanhope	\$5.80	\$2.90	\$11.40	\$5.70
	Girgarre	\$4.40	\$2.20	\$8.80	\$4.40
	Kyabram	\$3.00	\$1.50	\$6.00	\$3.00
	Merrigum	\$3.00	\$1.50	\$6.00	\$3.00
	Byrneside	\$3.00	\$1.50	\$6.00	\$3.00
	Tatura	\$4.00	\$2.00	\$8.00	\$4.00
	Varra Ville (Caravan Park)	\$4.40	\$2.20	\$8.80	\$4.40
	Mooroopna	\$5.80	\$2.90	\$11.40	\$5.70
	Shepparton	\$5.80	\$2.90	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Merrigum	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
	Goornong	\$11.40	\$5.70	\$11.40	\$5.70
	Colbinabbin	\$8.00	\$4.00	\$11.40	\$5.70
	Rushworth	\$6.60	\$3.30	\$11.40	\$5.70
	Stanhope	\$5.80	\$2.90	\$11.40	\$5.70
	Girgarre	\$4.40	\$2.20	\$8.80	\$4.40
	Kyabram	\$3.00	\$1.50	\$6.00	\$3.00
	Lancaster	\$3.00	\$1.50	\$6.00	\$3.00
	Byrneside	\$3.00	\$1.50	\$6.00	\$3.00
	Tatura	\$4.00	\$2.00	\$8.00	\$4.00
	Varra Ville (Caravan Park)	\$4.40	\$2.20	\$8.80	\$4.40
	Mooroopna	\$4.40	\$2.20	\$8.80	\$4.40
	Shepparton	\$5.80	\$2.90	\$11.40	\$5.70
Byrneside	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
	Goornong	\$11.40	\$5.70	\$11.40	\$5.70
	Colbinabbin	\$9.60	\$4.80	\$11.40	\$5.70
	Rushworth	\$8.00	\$4.00	\$11.40	\$5.70
	Stanhope	\$6.60	\$3.30	\$11.40	\$5.70
	Girgarre	\$5.80	\$2.90	\$11.40	\$5.70
	Kyabram	\$4.00	\$2.00	\$8.00	\$4.00
	Lancaster	\$3.00	\$1.50	\$6.00	\$3.00
	Merrigum	\$3.00	\$1.50	\$6.00	\$3.00
	Tatura	\$3.00	\$1.50	\$6.00	\$3.00
	Varra Ville (Caravan Park)	\$4.00	\$2.00	\$8.00	\$4.00
	Mooroopna	\$4.40	\$2.20	\$8.80	\$4.40
	Shepparton	\$4.40	\$2.20	\$8.80	\$4.40
Tatura	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
	Goornong	\$11.40	\$5.70	\$11.40	\$5.70
	Colbinabbin	\$9.60	\$4.80	\$11.40	\$5.70
	Rushworth	\$8.00	\$4.00	\$11.40	\$5.70
	Stanhope	\$8.00	\$4.00	\$11.40	\$5.70
	Girgarre	\$5.80	\$2.90	\$11.40	\$5.70
	Kyabram	\$4.00	\$2.00	\$8.00	\$4.00
	Lancaster	\$4.00	\$2.00	\$8.00	\$4.00
	Merrigum	\$4.00	\$2.00	\$8.00	\$4.00
	Byrneside	\$3.00	\$1.50	\$6.00	\$3.00
	Varra Ville (Caravan Park)	\$4.00	\$2.00	\$8.00	\$4.00
	Mooroopna	\$4.00	\$2.00	\$8.00	\$4.00
	Shepparton	\$4.40	\$2.20	\$8.80	\$4.40

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Varra Ville (Caravan Park)	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
	Goornong	\$11.40	\$5.70	\$11.40	\$5.70
	Colbinabbin	\$11.40	\$5.70	\$11.40	\$5.70
	Rushworth	\$11.40	\$5.70	\$11.40	\$5.70
	Stanhope	\$9.60	\$4.80	\$11.40	\$5.70
	Girgarre	\$8.00	\$4.00	\$11.40	\$5.70
	Kyabram	\$5.80	\$2.90	\$11.40	\$5.70
	Lancaster	\$4.40	\$2.20	\$8.80	\$4.40
	Merrigum	\$4.40	\$2.20	\$8.80	\$4.40
	Byrneside	\$4.00	\$2.00	\$8.00	\$4.00
	Tatura	\$4.00	\$2.00	\$8.00	\$4.00
	Mooroopna	\$3.00	\$1.50	\$6.00	\$3.00
Mooroopna	Shepparton	\$3.00	\$1.50	\$6.00	\$3.00
	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
	Goornong	\$11.40	\$5.70	\$11.40	\$5.70
	Colbinabbin	\$11.40	\$5.70	\$11.40	\$5.70
	Rushworth	\$11.40	\$5.70	\$11.40	\$5.70
	Stanhope	\$9.60	\$4.80	\$11.40	\$5.70
	Girgarre	\$8.00	\$4.00	\$11.40	\$5.70
	Kyabram	\$5.80	\$2.90	\$11.40	\$5.70
	Lancaster	\$5.80	\$2.90	\$11.40	\$5.70
	Merrigum	\$4.40	\$2.20	\$8.80	\$4.40
	Byrneside	\$4.40	\$2.20	\$8.80	\$4.40
	Tatura	\$4.00	\$2.00	\$8.00	\$4.00
Shepparton	Varra Ville (Caravan Park)	\$3.00	\$1.50	\$6.00	\$3.00
	Shepparton	\$3.00	\$1.50	\$6.00	\$3.00
	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
	Goornong	\$11.40	\$5.70	\$11.40	\$5.70
	Colbinabbin	\$11.40	\$5.70	\$11.40	\$5.70
	Rushworth	\$11.40	\$5.70	\$11.40	\$5.70
	Stanhope	\$11.40	\$5.70	\$11.40	\$5.70
	Girgarre	\$9.60	\$4.80	\$11.40	\$5.70
	Kyabram	\$5.80	\$2.90	\$11.40	\$5.70
	Lancaster	\$5.80	\$2.90	\$11.40	\$5.70
	Merrigum	\$5.80	\$2.90	\$11.40	\$5.70
	Byrneside	\$4.40	\$2.20	\$8.80	\$4.40

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Castlemaine – Chewton – Taradale

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Castlemaine	Chewton	\$3.00	\$1.50	\$6.00	\$3.00
	Elphinstone	\$4.00	\$2.00	\$8.00	\$4.00
	Taradale	\$4.00	\$2.00	\$8.00	\$4.00
Chewton	Castlemaine	\$3.00	\$1.50	\$6.00	\$3.00
	Elphinstone	\$3.00	\$1.50	\$6.00	\$3.00
	Taradale	\$4.00	\$2.00	\$8.00	\$4.00
Elphinstone	Castlemaine	\$4.00	\$2.00	\$8.00	\$4.00
	Chewton	\$3.00	\$1.50	\$6.00	\$3.00
	Taradale	\$3.00	\$1.50	\$6.00	\$3.00
Taradale	Castlemaine	\$4.00	\$2.00	\$8.00	\$4.00
	Chewton	\$4.00	\$2.00	\$8.00	\$4.00
	Elphinstone	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Castlemaine – Harcourt

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Castlemaine	Harcourt	\$3.00	\$1.50	\$6.00	\$3.00
Harcourt	Castlemaine	\$3.00	\$1.50	\$6.00	\$3.00

## Donald – Horsham

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Donald	Minyip	\$5.80	\$2.90	\$11.40	\$5.70
	Rupanyup	\$9.60	\$4.80	\$11.40	\$5.70
	Murtoa	\$9.60	\$4.80	\$11.40	\$5.70
	Dooen	\$11.40	\$5.70	\$11.40	\$5.70
	Horsham	\$11.40	\$5.70	\$11.40	\$5.70
Minyip	Donald	\$5.80	\$2.90	\$11.40	\$5.70
	Rupanyup	\$4.40	\$2.20	\$8.80	\$4.40
	Murtoa	\$4.40	\$2.20	\$8.80	\$4.40
	Dooen	\$6.60	\$3.30	\$11.40	\$5.70
	Horsham	\$8.00	\$4.00	\$11.40	\$5.70
Rupanyup	Donald	\$9.60	\$4.80	\$11.40	\$5.70
	Minyip	\$4.40	\$2.20	\$8.80	\$4.40
	Murtoa	\$3.00	\$1.50	\$6.00	\$3.00
	Dooen	\$4.40	\$2.20	\$8.80	\$4.40
	Horsham	\$4.40	\$2.20	\$8.80	\$4.40

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Murtoa	Donald	\$9.60	\$4.80	\$11.40	\$5.70
	Minyip	\$4.40	\$2.20	\$8.80	\$4.40
	Rupanyup	\$3.00	\$1.50	\$6.00	\$3.00
	Dooen	\$4.40	\$2.20	\$8.80	\$4.40
	Horsham	\$4.40	\$2.20	\$8.80	\$4.40
Dooen	Donald	\$11.40	\$5.70	\$11.40	\$5.70
	Minyip	\$6.60	\$3.30	\$11.40	\$5.70
	Rupanyup	\$4.40	\$2.20	\$8.80	\$4.40
	Murtoa	\$4.40	\$2.20	\$8.80	\$4.40
	Horsham	\$3.00	\$1.50	\$6.00	\$3.00
Horsham	Donald	\$11.40	\$5.70	\$11.40	\$5.70
	Minyip	\$8.00	\$4.00	\$11.40	\$5.70
	Rupanyup	\$4.40	\$2.20	\$8.80	\$4.40
	Murtoa	\$4.40	\$2.20	\$8.80	\$4.40
	Dooen	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Heathcote – Bendigo

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Heathcote	Knowsley	\$4.00	\$2.00	\$8.00	\$4.00
	Axedale	\$4.40	\$2.20	\$8.80	\$4.40
	Junortoun	\$5.80	\$2.90	\$11.40	\$5.70
	Bendigo	\$6.60	\$3.30	\$11.40	\$5.70
Knowsley	Heathcote	\$4.00	\$2.00	\$8.00	\$4.00
	Axedale	\$4.00	\$2.00	\$8.00	\$4.00
	Junortoun	\$4.40	\$2.20	\$8.80	\$4.40
	Bendigo	\$5.80	\$2.90	\$11.40	\$5.70
Axedale	Heathcote	\$4.40	\$2.20	\$8.80	\$4.40
	Knowsley	\$4.00	\$2.00	\$8.00	\$4.00
	Junortoun	\$4.00	\$2.00	\$8.00	\$4.00
	Bendigo	\$4.40	\$2.20	\$8.80	\$4.40
Junortoun	Heathcote	\$5.80	\$2.90	\$11.40	\$5.70
	Knowsley	\$4.40	\$2.20	\$8.80	\$4.40
	Axedale	\$4.00	\$2.00	\$8.00	\$4.00
	Bendigo	\$3.00	\$1.50	\$6.00	\$3.00
Bendigo	Heathcote	\$6.60	\$3.30	\$11.40	\$5.70
	Knowsley	\$5.80	\$2.90	\$11.40	\$5.70
	Axedale	\$4.40	\$2.20	\$8.80	\$4.40
	Junortoun	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Kerang – Echuca

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Kerang	Murrabit	\$4.40	\$2.20	\$8.80	\$4.40
	Koondrook	\$6.60	\$3.30	\$11.40	\$5.70
	Cohuna	\$8.00	\$4.00	\$11.40	\$5.70
	Leitchville	\$9.60	\$4.80	\$11.40	\$5.70
	Gunbower	\$9.60	\$4.80	\$11.40	\$5.70
	Torrumbarry	\$11.40	\$5.70	\$11.40	\$5.70
	Echuca Station	\$11.40	\$5.70	\$11.40	\$5.70
Murrabit	Kerang	\$4.40	\$2.20	\$8.80	\$4.40
	Koondrook	\$4.40	\$2.20	\$8.80	\$4.40
	Cohuna	\$5.80	\$2.90	\$11.40	\$5.70
	Leitchville	\$5.80	\$2.90	\$11.40	\$5.70
	Gunbower	\$6.60	\$3.30	\$11.40	\$5.70
	Torrumbarry	\$8.00	\$4.00	\$11.40	\$5.70
	Echuca Station	\$11.40	\$5.70	\$11.40	\$5.70
Koondrook	Kerang	\$6.60	\$3.30	\$11.40	\$5.70
	Murrabit	\$4.40	\$2.20	\$8.80	\$4.40
	Cohuna	\$3.00	\$1.50	\$6.00	\$3.00
	Leitchville	\$4.00	\$2.00	\$8.00	\$4.00
	Gunbower	\$4.00	\$2.00	\$8.00	\$4.00
	Torrumbarry	\$5.80	\$2.90	\$11.40	\$5.70
	Echuca Station	\$9.60	\$4.80	\$11.40	\$5.70
Cohuna	Kerang	\$8.00	\$4.00	\$11.40	\$5.70
	Murrabit	\$5.80	\$2.90	\$11.40	\$5.70
	Koondrook	\$3.00	\$1.50	\$6.00	\$3.00
	Leitchville	\$3.00	\$1.50	\$6.00	\$3.00
	Gunbower	\$3.00	\$1.50	\$6.00	\$3.00
	Torrumbarry	\$4.40	\$2.20	\$8.80	\$4.40
	Echuca Station	\$8.00	\$4.00	\$11.40	\$5.70
Leitchville	Kerang	\$9.60	\$4.80	\$11.40	\$5.70
	Murrabit	\$5.80	\$2.90	\$11.40	\$5.70
	Koondrook	\$4.00	\$2.00	\$8.00	\$4.00
	Cohuna	\$3.00	\$1.50	\$6.00	\$3.00
	Gunbower	\$3.00	\$1.50	\$6.00	\$3.00
	Torrumbarry	\$4.00	\$2.00	\$8.00	\$4.00
	Echuca Station	\$6.60	\$3.30	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Gunbower	Kerang	\$9.60	\$4.80	\$11.40	\$5.70
	Murrabit	\$6.60	\$3.30	\$11.40	\$5.70
	Koondrook	\$4.00	\$2.00	\$8.00	\$4.00
	Cohuna	\$3.00	\$1.50	\$6.00	\$3.00
	Leitchville	\$3.00	\$1.50	\$6.00	\$3.00
	Torrumbarry	\$4.00	\$2.00	\$8.00	\$4.00
	Echuca Station	\$6.60	\$3.30	\$11.40	\$5.70
Torrumbarry	Kerang	\$11.40	\$5.70	\$11.40	\$5.70
	Murrabit	\$8.00	\$4.00	\$11.40	\$5.70
	Koondrook	\$5.80	\$2.90	\$11.40	\$5.70
	Cohuna	\$4.40	\$2.20	\$8.80	\$4.40
	Leitchville	\$4.00	\$2.00	\$8.00	\$4.00
	Gunbower	\$4.00	\$2.00	\$8.00	\$4.00
	Echuca Station	\$5.80	\$2.90	\$11.40	\$5.70
Echuca Station	Kerang	\$11.40	\$5.70	\$11.40	\$5.70
	Murrabit	\$11.40	\$5.70	\$11.40	\$5.70
	Koondrook	\$9.60	\$4.80	\$11.40	\$5.70
	Cohuna	\$8.00	\$4.00	\$11.40	\$5.70
	Leitchville	\$6.60	\$3.30	\$11.40	\$5.70
	Gunbower	\$6.60	\$3.30	\$11.40	\$5.70
	Torrumbarry	\$5.80	\$2.90	\$11.40	\$5.70

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Kyneton – Riddells Creek – Sunbury

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Kyneton	Newham	\$3.00	\$1.50	\$6.00	\$3.00
	Lancefield	\$4.00	\$2.00	\$8.00	\$4.00
	Romsey	\$4.40	\$2.20	\$8.80	\$4.40
	Monegeetta	\$5.80	\$2.90	\$11.40	\$5.70
	Riddells Creek	\$6.60	\$3.30	\$11.40	\$5.70
	Sunbury	\$6.60	\$3.30	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Newham	Kyneton	\$3.00	\$1.50	\$6.00	\$3.00
	Lancefield	\$3.00	\$1.50	\$6.00	\$3.00
	Romsey	\$4.00	\$2.00	\$8.00	\$4.00
	Monegeetta	\$4.40	\$2.20	\$8.80	\$4.40
	Riddells Creek	\$5.80	\$2.90	\$11.40	\$5.70
	Sunbury	\$5.80	\$2.90	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Lancefield	Kyneton	\$4.00	\$2.00	\$8.00	\$4.00
	Newham	\$3.00	\$1.50	\$6.00	\$3.00
	Romsey	\$3.00	\$1.50	\$6.00	\$3.00
	Monegeetta	\$4.00	\$2.00	\$8.00	\$4.00
	Riddells Creek	\$4.40	\$2.20	\$8.80	\$4.40
	Sunbury	\$4.40	\$2.20	\$8.80	\$4.40
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Romsey	Kyneton	\$4.40	\$2.20	\$8.80	\$4.40
	Newham	\$4.00	\$2.00	\$8.00	\$4.00
	Lancefield	\$3.00	\$1.50	\$6.00	\$3.00
	Monegeetta	\$3.00	\$1.50	\$6.00	\$3.00
	Riddells Creek	\$4.00	\$2.00	\$8.00	\$4.00
	Sunbury	\$4.00	\$2.00	\$8.00	\$4.00
	Melbourne	\$9.60	\$4.80	\$11.40	\$5.70
Monegeetta	Kyneton	\$5.80	\$2.90	\$11.40	\$5.70
	Newham	\$4.40	\$2.20	\$8.80	\$4.40
	Lancefield	\$4.00	\$2.00	\$8.00	\$4.00
	Romsey	\$3.00	\$1.50	\$6.00	\$3.00
	Riddells Creek	\$4.00	\$2.00	\$8.00	\$4.00
	Sunbury	\$4.00	\$2.00	\$8.00	\$4.00
	Melbourne	\$9.60	\$4.80	\$11.40	\$5.70
Riddells Creek	Kyneton	\$6.60	\$3.30	\$11.40	\$5.70
	Newham	\$5.80	\$2.90	\$11.40	\$5.70
	Lancefield	\$4.40	\$2.20	\$8.80	\$4.40
	Romsey	\$4.00	\$2.00	\$8.00	\$4.00
	Monegeetta	\$4.00	\$2.00	\$8.00	\$4.00
	Sunbury	\$3.00	\$1.50	\$6.00	\$3.00
	Melbourne	\$6.60	\$3.30	\$11.40	\$5.70
Sunbury	Kyneton	\$6.60	\$3.30	\$11.40	\$5.70
	Newham	\$5.80	\$2.90	\$11.40	\$5.70
	Lancefield	\$4.40	\$2.20	\$8.80	\$4.40
	Romsey	\$4.00	\$2.00	\$8.00	\$4.00
	Monegeetta	\$4.00	\$2.00	\$8.00	\$4.00
	Riddells Creek	\$3.00	\$1.50	\$6.00	\$3.00
	Melbourne	\$6.60	\$3.30	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Melbourne	Kyneton	\$11.40	\$5.70	\$11.40	\$5.70
	Newham	\$11.40	\$5.70	\$11.40	\$5.70
	Lancefield	\$11.40	\$5.70	\$11.40	\$5.70
	Romsey	\$9.60	\$4.80	\$11.40	\$5.70
	Monegeetta	\$9.60	\$4.80	\$11.40	\$5.70
	Riddells Creek	\$6.60	\$3.30	\$11.40	\$5.70
	Sunbury	\$6.60	\$3.30	\$11.40	\$5.70

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Kyneton – Clarkefield – Sunbury

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Kyneton	Newham	\$3.00	\$1.50	\$6.00	\$3.00
	Lancefield	\$4.00	\$2.00	\$8.00	\$4.00
	Romsey	\$4.40	\$2.20	\$8.80	\$4.40
	Monegeetta	\$5.80	\$2.90	\$11.40	\$5.70
	Clarkefield	\$6.60	\$3.30	\$11.40	\$5.70
	Sunbury	\$6.60	\$3.30	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Newham	Kyneton	\$3.00	\$1.50	\$6.00	\$3.00
	Lancefield	\$3.00	\$1.50	\$6.00	\$3.00
	Romsey	\$4.00	\$2.00	\$8.00	\$4.00
	Monegeetta	\$4.40	\$2.20	\$8.80	\$4.40
	Clarkefield	\$5.80	\$2.90	\$11.40	\$5.70
	Sunbury	\$5.80	\$2.90	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Lancefield	Kyneton	\$4.00	\$2.00	\$8.00	\$4.00
	Newham	\$3.00	\$1.50	\$6.00	\$3.00
	Romsey	\$3.00	\$1.50	\$6.00	\$3.00
	Monegeetta	\$4.00	\$2.00	\$8.00	\$4.00
	Clarkefield	\$4.40	\$2.20	\$8.80	\$4.40
	Sunbury	\$4.40	\$2.20	\$8.80	\$4.40
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Romsey	Kyneton	\$4.40	\$2.20	\$8.80	\$4.40
	Newham	\$4.00	\$2.00	\$8.00	\$4.00
	Lancefield	\$3.00	\$1.50	\$6.00	\$3.00
	Monegeetta	\$3.00	\$1.50	\$6.00	\$3.00
	Clarkefield	\$4.00	\$2.00	\$8.00	\$4.00
	Sunbury	\$4.00	\$2.00	\$8.00	\$4.00
	Melbourne	\$9.60	\$4.80	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Monegeetta	Kyneton	\$5.80	\$2.90	\$11.40	\$5.70
	Newham	\$4.40	\$2.20	\$8.80	\$4.40
	Lancefield	\$4.00	\$2.00	\$8.00	\$4.00
	Romsey	\$3.00	\$1.50	\$6.00	\$3.00
	Clarkefield	\$4.00	\$2.00	\$8.00	\$4.00
	Sunbury	\$4.00	\$2.00	\$8.00	\$4.00
	Melbourne	\$9.60	\$4.80	\$11.40	\$5.70
Clarkefield	Kyneton	\$6.60	\$3.30	\$11.40	\$5.70
	Newham	\$5.80	\$2.90	\$11.40	\$5.70
	Lancefield	\$4.40	\$2.20	\$8.80	\$4.40
	Romsey	\$4.00	\$2.00	\$8.00	\$4.00
	Monegeetta	\$4.00	\$2.00	\$8.00	\$4.00
	Sunbury	\$3.00	\$1.50	\$6.00	\$3.00
	Melbourne	\$6.60	\$3.30	\$11.40	\$5.70
Sunbury	Kyneton	\$6.60	\$3.30	\$11.40	\$5.70
	Newham	\$5.80	\$2.90	\$11.40	\$5.70
	Lancefield	\$4.40	\$2.20	\$8.80	\$4.40
	Romsey	\$4.00	\$2.00	\$8.00	\$4.00
	Monegeetta	\$4.00	\$2.00	\$8.00	\$4.00
	Clarkefield	\$3.00	\$1.50	\$6.00	\$3.00
	Melbourne	\$6.60	\$3.30	\$11.40	\$5.70
Melbourne	Kyneton	\$11.40	\$5.70	\$11.40	\$5.70
	Newham	\$11.40	\$5.70	\$11.40	\$5.70
	Lancefield	\$11.40	\$5.70	\$11.40	\$5.70
	Romsey	\$9.60	\$4.80	\$11.40	\$5.70
	Monegeetta	\$9.60	\$4.80	\$11.40	\$5.70
	Clarkefield	\$6.60	\$3.30	\$11.40	\$5.70
	Sunbury	\$6.60	\$3.30	\$11.40	\$5.70

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Kyneton – Riddells Creek – Gisborne

From	To	Single (full)	Single (conc)	Daily (full)	Daily (concession)
Kyneton	Newham	\$3.00	\$1.50	\$6.00	\$3.00
	Lancefield	\$4.00	\$2.00	\$8.00	\$4.00
	Romsey	\$4.40	\$2.20	\$8.80	\$4.40
	Monegeetta	\$5.80	\$2.90	\$11.40	\$5.70
	Riddells Creek	\$6.60	\$3.30	\$11.40	\$5.70
	Gisborne	\$6.60	\$3.30	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Newham	Kyneton	\$3.00	\$1.50	\$6.00	\$3.00
	Lancefield	\$3.00	\$1.50	\$6.00	\$3.00
	Romsey	\$4.00	\$2.00	\$8.00	\$4.00
	Monegeetta	\$4.40	\$2.20	\$8.80	\$4.40
	Riddells Creek	\$5.80	\$2.90	\$11.40	\$5.70
	Gisborne	\$5.80	\$2.90	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Lancefield	Kyneton	\$4.00	\$2.00	\$8.00	\$4.00
	Newham	\$3.00	\$1.50	\$6.00	\$3.00
	Romsey	\$3.00	\$1.50	\$6.00	\$3.00
	Monegeetta	\$4.00	\$2.00	\$8.00	\$4.00
	Riddells Creek	\$4.40	\$2.20	\$8.80	\$4.40
	Gisborne	\$4.40	\$2.20	\$8.80	\$4.40
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Romsey	Kyneton	\$4.40	\$2.20	\$8.80	\$4.40
	Newham	\$4.00	\$2.00	\$8.00	\$4.00
	Lancefield	\$3.00	\$1.50	\$6.00	\$3.00
	Monegeetta	\$3.00	\$1.50	\$6.00	\$3.00
	Riddells Creek	\$4.00	\$2.00	\$8.00	\$4.00
	Gisborne	\$4.00	\$2.00	\$8.00	\$4.00
	Melbourne	\$9.60	\$4.80	\$11.40	\$5.70
Monegeetta	Kyneton	\$5.80	\$2.90	\$11.40	\$5.70
	Newham	\$4.40	\$2.20	\$8.80	\$4.40
	Lancefield	\$4.00	\$2.00	\$8.00	\$4.00
	Romsey	\$3.00	\$1.50	\$6.00	\$3.00
	Riddells Creek	\$4.00	\$2.00	\$8.00	\$4.00
	Gisborne	\$4.00	\$2.00	\$8.00	\$4.00
	Melbourne	\$9.60	\$4.80	\$11.40	\$5.70
Riddells Creek	Kyneton	\$6.60	\$3.30	\$11.40	\$5.70
	Newham	\$5.80	\$2.90	\$11.40	\$5.70
	Lancefield	\$4.40	\$2.20	\$8.80	\$4.40
	Romsey	\$4.00	\$2.00	\$8.00	\$4.00

From	To	Single (full)	Single (conc)	Daily (full)	Daily (concession)
Gisborne	Monegeetta	\$4.00	\$2.00	\$8.00	\$4.00
	Gisborne	\$3.00	\$1.50	\$6.00	\$3.00
	Melbourne	\$6.60	\$3.30	\$11.40	\$5.70
	Kyneton	\$6.60	\$3.30	\$11.40	\$5.70
	Newham	\$5.80	\$2.90	\$11.40	\$5.70
	Lancefield	\$4.40	\$2.20	\$8.80	\$4.40
	Romsey	\$4.00	\$2.00	\$8.00	\$4.00
Melbourne	Monegeetta	\$4.00	\$2.00	\$8.00	\$4.00
	Riddells Creek	\$3.00	\$1.50	\$6.00	\$3.00
	Melbourne	\$6.60	\$3.30	\$11.40	\$5.70
	Kyneton	\$11.40	\$5.70	\$11.40	\$5.70
	Newham	\$11.40	\$5.70	\$11.40	\$5.70
	Lancefield	\$11.40	\$5.70	\$11.40	\$5.70
	Romsey	\$9.60	\$4.80	\$11.40	\$5.70
Melbourne	Monegeetta	\$9.60	\$4.80	\$11.40	\$5.70
	Riddells Creek	\$6.60	\$3.30	\$11.40	\$5.70
	Gisborne	\$6.60	\$3.30	\$11.40	\$5.70

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Lockington – Rochester

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Lockington	Bamawm Hall Rd – Ballendella	\$3.00	\$1.50	\$6.00	\$3.00
	Ballendella School	\$3.00	\$1.50	\$6.00	\$3.00
	Northern Hwy – Ballendella	\$3.00	\$1.50	\$6.00	\$3.00
	Rochester Station	\$3.00	\$1.50	\$6.00	\$3.00
Bamawm Hall Rd – Ballendella	Lockington	\$3.00	\$1.50	\$6.00	\$3.00
	Ballendella School	\$3.00	\$1.50	\$6.00	\$3.00
	Northern Hwy – Ballendella	\$3.00	\$1.50	\$6.00	\$3.00
	Rochester Station	\$3.00	\$1.50	\$6.00	\$3.00
Ballendella School	Lockington	\$3.00	\$1.50	\$6.00	\$3.00
	Bamawm Hall Rd – Ballendella	\$3.00	\$1.50	\$6.00	\$3.00
	Northern Hwy – Ballendella	\$3.00	\$1.50	\$6.00	\$3.00
	Rochester Station	\$3.00	\$1.50	\$6.00	\$3.00
Northern Hwy – Ballendella	Lockington	\$3.00	\$1.50	\$6.00	\$3.00
	Bamawm Hall Rd – Ballendella	\$3.00	\$1.50	\$6.00	\$3.00
	Ballendella School	\$3.00	\$1.50	\$6.00	\$3.00
	Rochester Station	\$3.00	\$1.50	\$6.00	\$3.00
Rochester Station	Lockington	\$4.00	\$2.00	\$8.00	\$4.00
	Bamawm Hall Rd – Ballendella	\$3.00	\$1.50	\$6.00	\$3.00
	Ballendella School	\$3.00	\$1.50	\$6.00	\$3.00
	Northern Hwy – Ballendella	\$3.00	\$1.50	\$6.00	\$3.00

## Maldon – Castlemaine – Wesley Hill

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Maldon	Castlemaine	\$4.00	\$2.00	\$8.00	\$4.00
	Wesley Hill	\$4.00	\$2.00	\$8.00	\$4.00
Castlemaine	Maldon	\$4.00	\$2.00	\$8.00	\$4.00
	Wesley Hill	\$3.00	\$1.50	\$6.00	\$3.00
Wesley Hill	Maldon	\$4.00	\$2.00	\$8.00	\$4.00
	Castlemaine	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Malmsbury – Kyneton

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Malmsbury	Kyneton	\$3.00	\$1.50	\$6.00	\$3.00
Kyneton	Malmsbury	\$3.00	\$1.50	\$6.00	\$3.00

## Ouyen – Sea Lake

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Ouyen	Sea Lake	\$11.40	\$5.70	\$11.40	\$5.70
Sea Lake	Ouyen	\$11.40	\$5.70	\$11.40	\$5.70

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Ouyen – Pinnaroo

		Pinnaroo	Panitya	Murrayville	Danyo	Cowangie	Tutye	Boinka	Linga	Underbool	Torrita	Walpeup	Galah	Ouyen	
Single															
Ouyen	Full	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$9.60	\$8.00	\$6.60	\$5.80	\$4.40	\$4.00		
	Conc.	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$4.80	\$4.00	\$3.30	\$2.90	\$2.20	\$2.00		
Galah	Full	\$11.40	\$11.40	\$11.40	\$11.40	\$9.60	\$8.00	\$8.00	\$6.60	\$5.80	\$4.40	\$4.00		\$8.00	
	Conc.	\$5.70	\$5.70	\$5.70	\$5.70	\$4.80	\$4.00	\$4.00	\$3.30	\$2.90	\$2.20	\$2.00		\$4.00	
Walpeup	Full	\$11.40	\$11.40	\$11.40	\$9.60	\$8.00	\$6.60	\$5.80	\$4.40	\$4.00	\$3.00			\$8.00	\$8.80
	Conc.	\$5.70	\$5.70	\$5.70	\$4.80	\$4.00	\$3.30	\$2.90	\$2.20	\$2.00	\$1.50			\$4.00	\$4.40
Torrita	Full	\$11.40	\$11.40	\$9.60	\$8.00	\$6.60	\$5.80	\$4.40	\$4.00	\$4.00		\$6.00	\$8.80	\$11.40	
	Conc.	\$5.70	\$5.70	\$4.80	\$4.00	\$3.30	\$2.90	\$2.20	\$2.00	\$2.00		\$3.00	\$4.40	\$5.70	
Underbool	Full	\$11.40	\$11.40	\$8.00	\$6.60	\$5.80	\$4.40	\$4.00	\$3.00		\$8.00	\$8.00	\$11.40	\$11.40	
	Conc.	\$5.70	\$5.70	\$4.00	\$3.30	\$2.90	\$2.20	\$2.00	\$1.50		\$4.00	\$4.00	\$5.70	\$5.70	
Linga	Full	\$11.40	\$9.60	\$6.60	\$5.80	\$4.40	\$4.00	\$3.00		\$6.00	\$8.00	\$8.80	\$11.40	\$11.40	
	Conc.	\$5.70	\$4.80	\$3.30	\$2.90	\$2.20	\$2.00	\$1.50		\$3.00	\$4.00	\$4.40	\$5.70	\$5.70	
Boinka	Full	\$9.60	\$8.00	\$5.80	\$4.40	\$4.00	\$3.00		\$6.00	\$8.00	\$8.80	\$11.40	\$11.40	\$11.40	
	Conc.	\$4.80	\$4.00	\$2.90	\$2.20	\$2.00	\$1.50		\$3.00	\$4.00	\$4.40	\$5.70	\$5.70	\$5.70	
Tutye	Full	\$8.00	\$6.60	\$5.80	\$4.00	\$3.00		\$6.00	\$8.00	\$8.80	\$11.40	\$11.40	\$11.40	\$11.40	
	Conc.	\$4.00	\$3.30	\$2.90	\$2.00	\$1.50		\$3.00	\$4.00	\$4.40	\$5.70	\$5.70	\$5.70	\$5.70	
Cowangie	Full	\$6.60	\$5.80	\$4.40	\$4.00		\$6.00	\$8.00	\$8.80	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	
	Conc.	\$3.30	\$2.90	\$2.20	\$2.00		\$3.00	\$4.00	\$4.40	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	
Danyo	Full	\$5.80	\$4.40	\$4.00		\$8.00	\$8.00	\$8.80	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	
	Conc.	\$2.90	\$2.20	\$2.00		\$4.00	\$4.00	\$4.40	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	
Murrayville	Full	\$4.40	\$4.00		\$8.00	\$8.80	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	
	Conc.	\$2.20	\$2.00		\$4.00	\$4.40	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	
Panitya	Full	\$4.00		\$8.00	\$8.80	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	
	Conc.	\$2.00		\$4.00	\$4.40	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	
Pinnaroo	Full		\$8.00	\$8.80	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	
	Conc.		\$4.00	\$4.40	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	
Return fare															

## Robinvale – Mildura

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Robinvale	Mildura	\$11.40	\$5.70	\$11.40	\$5.70
Mildura	Robinvale	\$11.40	\$5.70	\$11.40	\$5.70

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Sea Lake – Ouyen – Mildura

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Sea Lake	Speed	\$6.60	\$3.30	\$11.40	\$5.70
	Ouyen	\$11.40	\$5.70	\$11.40	\$5.70
	Mildura	\$11.40	\$5.70	\$11.40	\$5.70
Speed	Sea Lake	\$6.60	\$3.30	\$11.40	\$5.70
	Ouyen	\$5.80	\$2.90	\$11.40	\$5.70
	Mildura	\$11.40	\$5.70	\$11.40	\$5.70
Ouyen	Sea Lake	\$11.40	\$5.70	\$11.40	\$5.70
	Speed	\$5.80	\$2.90	\$11.40	\$5.70
	Mildura	\$11.40	\$5.70	\$11.40	\$5.70
Mildura	Sea Lake	\$11.40	\$5.70	\$11.40	\$5.70
	Speed	\$11.40	\$5.70	\$11.40	\$5.70
	Ouyen	\$11.40	\$5.70	\$11.40	\$5.70

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Sea Lake – Swan Hill

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Sea Lake	Ultima	\$6.60	\$3.30	\$11.40	\$5.70
	Swan Hill	\$11.40	\$5.70	\$11.40	\$5.70
Ultima	Sea Lake	\$6.60	\$3.30	\$11.40	\$5.70
	Swan Hill	\$5.80	\$2.90	\$11.40	\$5.70
Swan Hill	Sea Lake	\$11.40	\$5.70	\$11.40	\$5.70
	Ultima	\$5.80	\$2.90	\$11.40	\$5.70

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Tooleybuc – Swan Hill

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Tooleybuc	Piangil	\$3.00	\$1.50	\$6.00	\$3.00
	Wood Wood	\$4.00	\$2.00	\$8.00	\$4.00
	Nyah	\$4.00	\$2.00	\$8.00	\$4.00
	Nyah West	\$4.40	\$2.20	\$8.80	\$4.40
	Woorinen South	\$5.80	\$2.90	\$11.40	\$5.70
	Swan Hill	\$6.60	\$3.30	\$11.40	\$5.70
Piangil	Tooleybuc	\$3.00	\$1.50	\$6.00	\$3.00
	Wood Wood	\$3.00	\$1.50	\$6.00	\$3.00
	Nyah	\$4.00	\$2.00	\$8.00	\$4.00
	Nyah West	\$4.00	\$2.00	\$8.00	\$4.00
	Woorinen South	\$5.80	\$2.90	\$11.40	\$5.70
	Swan Hill	\$6.60	\$3.30	\$11.40	\$5.70
Wood Wood	Tooleybuc	\$4.00	\$2.00	\$8.00	\$4.00
	Piangil	\$3.00	\$1.50	\$6.00	\$3.00
	Nyah	\$3.00	\$1.50	\$6.00	\$3.00
	Nyah West	\$4.00	\$2.00	\$8.00	\$4.00
	Woorinen South	\$4.40	\$2.20	\$8.80	\$4.40
	Swan Hill	\$5.80	\$2.90	\$11.40	\$5.70
Nyah	Tooleybuc	\$4.00	\$2.00	\$8.00	\$4.00
	Piangil	\$4.00	\$2.00	\$8.00	\$4.00
	Wood Wood	\$3.00	\$1.50	\$6.00	\$3.00
	Nyah West	\$3.00	\$1.50	\$6.00	\$3.00
	Woorinen South	\$4.00	\$2.00	\$8.00	\$4.00
	Swan Hill	\$4.40	\$2.20	\$8.80	\$4.40
Nyah West	Tooleybuc	\$4.40	\$2.20	\$8.80	\$4.40
	Piangil	\$4.00	\$2.00	\$8.00	\$4.00
	Wood Wood	\$4.00	\$2.00	\$8.00	\$4.00
	Nyah	\$3.00	\$1.50	\$6.00	\$3.00
	Woorinen South	\$4.00	\$2.00	\$8.00	\$4.00
	Swan Hill	\$4.40	\$2.20	\$8.80	\$4.40
Woorinen South	Tooleybuc	\$5.80	\$2.90	\$11.40	\$5.70
	Piangil	\$5.80	\$2.90	\$11.40	\$5.70
	Wood Wood	\$4.40	\$2.20	\$8.80	\$4.40
	Nyah	\$4.00	\$2.00	\$8.00	\$4.00
	Nyah West	\$4.00	\$2.00	\$8.00	\$4.00
	Swan Hill	\$3.00	\$1.50	\$6.00	\$3.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Swan Hill	Tooleybuc	\$6.60	\$3.30	\$11.40	\$5.70
	Piangil	\$6.60	\$3.30	\$11.40	\$5.70
	Wood Wood	\$5.80	\$2.90	\$11.40	\$5.70
	Nyah	\$4.40	\$2.20	\$8.80	\$4.40
	Nyah West	\$4.40	\$2.20	\$8.80	\$4.40
	Woorinen South	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Ultima – Lake Boga – Swan Hill

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Ultima	Lake Boga	\$4.00	\$2.00	\$8.00	\$4.00
	Swan Hill	\$5.80	\$2.90	\$11.40	\$5.70
Lake Boga	Ultima	\$4.00	\$2.00	\$8.00	\$4.00
	Swan Hill	\$4.00	\$2.00	\$8.00	\$4.00
Swan Hill	Ultima	\$5.80	\$2.90	\$11.40	\$5.70
	Lake Boga	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Woodend – Kyneton

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Woodend	Kyneton	\$4.00	\$2.00	\$8.00	\$4.00
Kyneton	Woodend	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Woomelang – Bendigo

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Woomelang	Birchip	\$6.60	\$3.30	\$11.40	\$5.70
	Wycheproof	\$11.40	\$5.70	\$11.40	\$5.70
	Charlton	\$11.40	\$5.70	\$11.40	\$5.70
	Wedderburn	\$11.40	\$5.70	\$11.40	\$5.70
	Inglewood	\$11.40	\$5.70	\$11.40	\$5.70
	Bridgewater	\$11.40	\$5.70	\$11.40	\$5.70
	Marong	\$11.40	\$5.70	\$11.40	\$5.70
	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
Birchip	Woomelang	\$6.60	\$3.30	\$11.40	\$5.70
	Wycheproof	\$5.80	\$2.90	\$11.40	\$5.70
	Charlton	\$9.60	\$4.80	\$11.40	\$5.70
	Wedderburn	\$11.40	\$5.70	\$11.40	\$5.70
	Inglewood	\$11.40	\$5.70	\$11.40	\$5.70
	Bridgewater	\$11.40	\$5.70	\$11.40	\$5.70
	Marong	\$11.40	\$5.70	\$11.40	\$5.70
	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
Wycheproof	Woomelang	\$11.40	\$5.70	\$11.40	\$5.70
	Birchip	\$5.80	\$2.90	\$11.40	\$5.70
	Charlton	\$4.40	\$2.20	\$8.80	\$4.40
	Wedderburn	\$9.60	\$4.80	\$11.40	\$5.70
	Inglewood	\$11.40	\$5.70	\$11.40	\$5.70
	Bridgewater	\$11.40	\$5.70	\$11.40	\$5.70
	Marong	\$11.40	\$5.70	\$11.40	\$5.70
	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
Charlton	Woomelang	\$11.40	\$5.70	\$11.40	\$5.70
	Birchip	\$9.60	\$4.80	\$11.40	\$5.70
	Wycheproof	\$4.40	\$2.20	\$8.80	\$4.40
	Wedderburn	\$5.80	\$2.90	\$11.40	\$5.70
	Inglewood	\$9.60	\$4.80	\$11.40	\$5.70
	Bridgewater	\$11.40	\$5.70	\$11.40	\$5.70
	Marong	\$11.40	\$5.70	\$11.40	\$5.70
	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70
Wedderburn	Woomelang	\$11.40	\$5.70	\$11.40	\$5.70
	Birchip	\$11.40	\$5.70	\$11.40	\$5.70
	Wycheproof	\$9.60	\$4.80	\$11.40	\$5.70
	Charlton	\$5.80	\$2.90	\$11.40	\$5.70
	Inglewood	\$5.80	\$2.90	\$11.40	\$5.70
	Bridgewater	\$5.80	\$2.90	\$11.40	\$5.70
	Marong	\$9.60	\$4.80	\$11.40	\$5.70
	Bendigo	\$11.40	\$5.70	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Inglewood	Woomelang	\$11.40	\$5.70	\$11.40	\$5.70
	Birchip	\$11.40	\$5.70	\$11.40	\$5.70
	Wycheproof	\$11.40	\$5.70	\$11.40	\$5.70
	Charlton	\$9.60	\$4.80	\$11.40	\$5.70
	Wedderburn	\$5.80	\$2.90	\$11.40	\$5.70
	Bridgewater	\$3.00	\$1.50	\$6.00	\$3.00
	Marong	\$4.40	\$2.20	\$8.80	\$4.40
	Bendigo	\$6.60	\$3.30	\$11.40	\$5.70
Bridgewater	Woomelang	\$11.40	\$5.70	\$11.40	\$5.70
	Birchip	\$11.40	\$5.70	\$11.40	\$5.70
	Wycheproof	\$11.40	\$5.70	\$11.40	\$5.70
	Charlton	\$11.40	\$5.70	\$11.40	\$5.70
	Wedderburn	\$5.80	\$2.90	\$11.40	\$5.70
	Inglewood	\$3.00	\$1.50	\$6.00	\$3.00
	Marong	\$4.40	\$2.20	\$8.80	\$4.40
	Bendigo	\$6.60	\$3.30	\$11.40	\$5.70
Marong	Woomelang	\$11.40	\$5.70	\$11.40	\$5.70
	Birchip	\$11.40	\$5.70	\$11.40	\$5.70
	Wycheproof	\$11.40	\$5.70	\$11.40	\$5.70
	Charlton	\$11.40	\$5.70	\$11.40	\$5.70
	Wedderburn	\$9.60	\$4.80	\$11.40	\$5.70
	Inglewood	\$4.40	\$2.20	\$8.80	\$4.40
	Bridgewater	\$4.40	\$2.20	\$8.80	\$4.40
	Bendigo	\$4.00	\$2.00	\$8.00	\$4.00
Bendigo	Woomelang	\$11.40	\$5.70	\$11.40	\$5.70
	Birchip	\$11.40	\$5.70	\$11.40	\$5.70
	Wycheproof	\$11.40	\$5.70	\$11.40	\$5.70
	Charlton	\$11.40	\$5.70	\$11.40	\$5.70
	Wedderburn	\$11.40	\$5.70	\$11.40	\$5.70
	Inglewood	\$6.60	\$3.30	\$11.40	\$5.70
	Bridgewater	\$6.60	\$3.30	\$11.40	\$5.70
	Marong	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Wycheproof – Swan Hill

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Wycheproof	Lalbert	\$8.00	\$4.00	\$11.40	\$5.70
	Swan Hill	\$11.40	\$5.70	\$11.40	\$5.70
Lalbert	Wycheproof	\$8.00	\$4.00	\$11.40	\$5.70
	Swan Hill	\$6.60	\$3.30	\$11.40	\$5.70
Swan Hill	Wycheproof	\$11.40	\$5.70	\$11.40	\$5.70
	Lalbert	\$6.60	\$3.30	\$11.40	\$5.70

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

# Hume (north east) fare tables

**Please note:** Customers that are not entitled to free travel should always pay a fare, even if travelling only a single stop. When a customer travels between non-listed stops within the same town, a single zone fare is charged (\$3.00 for full fare and \$1.50 for concession).

Due to the large number of stops within Victoria, only major stops are listed in fare tables.

## Alexandra – Seymour

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Alexandra	Molesworth	\$4.00	\$2.00	\$8.00	\$4.00
	Yea	\$5.80	\$2.90	\$11.40	\$5.70
	Trawool	\$8.00	\$4.00	\$11.40	\$5.70
	Seymour	\$9.60	\$4.80	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Molesworth	Alexandra	\$4.00	\$2.00	\$8.00	\$4.00
	Yea	\$4.00	\$2.00	\$8.00	\$4.00
	Trawool	\$5.80	\$2.90	\$11.40	\$5.70
	Seymour	\$6.60	\$3.30	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Yea	Alexandra	\$5.80	\$2.90	\$11.40	\$5.70
	Molesworth	\$4.00	\$2.00	\$8.00	\$4.00
	Trawool	\$4.40	\$2.20	\$8.80	\$4.40
	Seymour	\$5.80	\$2.90	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Trawool	Alexandra	\$8.00	\$4.00	\$11.40	\$5.70
	Molesworth	\$5.80	\$2.90	\$11.40	\$5.70
	Yea	\$4.40	\$2.20	\$8.80	\$4.40
	Seymour	\$3.00	\$1.50	\$6.00	\$3.00
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Seymour	Alexandra	\$9.60	\$4.80	\$11.40	\$5.70
	Molesworth	\$6.60	\$3.30	\$11.40	\$5.70
	Yea	\$5.80	\$2.90	\$11.40	\$5.70
	Trawool	\$3.00	\$1.50	\$6.00	\$3.00
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Melbourne	Alexandra	\$11.40	\$5.70	\$11.40	\$5.70
	Molesworth	\$11.40	\$5.70	\$11.40	\$5.70
	Yea	\$11.40	\$5.70	\$11.40	\$5.70
	Trawool	\$11.40	\$5.70	\$11.40	\$5.70
	Seymour	\$11.40	\$5.70	\$11.40	\$5.70

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Alexandra – Marysville

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Alexandra	Taggerty	\$3.00	\$1.50	\$6.00	\$3.00
	Buxton	\$4.00	\$2.00	\$8.00	\$4.00
	Marysville	\$4.40	\$2.20	\$8.80	\$4.40
Taggerty	Alexandra	\$3.00	\$1.50	\$6.00	\$3.00
	Buxton	\$3.00	\$1.50	\$6.00	\$3.00
	Marysville	\$4.00	\$2.00	\$8.00	\$4.00
Buxton	Alexandra	\$4.00	\$2.00	\$8.00	\$4.00
	Taggerty	\$3.00	\$1.50	\$6.00	\$3.00
	Marysville	\$3.00	\$1.50	\$6.00	\$3.00
Marysville	Alexandra	\$4.40	\$2.20	\$8.80	\$4.40
	Taggerty	\$4.00	\$2.00	\$8.00	\$4.00
	Buxton	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Beechworth – Stanley (school service)

		Stanley	Beechworth
		Single	
Beechworth	Full	\$3.00	
	Conc.	\$1.50	
Stanley	Full		\$6.00
	Conc.		\$3.00
			Return fare

## Beechworth – Wooragee – Yackandandah (school service)

		Yackandandah	Wooragee	Beechworth
		Single		
Beechworth	Full	\$4.40	\$3.00	
	Conc.	\$2.20	\$1.50	
Wooragee	Full	\$4.00		\$6.00
	Conc.	\$2.00		\$3.00
Yackandandah	Full		\$8.00	\$8.80
	Conc.		\$4.00	\$4.40
		Return fare		

## Beechworth – Yackandandah – Albury (school service)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Wangaratta	Beechworth	\$6.60	\$3.30	\$11.40	\$5.70
	Wooragee	\$8.00	\$4.00	\$11.40	\$5.70
	Yackandandah	\$9.60	\$4.80	\$11.40	\$5.70
	Baranduda	\$11.40	\$5.70	\$11.40	\$5.70
	Albury/Wodonga	\$11.40	\$5.70	\$11.40	\$5.70
Beechworth	Wangaratta	\$6.60	\$3.30	\$11.40	\$5.70
	Wooragee	\$3.00	\$1.50	\$6.00	\$3.00
	Yackandandah	\$4.40	\$2.20	\$8.80	\$4.40
	Baranduda	\$6.60	\$3.30	\$11.40	\$5.70
	Albury/Wodonga	\$8.00	\$4.00	\$11.40	\$5.70
Wooragee	Wangaratta	\$8.00	\$4.00	\$11.40	\$5.70
	Beechworth	\$3.00	\$1.50	\$6.00	\$3.00
	Yackandandah	\$4.00	\$2.00	\$8.00	\$4.00
	Baranduda	\$5.80	\$2.90	\$11.40	\$5.70
	Albury/Wodonga	\$6.60	\$3.30	\$11.40	\$5.70
Yackandandah	Wangaratta	\$9.60	\$4.80	\$11.40	\$5.70
	Beechworth	\$4.40	\$2.20	\$8.80	\$4.40
	Wooragee	\$4.00	\$2.00	\$8.00	\$4.00
	Baranduda	\$4.40	\$2.20	\$8.80	\$4.40
	Albury/Wodonga	\$5.80	\$2.90	\$11.40	\$5.70
Baranduda	Wangaratta	\$11.40	\$5.70	\$11.40	\$5.70
	Beechworth	\$6.60	\$3.30	\$11.40	\$5.70
	Wooragee	\$5.80	\$2.90	\$11.40	\$5.70
	Yackandandah	\$4.40	\$2.20	\$8.80	\$4.40
	Albury/Wodonga	\$3.00	\$1.50	\$6.00	\$3.00
Albury/Wodonga	Wangaratta	\$11.40	\$5.70	\$11.40	\$5.70
	Beechworth	\$8.00	\$4.00	\$11.40	\$5.70
	Wooragee	\$6.60	\$3.30	\$11.40	\$5.70
	Yackandandah	\$5.80	\$2.90	\$11.40	\$5.70
	Baranduda	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Beechworth – Mount Pilot (school service)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Beechworth	Mount Pilot	\$3.00	\$1.50	\$6.00	\$3.00
Mount Pilot	Beechworth	\$3.00	\$1.50	\$6.00	\$3.00

## Corowa – Albury

From	To	Single (full)	Single (conc)	Daily (full)	Daily (concession)
Corowa	Wahgunyah	\$3.00	\$1.50	\$6.00	\$3.00
	Rutherglen	\$4.00	\$2.00	\$8.00	\$4.00
	Chiltern	\$4.40	\$2.20	\$8.80	\$4.40
	Barnawartha	\$5.80	\$2.90	\$11.40	\$5.70
	Wodonga	\$8.00	\$4.00	\$11.40	\$5.70
	Albury	\$9.60	\$4.80	\$11.40	\$5.70
Wahgunyah	Corowa	\$3.00	\$1.50	\$6.00	\$3.00
	Rutherglen	\$3.00	\$1.50	\$6.00	\$3.00
	Chiltern	\$4.40	\$2.20	\$8.80	\$4.40
	Barnawartha	\$5.80	\$2.90	\$11.40	\$5.70
	Wodonga	\$8.00	\$4.00	\$11.40	\$5.70
	Albury	\$9.60	\$4.80	\$11.40	\$5.70
Rutherglen	Corowa	\$4.00	\$2.00	\$8.00	\$4.00
	Wahgunyah	\$3.00	\$1.50	\$6.00	\$3.00
	Chiltern	\$4.00	\$2.00	\$8.00	\$4.00
	Barnawartha	\$4.40	\$2.20	\$8.80	\$4.40
	Wodonga	\$6.60	\$3.30	\$11.40	\$5.70
	Albury	\$8.00	\$4.00	\$11.40	\$5.70
Chiltern	Corowa	\$4.40	\$2.20	\$8.80	\$4.40
	Wahgunyah	\$4.40	\$2.20	\$8.80	\$4.40
	Rutherglen	\$4.00	\$2.00	\$8.00	\$4.00
	Barnawartha	\$3.00	\$1.50	\$6.00	\$3.00
	Wodonga	\$4.40	\$2.20	\$8.80	\$4.40
	Albury	\$5.80	\$2.90	\$11.40	\$5.70
Barnawartha	Corowa	\$5.80	\$2.90	\$11.40	\$5.70
	Wahgunyah	\$5.80	\$2.90	\$11.40	\$5.70
	Rutherglen	\$4.40	\$2.20	\$8.80	\$4.40
	Chiltern	\$3.00	\$1.50	\$6.00	\$3.00
	Wodonga	\$4.40	\$2.20	\$8.80	\$4.40
	Albury	\$5.80	\$2.90	\$11.40	\$5.70
Wodonga	Corowa	\$8.00	\$4.00	\$11.40	\$5.70
	Wahgunyah	\$8.00	\$4.00	\$11.40	\$5.70
	Rutherglen	\$6.60	\$3.30	\$11.40	\$5.70
	Chiltern	\$4.40	\$2.20	\$8.80	\$4.40
	Barnawartha	\$4.40	\$2.20	\$8.80	\$4.40
	Albury	\$3.00	\$1.50	\$6.00	\$3.00

From	To	Single (full)	Single (conc)	Daily (full)	Daily (concession)
Albury	Corowa	\$9.60	\$4.80	\$11.40	\$5.70
	Wahgunyah	\$9.60	\$4.80	\$11.40	\$5.70
	Rutherglen	\$8.00	\$4.00	\$11.40	\$5.70
	Chiltern	\$5.80	\$2.90	\$11.40	\$5.70
	Barnawartha	\$5.80	\$2.90	\$11.40	\$5.70
	Wodonga	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Corryong – Albury (via Walwa)

	Albury	Wodonga	Talgarno	Granya	Bungil	Thologolong	Burrowye Junction	Mt Alfred	Jingellic	Walwa	Tintaldra	Towong	Corryong
Single													
Corryong	Full	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$9.60	\$8.00	\$4.40	\$4.00	
	Conc.	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$4.80	\$4.00	\$2.20	\$2.00	
Towong	Full	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$9.60	\$8.00	\$5.80	\$5.80	\$3.00	\$8.00
	Conc.	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$4.80	\$4.00	\$2.90	\$2.90	\$1.50	\$4.00
Tintaldra	Full	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$8.00	\$6.60	\$4.40	\$4.40		\$6.00 \$8.80
	Conc.	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$4.00	\$3.30	\$2.20	\$2.20		\$3.00 \$4.40
Walwa	Full	\$11.40	\$11.40	\$11.40	\$9.60	\$9.60	\$6.60	\$4.40	\$4.00	\$3.00		\$8.80	\$11.40 \$11.40
	Conc.	\$5.70	\$5.70	\$5.70	\$4.80	\$4.80	\$3.30	\$2.20	\$2.00	\$1.50		\$4.40	\$5.70 \$5.70
Jingellic	Full	\$11.40	\$11.40	\$11.40	\$9.60	\$8.00	\$5.80	\$4.00	\$3.00		\$6.00	\$8.80	\$11.40 \$11.40
	Conc.	\$5.70	\$5.70	\$5.70	\$4.80	\$4.00	\$2.90	\$2.00	\$1.50		\$3.00	\$4.40	\$5.70 \$5.70
Mount Alfred	Full	\$11.40	\$11.40	\$11.40	\$6.60	\$6.60	\$4.40	\$3.00		\$6.00	\$8.00	\$11.40	\$11.40 \$11.40
	Conc.	\$5.70	\$5.70	\$5.70	\$3.30	\$3.30	\$2.20	\$1.50		\$3.00	\$4.00	\$5.70	\$5.70 \$5.70
Burrowye Junction	Full	\$11.40	\$11.40	\$8.00	\$5.80	\$4.40	\$4.00		\$6.00	\$8.00	\$8.80	\$11.40	\$11.40 \$11.40
	Conc.	\$5.70	\$5.70	\$4.00	\$2.90	\$2.20	\$2.00		\$3.00	\$4.00	\$4.40	\$5.70	\$5.70 \$5.70
Thologolong	Full	\$11.40	\$11.40	\$5.80	\$4.00	\$3.00		\$8.00	\$8.80	\$11.40	\$11.40	\$11.40	\$11.40 \$11.40
	Conc.	\$5.70	\$5.70	\$2.90	\$2.00	\$1.50		\$4.00	\$4.40	\$5.70	\$5.70	\$5.70	\$5.70 \$5.70
Bungil	Full	\$9.60	\$8.00	\$4.40	\$3.00		\$6.00	\$8.80	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40 \$11.40
	Conc.	\$4.80	\$4.00	\$2.20	\$1.50		\$3.00	\$4.40	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70 \$5.70
Granya	Full	\$9.60	\$8.00	\$4.00		\$6.00	\$8.00	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40 \$11.40
	Conc.	\$4.80	\$4.00	\$2.00		\$3.00	\$4.00	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70 \$5.70
Talgarno	Full	\$5.80	\$5.80		\$8.00	\$8.80	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40 \$11.40
	Conc.	\$2.90	\$2.90		\$4.00	\$4.40	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70 \$5.70
Wodonga	Full	\$3.00		\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40 \$11.40
	Conc.	\$1.50		\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70 \$5.70
Albury	Full		\$6.00	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40 \$11.40
	Conc.		\$3.00	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70 \$5.70
Return fare													

## Eildon – Alexandra

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Eildon	Thornton	\$3.00	\$1.50	\$6.00	\$3.00
	Alexandra	\$4.00	\$2.00	\$8.00	\$4.00
Thornton	Eildon	\$3.00	\$1.50	\$6.00	\$3.00
	Alexandra	\$3.00	\$1.50	\$6.00	\$3.00
Alexandra	Eildon	\$4.00	\$2.00	\$8.00	\$4.00
	Thornton	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Eildon – Melbourne (myki fares)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Eildon	Thornton	\$3.00	\$1.50	\$6.00	\$3.00
	Alexandra	\$4.00	\$2.00	\$8.00	\$4.00
	Taggerty	\$4.40	\$2.20	\$8.80	\$4.40
	Buxton	\$5.80	\$2.90	\$11.40	\$5.70
	Marysville	\$6.60	\$3.30	\$11.40	\$5.70
	Narbethong	\$9.60	\$4.80	\$11.40	\$5.70
	Healesville	\$11.40	\$5.70	\$11.40	\$5.70
	Lilydale	\$11.40	\$5.70	\$11.40	\$5.70
	Croydon	\$11.40	\$5.70	\$11.40	\$5.70
	Ringwood	\$11.40	\$5.70	\$11.40	\$5.70
	Nunawading	\$11.40	\$5.70	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Thornton	Eildon	\$3.00	\$1.50	\$6.00	\$3.00
	Alexandra	\$3.00	\$1.50	\$6.00	\$3.00
	Taggerty	\$4.00	\$2.00	\$8.00	\$4.00
	Buxton	\$4.40	\$2.20	\$8.80	\$4.40
	Marysville	\$5.80	\$2.90	\$11.40	\$5.70
	Narbethong	\$8.00	\$4.00	\$11.40	\$5.70
	Healesville	\$11.40	\$5.70	\$11.40	\$5.70
	Lilydale	\$11.40	\$5.70	\$11.40	\$5.70
	Croydon	\$11.40	\$5.70	\$11.40	\$5.70
	Ringwood	\$11.40	\$5.70	\$11.40	\$5.70
	Nunawading	\$11.40	\$5.70	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Alexandra	Eildon	\$4.00	\$2.00	\$8.00	\$4.00
	Thornton	\$3.00	\$1.50	\$6.00	\$3.00
	Taggerty	\$3.00	\$1.50	\$6.00	\$3.00
	Buxton	\$4.00	\$2.00	\$8.00	\$4.00
	Marysville	\$4.40	\$2.20	\$8.80	\$4.40
	Narbethong	\$6.60	\$3.30	\$11.40	\$5.70
	Healesville	\$11.40	\$5.70	\$11.40	\$5.70
	Lilydale	\$11.40	\$5.70	\$11.40	\$5.70
	Croydon	\$11.40	\$5.70	\$11.40	\$5.70
	Ringwood	\$11.40	\$5.70	\$11.40	\$5.70
	Nunawading	\$11.40	\$5.70	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Taggerty	Eildon	\$4.40	\$2.20	\$8.80	\$4.40
	Thornton	\$4.00	\$2.00	\$8.00	\$4.00
	Alexandra	\$3.00	\$1.50	\$6.00	\$3.00
	Buxton	\$3.00	\$1.50	\$6.00	\$3.00
	Marysville	\$4.00	\$2.00	\$8.00	\$4.00
	Narbethong	\$5.80	\$2.90	\$11.40	\$5.70
	Healesville	\$9.60	\$4.80	\$11.40	\$5.70
	Lilydale	\$9.60	\$4.80	\$11.40	\$5.70
	Croydon	\$9.60	\$4.80	\$11.40	\$5.70
	Ringwood	\$9.60	\$4.80	\$11.40	\$5.70
	Nunawading	\$9.60	\$4.80	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Buxton	Eildon	\$5.80	\$2.90	\$11.40	\$5.70
	Thornton	\$4.40	\$2.20	\$8.80	\$4.40
	Alexandra	\$4.00	\$2.00	\$8.00	\$4.00
	Taggerty	\$3.00	\$1.50	\$6.00	\$3.00
	Marysville	\$3.00	\$1.50	\$6.00	\$3.00
	Narbethong	\$4.40	\$2.20	\$8.80	\$4.40
	Healesville	\$8.00	\$4.00	\$11.40	\$5.70
	Lilydale	\$8.00	\$4.00	\$11.40	\$5.70
	Croydon	\$8.00	\$4.00	\$11.40	\$5.70
	Ringwood	\$8.00	\$4.00	\$11.40	\$5.70
	Nunawading	\$8.00	\$4.00	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Marysville	Eildon	\$6.60	\$3.30	\$11.40	\$5.70
	Thornton	\$5.80	\$2.90	\$11.40	\$5.70
	Alexandra	\$4.40	\$2.20	\$8.80	\$4.40
	Taggerty	\$4.00	\$2.00	\$8.00	\$4.00
	Buxton	\$3.00	\$1.50	\$6.00	\$3.00
	Narbethong	\$4.00	\$2.00	\$8.00	\$4.00
	Healesville	\$6.60	\$3.30	\$11.40	\$5.70
	Lilydale	\$6.60	\$3.30	\$11.40	\$5.70
	Croydon	\$6.60	\$3.30	\$11.40	\$5.70
	Ringwood	\$6.60	\$3.30	\$11.40	\$5.70
	Nunawading	\$6.60	\$3.30	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Narbethong	Eildon	\$9.60	\$4.80	\$11.40	\$5.70
	Thornton	\$8.00	\$4.00	\$11.40	\$5.70
	Alexandra	\$6.60	\$3.30	\$11.40	\$5.70
	Taggerty	\$5.80	\$2.90	\$11.40	\$5.70
	Buxton	\$4.40	\$2.20	\$8.80	\$4.40
	Marysville	\$4.00	\$2.00	\$8.00	\$4.00
	Healesville	\$5.80	\$2.90	\$11.40	\$5.70
	Lilydale	\$5.80	\$2.90	\$11.40	\$5.70
	Croydon	\$5.80	\$2.90	\$11.40	\$5.70
	Ringwood	\$5.80	\$2.90	\$11.40	\$5.70
	Nunawading	\$5.80	\$2.90	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
Healesville	Eildon	\$11.40	\$5.70	\$11.40	\$5.70
	Thornton	\$11.40	\$5.70	\$11.40	\$5.70
	Alexandra	\$11.40	\$5.70	\$11.40	\$5.70
	Taggerty	\$9.60	\$4.80	\$11.40	\$5.70
	Buxton	\$8.00	\$4.00	\$11.40	\$5.70
	Marysville	\$6.60	\$3.30	\$11.40	\$5.70
	Narbethong	\$5.80	\$2.90	\$11.40	\$5.70
	Lilydale	\$3.60	\$1.80	\$7.20	\$3.60
	Croydon	\$3.60	\$1.80	\$7.20	\$3.60
	Ringwood	\$3.60	\$1.80	\$7.20	\$3.60
	Nunawading	\$3.60	\$1.80	\$7.20	\$3.60
	Melbourne	\$5.70	\$2.85	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Lilydale	Eildon	\$11.40	\$5.70	\$11.40	\$5.70
	Thornton	\$11.40	\$5.70	\$11.40	\$5.70
	Alexandra	\$11.40	\$5.70	\$11.40	\$5.70
	Taggerty	\$9.60	\$4.80	\$11.40	\$5.70
	Buxton	\$8.00	\$4.00	\$11.40	\$5.70
	Marysville	\$6.60	\$3.30	\$11.40	\$5.70
	Narbethong	\$5.80	\$2.90	\$11.40	\$5.70
	Healesville	\$3.60	\$1.80	\$7.20	\$3.60
	Croydon	\$3.60	\$1.80	\$7.20	\$3.60
	Ringwood	\$3.60	\$1.80	\$7.20	\$3.60
	Nunawading	\$3.60	\$1.80	\$7.20	\$3.60
	Melbourne	\$5.70	\$2.85	\$11.40	\$5.70
Croydon	Eildon	\$11.40	\$5.70	\$11.40	\$5.70
	Thornton	\$11.40	\$5.70	\$11.40	\$5.70
	Alexandra	\$11.40	\$5.70	\$11.40	\$5.70
	Taggerty	\$9.60	\$4.80	\$11.40	\$5.70
	Buxton	\$8.00	\$4.00	\$11.40	\$5.70
	Marysville	\$6.60	\$3.30	\$11.40	\$5.70
	Narbethong	\$5.80	\$2.90	\$11.40	\$5.70
	Healesville	\$3.60	\$1.80	\$7.20	\$3.60
	Lilydale	\$3.60	\$1.80	\$7.20	\$3.60
	Ringwood	\$3.60	\$1.80	\$7.20	\$3.60
	Nunawading	\$3.60	\$1.80	\$7.20	\$3.60
	Melbourne	\$5.70	\$2.85	\$11.40	\$5.70
Ringwood	Eildon	\$11.40	\$5.70	\$11.40	\$5.70
	Thornton	\$11.40	\$5.70	\$11.40	\$5.70
	Alexandra	\$11.40	\$5.70	\$11.40	\$5.70
	Taggerty	\$9.60	\$4.80	\$11.40	\$5.70
	Buxton	\$8.00	\$4.00	\$11.40	\$5.70
	Marysville	\$6.60	\$3.30	\$11.40	\$5.70
	Narbethong	\$5.80	\$2.90	\$11.40	\$5.70
	Healesville	\$3.60	\$1.80	\$7.20	\$3.60
	Lilydale	\$3.60	\$1.80	\$7.20	\$3.60
	Croydon	\$3.60	\$1.80	\$7.20	\$3.60
	Nunawading	\$3.60	\$1.80	\$7.20	\$3.60
	Melbourne	\$5.70	\$2.85	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Nunawading	Eildon	\$11.40	\$5.70	\$11.40	\$5.70
	Thornton	\$11.40	\$5.70	\$11.40	\$5.70
	Alexandra	\$11.40	\$5.70	\$11.40	\$5.70
	Taggerty	\$9.60	\$4.80	\$11.40	\$5.70
	Buxton	\$8.00	\$4.00	\$11.40	\$5.70
	Marysville	\$6.60	\$3.30	\$11.40	\$5.70
	Narbethong	\$5.80	\$2.90	\$11.40	\$5.70
	Healesville	\$3.60	\$1.80	\$7.20	\$3.60
	Lilydale	\$3.60	\$1.80	\$7.20	\$3.60
	Croydon	\$3.60	\$1.80	\$7.20	\$3.60
	Ringwood	\$3.60	\$1.80	\$7.20	\$3.60
Melbourne	Melbourne	\$5.70	\$2.85	\$11.40	\$5.70
	Eildon	\$11.40	\$5.70	\$11.40	\$5.70
	Thornton	\$11.40	\$5.70	\$11.40	\$5.70
	Alexandra	\$11.40	\$5.70	\$11.40	\$5.70
	Taggerty	\$11.40	\$5.70	\$11.40	\$5.70
	Buxton	\$11.40	\$5.70	\$11.40	\$5.70
	Marysville	\$11.40	\$5.70	\$11.40	\$5.70
	Narbethong	\$11.40	\$5.70	\$11.40	\$5.70
	Healesville	\$5.70	\$2.85	\$11.40	\$5.70
	Lilydale	\$5.70	\$2.85	\$11.40	\$5.70
	Croydon	\$5.70	\$2.85	\$11.40	\$5.70
	Ringwood	\$5.70	\$2.85	\$11.40	\$5.70
	Nunawading	\$5.70	\$2.85	\$11.40	\$5.70

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Euroa – Shepparton

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
McGuinness St/Railway St – Euroa	Euroa-Shepparton Rd/ Pranjip Rd	\$3.00	\$1.50	\$6.00	\$3.00
	Euroa-Shepparton Rd/ Arcadia Two Chain Rd	\$3.00	\$1.50	\$6.00	\$3.00
	Miepoll	\$4.00	\$2.00	\$8.00	\$4.00
	Kialla	\$5.80	\$2.90	\$11.40	\$5.70
	Shepparton Marketplace SC	\$6.60	\$3.30	\$11.40	\$5.70
	Maude St – Shepparton	\$6.60	\$3.30	\$11.40	\$5.70
	V/Line coach stop – Shepparton	\$6.60	\$3.30	\$11.40	\$5.70
	Shepparton Private Hospital	\$6.60	\$3.30	\$11.40	\$5.70
	Goulburn Valley Health – Shepparton	\$6.60	\$3.30	\$11.40	\$5.70
Euroa-Shepparton Rd/ Pranjip Rd	McGuinness St/Railway St – Euroa	\$3.00	\$1.50	\$6.00	\$3.00
	Euroa-Shepparton Rd/ Arcadia Two Chain Rd	\$3.00	\$1.50	\$6.00	\$3.00
	Miepoll	\$4.00	\$2.00	\$8.00	\$4.00
	Kialla	\$5.80	\$2.90	\$11.40	\$5.70
	Shepparton Marketplace SC	\$6.60	\$3.30	\$11.40	\$5.70
	Maude St – Shepparton	\$6.60	\$3.30	\$11.40	\$5.70
	V/Line coach stop – Shepparton	\$6.60	\$3.30	\$11.40	\$5.70
	Shepparton Private Hospital	\$6.60	\$3.30	\$11.40	\$5.70
	Goulburn Valley Health – Shepparton	\$6.60	\$3.30	\$11.40	\$5.70
Euroa-Shepparton Rd/ Arcadia Two Chain Rd	McGuinness St/Railway St – Euroa	\$3.00	\$1.50	\$6.00	\$3.00
	Euroa-Shepparton Rd/ Pranjip Rd	\$3.00	\$1.50	\$6.00	\$3.00
	Miepoll	\$4.00	\$2.00	\$8.00	\$4.00
	Kialla	\$5.80	\$2.90	\$11.40	\$5.70
	Shepparton Marketplace SC	\$6.60	\$3.30	\$11.40	\$5.70
	Maude St – Shepparton	\$6.60	\$3.30	\$11.40	\$5.70
	V/Line coach stop – Shepparton	\$6.60	\$3.30	\$11.40	\$5.70
	Shepparton Private Hospital	\$6.60	\$3.30	\$11.40	\$5.70
	Goulburn Valley Health – Shepparton	\$6.60	\$3.30	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Miepoll	McGuinness St/Railway St – Euroa	\$4.00	\$2.00	\$8.00	\$4.00
	Euroa-Shepparton Rd/Pranjin Rd	\$4.00	\$2.00	\$8.00	\$4.00
	Euroa-Shepparton Rd/Arcadia Two Chain Rd	\$4.00	\$2.00	\$8.00	\$4.00
	Kialla	\$4.00	\$2.00	\$8.00	\$4.00
	Shepparton Marketplace SC	\$4.40	\$2.20	\$8.80	\$4.40
	Maude St – Shepparton	\$4.40	\$2.20	\$8.80	\$4.40
	V/Line coach stop – Shepparton	\$4.40	\$2.20	\$8.80	\$4.40
	Shepparton Private Hospital	\$4.40	\$2.20	\$8.80	\$4.40
	Goulburn Valley Health – Shepparton	\$4.40	\$2.20	\$8.80	\$4.40
Kialla	McGuinness St/Railway St – Euroa	\$5.80	\$2.90	\$11.40	\$5.70
	Euroa-Shepparton Rd/Pranjin Rd	\$5.80	\$2.90	\$11.40	\$5.70
	Euroa-Shepparton Rd/Arcadia Two Chain Rd	\$5.80	\$2.90	\$11.40	\$5.70
	Miepoll	\$4.00	\$2.00	\$8.00	\$4.00
	Shepparton Marketplace SC	\$3.00	\$1.50	\$6.00	\$3.00
	Maude St – Shepparton	\$3.00	\$1.50	\$6.00	\$3.00
	V/Line coach stop – Shepparton	\$3.00	\$1.50	\$6.00	\$3.00
	Shepparton Private Hospital	\$3.00	\$1.50	\$6.00	\$3.00
	Goulburn Valley Health – Shepparton	\$3.00	\$1.50	\$6.00	\$3.00
Shepparton Marketplace SC	McGuinness St/Railway St – Euroa	\$6.60	\$3.30	\$11.40	\$5.70
	Euroa-Shepparton Rd/Pranjin Rd	\$6.60	\$3.30	\$11.40	\$5.70
	Euroa-Shepparton Rd/Arcadia Two Chain Rd	\$6.60	\$3.30	\$11.40	\$5.70
	Miepoll	\$4.40	\$2.20	\$8.80	\$4.40
	Kialla	\$3.00	\$1.50	\$6.00	\$3.00
	Maude St – Shepparton	\$3.00	\$1.50	\$6.00	\$3.00
	V/Line coach stop – Shepparton	\$3.00	\$1.50	\$6.00	\$3.00
	Shepparton Private Hospital	\$3.00	\$1.50	\$6.00	\$3.00
	Goulburn Valley Health – Shepparton	\$3.00	\$1.50	\$6.00	\$3.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Maude St – Shepparton	McGuinness St/Railway St – Euroa	\$6.60	\$3.30	\$11.40	\$5.70
	Euroa-Shepparton Rd/Pranjip Rd	\$6.60	\$3.30	\$11.40	\$5.70
	Euroa-Shepparton Rd/Arcadia Two Chain Rd	\$6.60	\$3.30	\$11.40	\$5.70
	Miepoll	\$4.40	\$2.20	\$8.80	\$4.40
	Kialla	\$3.00	\$1.50	\$6.00	\$3.00
	Shepparton Marketplace SC	\$3.00	\$1.50	\$6.00	\$3.00
	V/Line coach stop – Shepparton	\$3.00	\$1.50	\$6.00	\$3.00
	Shepparton Private Hospital	\$3.00	\$1.50	\$6.00	\$3.00
	Goulburn Valley Health – Shepparton	\$3.00	\$1.50	\$6.00	\$3.00
V/Line coach stop – Shepparton	McGuinness St/Railway St – Euroa	\$6.60	\$3.30	\$11.40	\$5.70
	Euroa-Shepparton Rd/Pranjip Rd	\$6.60	\$3.30	\$11.40	\$5.70
	Euroa-Shepparton Rd/Arcadia Two Chain Rd	\$6.60	\$3.30	\$11.40	\$5.70
	Miepoll	\$4.40	\$2.20	\$8.80	\$4.40
	Kialla	\$3.00	\$1.50	\$6.00	\$3.00
	Shepparton Marketplace SC	\$3.00	\$1.50	\$6.00	\$3.00
	Maude St – Shepparton	\$3.00	\$1.50	\$6.00	\$3.00
	Shepparton Private Hospital	\$3.00	\$1.50	\$6.00	\$3.00
	Goulburn Valley Health – Shepparton	\$3.00	\$1.50	\$6.00	\$3.00
Shepparton Private Hospital	McGuinness St/Railway St – Euroa	\$6.60	\$3.30	\$11.40	\$5.70
	Euroa-Shepparton Rd/Pranjip Rd	\$6.60	\$3.30	\$11.40	\$5.70
	Euroa-Shepparton Rd/Arcadia Two Chain Rd	\$6.60	\$3.30	\$11.40	\$5.70
	Miepoll	\$4.40	\$2.20	\$8.80	\$4.40
	Kialla	\$3.00	\$1.50	\$6.00	\$3.00
	Shepparton Marketplace SC	\$3.00	\$1.50	\$6.00	\$3.00
	Maude St – Shepparton	\$3.00	\$1.50	\$6.00	\$3.00
	V/Line coach stop – Shepparton	\$3.00	\$1.50	\$6.00	\$3.00
	Goulburn Valley Health – Shepparton	\$3.00	\$1.50	\$6.00	\$3.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Goulburn Valley Health – Shepparton	McGuinness St/Railway St – Euroa	\$6.60	\$3.30	\$11.40	\$5.70
	Euroa-Shepparton Rd/Pranjip Rd	\$6.60	\$3.30	\$11.40	\$5.70
	Euroa-Shepparton Rd/Arcadia Two Chain Rd	\$6.60	\$3.30	\$11.40	\$5.70
	Miepoll	\$4.40	\$2.20	\$8.80	\$4.40
	Kialla	\$3.00	\$1.50	\$6.00	\$3.00
	Shepparton Marketplace SC	\$3.00	\$1.50	\$6.00	\$3.00
	Maude St – Shepparton	\$3.00	\$1.50	\$6.00	\$3.00
	V/Line coach stop – Shepparton	\$3.00	\$1.50	\$6.00	\$3.00
	Shepparton Private Hospital	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Mount Beauty – Albury

		Albury	Wodonga	Baranduda	Kiewa	Kergunyah	Boyd's Lane - Kergunyah South	Dederang	Mongan's Bridge	Mount Beauty
Single										
Mount Beauty	Full	\$11.40	\$11.40	\$11.40	\$9.60	\$8.00	\$6.60	\$5.80	\$4.00	
	Conc.	\$5.70	\$5.70	\$5.70	\$4.80	\$4.00	\$3.30	\$2.90	\$2.00	
Mongan's Bridge	Full	\$11.40	\$9.60	\$8.00	\$6.60	\$5.80	\$4.00	\$4.00		\$8.00
	Conc.	\$5.70	\$4.80	\$4.00	\$3.30	\$2.90	\$2.00	\$2.00		\$4.00
Dederang	Full	\$8.00	\$6.60	\$5.80	\$4.40	\$4.00	\$3.00		\$8.00	\$11.40
	Conc.	\$4.80	\$3.30	\$2.90	\$2.20	\$2.00	\$1.50		\$4.00	\$5.70
Boyd's Lane - Kergunyah South	Full	\$6.60	\$6.60	\$5.80	\$4.40	\$3.00		\$6.00	\$8.00	\$11.40
	Conc.	\$3.30	\$3.30	\$2.90	\$2.20	\$1.50		\$3.00	\$4.00	\$5.70
Kergunyah	Full	\$5.80	\$4.40	\$4.00	\$3.00		\$6.00	\$8.00	\$11.40	\$11.40
	Conc.	\$2.90	\$2.20	\$2.00	\$1.50		\$3.00	\$4.00	\$5.70	\$5.70
Kiewa	Full	\$4.40	\$4.00	\$3.00		\$6.00	\$8.80	\$8.80	\$11.40	\$11.40
	Conc.	\$2.20	\$2.00	\$1.50		\$3.00	\$4.40	\$4.40	\$5.70	\$5.70
Baranduda	Full	\$4.00	\$3.00		\$6.00	\$8.00	\$11.40	\$11.40	\$11.40	\$11.40
	Conc.	\$2.00	\$1.50		\$3.00	\$4.00	\$5.70	\$5.70	\$5.70	\$5.70
Wodonga	Full	\$3.00		\$6.00	\$8.00	\$8.80	\$11.40	\$11.40	\$11.40	\$11.40
	Conc.	\$1.50		\$3.00	\$4.00	\$4.40	\$5.70	\$5.70	\$5.70	\$5.70
Albury	Full		\$6.00	\$8.00	\$8.80	\$11.40	\$11.40	\$11.40	\$11.40	\$11.40
	Conc.		\$3.00	\$4.00	\$4.40	\$5.70	\$5.70	\$5.70	\$5.70	\$5.70
Return fare										

## Mulwala – Yarrawonga – Wangaratta

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Mulwala	Yarrawonga	\$3.00	\$1.50	\$6.00	\$3.00
	Bundalong	\$4.00	\$2.00	\$8.00	\$4.00
	Wangaratta	\$8.00	\$4.00	\$11.40	\$5.70
Yarrawonga	Mulwala	\$3.00	\$1.50	\$6.00	\$3.00
	Bundalong	\$4.00	\$2.00	\$8.00	\$4.00
	Wangaratta	\$8.00	\$4.00	\$11.40	\$5.70
Bundalong	Mulwala	\$4.00	\$2.00	\$8.00	\$4.00
	Yarrawonga	\$4.00	\$2.00	\$8.00	\$4.00
	Wangaratta	\$5.80	\$2.90	\$11.40	\$5.70
Wangaratta	Mulwala	\$8.00	\$4.00	\$11.40	\$5.70
	Yarrawonga	\$8.00	\$4.00	\$11.40	\$5.70
	Bundalong	\$5.80	\$2.90	\$11.40	\$5.70

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Myrtleford – Yackandandah – Albury (school service)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Wangaratta	Myrtleford	\$6.60	\$3.30	\$11.40	\$5.70
	Mudgegongga	\$9.60	\$4.80	\$11.40	\$5.70
	Yackandandah	\$11.40	\$5.70	\$11.40	\$5.70
	Baranduda	\$11.40	\$5.70	\$11.40	\$5.70
	Albury/Wodonga	\$11.40	\$5.70	\$11.40	\$5.70
Myrtleford	Wangaratta	\$6.60	\$3.30	\$11.40	\$5.70
	Mudgegongga	\$4.00	\$2.00	\$8.00	\$4.00
	Yackandandah	\$6.60	\$3.30	\$11.40	\$5.70
	Baranduda	\$9.60	\$4.80	\$11.40	\$5.70
	Albury/Wodonga	\$11.40	\$5.70	\$11.40	\$5.70
Mudgegongga	Wangaratta	\$9.60	\$4.80	\$11.40	\$5.70
	Myrtleford	\$4.00	\$2.00	\$8.00	\$4.00
	Yackandandah	\$4.40	\$2.20	\$8.80	\$4.40
	Baranduda	\$6.60	\$3.30	\$11.40	\$5.70
	Albury/Wodonga	\$8.00	\$4.00	\$11.40	\$5.70
Yackandandah	Wangaratta	\$11.40	\$5.70	\$11.40	\$5.70
	Myrtleford	\$6.60	\$3.30	\$11.40	\$5.70
	Mudgegongga	\$4.40	\$2.20	\$8.80	\$4.40
	Baranduda	\$4.40	\$2.20	\$8.80	\$4.40
	Albury/Wodonga	\$5.80	\$2.90	\$11.40	\$5.70
Baranduda	Wangaratta	\$11.40	\$5.70	\$11.40	\$5.70
	Myrtleford	\$9.60	\$4.80	\$11.40	\$5.70
	Mudgegongga	\$6.60	\$3.30	\$11.40	\$5.70
	Yackandandah	\$4.40	\$2.20	\$8.80	\$4.40
	Albury/Wodonga	\$3.00	\$1.50	\$6.00	\$3.00
Albury/Wodonga	Wangaratta	\$11.40	\$5.70	\$11.40	\$5.70
	Myrtleford	\$11.40	\$5.70	\$11.40	\$5.70
	Mudgegongga	\$8.00	\$4.00	\$11.40	\$5.70
	Yackandandah	\$5.80	\$2.90	\$11.40	\$5.70
	Baranduda	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Puckapunyal – Seymour (includes school service)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Puckapunyal	Seymour	\$3.00	\$1.50	\$6.00	\$3.00
Seymour	Puckapunyal	\$3.00	\$1.50	\$6.00	\$3.00

## Tallangatta – Albury

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Tallangatta	Bonegilla	\$4.40	\$2.20	\$8.80	\$4.40
	Killara	\$5.80	\$2.90	\$11.40	\$5.70
	Wodonga	\$5.80	\$2.90	\$11.40	\$5.70
	Albury	\$8.00	\$4.00	\$11.40	\$5.70
Bonegilla	Tallangatta	\$4.40	\$2.20	\$8.80	\$4.40
	Killara	\$3.00	\$1.50	\$6.00	\$3.00
	Wodonga	\$4.00	\$2.00	\$8.00	\$4.00
	Albury	\$4.40	\$2.20	\$8.80	\$4.40
Killara	Tallangatta	\$5.80	\$2.90	\$11.40	\$5.70
	Bonegilla	\$3.00	\$1.50	\$6.00	\$3.00
	Wodonga	\$3.00	\$1.50	\$6.00	\$3.00
	Albury	\$4.40	\$2.20	\$8.80	\$4.40
Wodonga	Tallangatta	\$5.80	\$2.90	\$11.40	\$5.70
	Bonegilla	\$4.00	\$2.00	\$8.00	\$4.00
	Killara	\$3.00	\$1.50	\$6.00	\$3.00
	Albury	\$4.00	\$2.00	\$8.00	\$4.00
Albury	Tallangatta	\$8.00	\$4.00	\$11.40	\$5.70
	Bonegilla	\$4.40	\$2.20	\$8.80	\$4.40
	Killara	\$4.40	\$2.20	\$8.80	\$4.40
	Wodonga	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Town bus fares for travel between Wallan, Hidden Valley and Beveridge

	One Zone			
	Single	Daily	Weekly	
	Full	\$3.00	\$6.00	\$28.00
Wallan	Conc.	\$1.50	\$3.00	\$14.00
	Full	\$3.00	\$6.00	\$28.00
Hidden Valley	Conc.	\$1.50	\$3.00	\$14.00
	Full	\$3.00	\$6.00	\$28.00
Beveridge	Conc.	\$1.50	\$3.00	\$14.00
	Full	\$3.00	\$6.00	\$28.00

## Wallan – Kilmore (school service)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Wallan	Heathcote Junction	\$3.00	\$1.50	\$6.00	\$3.00
	Wandong	\$3.00	\$1.50	\$6.00	\$3.00
	Kilmore	\$4.40	\$2.20	\$8.80	\$4.40
Heathcote Junction	Wallan	\$3.00	\$1.50	\$6.00	\$3.00
	Wandong	\$3.00	\$1.50	\$6.00	\$3.00
	Kilmore	\$4.40	\$2.20	\$8.80	\$4.40
Wandong	Wallan	\$3.00	\$1.50	\$6.00	\$3.00
	Heathcote Junction	\$3.00	\$1.50	\$6.00	\$3.00
	Kilmore	\$4.40	\$2.20	\$8.80	\$4.40
Kilmore	Wallan	\$4.40	\$2.20	\$8.80	\$4.40
	Heathcote Junction	\$4.40	\$2.20	\$8.80	\$4.40
	Wandong	\$4.40	\$2.20	\$8.80	\$4.40

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Wangaratta – Bright

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Wangaratta	Myrtleford	\$8.00	\$4.00	\$11.40	\$5.70
	Porepunkah	\$11.40	\$5.70	\$11.40	\$5.70
	Bright	\$11.40	\$5.70	\$11.40	\$5.70
Myrtleford	Wangaratta	\$8.00	\$4.00	\$11.40	\$5.70
	Porepunkah	\$4.40	\$2.20	\$8.80	\$4.40
	Bright	\$4.40	\$2.20	\$8.80	\$4.40
Porepunkah	Wangaratta	\$11.40	\$5.70	\$11.40	\$5.70
	Myrtleford	\$4.40	\$2.20	\$8.80	\$4.40
	Bright	\$3.00	\$1.50	\$6.00	\$3.00
Bright	Wangaratta	\$11.40	\$5.70	\$11.40	\$5.70
	Myrtleford	\$4.40	\$2.20	\$8.80	\$4.40
	Porepunkah	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Wangaratta – Corowa (school service)

From	To	Single (full)	Single (conc)	Daily (full)	Daily (concession)
Wangaratta	Wangaratta/ Springhurst	\$4.00	\$2.00	\$8.00	\$4.00
	Springhurst	\$4.40	\$2.20	\$8.80	\$4.40
	Rutherglen	\$5.80	\$2.90	\$11.40	\$5.70
	Wahgunyah	\$6.60	\$3.30	\$11.40	\$5.70
	Corowa	\$6.60	\$3.30	\$11.40	\$5.70
Wangaratta/ Springhurst	Wangaratta	\$4.00	\$2.00	\$8.00	\$4.00
	Springhurst	\$4.00	\$2.00	\$8.00	\$4.00
	Rutherglen	\$4.40	\$2.20	\$8.80	\$4.40
	Wahgunyah	\$5.80	\$2.90	\$11.40	\$5.70
	Corowa	\$5.80	\$2.90	\$11.40	\$5.70
Springhurst	Wangaratta	\$4.40	\$2.20	\$8.80	\$4.40
	Wangaratta/ Springhurst	\$4.00	\$2.00	\$8.00	\$4.00
	Rutherglen	\$4.00	\$2.00	\$8.00	\$4.00
	Wahgunyah	\$4.40	\$2.20	\$8.80	\$4.40
	Corowa	\$4.40	\$2.20	\$8.80	\$4.40
Rutherglen	Wangaratta	\$5.80	\$2.90	\$11.40	\$5.70
	Wangaratta/ Springhurst	\$4.40	\$2.20	\$8.80	\$4.40
	Springhurst	\$4.00	\$2.00	\$8.00	\$4.00
	Wahgunyah	\$3.00	\$1.50	\$6.00	\$3.00
	Corowa	\$4.00	\$2.00	\$8.00	\$4.00
Wahgunyah	Wangaratta	\$6.60	\$3.30	\$11.40	\$5.70
	Wangaratta/ Springhurst	\$5.80	\$2.90	\$11.40	\$5.70
	Springhurst	\$4.40	\$2.20	\$8.80	\$4.40
	Rutherglen	\$3.00	\$1.50	\$6.00	\$3.00
	Corowa	\$3.00	\$1.50	\$6.00	\$3.00
Corowa	Wangaratta	\$6.60	\$3.30	\$11.40	\$5.70
	Wangaratta/ Springhurst	\$5.80	\$2.90	\$11.40	\$5.70
	Springhurst	\$4.40	\$2.20	\$8.80	\$4.40
	Rutherglen	\$4.00	\$2.00	\$8.00	\$4.00
	Wahgunyah	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Wangaratta – Glenrowan

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Glenrowan	Wangaratta	\$4.00	\$2.00	\$8.00	\$4.00
Wangaratta	Glenrowan	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Whitfield – Wangaratta (King Valley – Wangaratta)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Cheshunt	Whitfield	\$3.00	\$1.50	\$6.00	\$3.00
	King Valley	\$4.00	\$2.00	\$8.00	\$4.00
	Edi	\$4.00	\$2.00	\$8.00	\$4.00
	Moyhu	\$4.40	\$2.20	\$8.80	\$4.40
	Wangaratta	\$8.00	\$4.00	\$11.40	\$5.70
Whitfield	Cheshunt	\$3.00	\$1.50	\$6.00	\$3.00
	King Valley	\$3.00	\$1.50	\$6.00	\$3.00
	Edi	\$4.00	\$2.00	\$8.00	\$4.00
	Moyhu	\$4.40	\$2.20	\$8.80	\$4.40
	Wangaratta	\$6.60	\$3.30	\$11.40	\$5.70
King Valley	Cheshunt	\$4.00	\$2.00	\$8.00	\$4.00
	Whitfield	\$3.00	\$1.50	\$6.00	\$3.00
	Edi	\$3.00	\$1.50	\$6.00	\$3.00
	Moyhu	\$4.00	\$2.00	\$8.00	\$4.00
	Wangaratta	\$6.60	\$3.30	\$11.40	\$5.70
Edi	Cheshunt	\$4.00	\$2.00	\$8.00	\$4.00
	Whitfield	\$4.00	\$2.00	\$8.00	\$4.00
	King Valley	\$3.00	\$1.50	\$6.00	\$3.00
	Moyhu	\$3.00	\$1.50	\$6.00	\$3.00
	Wangaratta	\$5.80	\$2.90	\$11.40	\$5.70
Moyhu	Cheshunt	\$4.40	\$2.20	\$8.80	\$4.40
	Whitfield	\$4.40	\$2.20	\$8.80	\$4.40
	King Valley	\$4.00	\$2.00	\$8.00	\$4.00
	Edi	\$3.00	\$1.50	\$6.00	\$3.00
	Wangaratta	\$4.40	\$2.20	\$8.80	\$4.40
Wangaratta	Cheshunt	\$8.00	\$4.00	\$11.40	\$5.70
	Whitfield	\$6.60	\$3.30	\$11.40	\$5.70
	King Valley	\$6.60	\$3.30	\$11.40	\$5.70
	Edi	\$5.80	\$2.90	\$11.40	\$5.70
	Moyhu	\$4.40	\$2.20	\$8.80	\$4.40

## Whittlesea – Wallan

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Whittlesea	Black Flat Rd	\$3.00	\$1.50	\$6.00	\$3.00
	Mahadys Rd – Upper Plenty	\$4.00	\$2.00	\$8.00	\$4.00
	1275	\$4.00	\$2.00	\$8.00	\$4.00
	Hart Court – Wallan	\$4.00	\$2.00	\$8.00	\$4.00
	Wallan Station	\$4.00	\$2.00	\$8.00	\$4.00
	Wallara Waters	\$4.00	\$2.00	\$8.00	\$4.00
	Merri Creek Park	\$4.00	\$2.00	\$8.00	\$4.00
	Wallan Secondary College	\$4.40	\$2.20	\$8.80	\$4.40
	Northern Hwy	\$4.40	\$2.20	\$8.80	\$4.40
	Wallan Primary School	\$4.40	\$2.20	\$8.80	\$4.40
Black Flat Rd	Whittlesea	\$3.00	\$1.50	\$6.00	\$3.00
	Mahadys Rd – Upper Plenty	\$4.00	\$2.00	\$8.00	\$4.00
	1275	\$4.00	\$2.00	\$8.00	\$4.00
	Hart Court – Wallan	\$4.00	\$2.00	\$8.00	\$4.00
	Wallan Station	\$4.00	\$2.00	\$8.00	\$4.00
	Wallara Waters	\$4.00	\$2.00	\$8.00	\$4.00
	Merri Creek Park	\$4.00	\$2.00	\$8.00	\$4.00
	Wallan Secondary College	\$4.00	\$2.00	\$8.00	\$4.00
	Northern Hwy	\$4.40	\$2.20	\$8.80	\$4.40
	Wallan Primary School	\$4.40	\$2.20	\$8.80	\$4.40
Mahadys Rd – Upper Plenty	Whittlesea	\$4.00	\$2.00	\$8.00	\$4.00
	Black Flat Rd	\$4.00	\$2.00	\$8.00	\$4.00
	1275	\$3.00	\$1.50	\$6.00	\$3.00
	Hart Court – Wallan	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Station	\$3.00	\$1.50	\$6.00	\$3.00
	Wallara Waters	\$3.00	\$1.50	\$6.00	\$3.00
	Merri Creek Park	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Secondary College	\$3.00	\$1.50	\$6.00	\$3.00
	Northern Hwy	\$4.00	\$2.00	\$8.00	\$4.00
	Wallan Primary School	\$4.00	\$2.00	\$8.00	\$4.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
1275	Whittlesea	\$4.00	\$2.00	\$8.00	\$4.00
	Black Flat Rd	\$4.00	\$2.00	\$8.00	\$4.00
	Mahadys Rd - Upper Plenty	\$3.00	\$1.50	\$6.00	\$3.00
	Hart Court - Wallan	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Station	\$3.00	\$1.50	\$6.00	\$3.00
	Wallara Waters	\$3.00	\$1.50	\$6.00	\$3.00
	Merri Creek Park	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Secondary College	\$3.00	\$1.50	\$6.00	\$3.00
	Northern Hwy	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Primary School	\$3.00	\$1.50	\$6.00	\$3.00
Hart Court - Wallan	Whittlesea	\$4.00	\$2.00	\$8.00	\$4.00
	Black Flat Rd	\$4.00	\$2.00	\$8.00	\$4.00
	Mahadys Rd - Upper Plenty	\$3.00	\$1.50	\$6.00	\$3.00
	1275	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Station	\$3.00	\$1.50	\$6.00	\$3.00
	Wallara Waters	\$3.00	\$1.50	\$6.00	\$3.00
	Merri Creek Park	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Secondary College	\$3.00	\$1.50	\$6.00	\$3.00
	Northern Hwy	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Primary School	\$3.00	\$1.50	\$6.00	\$3.00
Wallan Station	Whittlesea	\$4.00	\$2.00	\$8.00	\$4.00
	Black Flat Rd	\$4.00	\$2.00	\$8.00	\$4.00
	Mahadys Rd - Upper Plenty	\$3.00	\$1.50	\$6.00	\$3.00
	1275	\$3.00	\$1.50	\$6.00	\$3.00
	Hart Court - Wallan	\$3.00	\$1.50	\$6.00	\$3.00
	Wallara Waters	\$3.00	\$1.50	\$6.00	\$3.00
	Merri Creek Park	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Secondary College	\$3.00	\$1.50	\$6.00	\$3.00
	Northern Hwy	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Primary School	\$3.00	\$1.50	\$6.00	\$3.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Wallara Waters	Whittlesea	\$4.00	\$2.00	\$8.00	\$4.00
	Black Flat Rd	\$4.00	\$2.00	\$8.00	\$4.00
	Mahadys Rd - Upper Plenty	\$3.00	\$1.50	\$6.00	\$3.00
	1275	\$3.00	\$1.50	\$6.00	\$3.00
	Hart Court - Wallan	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Station	\$3.00	\$1.50	\$6.00	\$3.00
	Merri Creek Park	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Secondary College	\$3.00	\$1.50	\$6.00	\$3.00
	Northern Hwy	\$3.00	\$1.50	\$6.00	\$3.00
Merri Creek Park	Wallan Primary School	\$3.00	\$1.50	\$6.00	\$3.00
	Whittlesea	\$4.00	\$2.00	\$8.00	\$4.00
	Black Flat Rd	\$4.00	\$2.00	\$8.00	\$4.00
	Mahadys Rd - Upper Plenty	\$3.00	\$1.50	\$6.00	\$3.00
	1275	\$3.00	\$1.50	\$6.00	\$3.00
	Hart Court - Wallan	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Station	\$3.00	\$1.50	\$6.00	\$3.00
	Wallara Waters	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Secondary College	\$3.00	\$1.50	\$6.00	\$3.00
Wallan Secondary College	Northern Hwy	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Primary School	\$3.00	\$1.50	\$6.00	\$3.00
	Whittlesea	\$4.40	\$2.20	\$8.80	\$4.40
	Black Flat Rd	\$4.00	\$2.00	\$8.00	\$4.00
	Mahadys Rd - Upper Plenty	\$3.00	\$1.50	\$6.00	\$3.00
	1275	\$3.00	\$1.50	\$6.00	\$3.00
	Hart Court - Wallan	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Station	\$3.00	\$1.50	\$6.00	\$3.00
	Wallara Waters	\$3.00	\$1.50	\$6.00	\$3.00
Wallan Secondary College	Merri Creek Park	\$3.00	\$1.50	\$6.00	\$3.00
	Northern Hwy	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Primary School	\$3.00	\$1.50	\$6.00	\$3.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Northern Hwy	Whittlesea	\$4.40	\$2.20	\$8.80	\$4.40
	Black Flat Rd	\$4.40	\$2.20	\$8.80	\$4.40
	Mahadys Rd – Upper Plenty	\$4.00	\$2.00	\$8.00	\$4.00
	1275	\$3.00	\$1.50	\$6.00	\$3.00
	Hart Court – Wallan	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Station	\$3.00	\$1.50	\$6.00	\$3.00
	Wallara Waters	\$3.00	\$1.50	\$6.00	\$3.00
	Merri Creek Park	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Secondary College	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Primary School	\$3.00	\$1.50	\$6.00	\$3.00
Wallan Primary School	Whittlesea	\$4.40	\$2.20	\$8.80	\$4.40
	Black Flat Rd	\$4.40	\$2.20	\$8.80	\$4.40
	Mahadys Rd – Upper Plenty	\$4.00	\$2.00	\$8.00	\$4.00
	1275	\$3.00	\$1.50	\$6.00	\$3.00
	Hart Court – Wallan	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Station	\$3.00	\$1.50	\$6.00	\$3.00
	Wallara Waters	\$3.00	\$1.50	\$6.00	\$3.00
	Merri Creek Park	\$3.00	\$1.50	\$6.00	\$3.00
	Wallan Secondary College	\$3.00	\$1.50	\$6.00	\$3.00
	Northern Hwy	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

### Woori Yallock – Warburton (school service) (myki fares)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Woori Yallock	Warburton	\$3.60	\$1.80	\$7.20	\$3.60
Warburton	Woori Yallock	\$3.60	\$1.80	\$7.20	\$3.60

# Gippsland (east) fare tables

**Please note:** Customers that are not entitled to free travel should always pay a fare, even if travelling only a single stop. When a customer travels between non-listed stops within the same town, a single zone fare is charged (\$3.00 for full fare and \$1.50 for concession).

Due to the large number of stops within Victoria, only major stops are listed in fare tables.

## Bairnsdale – Lakes Entrance – Lake Tyers

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Bairnsdale	Nicholson	\$4.00	\$2.00	\$8.00	\$4.00
	Johnsonville	\$5.80	\$2.90	\$11.40	\$5.70
	Swan Reach	\$6.60	\$3.30	\$11.40	\$5.70
	Forestech	\$8.00	\$4.00	\$11.40	\$5.70
	Kalimna West	\$9.60	\$4.80	\$11.40	\$5.70
	Kalimna	\$9.60	\$4.80	\$11.40	\$5.70
	Lakes Entrance	\$9.60	\$4.80	\$11.40	\$5.70
	Lake Tyers Beach	\$9.60	\$4.80	\$11.40	\$5.70
Nicholson	Bairnsdale	\$4.00	\$2.00	\$8.00	\$4.00
	Johnsonville	\$4.00	\$2.00	\$8.00	\$4.00
	Swan Reach	\$4.40	\$2.20	\$8.80	\$4.40
	Forestech	\$5.80	\$2.90	\$11.40	\$5.70
	Kalimna West	\$6.60	\$3.30	\$11.40	\$5.70
	Kalimna	\$6.60	\$3.30	\$11.40	\$5.70
	Lakes Entrance	\$6.60	\$3.30	\$11.40	\$5.70
	Lake Tyers Beach	\$6.60	\$3.30	\$11.40	\$5.70
Johnsonville	Bairnsdale	\$5.80	\$2.90	\$11.40	\$5.70
	Nicholson	\$4.00	\$2.00	\$8.00	\$4.00
	Swan Reach	\$3.00	\$1.50	\$6.00	\$3.00
	Forestech	\$4.00	\$2.00	\$8.00	\$4.00
	Kalimna West	\$4.40	\$2.20	\$8.80	\$4.40
	Kalimna	\$4.40	\$2.20	\$8.80	\$4.40
	Lakes Entrance	\$5.80	\$2.90	\$11.40	\$5.70
	Lake Tyers Beach	\$5.80	\$2.90	\$11.40	\$5.70
Swan Reach	Bairnsdale	\$6.60	\$3.30	\$11.40	\$5.70
	Nicholson	\$4.40	\$2.20	\$8.80	\$4.40
	Johnsonville	\$3.00	\$1.50	\$6.00	\$3.00
	Forestech	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna West	\$4.00	\$2.00	\$8.00	\$4.00
	Kalimna	\$4.00	\$2.00	\$8.00	\$4.00
	Lakes Entrance	\$4.40	\$2.20	\$8.80	\$4.40
	Lake Tyers Beach	\$4.40	\$2.20	\$8.80	\$4.40

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Forestech	Bairnsdale	\$8.00	\$4.00	\$11.40	\$5.70
	Nicholson	\$5.80	\$2.90	\$11.40	\$5.70
	Johnsonville	\$4.00	\$2.00	\$8.00	\$4.00
	Swan Reach	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna West	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna	\$3.00	\$1.50	\$6.00	\$3.00
	Lakes Entrance	\$4.00	\$2.00	\$8.00	\$4.00
	Lake Tyers Beach	\$4.00	\$2.00	\$8.00	\$4.00
Kalimna West	Bairnsdale	\$9.60	\$4.80	\$11.40	\$5.70
	Nicholson	\$6.60	\$3.30	\$11.40	\$5.70
	Johnsonville	\$4.40	\$2.20	\$8.80	\$4.40
	Swan Reach	\$4.00	\$2.00	\$8.00	\$4.00
	Forestech	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna	\$3.00	\$1.50	\$6.00	\$3.00
	Lakes Entrance	\$3.00	\$1.50	\$6.00	\$3.00
	Lake Tyers Beach	\$3.00	\$1.50	\$6.00	\$3.00
Kalimna	Bairnsdale	\$9.60	\$4.80	\$11.40	\$5.70
	Nicholson	\$6.60	\$3.30	\$11.40	\$5.70
	Johnsonville	\$4.40	\$2.20	\$8.80	\$4.40
	Swan Reach	\$4.00	\$2.00	\$8.00	\$4.00
	Forestech	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna West	\$3.00	\$1.50	\$6.00	\$3.00
	Lakes Entrance	\$3.00	\$1.50	\$6.00	\$3.00
	Lake Tyers Beach	\$3.00	\$1.50	\$6.00	\$3.00
Lakes Entrance	Bairnsdale	\$9.60	\$4.80	\$11.40	\$5.70
	Nicholson	\$6.60	\$3.30	\$11.40	\$5.70
	Johnsonville	\$5.80	\$2.90	\$11.40	\$5.70
	Swan Reach	\$4.40	\$2.20	\$8.80	\$4.40
	Forestech	\$4.00	\$2.00	\$8.00	\$4.00
	Kalimna West	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna	\$3.00	\$1.50	\$6.00	\$3.00
	Lake Tyers Beach	\$3.00	\$1.50	\$6.00	\$3.00
Lake Tyers Beach	Bairnsdale	\$9.60	\$4.80	\$11.40	\$5.70
	Nicholson	\$6.60	\$3.30	\$11.40	\$5.70
	Johnsonville	\$5.80	\$2.90	\$11.40	\$5.70
	Swan Reach	\$4.40	\$2.20	\$8.80	\$4.40
	Forestech	\$4.00	\$2.00	\$8.00	\$4.00
	Kalimna West	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna	\$3.00	\$1.50	\$6.00	\$3.00
	Lakes Entrance	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Bairnsdale – Omeo

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Bairnsdale	Sarsfield	\$4.00	\$2.00	\$8.00	\$4.00
	Bruthen	\$4.40	\$2.20	\$8.80	\$4.40
	Tambo Crossing	\$8.00	\$4.00	\$11.40	\$5.70
	Ensay	\$11.40	\$5.70	\$11.40	\$5.70
	Doctors Flat	\$11.40	\$5.70	\$11.40	\$5.70
	Swifts Creek	\$11.40	\$5.70	\$11.40	\$5.70
	Tongio	\$11.40	\$5.70	\$11.40	\$5.70
	Omeo	\$11.40	\$5.70	\$11.40	\$5.70
Sarsfield	Bairnsdale	\$4.00	\$2.00	\$8.00	\$4.00
	Bruthen	\$4.00	\$2.00	\$8.00	\$4.00
	Tambo Crossing	\$6.60	\$3.30	\$11.40	\$5.70
	Ensay	\$9.60	\$4.80	\$11.40	\$5.70
	Doctors Flat	\$11.40	\$5.70	\$11.40	\$5.70
	Swifts Creek	\$11.40	\$5.70	\$11.40	\$5.70
	Tongio	\$11.40	\$5.70	\$11.40	\$5.70
	Omeo	\$11.40	\$5.70	\$11.40	\$5.70
Bruthen	Bairnsdale	\$4.40	\$2.20	\$8.80	\$4.40
	Sarsfield	\$4.00	\$2.00	\$8.00	\$4.00
	Tambo Crossing	\$5.80	\$2.90	\$11.40	\$5.70
	Ensay	\$8.00	\$4.00	\$11.40	\$5.70
	Doctors Flat	\$9.60	\$4.80	\$11.40	\$5.70
	Swifts Creek	\$11.40	\$5.70	\$11.40	\$5.70
	Tongio	\$11.40	\$5.70	\$11.40	\$5.70
	Omeo	\$11.40	\$5.70	\$11.40	\$5.70
Tambo Crossing	Bairnsdale	\$8.00	\$4.00	\$11.40	\$5.70
	Sarsfield	\$6.60	\$3.30	\$11.40	\$5.70
	Bruthen	\$5.80	\$2.90	\$11.40	\$5.70
	Ensay	\$4.00	\$2.00	\$8.00	\$4.00
	Doctors Flat	\$4.40	\$2.20	\$8.80	\$4.40
	Swifts Creek	\$5.80	\$2.90	\$11.40	\$5.70
	Tongio	\$6.60	\$3.30	\$11.40	\$5.70
	Omeo	\$9.60	\$4.80	\$11.40	\$5.70
Ensay	Bairnsdale	\$11.40	\$5.70	\$11.40	\$5.70
	Sarsfield	\$9.60	\$4.80	\$11.40	\$5.70
	Bruthen	\$8.00	\$4.00	\$11.40	\$5.70
	Tambo Crossing	\$4.00	\$2.00	\$8.00	\$4.00
	Doctors Flat	\$4.00	\$2.00	\$8.00	\$4.00
	Swifts Creek	\$4.00	\$2.00	\$8.00	\$4.00
	Tongio	\$4.40	\$2.20	\$8.80	\$4.40
	Omeo	\$6.60	\$3.30	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Doctors Flat	Bairnsdale	\$11.40	\$5.70	\$11.40	\$5.70
	Sarsfield	\$11.40	\$5.70	\$11.40	\$5.70
	Bruthen	\$9.60	\$4.80	\$11.40	\$5.70
	Tambo Crossing	\$4.40	\$2.20	\$8.80	\$4.40
	Ensay	\$4.00	\$2.00	\$8.00	\$4.00
	Swifts Creek	\$3.00	\$1.50	\$6.00	\$3.00
	Tongio	\$4.00	\$2.00	\$8.00	\$4.00
	Omeo	\$5.80	\$2.90	\$11.40	\$5.70
Swifts Creek	Bairnsdale	\$11.40	\$5.70	\$11.40	\$5.70
	Sarsfield	\$11.40	\$5.70	\$11.40	\$5.70
	Bruthen	\$11.40	\$5.70	\$11.40	\$5.70
	Tambo Crossing	\$5.80	\$2.90	\$11.40	\$5.70
	Ensay	\$4.00	\$2.00	\$8.00	\$4.00
	Doctors Flat	\$3.00	\$1.50	\$6.00	\$3.00
	Tongio	\$3.00	\$1.50	\$6.00	\$3.00
	Omeo	\$4.40	\$2.20	\$8.80	\$4.40
Tongio	Bairnsdale	\$11.40	\$5.70	\$11.40	\$5.70
	Sarsfield	\$11.40	\$5.70	\$11.40	\$5.70
	Bruthen	\$11.40	\$5.70	\$11.40	\$5.70
	Tambo Crossing	\$6.60	\$3.30	\$11.40	\$5.70
	Ensay	\$4.40	\$2.20	\$8.80	\$4.40
	Doctors Flat	\$4.00	\$2.00	\$8.00	\$4.00
	Swifts Creek	\$3.00	\$1.50	\$6.00	\$3.00
	Omeo	\$4.00	\$2.00	\$8.00	\$4.00
Omeo	Bairnsdale	\$11.40	\$5.70	\$11.40	\$5.70
	Sarsfield	\$11.40	\$5.70	\$11.40	\$5.70
	Bruthen	\$11.40	\$5.70	\$11.40	\$5.70
	Tambo Crossing	\$9.60	\$4.80	\$11.40	\$5.70
	Ensay	\$6.60	\$3.30	\$11.40	\$5.70
	Doctors Flat	\$5.80	\$2.90	\$11.40	\$5.70
	Swifts Creek	\$4.40	\$2.20	\$8.80	\$4.40
	Tongio	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Bairnsdale – Sale

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Bairnsdale	Lindenow turn-off	\$4.00	\$2.00	\$8.00	\$4.00
	Stratford	\$8.00	\$4.00	\$11.40	\$5.70
	Sale	\$9.60	\$4.80	\$11.40	\$5.70
Lindenow turn-off	Bairnsdale	\$4.00	\$2.00	\$8.00	\$4.00
	Stratford	\$5.80	\$2.90	\$11.40	\$5.70
	Sale	\$8.00	\$4.00	\$11.40	\$5.70
Stratford	Bairnsdale	\$8.00	\$4.00	\$11.40	\$5.70
	Lindenow turn-off	\$5.80	\$2.90	\$11.40	\$5.70
	Sale	\$4.00	\$2.00	\$8.00	\$4.00
Sale	Bairnsdale	\$9.60	\$4.80	\$11.40	\$5.70
	Lindenow turn-off	\$8.00	\$4.00	\$11.40	\$5.70
	Stratford	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Boolarra – Churchill – Morwell (myki fares)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Boolarra	Yinnar	\$3.00	\$1.50	\$6.00	\$3.00
	Churchill	\$4.00	\$2.00	\$8.00	\$4.00
	Mid Valley Shopping Centre	\$4.00	\$2.00	\$8.00	\$4.00
	Morwell	\$4.00	\$2.00	\$8.00	\$4.00
Yinnar	Boolarra	\$3.00	\$1.50	\$6.00	\$3.00
	Churchill	\$3.00	\$1.50	\$6.00	\$3.00
	Mid Valley Shopping Centre	\$3.00	\$1.50	\$6.00	\$3.00
	Morwell	\$3.00	\$1.50	\$6.00	\$3.00
Churchill	Boolarra	\$4.00	\$2.00	\$8.00	\$4.00
	Yinnar	\$3.00	\$1.50	\$6.00	\$3.00
	Mid Valley Shopping Centre	\$3.00	\$1.50	\$6.00	\$3.00
	Morwell	\$3.00	\$1.50	\$6.00	\$3.00
Mid Valley Shopping Centre	Boolarra	\$4.00	\$2.00	\$8.00	\$4.00
	Yinnar	\$3.00	\$1.50	\$6.00	\$3.00
	Churchill	\$3.00	\$1.50	\$6.00	\$3.00
	Morwell	\$3.00	\$1.50	\$6.00	\$3.00
Morwell	Boolarra	\$4.00	\$2.00	\$8.00	\$4.00
	Yinnar	\$3.00	\$1.50	\$6.00	\$3.00
	Churchill	\$3.00	\$1.50	\$6.00	\$3.00
	Mid Valley Shopping Centre	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Coronet Bay – Corinella – Tenby Point – Grantville

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Coronet Bay	Corinella	\$3.00	\$1.50	\$6.00	\$3.00
	Tenby Point	\$3.00	\$1.50	\$6.00	\$3.00
	Grantville	\$4.00	\$2.00	\$8.00	\$4.00
Corinella	Coronet Bay	\$3.00	\$1.50	\$6.00	\$3.00
	Tenby Point	\$3.00	\$1.50	\$6.00	\$3.00
	Grantville	\$3.00	\$1.50	\$6.00	\$3.00
Tenby Point	Coronet Bay	\$3.00	\$1.50	\$6.00	\$3.00
	Corinella	\$3.00	\$1.50	\$6.00	\$3.00
	Grantville	\$3.00	\$1.50	\$6.00	\$3.00
Grantville	Coronet Bay	\$4.00	\$2.00	\$8.00	\$4.00
	Corinella	\$3.00	\$1.50	\$6.00	\$3.00
	Tenby Point	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Coronet Bay – Wonthaggi

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Coronet Bay	Corinella	\$3.00	\$1.50	\$6.00	\$3.00
	Tenby Point	\$3.00	\$1.50	\$6.00	\$3.00
	Bass Valley Primary School	\$3.00	\$1.50	\$6.00	\$3.00
	Bass	\$3.00	\$1.50	\$6.00	\$3.00
	Anderson	\$3.00	\$1.50	\$6.00	\$3.00
	Kilcunda	\$4.00	\$2.00	\$8.00	\$4.00
	Dalyston	\$4.40	\$2.20	\$8.80	\$4.40
	Wonthaggi	\$5.80	\$2.90	\$11.40	\$5.70
Corinella	Coronet Bay	\$3.00	\$1.50	\$6.00	\$3.00
	Tenby Point	\$3.00	\$1.50	\$6.00	\$3.00
	Bass Valley Primary School	\$3.00	\$1.50	\$6.00	\$3.00
	Bass	\$3.00	\$1.50	\$6.00	\$3.00
	Anderson	\$3.00	\$1.50	\$6.00	\$3.00
	Kilcunda	\$4.00	\$2.00	\$8.00	\$4.00
	Dalyston	\$4.40	\$2.20	\$8.80	\$4.40
	Wonthaggi	\$5.80	\$2.90	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Tenby Point	Coronet Bay	\$3.00	\$1.50	\$6.00	\$3.00
	Corinella	\$3.00	\$1.50	\$6.00	\$3.00
	Bass Valley Primary School	\$3.00	\$1.50	\$6.00	\$3.00
	Bass	\$3.00	\$1.50	\$6.00	\$3.00
	Anderson	\$3.00	\$1.50	\$6.00	\$3.00
	Kilcunda	\$4.00	\$2.00	\$8.00	\$4.00
	Dalyston	\$4.40	\$2.20	\$8.80	\$4.40
	Wonthaggi	\$5.80	\$2.90	\$11.40	\$5.70
Bass Valley Primary School	Coronet Bay	\$3.00	\$1.50	\$6.00	\$3.00
	Corinella	\$3.00	\$1.50	\$6.00	\$3.00
	Tenby Point	\$3.00	\$1.50	\$6.00	\$3.00
	Bass	\$3.00	\$1.50	\$6.00	\$3.00
	Anderson	\$3.00	\$1.50	\$6.00	\$3.00
	Kilcunda	\$3.00	\$1.50	\$6.00	\$3.00
	Dalyston	\$4.00	\$2.00	\$8.00	\$4.00
	Wonthaggi	\$4.40	\$2.20	\$8.80	\$4.40
Bass	Coronet Bay	\$3.00	\$1.50	\$6.00	\$3.00
	Corinella	\$3.00	\$1.50	\$6.00	\$3.00
	Tenby Point	\$3.00	\$1.50	\$6.00	\$3.00
	Bass Valley Primary School	\$3.00	\$1.50	\$6.00	\$3.00
	Anderson	\$3.00	\$1.50	\$6.00	\$3.00
	Kilcunda	\$3.00	\$1.50	\$6.00	\$3.00
	Dalyston	\$4.00	\$2.00	\$8.00	\$4.00
	Wonthaggi	\$4.40	\$2.20	\$8.80	\$4.40
Anderson	Coronet Bay	\$3.00	\$1.50	\$6.00	\$3.00
	Corinella	\$3.00	\$1.50	\$6.00	\$3.00
	Tenby Point	\$3.00	\$1.50	\$6.00	\$3.00
	Bass Valley Primary School	\$3.00	\$1.50	\$6.00	\$3.00
	Bass	\$3.00	\$1.50	\$6.00	\$3.00
	Kilcunda	\$3.00	\$1.50	\$6.00	\$3.00
	Dalyston	\$4.00	\$2.00	\$8.00	\$4.00
	Wonthaggi	\$4.40	\$2.20	\$8.80	\$4.40

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Kilcunda	Coronet Bay	\$4.00	\$2.00	\$8.00	\$4.00
	Corinella	\$4.00	\$2.00	\$8.00	\$4.00
	Tenby Point	\$4.00	\$2.00	\$8.00	\$4.00
	Bass Valley Primary School	\$3.00	\$1.50	\$6.00	\$3.00
	Bass	\$3.00	\$1.50	\$6.00	\$3.00
	Anderson	\$3.00	\$1.50	\$6.00	\$3.00
	Dalyston	\$3.00	\$1.50	\$6.00	\$3.00
	Wonthaggi	\$4.00	\$2.00	\$8.00	\$4.00
Dalyston	Coronet Bay	\$4.40	\$2.20	\$8.80	\$4.40
	Corinella	\$4.40	\$2.20	\$8.80	\$4.40
	Tenby Point	\$4.40	\$2.20	\$8.80	\$4.40
	Bass Valley Primary School	\$4.00	\$2.00	\$8.00	\$4.00
	Bass	\$4.00	\$2.00	\$8.00	\$4.00
	Anderson	\$4.00	\$2.00	\$8.00	\$4.00
	Kilcunda	\$3.00	\$1.50	\$6.00	\$3.00
	Wonthaggi	\$3.00	\$1.50	\$6.00	\$3.00
Wonthaggi	Coronet Bay	\$5.80	\$2.90	\$11.40	\$5.70
	Corinella	\$5.80	\$2.90	\$11.40	\$5.70
	Tenby Point	\$5.80	\$2.90	\$11.40	\$5.70
	Bass Valley Primary School	\$4.40	\$2.20	\$8.80	\$4.40
	Bass	\$4.40	\$2.20	\$8.80	\$4.40
	Anderson	\$4.40	\$2.20	\$8.80	\$4.40
	Kilcunda	\$4.00	\$2.00	\$8.00	\$4.00
	Dalyston	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Cowes – Wonthaggi

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Ventnor	Cowes	\$3.00	\$1.50	\$6.00	\$3.00
	Smiths Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Sunset Strip	\$3.00	\$1.50	\$6.00	\$3.00
	Sunderland Bay	\$4.00	\$2.00	\$8.00	\$4.00
	Surf Beach	\$4.00	\$2.00	\$8.00	\$4.00
	Cape Woolamai	\$4.00	\$2.00	\$8.00	\$4.00
	Newhaven	\$4.00	\$2.00	\$8.00	\$4.00
	San Remo	\$4.00	\$2.00	\$8.00	\$4.00
	Anderson	\$4.00	\$2.00	\$8.00	\$4.00
	Kilcunda	\$4.40	\$2.20	\$8.80	\$4.40
	Dalyston	\$5.80	\$2.90	\$11.40	\$5.70
	Dudley	\$5.80	\$2.90	\$11.40	\$5.70
	Wonthaggi	\$5.80	\$2.90	\$11.40	\$5.70
Cowes	Ventnor	\$3.00	\$1.50	\$6.00	\$3.00
	Smiths Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Sunset Strip	\$3.00	\$1.50	\$6.00	\$3.00
	Sunderland Bay	\$3.00	\$1.50	\$6.00	\$3.00
	Surf Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Cape Woolamai	\$3.00	\$1.50	\$6.00	\$3.00
	Newhaven	\$3.00	\$1.50	\$6.00	\$3.00
	San Remo	\$4.00	\$2.00	\$8.00	\$4.00
	Anderson	\$4.00	\$2.00	\$8.00	\$4.00
	Kilcunda	\$4.00	\$2.00	\$8.00	\$4.00
	Dalyston	\$4.40	\$2.20	\$8.80	\$4.40
	Dudley	\$5.80	\$2.90	\$11.40	\$5.70
	Wonthaggi	\$5.80	\$2.90	\$11.40	\$5.70
Smiths Beach	Ventnor	\$3.00	\$1.50	\$6.00	\$3.00
	Cowes	\$3.00	\$1.50	\$6.00	\$3.00
	Sunset Strip	\$3.00	\$1.50	\$6.00	\$3.00
	Sunderland Bay	\$3.00	\$1.50	\$6.00	\$3.00
	Surf Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Cape Woolamai	\$3.00	\$1.50	\$6.00	\$3.00
	Newhaven	\$3.00	\$1.50	\$6.00	\$3.00
	San Remo	\$3.00	\$1.50	\$6.00	\$3.00
	Anderson	\$3.00	\$1.50	\$6.00	\$3.00
	Kilcunda	\$4.00	\$2.00	\$8.00	\$4.00
	Dalyston	\$4.40	\$2.20	\$8.80	\$4.40
	Dudley	\$4.40	\$2.20	\$8.80	\$4.40
	Wonthaggi	\$5.80	\$2.90	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Sunset Strip	Ventnor	\$3.00	\$1.50	\$6.00	\$3.00
	Cowes	\$3.00	\$1.50	\$6.00	\$3.00
	Smiths Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Sunderland Bay	\$3.00	\$1.50	\$6.00	\$3.00
	Surf Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Cape Woolamai	\$3.00	\$1.50	\$6.00	\$3.00
	Newhaven	\$3.00	\$1.50	\$6.00	\$3.00
	San Remo	\$3.00	\$1.50	\$6.00	\$3.00
	Anderson	\$3.00	\$1.50	\$6.00	\$3.00
	Kilcunda	\$4.00	\$2.00	\$8.00	\$4.00
	Dalyston	\$4.40	\$2.20	\$8.80	\$4.40
	Dudley	\$4.40	\$2.20	\$8.80	\$4.40
	Wonthaggi	\$5.80	\$2.90	\$11.40	\$5.70
Sunderland Bay	Ventnor	\$4.00	\$2.00	\$8.00	\$4.00
	Cowes	\$3.00	\$1.50	\$6.00	\$3.00
	Smiths Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Sunset Strip	\$3.00	\$1.50	\$6.00	\$3.00
	Surf Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Cape Woolamai	\$3.00	\$1.50	\$6.00	\$3.00
	Newhaven	\$3.00	\$1.50	\$6.00	\$3.00
	San Remo	\$3.00	\$1.50	\$6.00	\$3.00
	Anderson	\$3.00	\$1.50	\$6.00	\$3.00
	Kilcunda	\$4.00	\$2.00	\$8.00	\$4.00
	Dalyston	\$4.40	\$2.20	\$8.80	\$4.40
	Dudley	\$4.40	\$2.20	\$8.80	\$4.40
	Wonthaggi	\$4.40	\$2.20	\$8.80	\$4.40
Surf Beach	Ventnor	\$4.00	\$2.00	\$8.00	\$4.00
	Cowes	\$3.00	\$1.50	\$6.00	\$3.00
	Smiths Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Sunset Strip	\$3.00	\$1.50	\$6.00	\$3.00
	Sunderland Bay	\$3.00	\$1.50	\$6.00	\$3.00
	Cape Woolamai	\$3.00	\$1.50	\$6.00	\$3.00
	Newhaven	\$3.00	\$1.50	\$6.00	\$3.00
	San Remo	\$3.00	\$1.50	\$6.00	\$3.00
	Anderson	\$3.00	\$1.50	\$6.00	\$3.00
	Kilcunda	\$4.00	\$2.00	\$8.00	\$4.00
	Dalyston	\$4.00	\$2.00	\$8.00	\$4.00
	Dudley	\$4.40	\$2.20	\$8.80	\$4.40
	Wonthaggi	\$4.40	\$2.20	\$8.80	\$4.40

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Cape Woolamai	Ventnor	\$4.00	\$2.00	\$8.00	\$4.00
	Cowes	\$3.00	\$1.50	\$6.00	\$3.00
	Smiths Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Sunset Strip	\$3.00	\$1.50	\$6.00	\$3.00
	Sunderland Bay	\$3.00	\$1.50	\$6.00	\$3.00
	Surf Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Newhaven	\$3.00	\$1.50	\$6.00	\$3.00
	San Remo	\$3.00	\$1.50	\$6.00	\$3.00
	Anderson	\$3.00	\$1.50	\$6.00	\$3.00
	Kilcunda	\$4.00	\$2.00	\$8.00	\$4.00
	Dalyston	\$4.00	\$2.00	\$8.00	\$4.00
	Dudley	\$4.40	\$2.20	\$8.80	\$4.40
	Wonthaggi	\$4.40	\$2.20	\$8.80	\$4.40
Newhaven	Ventnor	\$4.00	\$2.00	\$8.00	\$4.00
	Cowes	\$3.00	\$1.50	\$6.00	\$3.00
	Smiths Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Sunset Strip	\$3.00	\$1.50	\$6.00	\$3.00
	Sunderland Bay	\$3.00	\$1.50	\$6.00	\$3.00
	Surf Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Cape Woolamai	\$3.00	\$1.50	\$6.00	\$3.00
	San Remo	\$3.00	\$1.50	\$6.00	\$3.00
	Anderson	\$3.00	\$1.50	\$6.00	\$3.00
	Kilcunda	\$3.00	\$1.50	\$6.00	\$3.00
	Dalyston	\$4.00	\$2.00	\$8.00	\$4.00
	Dudley	\$4.40	\$2.20	\$8.80	\$4.40
	Wonthaggi	\$4.40	\$2.20	\$8.80	\$4.40
San Remo	Ventnor	\$4.00	\$2.00	\$8.00	\$4.00
	Cowes	\$4.00	\$2.00	\$8.00	\$4.00
	Smiths Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Sunset Strip	\$3.00	\$1.50	\$6.00	\$3.00
	Sunderland Bay	\$3.00	\$1.50	\$6.00	\$3.00
	Surf Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Cape Woolamai	\$3.00	\$1.50	\$6.00	\$3.00
	Newhaven	\$3.00	\$1.50	\$6.00	\$3.00
	Anderson	\$3.00	\$1.50	\$6.00	\$3.00
	Kilcunda	\$3.00	\$1.50	\$6.00	\$3.00
	Dalyston	\$4.00	\$2.00	\$8.00	\$4.00
	Dudley	\$4.00	\$2.00	\$8.00	\$4.00
	Wonthaggi	\$4.40	\$2.20	\$8.80	\$4.40

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Anderson	Ventnor	\$4.00	\$2.00	\$8.00	\$4.00
	Cowes	\$4.00	\$2.00	\$8.00	\$4.00
	Smiths Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Sunset Strip	\$3.00	\$1.50	\$6.00	\$3.00
	Sunderland Bay	\$3.00	\$1.50	\$6.00	\$3.00
	Surf Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Cape Woolamai	\$3.00	\$1.50	\$6.00	\$3.00
	Newhaven	\$3.00	\$1.50	\$6.00	\$3.00
	San Remo	\$3.00	\$1.50	\$6.00	\$3.00
	Kilcunda	\$3.00	\$1.50	\$6.00	\$3.00
	Dalyston	\$4.00	\$2.00	\$8.00	\$4.00
	Dudley	\$4.00	\$2.00	\$8.00	\$4.00
	Wonthaggi	\$4.40	\$2.20	\$8.80	\$4.40
Kilcunda	Ventnor	\$4.40	\$2.20	\$8.80	\$4.40
	Cowes	\$4.00	\$2.00	\$8.00	\$4.00
	Smiths Beach	\$4.00	\$2.00	\$8.00	\$4.00
	Sunset Strip	\$4.00	\$2.00	\$8.00	\$4.00
	Sunderland Bay	\$4.00	\$2.00	\$8.00	\$4.00
	Surf Beach	\$4.00	\$2.00	\$8.00	\$4.00
	Cape Woolamai	\$4.00	\$2.00	\$8.00	\$4.00
	Newhaven	\$3.00	\$1.50	\$6.00	\$3.00
	San Remo	\$3.00	\$1.50	\$6.00	\$3.00
	Anderson	\$3.00	\$1.50	\$6.00	\$3.00
	Dalyston	\$3.00	\$1.50	\$6.00	\$3.00
	Dudley	\$4.00	\$2.00	\$8.00	\$4.00
	Wonthaggi	\$4.00	\$2.00	\$8.00	\$4.00
Dalyston	Ventnor	\$5.80	\$2.90	\$11.40	\$5.70
	Cowes	\$4.40	\$2.20	\$8.80	\$4.40
	Smiths Beach	\$4.40	\$2.20	\$8.80	\$4.40
	Sunset Strip	\$4.40	\$2.20	\$8.80	\$4.40
	Sunderland Bay	\$4.40	\$2.20	\$8.80	\$4.40
	Surf Beach	\$4.00	\$2.00	\$8.00	\$4.00
	Cape Woolamai	\$4.00	\$2.00	\$8.00	\$4.00
	Newhaven	\$4.00	\$2.00	\$8.00	\$4.00
	San Remo	\$4.00	\$2.00	\$8.00	\$4.00
	Anderson	\$4.00	\$2.00	\$8.00	\$4.00
	Kilcunda	\$3.00	\$1.50	\$6.00	\$3.00
	Dudley	\$3.00	\$1.50	\$6.00	\$3.00
	Wonthaggi	\$3.00	\$1.50	\$6.00	\$3.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Dudley	Ventnor	\$5.80	\$2.90	\$11.40	\$5.70
	Cowes	\$5.80	\$2.90	\$11.40	\$5.70
	Smiths Beach	\$4.40	\$2.20	\$8.80	\$4.40
	Sunset Strip	\$4.40	\$2.20	\$8.80	\$4.40
	Sunderland Bay	\$4.40	\$2.20	\$8.80	\$4.40
	Surf Beach	\$4.40	\$2.20	\$8.80	\$4.40
	Cape Woolamai	\$4.40	\$2.20	\$8.80	\$4.40
	Newhaven	\$4.40	\$2.20	\$8.80	\$4.40
	San Remo	\$4.00	\$2.00	\$8.00	\$4.00
	Anderson	\$4.00	\$2.00	\$8.00	\$4.00
	Kilcunda	\$4.00	\$2.00	\$8.00	\$4.00
	Dalyston	\$3.00	\$1.50	\$6.00	\$3.00
Wonthaggi	Wonthaggi	\$3.00	\$1.50	\$6.00	\$3.00
	Ventnor	\$5.80	\$2.90	\$11.40	\$5.70
	Cowes	\$5.80	\$2.90	\$11.40	\$5.70
	Smiths Beach	\$5.80	\$2.90	\$11.40	\$5.70
	Sunset Strip	\$5.80	\$2.90	\$11.40	\$5.70
	Sunderland Bay	\$4.40	\$2.20	\$8.80	\$4.40
	Surf Beach	\$4.40	\$2.20	\$8.80	\$4.40
	Cape Woolamai	\$4.40	\$2.20	\$8.80	\$4.40
	Newhaven	\$4.40	\$2.20	\$8.80	\$4.40
	San Remo	\$4.40	\$2.20	\$8.80	\$4.40
	Anderson	\$4.40	\$2.20	\$8.80	\$4.40
	Kilcunda	\$4.00	\$2.00	\$8.00	\$4.00
Dalyston	Dalyston	\$3.00	\$1.50	\$6.00	\$3.00
	Dudley	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Cowes – Frankston

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Cowes	San Remo	\$4.00	\$2.00	\$8.00	\$4.00
	Grantville	\$4.40	\$2.20	\$8.80	\$4.40
	Tooradin	\$9.60	\$4.80	\$11.40	\$5.70
	Pearcedale	\$11.40	\$5.70	\$11.40	\$5.70
	Frankston	\$11.40	\$5.70	\$11.40	\$5.70
San Remo	Cowes	\$4.00	\$2.00	\$8.00	\$4.00
	Grantville	\$4.00	\$2.00	\$8.00	\$4.00
	Tooradin	\$8.00	\$4.00	\$11.40	\$5.70
	Pearcedale	\$11.40	\$5.70	\$11.40	\$5.70
	Frankston	\$11.40	\$5.70	\$11.40	\$5.70
Grantville	Cowes	\$4.40	\$2.20	\$8.80	\$4.40
	San Remo	\$4.00	\$2.00	\$8.00	\$4.00
	Tooradin	\$6.60	\$3.30	\$11.40	\$5.70
	Pearcedale	\$8.00	\$4.00	\$11.40	\$5.70
	Frankston	\$11.40	\$5.70	\$11.40	\$5.70
Tooradin	Cowes	\$9.60	\$4.80	\$11.40	\$5.70
	San Remo	\$8.00	\$4.00	\$11.40	\$5.70
	Grantville	\$6.60	\$3.30	\$11.40	\$5.70
	Pearcedale	\$4.00	\$2.00	\$8.00	\$4.00
	Frankston	\$4.40	\$2.20	\$8.80	\$4.40
Pearcedale	Cowes	\$11.40	\$5.70	\$11.40	\$5.70
	San Remo	\$11.40	\$5.70	\$11.40	\$5.70
	Grantville	\$8.00	\$4.00	\$11.40	\$5.70
	Tooradin	\$4.00	\$2.00	\$8.00	\$4.00
	Frankston	\$4.00	\$2.00	\$8.00	\$4.00
Frankston	Cowes	\$11.40	\$5.70	\$11.40	\$5.70
	San Remo	\$11.40	\$5.70	\$11.40	\$5.70
	Grantville	\$11.40	\$5.70	\$11.40	\$5.70
	Tooradin	\$4.40	\$2.20	\$8.80	\$4.40
	Pearcedale	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Garfield – Traralgon

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Melbourne	Pakenham	\$6.60	\$3.30	\$11.40	\$5.70
	Nar Nar Goon	\$9.60	\$4.80	\$11.40	\$5.70
	Tynong	\$9.60	\$4.80	\$11.40	\$5.70
	Garfield	\$11.40	\$5.70	\$11.40	\$5.70
	Bunyip	\$11.40	\$5.70	\$11.40	\$5.70
	Longwarry	\$11.40	\$5.70	\$11.40	\$5.70
	Drouin	\$11.40	\$5.70	\$11.40	\$5.70
	Warragul	\$11.40	\$5.70	\$11.40	\$5.70
	Nilma	\$11.40	\$5.70	\$11.40	\$5.70
	Darnum	\$11.40	\$5.70	\$11.40	\$5.70
	Yarragon	\$11.40	\$5.70	\$11.40	\$5.70
	Trafalgar	\$11.40	\$5.70	\$11.40	\$5.70
	Moe	\$11.40	\$5.70	\$11.40	\$5.70
	Newborough TAFE	\$11.40	\$5.70	\$11.40	\$5.70
	Morwell	\$11.40	\$5.70	\$11.40	\$5.70
Pakenham	Latrobe Hospital	\$11.40	\$5.70	\$11.40	\$5.70
	Traralgon	\$11.40	\$5.70	\$11.40	\$5.70
	Melbourne	\$6.60	\$3.30	\$11.40	\$5.70
	Nar Nar Goon	\$4.00	\$2.00	\$8.00	\$4.00
	Tynong	\$4.00	\$2.00	\$8.00	\$4.00
	Garfield	\$4.40	\$2.20	\$8.80	\$4.40
	Bunyip	\$4.40	\$2.20	\$8.80	\$4.40
	Longwarry	\$5.80	\$2.90	\$11.40	\$5.70
	Drouin	\$6.60	\$3.30	\$11.40	\$5.70
	Warragul	\$6.60	\$3.30	\$11.40	\$5.70
	Nilma	\$8.00	\$4.00	\$11.40	\$5.70
	Darnum	\$8.00	\$4.00	\$11.40	\$5.70
	Yarragon	\$9.60	\$4.80	\$11.40	\$5.70
	Trafalgar	\$9.60	\$4.80	\$11.40	\$5.70
	Moe	\$11.40	\$5.70	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Nar Nar Goon	Melbourne	\$9.60	\$4.80	\$11.40	\$5.70
	Pakenham	\$4.00	\$2.00	\$8.00	\$4.00
	Tynong	\$3.00	\$1.50	\$6.00	\$3.00
	Garfield	\$3.00	\$1.50	\$6.00	\$3.00
	Bunyip	\$4.00	\$2.00	\$8.00	\$4.00
	Longwarry	\$4.00	\$2.00	\$8.00	\$4.00
	Drouin	\$4.40	\$2.20	\$8.80	\$4.40
	Warragul	\$5.80	\$2.90	\$11.40	\$5.70
	Nilma	\$5.80	\$2.90	\$11.40	\$5.70
	Darnum	\$6.60	\$3.30	\$11.40	\$5.70
	Yarragon	\$6.60	\$3.30	\$11.40	\$5.70
	Trafalgar	\$8.00	\$4.00	\$11.40	\$5.70
	Moe	\$9.60	\$4.80	\$11.40	\$5.70
	Newborough TAFE	\$9.60	\$4.80	\$11.40	\$5.70
	Morwell	\$11.40	\$5.70	\$11.40	\$5.70
Tynong	Latrobe Hospital	\$11.40	\$5.70	\$11.40	\$5.70
	Traralgon	\$11.40	\$5.70	\$11.40	\$5.70
	Melbourne	\$9.60	\$4.80	\$11.40	\$5.70
	Pakenham	\$4.00	\$2.00	\$8.00	\$4.00
	Nar Nar Goon	\$3.00	\$1.50	\$6.00	\$3.00
	Garfield	\$3.00	\$1.50	\$6.00	\$3.00
	Bunyip	\$3.00	\$1.50	\$6.00	\$3.00
	Longwarry	\$4.00	\$2.00	\$8.00	\$4.00
	Drouin	\$4.40	\$2.20	\$8.80	\$4.40
	Warragul	\$4.40	\$2.20	\$8.80	\$4.40
	Nilma	\$5.80	\$2.90	\$11.40	\$5.70
	Darnum	\$5.80	\$2.90	\$11.40	\$5.70
	Yarragon	\$6.60	\$3.30	\$11.40	\$5.70
	Trafalgar	\$6.60	\$3.30	\$11.40	\$5.70
	Moe	\$8.00	\$4.00	\$11.40	\$5.70
	Newborough TAFE	\$9.60	\$4.80	\$11.40	\$5.70
	Morwell	\$11.40	\$5.70	\$11.40	\$5.70
	Latrobe Hospital	\$11.40	\$5.70	\$11.40	\$5.70
	Traralgon	\$11.40	\$5.70	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Garfield	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
	Pakenham	\$4.40	\$2.20	\$8.80	\$4.40
	Nar Nar Goon	\$3.00	\$1.50	\$6.00	\$3.00
	Tynong	\$3.00	\$1.50	\$6.00	\$3.00
	Bunyip	\$3.00	\$1.50	\$6.00	\$3.00
	Longwarry	\$3.00	\$1.50	\$6.00	\$3.00
	Drouin	\$4.00	\$2.00	\$8.00	\$4.00
	Warragul	\$4.40	\$2.20	\$8.80	\$4.40
	Nilma	\$4.40	\$2.20	\$8.80	\$4.40
	Darnum	\$5.80	\$2.90	\$11.40	\$5.70
	Yarragon	\$5.80	\$2.90	\$11.40	\$5.70
	Trafalgar	\$6.60	\$3.30	\$11.40	\$5.70
	Moe	\$8.00	\$4.00	\$11.40	\$5.70
	Newborough TAFE	\$8.00	\$4.00	\$11.40	\$5.70
Bunyip	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
	Pakenham	\$4.40	\$2.20	\$8.80	\$4.40
	Nar Nar Goon	\$4.00	\$2.00	\$8.00	\$4.00
	Tynong	\$3.00	\$1.50	\$6.00	\$3.00
	Garfield	\$3.00	\$1.50	\$6.00	\$3.00
	Longwarry	\$3.00	\$1.50	\$6.00	\$3.00
	Drouin	\$4.00	\$2.00	\$8.00	\$4.00
	Warragul	\$4.40	\$2.20	\$8.80	\$4.40
	Nilma	\$4.40	\$2.20	\$8.80	\$4.40
	Darnum	\$4.40	\$2.20	\$8.80	\$4.40
	Yarragon	\$5.80	\$2.90	\$11.40	\$5.70
	Trafalgar	\$6.60	\$3.30	\$11.40	\$5.70
	Moe	\$8.00	\$4.00	\$11.40	\$5.70
	Newborough TAFE	\$8.00	\$4.00	\$11.40	\$5.70
	Morwell	\$9.60	\$4.80	\$11.40	\$5.70
	Latrobe Hospital	\$11.40	\$5.70	\$11.40	\$5.70
	Traralgon	\$11.40	\$5.70	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Longwarry	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
	Pakenham	\$5.80	\$2.90	\$11.40	\$5.70
	Nar Nar Goon	\$4.00	\$2.00	\$8.00	\$4.00
	Tynong	\$4.00	\$2.00	\$8.00	\$4.00
	Garfield	\$3.00	\$1.50	\$6.00	\$3.00
	Bunyip	\$3.00	\$1.50	\$6.00	\$3.00
	Drouin	\$3.00	\$1.50	\$6.00	\$3.00
	Warragul	\$4.00	\$2.00	\$8.00	\$4.00
	Nilma	\$4.00	\$2.00	\$8.00	\$4.00
	Darnum	\$4.40	\$2.20	\$8.80	\$4.40
	Yarragon	\$4.40	\$2.20	\$8.80	\$4.40
	Trafalgar	\$5.80	\$2.90	\$11.40	\$5.70
	Moe	\$6.60	\$3.30	\$11.40	\$5.70
	Newborough TAFE	\$6.60	\$3.30	\$11.40	\$5.70
Drouin	Morwell	\$8.00	\$4.00	\$11.40	\$5.70
	Latrobe Hospital	\$9.60	\$4.80	\$11.40	\$5.70
	Traralgon	\$11.40	\$5.70	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
	Pakenham	\$6.60	\$3.30	\$11.40	\$5.70
	Nar Nar Goon	\$4.40	\$2.20	\$8.80	\$4.40
	Tynong	\$4.40	\$2.20	\$8.80	\$4.40
	Garfield	\$4.00	\$2.00	\$8.00	\$4.00
	Bunyip	\$4.00	\$2.00	\$8.00	\$4.00
	Longwarry	\$3.00	\$1.50	\$6.00	\$3.00
	Warragul	\$3.00	\$1.50	\$6.00	\$3.00
	Nilma	\$4.00	\$2.00	\$8.00	\$4.00
	Darnum	\$4.00	\$2.00	\$8.00	\$4.00
	Yarragon	\$4.00	\$2.00	\$8.00	\$4.00
	Trafalgar	\$4.40	\$2.20	\$8.80	\$4.40
	Moe	\$5.80	\$2.90	\$11.40	\$5.70
	Newborough TAFE	\$6.60	\$3.30	\$11.40	\$5.70
	Morwell	\$8.00	\$4.00	\$11.40	\$5.70
	Latrobe Hospital	\$8.00	\$4.00	\$11.40	\$5.70
	Traralgon	\$9.60	\$4.80	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Warragul	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
	Pakenham	\$6.60	\$3.30	\$11.40	\$5.70
	Nar Nar Goon	\$5.80	\$2.90	\$11.40	\$5.70
	Tynong	\$4.40	\$2.20	\$8.80	\$4.40
	Garfield	\$4.40	\$2.20	\$8.80	\$4.40
	Bunyip	\$4.40	\$2.20	\$8.80	\$4.40
	Longwarry	\$4.00	\$2.00	\$8.00	\$4.00
	Drouin	\$3.00	\$1.50	\$6.00	\$3.00
	Nilma	\$3.00	\$1.50	\$6.00	\$3.00
	Darnum	\$3.00	\$1.50	\$6.00	\$3.00
	Yarragon	\$4.00	\$2.00	\$8.00	\$4.00
	Trafalgar	\$4.00	\$2.00	\$8.00	\$4.00
	Moe	\$4.40	\$2.20	\$8.80	\$4.40
	Newborough TAFE	\$5.80	\$2.90	\$11.40	\$5.70
Nilma	Morwell	\$6.60	\$3.30	\$11.40	\$5.70
	Latrobe Hospital	\$6.60	\$3.30	\$11.40	\$5.70
	Traralgon	\$8.00	\$4.00	\$11.40	\$5.70
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
	Pakenham	\$8.00	\$4.00	\$11.40	\$5.70
	Nar Nar Goon	\$5.80	\$2.90	\$11.40	\$5.70
	Tynong	\$5.80	\$2.90	\$11.40	\$5.70
	Garfield	\$4.40	\$2.20	\$8.80	\$4.40
	Bunyip	\$4.40	\$2.20	\$8.80	\$4.40
	Longwarry	\$4.00	\$2.00	\$8.00	\$4.00
	Drouin	\$4.00	\$2.00	\$8.00	\$4.00
	Warragul	\$3.00	\$1.50	\$6.00	\$3.00
	Darnum	\$3.00	\$1.50	\$6.00	\$3.00
	Yarragon	\$3.00	\$1.50	\$6.00	\$3.00
	Trafalgar	\$4.00	\$2.00	\$8.00	\$4.00
	Moe	\$4.40	\$2.20	\$8.80	\$4.40
	Newborough TAFE	\$4.40	\$2.20	\$8.80	\$4.40
	Morwell	\$6.60	\$3.30	\$11.40	\$5.70
	Latrobe Hospital	\$6.60	\$3.30	\$11.40	\$5.70
	Traralgon	\$8.00	\$4.00	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Darnum	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
	Pakenham	\$8.00	\$4.00	\$11.40	\$5.70
	Nar Nar Goon	\$6.60	\$3.30	\$11.40	\$5.70
	Tynong	\$5.80	\$2.90	\$11.40	\$5.70
	Garfield	\$5.80	\$2.90	\$11.40	\$5.70
	Bunyip	\$4.40	\$2.20	\$8.80	\$4.40
	Longwarry	\$4.40	\$2.20	\$8.80	\$4.40
	Drouin	\$4.00	\$2.00	\$8.00	\$4.00
	Warragul	\$3.00	\$1.50	\$6.00	\$3.00
	Nilma	\$3.00	\$1.50	\$6.00	\$3.00
	Yarragon	\$3.00	\$1.50	\$6.00	\$3.00
	Trafalgar	\$4.00	\$2.00	\$8.00	\$4.00
	Moe	\$4.40	\$2.20	\$8.80	\$4.40
	Newborough TAFE	\$4.40	\$2.20	\$8.80	\$4.40
Yarragon	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
	Pakenham	\$9.60	\$4.80	\$11.40	\$5.70
	Nar Nar Goon	\$6.60	\$3.30	\$11.40	\$5.70
	Tynong	\$6.60	\$3.30	\$11.40	\$5.70
	Garfield	\$5.80	\$2.90	\$11.40	\$5.70
	Bunyip	\$5.80	\$2.90	\$11.40	\$5.70
	Longwarry	\$4.40	\$2.20	\$8.80	\$4.40
	Drouin	\$4.00	\$2.00	\$8.00	\$4.00
	Warragul	\$4.00	\$2.00	\$8.00	\$4.00
	Nilma	\$3.00	\$1.50	\$6.00	\$3.00
	Darnum	\$3.00	\$1.50	\$6.00	\$3.00
	Trafalgar	\$3.00	\$1.50	\$6.00	\$3.00
	Moe	\$4.00	\$2.00	\$8.00	\$4.00
	Newborough TAFE	\$4.40	\$2.20	\$8.80	\$4.40
	Morwell	\$5.80	\$2.90	\$11.40	\$5.70
	Latrobe Hospital	\$5.80	\$2.90	\$11.40	\$5.70
	Traralgon	\$6.60	\$3.30	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Trafalgar	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
	Pakenham	\$9.60	\$4.80	\$11.40	\$5.70
	Nar Nar Goon	\$8.00	\$4.00	\$11.40	\$5.70
	Tynong	\$6.60	\$3.30	\$11.40	\$5.70
	Garfield	\$6.60	\$3.30	\$11.40	\$5.70
	Bunyip	\$6.60	\$3.30	\$11.40	\$5.70
	Longwarry	\$5.80	\$2.90	\$11.40	\$5.70
	Drouin	\$4.40	\$2.20	\$8.80	\$4.40
	Warragul	\$4.00	\$2.00	\$8.00	\$4.00
	Nilma	\$4.00	\$2.00	\$8.00	\$4.00
	Darnum	\$4.00	\$2.00	\$8.00	\$4.00
	Yarragon	\$3.00	\$1.50	\$6.00	\$3.00
	Moe	\$3.00	\$1.50	\$6.00	\$3.00
	Newborough TAFE	\$4.00	\$2.00	\$8.00	\$4.00
Moe	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
	Pakenham	\$11.40	\$5.70	\$11.40	\$5.70
	Nar Nar Goon	\$9.60	\$4.80	\$11.40	\$5.70
	Tynong	\$8.00	\$4.00	\$11.40	\$5.70
	Garfield	\$8.00	\$4.00	\$11.40	\$5.70
	Bunyip	\$8.00	\$4.00	\$11.40	\$5.70
	Longwarry	\$6.60	\$3.30	\$11.40	\$5.70
	Drouin	\$5.80	\$2.90	\$11.40	\$5.70
	Warragul	\$4.40	\$2.20	\$8.80	\$4.40
	Nilma	\$4.40	\$2.20	\$8.80	\$4.40
	Darnum	\$4.40	\$2.20	\$8.80	\$4.40
	Yarragon	\$4.00	\$2.00	\$8.00	\$4.00
	Trafalgar	\$3.00	\$1.50	\$6.00	\$3.00
	Newborough TAFE	\$3.00	\$1.50	\$6.00	\$3.00
	Morwell	\$4.00	\$2.00	\$8.00	\$4.00
	Latrobe Hospital	\$4.00	\$2.00	\$8.00	\$4.00
	Traralgon	\$4.40	\$2.20	\$8.80	\$4.40

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Newborough TAFE	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
	Pakenham	\$11.40	\$5.70	\$11.40	\$5.70
	Nar Nar Goon	\$9.60	\$4.80	\$11.40	\$5.70
	Tynong	\$9.60	\$4.80	\$11.40	\$5.70
	Garfield	\$8.00	\$4.00	\$11.40	\$5.70
	Bunyip	\$8.00	\$4.00	\$11.40	\$5.70
	Longwarry	\$6.60	\$3.30	\$11.40	\$5.70
	Drouin	\$6.60	\$3.30	\$11.40	\$5.70
	Warragul	\$5.80	\$2.90	\$11.40	\$5.70
	Nilma	\$4.40	\$2.20	\$8.80	\$4.40
	Darnum	\$4.40	\$2.20	\$8.80	\$4.40
	Yarragon	\$4.40	\$2.20	\$8.80	\$4.40
	Trafalgar	\$4.00	\$2.00	\$8.00	\$4.00
	Moe	\$3.00	\$1.50	\$6.00	\$3.00
	Morwell	\$4.00	\$2.00	\$8.00	\$4.00
	Latrobe Hospital	\$4.00	\$2.00	\$8.00	\$4.00
	Traralgon	\$4.40	\$2.20	\$8.80	\$4.40
Morwell	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
	Pakenham	\$11.40	\$5.70	\$11.40	\$5.70
	Nar Nar Goon	\$11.40	\$5.70	\$11.40	\$5.70
	Tynong	\$11.40	\$5.70	\$11.40	\$5.70
	Garfield	\$9.60	\$4.80	\$11.40	\$5.70
	Bunyip	\$9.60	\$4.80	\$11.40	\$5.70
	Longwarry	\$8.00	\$4.00	\$11.40	\$5.70
	Drouin	\$8.00	\$4.00	\$11.40	\$5.70
	Warragul	\$6.60	\$3.30	\$11.40	\$5.70
	Nilma	\$6.60	\$3.30	\$11.40	\$5.70
	Darnum	\$5.80	\$2.90	\$11.40	\$5.70
	Yarragon	\$5.80	\$2.90	\$11.40	\$5.70
	Trafalgar	\$4.40	\$2.20	\$8.80	\$4.40
	Moe	\$4.00	\$2.00	\$8.00	\$4.00
	Newborough TAFE	\$4.00	\$2.00	\$8.00	\$4.00
	Latrobe Hospital	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon	\$4.00	\$2.00	\$8.00	\$4.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Latrobe Hospital	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
	Pakenham	\$11.40	\$5.70	\$11.40	\$5.70
	Nar Nar Goon	\$11.40	\$5.70	\$11.40	\$5.70
	Tynong	\$11.40	\$5.70	\$11.40	\$5.70
	Garfield	\$11.40	\$5.70	\$11.40	\$5.70
	Bunyip	\$9.60	\$4.80	\$11.40	\$5.70
	Longwarry	\$9.60	\$4.80	\$11.40	\$5.70
	Drouin	\$8.00	\$4.00	\$11.40	\$5.70
	Warragul	\$6.60	\$3.30	\$11.40	\$5.70
	Nilma	\$6.60	\$3.30	\$11.40	\$5.70
	Darnum	\$6.60	\$3.30	\$11.40	\$5.70
	Yarragon	\$5.80	\$2.90	\$11.40	\$5.70
	Trafalgar	\$4.40	\$2.20	\$8.80	\$4.40
	Moe	\$4.00	\$2.00	\$8.00	\$4.00
	Newborough TAFE	\$4.00	\$2.00	\$8.00	\$4.00
Traralgon	Morwell	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon	\$3.00	\$1.50	\$6.00	\$3.00
	Melbourne	\$11.40	\$5.70	\$11.40	\$5.70
	Pakenham	\$11.40	\$5.70	\$11.40	\$5.70
	Nar Nar Goon	\$11.40	\$5.70	\$11.40	\$5.70
	Tynong	\$11.40	\$5.70	\$11.40	\$5.70
	Garfield	\$11.40	\$5.70	\$11.40	\$5.70
	Bunyip	\$11.40	\$5.70	\$11.40	\$5.70
	Longwarry	\$11.40	\$5.70	\$11.40	\$5.70
	Drouin	\$9.60	\$4.80	\$11.40	\$5.70
	Warragul	\$8.00	\$4.00	\$11.40	\$5.70
	Nilma	\$8.00	\$4.00	\$11.40	\$5.70
	Darnum	\$8.00	\$4.00	\$11.40	\$5.70
	Yarragon	\$6.60	\$3.30	\$11.40	\$5.70
	Trafalgar	\$5.80	\$2.90	\$11.40	\$5.70
	Moe	\$4.40	\$2.20	\$8.80	\$4.40
	Newborough TAFE	\$4.40	\$2.20	\$8.80	\$4.40
	Morwell	\$4.00	\$2.00	\$8.00	\$4.00
	Latrobe Hospital	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Gelantipy – Bairnsdale (includes Nowa Nowa – Bairnsdale)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Gelantipy	Butchers Ridge	\$3.00	\$1.50	\$6.00	\$3.00
	W Tree co-op	\$4.00	\$2.00	\$8.00	\$4.00
	Buchan	\$5.80	\$2.90	\$11.40	\$5.70
	Nowa Nowa	\$11.40	\$5.70	\$11.40	\$5.70
	Lakes Entrance	\$11.40	\$5.70	\$11.40	\$5.70
	Kalimna	\$11.40	\$5.70	\$11.40	\$5.70
	Kalimna West	\$11.40	\$5.70	\$11.40	\$5.70
	Forestech	\$11.40	\$5.70	\$11.40	\$5.70
	Swan Reach	\$11.40	\$5.70	\$11.40	\$5.70
	Johnsonville	\$11.40	\$5.70	\$11.40	\$5.70
	Nicholson	\$11.40	\$5.70	\$11.40	\$5.70
	Lucknow	\$11.40	\$5.70	\$11.40	\$5.70
	Bairnsdale	\$11.40	\$5.70	\$11.40	\$5.70
Butchers Ridge	Gelantipy	\$3.00	\$1.50	\$6.00	\$3.00
	W Tree co-op	\$4.00	\$2.00	\$8.00	\$4.00
	Buchan	\$5.80	\$2.90	\$11.40	\$5.70
	Nowa Nowa	\$9.60	\$4.80	\$11.40	\$5.70
	Lakes Entrance	\$11.40	\$5.70	\$11.40	\$5.70
	Kalimna	\$11.40	\$5.70	\$11.40	\$5.70
	Kalimna West	\$11.40	\$5.70	\$11.40	\$5.70
	Forestech	\$11.40	\$5.70	\$11.40	\$5.70
	Swan Reach	\$11.40	\$5.70	\$11.40	\$5.70
	Johnsonville	\$11.40	\$5.70	\$11.40	\$5.70
	Nicholson	\$11.40	\$5.70	\$11.40	\$5.70
	Lucknow	\$11.40	\$5.70	\$11.40	\$5.70
	Bairnsdale	\$11.40	\$5.70	\$11.40	\$5.70
W Tree co-op	Gelantipy	\$4.00	\$2.00	\$8.00	\$4.00
	Butchers Ridge	\$4.00	\$2.00	\$8.00	\$4.00
	Buchan	\$4.40	\$2.20	\$8.80	\$4.40
	Nowa Nowa	\$8.00	\$4.00	\$11.40	\$5.70
	Lakes Entrance	\$11.40	\$5.70	\$11.40	\$5.70
	Kalimna	\$11.40	\$5.70	\$11.40	\$5.70
	Kalimna West	\$11.40	\$5.70	\$11.40	\$5.70
	Forestech	\$11.40	\$5.70	\$11.40	\$5.70
	Swan Reach	\$11.40	\$5.70	\$11.40	\$5.70
	Johnsonville	\$11.40	\$5.70	\$11.40	\$5.70
	Nicholson	\$11.40	\$5.70	\$11.40	\$5.70
	Lucknow	\$11.40	\$5.70	\$11.40	\$5.70
	Bairnsdale	\$11.40	\$5.70	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Buchan	Gelantipy	\$5.80	\$2.90	\$11.40	\$5.70
	Butchers Ridge	\$5.80	\$2.90	\$11.40	\$5.70
	W Tree co-op	\$4.40	\$2.20	\$8.80	\$4.40
	Nowa Nowa	\$5.80	\$2.90	\$11.40	\$5.70
	Lakes Entrance	\$8.00	\$4.00	\$11.40	\$5.70
	Kalimna	\$9.60	\$4.80	\$11.40	\$5.70
	Kalimna West	\$9.60	\$4.80	\$11.40	\$5.70
	Forestech	\$11.40	\$5.70	\$11.40	\$5.70
	Swan Reach	\$11.40	\$5.70	\$11.40	\$5.70
	Johnsonville	\$11.40	\$5.70	\$11.40	\$5.70
	Nicholson	\$11.40	\$5.70	\$11.40	\$5.70
	Lucknow	\$11.40	\$5.70	\$11.40	\$5.70
	Bairnsdale	\$11.40	\$5.70	\$11.40	\$5.70
Nowa Nowa	Gelantipy	\$11.40	\$5.70	\$11.40	\$5.70
	Butchers Ridge	\$9.60	\$4.80	\$11.40	\$5.70
	W Tree co-op	\$8.00	\$4.00	\$11.40	\$5.70
	Buchan	\$5.80	\$2.90	\$11.40	\$5.70
	Lakes Entrance	\$4.40	\$2.20	\$8.80	\$4.40
	Kalimna	\$4.40	\$2.20	\$8.80	\$4.40
	Kalimna West	\$4.40	\$2.20	\$8.80	\$4.40
	Forestech	\$5.80	\$2.90	\$11.40	\$5.70
	Swan Reach	\$6.60	\$3.30	\$11.40	\$5.70
	Johnsonville	\$8.00	\$4.00	\$11.40	\$5.70
	Nicholson	\$9.60	\$4.80	\$11.40	\$5.70
	Lucknow	\$11.40	\$5.70	\$11.40	\$5.70
	Bairnsdale	\$11.40	\$5.70	\$11.40	\$5.70
Lakes Entrance	Gelantipy	\$11.40	\$5.70	\$11.40	\$5.70
	Butchers Ridge	\$11.40	\$5.70	\$11.40	\$5.70
	W Tree co-op	\$11.40	\$5.70	\$11.40	\$5.70
	Buchan	\$8.00	\$4.00	\$11.40	\$5.70
	Nowa Nowa	\$4.40	\$2.20	\$8.80	\$4.40
	Kalimna	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna West	\$3.00	\$1.50	\$6.00	\$3.00
	Forestech	\$4.00	\$2.00	\$8.00	\$4.00
	Swan Reach	\$4.40	\$2.20	\$8.80	\$4.40
	Johnsonville	\$5.80	\$2.90	\$11.40	\$5.70
	Nicholson	\$6.60	\$3.30	\$11.40	\$5.70
	Lucknow	\$8.00	\$4.00	\$11.40	\$5.70
	Bairnsdale	\$9.60	\$4.80	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Kalimna	Gelantipy	\$11.40	\$5.70	\$11.40	\$5.70
	Butchers Ridge	\$11.40	\$5.70	\$11.40	\$5.70
	W Tree co-op	\$11.40	\$5.70	\$11.40	\$5.70
	Buchan	\$9.60	\$4.80	\$11.40	\$5.70
	Nowa Nowa	\$4.40	\$2.20	\$8.80	\$4.40
	Lakes Entrance	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna West	\$3.00	\$1.50	\$6.00	\$3.00
	Forestech	\$3.00	\$1.50	\$6.00	\$3.00
	Swan Reach	\$4.00	\$2.00	\$8.00	\$4.00
	Johnsonville	\$4.40	\$2.20	\$8.80	\$4.40
	Nicholson	\$6.60	\$3.30	\$11.40	\$5.70
	Lucknow	\$8.00	\$4.00	\$11.40	\$5.70
	Bairnsdale	\$9.60	\$4.80	\$11.40	\$5.70
Kalimna West	Gelantipy	\$11.40	\$5.70	\$11.40	\$5.70
	Butchers Ridge	\$11.40	\$5.70	\$11.40	\$5.70
	W Tree co-op	\$11.40	\$5.70	\$11.40	\$5.70
	Buchan	\$9.60	\$4.80	\$11.40	\$5.70
	Nowa Nowa	\$4.40	\$2.20	\$8.80	\$4.40
	Lakes Entrance	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna	\$3.00	\$1.50	\$6.00	\$3.00
	Forestech	\$3.00	\$1.50	\$6.00	\$3.00
	Swan Reach	\$4.00	\$2.00	\$8.00	\$4.00
	Johnsonville	\$4.40	\$2.20	\$8.80	\$4.40
	Nicholson	\$6.60	\$3.30	\$11.40	\$5.70
	Lucknow	\$8.00	\$4.00	\$11.40	\$5.70
	Bairnsdale	\$9.60	\$4.80	\$11.40	\$5.70
Forestech	Gelantipy	\$11.40	\$5.70	\$11.40	\$5.70
	Butchers Ridge	\$11.40	\$5.70	\$11.40	\$5.70
	W Tree co-op	\$11.40	\$5.70	\$11.40	\$5.70
	Buchan	\$11.40	\$5.70	\$11.40	\$5.70
	Nowa Nowa	\$5.80	\$2.90	\$11.40	\$5.70
	Lakes Entrance	\$4.00	\$2.00	\$8.00	\$4.00
	Kalimna	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna West	\$3.00	\$1.50	\$6.00	\$3.00
	Swan Reach	\$3.00	\$1.50	\$6.00	\$3.00
	Johnsonville	\$4.00	\$2.00	\$8.00	\$4.00
	Nicholson	\$5.80	\$2.90	\$11.40	\$5.70
	Lucknow	\$6.60	\$3.30	\$11.40	\$5.70
	Bairnsdale	\$8.00	\$4.00	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Swan Reach	Gelantipy	\$11.40	\$5.70	\$11.40	\$5.70
	Butchers Ridge	\$11.40	\$5.70	\$11.40	\$5.70
	W Tree co-op	\$11.40	\$5.70	\$11.40	\$5.70
	Buchan	\$11.40	\$5.70	\$11.40	\$5.70
	Nowa Nowa	\$6.60	\$3.30	\$11.40	\$5.70
	Lakes Entrance	\$4.40	\$2.20	\$8.80	\$4.40
	Kalimna	\$4.00	\$2.00	\$8.00	\$4.00
	Kalimna West	\$4.00	\$2.00	\$8.00	\$4.00
	Forestech	\$3.00	\$1.50	\$6.00	\$3.00
	Johnsonville	\$3.00	\$1.50	\$6.00	\$3.00
	Nicholson	\$4.40	\$2.20	\$8.80	\$4.40
	Lucknow	\$5.80	\$2.90	\$11.40	\$5.70
Johnsonville	Bairnsdale	\$6.60	\$3.30	\$11.40	\$5.70
	Gelantipy	\$11.40	\$5.70	\$11.40	\$5.70
	Butchers Ridge	\$11.40	\$5.70	\$11.40	\$5.70
	W Tree co-op	\$11.40	\$5.70	\$11.40	\$5.70
	Buchan	\$11.40	\$5.70	\$11.40	\$5.70
	Nowa Nowa	\$8.00	\$4.00	\$11.40	\$5.70
	Lakes Entrance	\$5.80	\$2.90	\$11.40	\$5.70
	Kalimna	\$4.40	\$2.20	\$8.80	\$4.40
	Kalimna West	\$4.40	\$2.20	\$8.80	\$4.40
	Forestech	\$4.00	\$2.00	\$8.00	\$4.00
	Swan Reach	\$3.00	\$1.50	\$6.00	\$3.00
	Nicholson	\$4.00	\$2.00	\$8.00	\$4.00
Nicholson	Lucknow	\$4.40	\$2.20	\$8.80	\$4.40
	Bairnsdale	\$5.80	\$2.90	\$11.40	\$5.70
	Gelantipy	\$11.40	\$5.70	\$11.40	\$5.70
	Butchers Ridge	\$11.40	\$5.70	\$11.40	\$5.70
	W Tree co-op	\$11.40	\$5.70	\$11.40	\$5.70
	Buchan	\$11.40	\$5.70	\$11.40	\$5.70
	Nowa Nowa	\$9.60	\$4.80	\$11.40	\$5.70
	Lakes Entrance	\$6.60	\$3.30	\$11.40	\$5.70
	Kalimna	\$6.60	\$3.30	\$11.40	\$5.70
	Kalimna West	\$6.60	\$3.30	\$11.40	\$5.70
	Forestech	\$5.80	\$2.90	\$11.40	\$5.70
	Swan Reach	\$4.40	\$2.20	\$8.80	\$4.40

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Lucknow	Gelantipy	\$11.40	\$5.70	\$11.40	\$5.70
	Butchers Ridge	\$11.40	\$5.70	\$11.40	\$5.70
	W Tree co-op	\$11.40	\$5.70	\$11.40	\$5.70
	Buchan	\$11.40	\$5.70	\$11.40	\$5.70
	Nowa Nowa	\$11.40	\$5.70	\$11.40	\$5.70
	Lakes Entrance	\$8.00	\$4.00	\$11.40	\$5.70
	Kalimna	\$8.00	\$4.00	\$11.40	\$5.70
	Kalimna West	\$8.00	\$4.00	\$11.40	\$5.70
	Forestech	\$6.60	\$3.30	\$11.40	\$5.70
	Swan Reach	\$5.80	\$2.90	\$11.40	\$5.70
	Johnsonville	\$4.40	\$2.20	\$8.80	\$4.40
	Nicholson	\$4.00	\$2.00	\$8.00	\$4.00
Bairnsdale	Bairnsdale	\$3.00	\$1.50	\$6.00	\$3.00
	Gelantipy	\$11.40	\$5.70	\$11.40	\$5.70
	Butchers Ridge	\$11.40	\$5.70	\$11.40	\$5.70
	W Tree co-op	\$11.40	\$5.70	\$11.40	\$5.70
	Buchan	\$11.40	\$5.70	\$11.40	\$5.70
	Nowa Nowa	\$11.40	\$5.70	\$11.40	\$5.70
	Lakes Entrance	\$9.60	\$4.80	\$11.40	\$5.70
	Kalimna	\$9.60	\$4.80	\$11.40	\$5.70
	Kalimna West	\$9.60	\$4.80	\$11.40	\$5.70
	Forestech	\$8.00	\$4.00	\$11.40	\$5.70
	Swan Reach	\$6.60	\$3.30	\$11.40	\$5.70
	Johnsonville	\$5.80	\$2.90	\$11.40	\$5.70

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Genoa – Mallacoota

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Genoa	Gipsy Point	\$3.00	\$1.50	\$6.00	\$3.00
	Mallacoota	\$4.00	\$2.00	\$8.00	\$4.00
Gipsy Point	Genoa	\$3.00	\$1.50	\$6.00	\$3.00
	Mallacoota	\$3.00	\$1.50	\$6.00	\$3.00
Mallacoota	Genoa	\$4.00	\$2.00	\$8.00	\$4.00
	Gipsy Point	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Koo Wee Rup – Pakenham/Pakenham South

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Koo Wee Rup	Pakenham/ Pakenham Sth	\$4.00	\$2.00	\$8.00	\$4.00
Pakenham/ Pakenham Sth	Koo Wee Rup	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Lakes Entrance – Bairnsdale (includes Marlo – Orbost – Lakes Entrance)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Marlo	Orbost	\$3.00	\$1.50	\$6.00	\$3.00
	Newmerella	\$3.00	\$1.50	\$6.00	\$3.00
	Waygara	\$4.40	\$2.20	\$8.80	\$4.40
	Tostaree	\$6.60	\$3.30	\$11.40	\$5.70
	Nowa Nowa	\$8.00	\$4.00	\$11.40	\$5.70
	Lake Tyers turn-off	\$11.40	\$5.70	\$11.40	\$5.70
	Lakes Entrance	\$11.40	\$5.70	\$11.40	\$5.70
	Kalimna	\$11.40	\$5.70	\$11.40	\$5.70
	Kalimna West	\$11.40	\$5.70	\$11.40	\$5.70
	Forestech	\$11.40	\$5.70	\$11.40	\$5.70
	Swan Reach	\$11.40	\$5.70	\$11.40	\$5.70
	Johnsonville	\$11.40	\$5.70	\$11.40	\$5.70
	Nicholson	\$11.40	\$5.70	\$11.40	\$5.70
	Bairnsdale	\$11.40	\$5.70	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Orbost	Marlo	\$3.00	\$1.50	\$6.00	\$3.00
	Newmerella	\$3.00	\$1.50	\$6.00	\$3.00
	Waygara	\$4.40	\$2.20	\$8.80	\$4.40
	Tostaree	\$6.60	\$3.30	\$11.40	\$5.70
	Nowa Nowa	\$8.00	\$4.00	\$11.40	\$5.70
	Lake Tyers turn-off	\$11.40	\$5.70	\$11.40	\$5.70
	Lakes Entrance	\$11.40	\$5.70	\$11.40	\$5.70
	Kalimna	\$11.40	\$5.70	\$11.40	\$5.70
	Kalimna West	\$11.40	\$5.70	\$11.40	\$5.70
	Forestech	\$11.40	\$5.70	\$11.40	\$5.70
	Swan Reach	\$11.40	\$5.70	\$11.40	\$5.70
	Johnsonville	\$11.40	\$5.70	\$11.40	\$5.70
	Nicholson	\$11.40	\$5.70	\$11.40	\$5.70
	Bairnsdale	\$11.40	\$5.70	\$11.40	\$5.70
Newmerella	Marlo	\$3.00	\$1.50	\$6.00	\$3.00
	Orbost	\$3.00	\$1.50	\$6.00	\$3.00
	Waygara	\$4.00	\$2.00	\$8.00	\$4.00
	Tostaree	\$5.80	\$2.90	\$11.40	\$5.70
	Nowa Nowa	\$6.60	\$3.30	\$11.40	\$5.70
	Lake Tyers turn-off	\$9.60	\$4.80	\$11.40	\$5.70
	Lakes Entrance	\$11.40	\$5.70	\$11.40	\$5.70
	Kalimna	\$11.40	\$5.70	\$11.40	\$5.70
	Kalimna West	\$11.40	\$5.70	\$11.40	\$5.70
	Forestech	\$11.40	\$5.70	\$11.40	\$5.70
	Swan Reach	\$11.40	\$5.70	\$11.40	\$5.70
	Johnsonville	\$11.40	\$5.70	\$11.40	\$5.70
	Nicholson	\$11.40	\$5.70	\$11.40	\$5.70
	Bairnsdale	\$11.40	\$5.70	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Waygara	Marlo	\$4.40	\$2.20	\$8.80	\$4.40
	Orbost	\$4.40	\$2.20	\$8.80	\$4.40
	Newmerella	\$4.00	\$2.00	\$8.00	\$4.00
	Tostaree	\$4.00	\$2.00	\$8.00	\$4.00
	Nowa Nowa	\$4.40	\$2.20	\$8.80	\$4.40
	Lake Tyers turn-off	\$6.60	\$3.30	\$11.40	\$5.70
	Lakes Entrance	\$8.00	\$4.00	\$11.40	\$5.70
	Kalimna	\$8.00	\$4.00	\$11.40	\$5.70
	Kalimna West	\$8.00	\$4.00	\$11.40	\$5.70
	Forestech	\$9.60	\$4.80	\$11.40	\$5.70
	Swan Reach	\$11.40	\$5.70	\$11.40	\$5.70
	Johnsonville	\$11.40	\$5.70	\$11.40	\$5.70
	Nicholson	\$11.40	\$5.70	\$11.40	\$5.70
	Bairnsdale	\$11.40	\$5.70	\$11.40	\$5.70
Tostaree	Marlo	\$6.60	\$3.30	\$11.40	\$5.70
	Orbost	\$6.60	\$3.30	\$11.40	\$5.70
	Newmerella	\$5.80	\$2.90	\$11.40	\$5.70
	Waygara	\$4.00	\$2.00	\$8.00	\$4.00
	Nowa Nowa	\$3.00	\$1.50	\$6.00	\$3.00
	Lake Tyers turn-off	\$4.40	\$2.20	\$8.80	\$4.40
	Lakes Entrance	\$5.80	\$2.90	\$11.40	\$5.70
	Kalimna	\$5.80	\$2.90	\$11.40	\$5.70
	Kalimna West	\$5.80	\$2.90	\$11.40	\$5.70
	Forestech	\$6.60	\$3.30	\$11.40	\$5.70
	Swan Reach	\$8.00	\$4.00	\$11.40	\$5.70
	Johnsonville	\$9.60	\$4.80	\$11.40	\$5.70
	Nicholson	\$11.40	\$5.70	\$11.40	\$5.70
	Bairnsdale	\$11.40	\$5.70	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Nowa Nowa	Marlo	\$8.00	\$4.00	\$11.40	\$5.70
	Orbost	\$8.00	\$4.00	\$11.40	\$5.70
	Newmerella	\$6.60	\$3.30	\$11.40	\$5.70
	Waygara	\$4.40	\$2.20	\$8.80	\$4.40
	Tostaree	\$3.00	\$1.50	\$6.00	\$3.00
	Lake Tyers turn-off	\$4.00	\$2.00	\$8.00	\$4.00
	Lakes Entrance	\$4.40	\$2.20	\$8.80	\$4.40
	Kalimna	\$4.40	\$2.20	\$8.80	\$4.40
	Kalimna West	\$4.40	\$2.20	\$8.80	\$4.40
	Forestech	\$5.80	\$2.90	\$11.40	\$5.70
	Swan Reach	\$6.60	\$3.30	\$11.40	\$5.70
	Johnsonville	\$8.00	\$4.00	\$11.40	\$5.70
	Nicholson	\$9.60	\$4.80	\$11.40	\$5.70
	Bairnsdale	\$11.40	\$5.70	\$11.40	\$5.70
Lake Tyers turn-off	Marlo	\$11.40	\$5.70	\$11.40	\$5.70
	Orbost	\$11.40	\$5.70	\$11.40	\$5.70
	Newmerella	\$9.60	\$4.80	\$11.40	\$5.70
	Waygara	\$6.60	\$3.30	\$11.40	\$5.70
	Tostaree	\$4.40	\$2.20	\$8.80	\$4.40
	Nowa Nowa	\$4.00	\$2.00	\$8.00	\$4.00
	Lakes Entrance	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna West	\$3.00	\$1.50	\$6.00	\$3.00
	Forestech	\$4.00	\$2.00	\$8.00	\$4.00
	Swan Reach	\$4.40	\$2.20	\$8.80	\$4.40
	Johnsonville	\$5.80	\$2.90	\$11.40	\$5.70
	Nicholson	\$6.60	\$3.30	\$11.40	\$5.70
	Bairnsdale	\$9.60	\$4.80	\$11.40	\$5.70
Lakes Entrance	Marlo	\$11.40	\$5.70	\$11.40	\$5.70
	Orbost	\$11.40	\$5.70	\$11.40	\$5.70
	Newmerella	\$11.40	\$5.70	\$11.40	\$5.70
	Waygara	\$8.00	\$4.00	\$11.40	\$5.70
	Tostaree	\$5.80	\$2.90	\$11.40	\$5.70
	Nowa Nowa	\$4.40	\$2.20	\$8.80	\$4.40
	Lake Tyers turn-off	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna West	\$3.00	\$1.50	\$6.00	\$3.00
	Forestech	\$4.00	\$2.00	\$8.00	\$4.00
	Swan Reach	\$4.40	\$2.20	\$8.80	\$4.40
	Johnsonville	\$5.80	\$2.90	\$11.40	\$5.70
	Nicholson	\$6.60	\$3.30	\$11.40	\$5.70
	Bairnsdale	\$9.60	\$4.80	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Kalimna	Marlo	\$11.40	\$5.70	\$11.40	\$5.70
	Orbost	\$11.40	\$5.70	\$11.40	\$5.70
	Newmerella	\$11.40	\$5.70	\$11.40	\$5.70
	Waygara	\$8.00	\$4.00	\$11.40	\$5.70
	Tostaree	\$5.80	\$2.90	\$11.40	\$5.70
	Nowa Nowa	\$4.40	\$2.20	\$8.80	\$4.40
	Lake Tyers turn-off	\$3.00	\$1.50	\$6.00	\$3.00
	Lakes Entrance	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna West	\$3.00	\$1.50	\$6.00	\$3.00
	Forestech	\$3.00	\$1.50	\$6.00	\$3.00
	Swan Reach	\$4.00	\$2.00	\$8.00	\$4.00
	Johnsonville	\$4.40	\$2.20	\$8.80	\$4.40
	Nicholson	\$6.60	\$3.30	\$11.40	\$5.70
Kalimna West	Bairnsdale	\$9.60	\$4.80	\$11.40	\$5.70
	Marlo	\$11.40	\$5.70	\$11.40	\$5.70
	Orbost	\$11.40	\$5.70	\$11.40	\$5.70
	Newmerella	\$11.40	\$5.70	\$11.40	\$5.70
	Waygara	\$8.00	\$4.00	\$11.40	\$5.70
	Tostaree	\$5.80	\$2.90	\$11.40	\$5.70
	Nowa Nowa	\$4.40	\$2.20	\$8.80	\$4.40
	Lake Tyers turn-off	\$3.00	\$1.50	\$6.00	\$3.00
	Lakes Entrance	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna	\$3.00	\$1.50	\$6.00	\$3.00
	Forestech	\$3.00	\$1.50	\$6.00	\$3.00
	Swan Reach	\$4.00	\$2.00	\$8.00	\$4.00
	Johnsonville	\$4.40	\$2.20	\$8.80	\$4.40
Forestech	Nicholson	\$5.80	\$2.90	\$11.40	\$5.70
	Bairnsdale	\$8.00	\$4.00	\$11.40	\$5.70
	Marlo	\$11.40	\$5.70	\$11.40	\$5.70
	Orbost	\$11.40	\$5.70	\$11.40	\$5.70
	Newmerella	\$11.40	\$5.70	\$11.40	\$5.70
	Waygara	\$9.60	\$4.80	\$11.40	\$5.70
	Tostaree	\$6.60	\$3.30	\$11.40	\$5.70
	Nowa Nowa	\$5.80	\$2.90	\$11.40	\$5.70
	Lake Tyers turn-off	\$4.00	\$2.00	\$8.00	\$4.00
	Lakes Entrance	\$4.00	\$2.00	\$8.00	\$4.00
	Kalimna	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna West	\$3.00	\$1.50	\$6.00	\$3.00
	Swan Reach	\$3.00	\$1.50	\$6.00	\$3.00
	Johnsonville	\$4.00	\$2.00	\$8.00	\$4.00
	Nicholson	\$5.80	\$2.90	\$11.40	\$5.70
	Bairnsdale	\$8.00	\$4.00	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Swan Reach	Marlo	\$11.40	\$5.70	\$11.40	\$5.70
	Orbost	\$11.40	\$5.70	\$11.40	\$5.70
	Newmerella	\$11.40	\$5.70	\$11.40	\$5.70
	Waygara	\$11.40	\$5.70	\$11.40	\$5.70
	Tostaree	\$8.00	\$4.00	\$11.40	\$5.70
	Nowa Nowa	\$6.60	\$3.30	\$11.40	\$5.70
	Lake Tyers turn-off	\$4.40	\$2.20	\$8.80	\$4.40
	Lakes Entrance	\$4.40	\$2.20	\$8.80	\$4.40
	Kalimna	\$4.00	\$2.00	\$8.00	\$4.00
	Kalimna West	\$4.00	\$2.00	\$8.00	\$4.00
	Forestech	\$3.00	\$1.50	\$6.00	\$3.00
	Johnsonville	\$3.00	\$1.50	\$6.00	\$3.00
	Nicholson	\$4.40	\$2.20	\$8.80	\$4.40
	Bairnsdale	\$6.60	\$3.30	\$11.40	\$5.70
Johnsonville	Marlo	\$11.40	\$5.70	\$11.40	\$5.70
	Orbost	\$11.40	\$5.70	\$11.40	\$5.70
	Newmerella	\$11.40	\$5.70	\$11.40	\$5.70
	Waygara	\$11.40	\$5.70	\$11.40	\$5.70
	Tostaree	\$9.60	\$4.80	\$11.40	\$5.70
	Nowa Nowa	\$8.00	\$4.00	\$11.40	\$5.70
	Lake Tyers turn-off	\$5.80	\$2.90	\$11.40	\$5.70
	Lakes Entrance	\$5.80	\$2.90	\$11.40	\$5.70
	Kalimna	\$4.40	\$2.20	\$8.80	\$4.40
	Kalimna West	\$4.40	\$2.20	\$8.80	\$4.40
	Forestech	\$4.00	\$2.00	\$8.00	\$4.00
	Swan Reach	\$3.00	\$1.50	\$6.00	\$3.00
	Nicholson	\$4.00	\$2.00	\$8.00	\$4.00
	Bairnsdale	\$5.80	\$2.90	\$11.40	\$5.70
Nicholson	Marlo	\$11.40	\$5.70	\$11.40	\$5.70
	Orbost	\$11.40	\$5.70	\$11.40	\$5.70
	Newmerella	\$11.40	\$5.70	\$11.40	\$5.70
	Waygara	\$11.40	\$5.70	\$11.40	\$5.70
	Tostaree	\$11.40	\$5.70	\$11.40	\$5.70
	Nowa Nowa	\$9.60	\$4.80	\$11.40	\$5.70
	Lake Tyers turn-off	\$6.60	\$3.30	\$11.40	\$5.70
	Lakes Entrance	\$6.60	\$3.30	\$11.40	\$5.70
	Kalimna	\$6.60	\$3.30	\$11.40	\$5.70
	Kalimna West	\$5.80	\$2.90	\$11.40	\$5.70
	Forestech	\$5.80	\$2.90	\$11.40	\$5.70
	Swan Reach	\$4.40	\$2.20	\$8.80	\$4.40
	Johnsonville	\$4.00	\$2.00	\$8.00	\$4.00
	Bairnsdale	\$4.00	\$2.00	\$8.00	\$4.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Bairnsdale	Marlo	\$11.40	\$5.70	\$11.40	\$5.70
	Orbost	\$11.40	\$5.70	\$11.40	\$5.70
	Newmerella	\$11.40	\$5.70	\$11.40	\$5.70
	Waygara	\$11.40	\$5.70	\$11.40	\$5.70
	Tostaree	\$11.40	\$5.70	\$11.40	\$5.70
	Nowa Nowa	\$11.40	\$5.70	\$11.40	\$5.70
	Lake Tyers turn-off	\$9.60	\$4.80	\$11.40	\$5.70
	Lakes Entrance	\$9.60	\$4.80	\$11.40	\$5.70
	Kalimna	\$9.60	\$4.80	\$11.40	\$5.70
	Kalimna West	\$8.00	\$4.00	\$11.40	\$5.70
	Forestech	\$8.00	\$4.00	\$11.40	\$5.70
	Swan Reach	\$6.60	\$3.30	\$11.40	\$5.70
	Johnsonville	\$5.80	\$2.90	\$11.40	\$5.70
	Nicholson	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Lakes Entrance – Johnsonville (school service)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Lakes Entrance	Kalimna	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna West	\$3.00	\$1.50	\$6.00	\$3.00
	Forestech	\$4.00	\$2.00	\$8.00	\$4.00
	Swan Reach	\$4.40	\$2.20	\$8.80	\$4.40
	Johnsonville	\$5.80	\$2.90	\$11.40	\$5.70
Kalimna	Lakes Entrance	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna West	\$3.00	\$1.50	\$6.00	\$3.00
	Forestech	\$3.00	\$1.50	\$6.00	\$3.00
	Swan Reach	\$4.00	\$2.00	\$8.00	\$4.00
	Johnsonville	\$4.40	\$2.20	\$8.80	\$4.40
Kalimna West	Lakes Entrance	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna	\$3.00	\$1.50	\$6.00	\$3.00
	Forestech	\$3.00	\$1.50	\$6.00	\$3.00
	Swan Reach	\$4.00	\$2.00	\$8.00	\$4.00
	Johnsonville	\$4.40	\$2.20	\$8.80	\$4.40
Forestech	Lakes Entrance	\$4.00	\$2.00	\$8.00	\$4.00
	Kalimna	\$3.00	\$1.50	\$6.00	\$3.00
	Kalimna West	\$3.00	\$1.50	\$6.00	\$3.00
	Swan Reach	\$3.00	\$1.50	\$6.00	\$3.00
	Johnsonville	\$4.00	\$2.00	\$8.00	\$4.00
Swan Reach	Lakes Entrance	\$4.40	\$2.20	\$8.80	\$4.40
	Kalimna	\$4.00	\$2.00	\$8.00	\$4.00
	Kalimna West	\$4.00	\$2.00	\$8.00	\$4.00
	Forestech	\$3.00	\$1.50	\$6.00	\$3.00
	Johnsonville	\$3.00	\$1.50	\$6.00	\$3.00
Johnsonville	Lakes Entrance	\$5.80	\$2.90	\$11.40	\$5.70
	Kalimna	\$4.40	\$2.20	\$8.80	\$4.40
	Kalimna West	\$4.40	\$2.20	\$8.80	\$4.40
	Forestech	\$4.00	\$2.00	\$8.00	\$4.00
	Swan Reach	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Moe – Morwell – Traralgon (myki fares)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Moe	Newborough	\$3.00	\$1.50	\$6.00	\$3.00
	Morwell	\$4.00	\$2.00	\$8.00	\$4.00
	Mid Valley Shopping Centre	\$4.00	\$2.00	\$8.00	\$4.00
	Latrobe Hospital	\$4.00	\$2.00	\$8.00	\$4.00
	Traralgon	\$4.40	\$2.20	\$8.80	\$4.40
Newborough	Moe	\$3.00	\$1.50	\$6.00	\$3.00
	Morwell	\$4.00	\$2.00	\$8.00	\$4.00
	Mid Valley Shopping Centre	\$4.00	\$2.00	\$8.00	\$4.00
	Latrobe Hospital	\$4.00	\$2.00	\$8.00	\$4.00
	Traralgon	\$4.40	\$2.20	\$8.80	\$4.40
Morwell	Moe	\$4.00	\$2.00	\$8.00	\$4.00
	Newborough	\$4.00	\$2.00	\$8.00	\$4.00
	Mid Valley Shopping Centre	\$3.00	\$1.50	\$6.00	\$3.00
	Latrobe Hospital	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon	\$4.00	\$2.00	\$8.00	\$4.00
Mid Valley Shopping Centre	Moe	\$4.00	\$2.00	\$8.00	\$4.00
	Newborough	\$4.00	\$2.00	\$8.00	\$4.00
	Morwell	\$3.00	\$1.50	\$6.00	\$3.00
	Latrobe Hospital	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon	\$4.00	\$2.00	\$8.00	\$4.00
Latrobe Hospital	Moe	\$4.00	\$2.00	\$8.00	\$4.00
	Newborough	\$4.00	\$2.00	\$8.00	\$4.00
	Morwell	\$3.00	\$1.50	\$6.00	\$3.00
	Mid Valley Shopping Centre	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon	\$3.00	\$1.50	\$6.00	\$3.00
Traralgon	Moe	\$4.40	\$2.20	\$8.80	\$4.40
	Newborough	\$4.40	\$2.20	\$8.80	\$4.40
	Morwell	\$4.00	\$2.00	\$8.00	\$4.00
	Mid Valley Shopping Centre	\$4.00	\$2.00	\$8.00	\$4.00
	Latrobe Hospital	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Moe – Traralgon via Yallourn North (myki fares)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Moe	Newborough	\$3.00	\$1.50	\$6.00	\$3.00
	Yallourn North	\$4.00	\$2.00	\$8.00	\$4.00
	Tyers	\$5.80	\$2.90	\$11.40	\$5.70
	Traralgon	\$4.40	\$2.20	\$8.80	\$4.40
Newborough	Moe	\$3.00	\$1.50	\$6.00	\$3.00
	Yallourn North	\$4.00	\$2.00	\$8.00	\$4.00
	Tyers	\$5.80	\$2.90	\$11.40	\$5.70
	Traralgon	\$4.40	\$2.20	\$8.80	\$4.40
Yallourn North	Moe	\$4.00	\$2.00	\$8.00	\$4.00
	Newborough	\$4.00	\$2.00	\$8.00	\$4.00
	Tyers	\$4.40	\$2.20	\$8.80	\$4.40
	Traralgon	\$4.00	\$2.00	\$8.00	\$4.00
Tyers	Moe	\$5.80	\$2.90	\$11.40	\$5.70
	Newborough	\$5.80	\$2.90	\$11.40	\$5.70
	Yallourn North	\$4.40	\$2.20	\$8.80	\$4.40
	Traralgon	\$3.00	\$1.50	\$6.00	\$3.00
Traralgon	Moe	\$4.40	\$2.20	\$8.80	\$4.40
	Newborough	\$4.40	\$2.20	\$8.80	\$4.40
	Yallourn North	\$4.00	\$2.00	\$8.00	\$4.00
	Tyers	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Noojee – Warragul

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Noojee	Neerim North	\$3.00	\$1.50	\$6.00	\$3.00
	Neerim Junction	\$4.00	\$2.00	\$8.00	\$4.00
	Neerim	\$4.00	\$2.00	\$8.00	\$4.00
	Neerim South	\$5.80	\$2.90	\$11.40	\$5.70
	Crossover	\$5.80	\$2.90	\$11.40	\$5.70
	Rokeby	\$6.60	\$3.30	\$11.40	\$5.70
	Bravington	\$6.60	\$3.30	\$11.40	\$5.70
	Buln Buln	\$6.60	\$3.30	\$11.40	\$5.70
	Lillico	\$8.00	\$4.00	\$11.40	\$5.70
	Warragul	\$9.60	\$4.80	\$11.40	\$5.70
Neerim North	Noojee	\$3.00	\$1.50	\$6.00	\$3.00
	Neerim Junction	\$3.00	\$1.50	\$6.00	\$3.00
	Neerim	\$4.00	\$2.00	\$8.00	\$4.00
	Neerim South	\$4.40	\$2.20	\$8.80	\$4.40
	Crossover	\$4.40	\$2.20	\$8.80	\$4.40
	Rokeby	\$5.80	\$2.90	\$11.40	\$5.70
	Bravington	\$5.80	\$2.90	\$11.40	\$5.70
	Buln Buln	\$5.80	\$2.90	\$11.40	\$5.70
	Lillico	\$6.60	\$3.30	\$11.40	\$5.70
	Warragul	\$8.00	\$4.00	\$11.40	\$5.70
Neerim Junction	Noojee	\$4.00	\$2.00	\$8.00	\$4.00
	Neerim North	\$3.00	\$1.50	\$6.00	\$3.00
	Neerim	\$3.00	\$1.50	\$6.00	\$3.00
	Neerim South	\$4.00	\$2.00	\$8.00	\$4.00
	Crossover	\$4.40	\$2.20	\$8.80	\$4.40
	Rokeby	\$4.40	\$2.20	\$8.80	\$4.40
	Bravington	\$5.80	\$2.90	\$11.40	\$5.70
	Buln Buln	\$5.80	\$2.90	\$11.40	\$5.70
	Lillico	\$5.80	\$2.90	\$11.40	\$5.70
	Warragul	\$6.60	\$3.30	\$11.40	\$5.70
Neerim	Noojee	\$4.00	\$2.00	\$8.00	\$4.00
	Neerim North	\$4.00	\$2.00	\$8.00	\$4.00
	Neerim Junction	\$3.00	\$1.50	\$6.00	\$3.00
	Neerim South	\$4.00	\$2.00	\$8.00	\$4.00
	Crossover	\$4.00	\$2.00	\$8.00	\$4.00
	Rokeby	\$4.40	\$2.20	\$8.80	\$4.40
	Bravington	\$4.40	\$2.20	\$8.80	\$4.40
	Buln Buln	\$4.40	\$2.20	\$8.80	\$4.40
	Lillico	\$5.80	\$2.90	\$11.40	\$5.70
	Warragul	\$6.60	\$3.30	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Neerim South	Noojee	\$5.80	\$2.90	\$11.40	\$5.70
	Neerim North	\$4.40	\$2.20	\$8.80	\$4.40
	Neerim Junction	\$4.00	\$2.00	\$8.00	\$4.00
	Neerim	\$4.00	\$2.00	\$8.00	\$4.00
	Crossover	\$3.00	\$1.50	\$6.00	\$3.00
	Rokeby	\$3.00	\$1.50	\$6.00	\$3.00
	Bravington	\$4.00	\$2.00	\$8.00	\$4.00
	Buln Buln	\$4.00	\$2.00	\$8.00	\$4.00
	Lillico	\$4.40	\$2.20	\$8.80	\$4.40
	Warragul	\$4.40	\$2.20	\$8.80	\$4.40
Crossover	Noojee	\$5.80	\$2.90	\$11.40	\$5.70
	Neerim North	\$4.40	\$2.20	\$8.80	\$4.40
	Neerim Junction	\$4.40	\$2.20	\$8.80	\$4.40
	Neerim	\$4.00	\$2.00	\$8.00	\$4.00
	Neerim South	\$3.00	\$1.50	\$6.00	\$3.00
	Rokeby	\$3.00	\$1.50	\$6.00	\$3.00
	Bravington	\$3.00	\$1.50	\$6.00	\$3.00
	Buln Buln	\$4.00	\$2.00	\$8.00	\$4.00
	Lillico	\$4.00	\$2.00	\$8.00	\$4.00
	Warragul	\$4.40	\$2.20	\$8.80	\$4.40
Rokeby	Noojee	\$6.60	\$3.30	\$11.40	\$5.70
	Neerim North	\$5.80	\$2.90	\$11.40	\$5.70
	Neerim Junction	\$4.40	\$2.20	\$8.80	\$4.40
	Neerim	\$4.40	\$2.20	\$8.80	\$4.40
	Neerim South	\$3.00	\$1.50	\$6.00	\$3.00
	Crossover	\$3.00	\$1.50	\$6.00	\$3.00
	Bravington	\$3.00	\$1.50	\$6.00	\$3.00
	Buln Buln	\$3.00	\$1.50	\$6.00	\$3.00
	Lillico	\$4.00	\$2.00	\$8.00	\$4.00
	Warragul	\$4.00	\$2.00	\$8.00	\$4.00
Bravington	Noojee	\$6.60	\$3.30	\$11.40	\$5.70
	Neerim North	\$5.80	\$2.90	\$11.40	\$5.70
	Neerim Junction	\$5.80	\$2.90	\$11.40	\$5.70
	Neerim	\$4.40	\$2.20	\$8.80	\$4.40
	Neerim South	\$4.00	\$2.00	\$8.00	\$4.00
	Crossover	\$3.00	\$1.50	\$6.00	\$3.00
	Rokeby	\$3.00	\$1.50	\$6.00	\$3.00
	Buln Buln	\$3.00	\$1.50	\$6.00	\$3.00
	Lillico	\$3.00	\$1.50	\$6.00	\$3.00
	Warragul	\$4.00	\$2.00	\$8.00	\$4.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Buln Buln	Noojee	\$6.60	\$3.30	\$11.40	\$5.70
	Neerim North	\$5.80	\$2.90	\$11.40	\$5.70
	Neerim Junction	\$5.80	\$2.90	\$11.40	\$5.70
	Neerim	\$4.40	\$2.20	\$8.80	\$4.40
	Neerim South	\$4.00	\$2.00	\$8.00	\$4.00
	Crossover	\$4.00	\$2.00	\$8.00	\$4.00
	Rokeby	\$3.00	\$1.50	\$6.00	\$3.00
	Bravington	\$3.00	\$1.50	\$6.00	\$3.00
	Lillico	\$3.00	\$1.50	\$6.00	\$3.00
	Warragul	\$4.00	\$2.00	\$8.00	\$4.00
Lillico	Noojee	\$8.00	\$4.00	\$11.40	\$5.70
	Neerim North	\$6.60	\$3.30	\$11.40	\$5.70
	Neerim Junction	\$5.80	\$2.90	\$11.40	\$5.70
	Neerim	\$5.80	\$2.90	\$11.40	\$5.70
	Neerim South	\$4.40	\$2.20	\$8.80	\$4.40
	Crossover	\$4.00	\$2.00	\$8.00	\$4.00
	Rokeby	\$4.00	\$2.00	\$8.00	\$4.00
	Bravington	\$3.00	\$1.50	\$6.00	\$3.00
	Buln Buln	\$3.00	\$1.50	\$6.00	\$3.00
	Warragul	\$3.00	\$1.50	\$6.00	\$3.00
Warragul	Noojee	\$9.60	\$4.80	\$11.40	\$5.70
	Neerim North	\$8.00	\$4.00	\$11.40	\$5.70
	Neerim Junction	\$6.60	\$3.30	\$11.40	\$5.70
	Neerim	\$6.60	\$3.30	\$11.40	\$5.70
	Neerim South	\$4.40	\$2.20	\$8.80	\$4.40
	Crossover	\$4.40	\$2.20	\$8.80	\$4.40
	Rokeby	\$4.00	\$2.00	\$8.00	\$4.00
	Bravington	\$4.00	\$2.00	\$8.00	\$4.00
	Buln Buln	\$4.00	\$2.00	\$8.00	\$4.00
	Lillico	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Omeo – Bright

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Omeo	Cobungra	\$4.40	\$2.20	\$8.80	\$4.40
	Dinner Plain	\$6.60	\$3.30	\$11.40	\$5.70
	Mount Hotham	\$8.00	\$4.00	\$11.40	\$5.70
	Harrietville	\$11.40	\$5.70	\$11.40	\$5.70
	Bright	\$11.40	\$5.70	\$11.40	\$5.70
Cobungra	Omeo	\$4.40	\$2.20	\$8.80	\$4.40
	Dinner Plain	\$4.00	\$2.00	\$8.00	\$4.00
	Mount Hotham	\$4.40	\$2.20	\$8.80	\$4.40
	Harrietville	\$8.00	\$4.00	\$11.40	\$5.70
	Bright	\$11.40	\$5.70	\$11.40	\$5.70
Dinner Plain	Omeo	\$6.60	\$3.30	\$11.40	\$5.70
	Cobungra	\$4.00	\$2.00	\$8.00	\$4.00
	Mount Hotham	\$4.00	\$2.00	\$8.00	\$4.00
	Harrietville	\$5.80	\$2.90	\$11.40	\$5.70
	Bright	\$9.60	\$4.80	\$11.40	\$5.70
Mount Hotham	Omeo	\$8.00	\$4.00	\$11.40	\$5.70
	Cobungra	\$4.40	\$2.20	\$8.80	\$4.40
	Dinner Plain	\$4.00	\$2.00	\$8.00	\$4.00
	Harrietville	\$4.40	\$2.20	\$8.80	\$4.40
	Bright	\$6.60	\$3.30	\$11.40	\$5.70
Harrietville	Omeo	\$11.40	\$5.70	\$11.40	\$5.70
	Cobungra	\$8.00	\$4.00	\$11.40	\$5.70
	Dinner Plain	\$5.80	\$2.90	\$11.40	\$5.70
	Mount Hotham	\$4.40	\$2.20	\$8.80	\$4.40
	Bright	\$4.40	\$2.20	\$8.80	\$4.40
Bright	Omeo	\$11.40	\$5.70	\$11.40	\$5.70
	Cobungra	\$11.40	\$5.70	\$11.40	\$5.70
	Dinner Plain	\$9.60	\$4.80	\$11.40	\$5.70
	Mount Hotham	\$6.60	\$3.30	\$11.40	\$5.70
	Harrietville	\$4.40	\$2.20	\$8.80	\$4.40

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Paynesville – Bairnsdale

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Paynesville	Eagle Point	\$3.00	\$1.50	\$6.00	\$3.00
	Bairnsdale	\$4.00	\$2.00	\$8.00	\$4.00
Eagle Point	Paynesville	\$3.00	\$1.50	\$6.00	\$3.00
	Bairnsdale	\$3.00	\$1.50	\$6.00	\$3.00
Bairnsdale	Paynesville	\$4.00	\$2.00	\$8.00	\$4.00
	Eagle Point	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Poowong – Warragul

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Poowong East	Poowong	\$4.00	\$2.00	\$8.00	\$4.00
	Timms Rd – Poowong	\$4.00	\$2.00	\$8.00	\$4.00
	Athlone Primary School	\$4.40	\$2.20	\$8.80	\$4.40
	Ripplebrook	\$5.80	\$2.90	\$11.40	\$5.70
	Drouin South	\$6.60	\$3.30	\$11.40	\$5.70
	Drouin Station	\$6.60	\$3.30	\$11.40	\$5.70
	Bus interchange – Warragul	\$8.00	\$4.00	\$11.40	\$5.70
Poowong	Poowong East	\$4.00	\$2.00	\$8.00	\$4.00
	Timms Rd – Poowong	\$3.00	\$1.50	\$6.00	\$3.00
	Athlone Primary School	\$4.00	\$2.00	\$8.00	\$4.00
	Ripplebrook	\$4.40	\$2.20	\$8.80	\$4.40
	Drouin South	\$5.80	\$2.90	\$11.40	\$5.70
	Drouin Station	\$5.80	\$2.90	\$11.40	\$5.70
	Bus interchange – Warragul	\$6.60	\$3.30	\$11.40	\$5.70
Timms Rd – Poowong	Poowong East	\$4.00	\$2.00	\$8.00	\$4.00
	Poowong	\$3.00	\$1.50	\$6.00	\$3.00
	Athlone Primary School	\$3.00	\$1.50	\$6.00	\$3.00
	Ripplebrook	\$4.00	\$2.00	\$8.00	\$4.00
	Drouin South	\$4.40	\$2.20	\$8.80	\$4.40
	Drouin Station	\$5.80	\$2.90	\$11.40	\$5.70
	Bus interchange – Warragul	\$6.60	\$3.30	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Athlone Primary School	Poowong East	\$4.40	\$2.20	\$8.80	\$4.40
	Poowong	\$4.00	\$2.00	\$8.00	\$4.00
	Timms Rd – Poowong	\$3.00	\$1.50	\$6.00	\$3.00
	Ripplebrook	\$3.00	\$1.50	\$6.00	\$3.00
	Drouin South	\$4.00	\$2.00	\$8.00	\$4.00
	Drouin Station	\$4.40	\$2.20	\$8.80	\$4.40
	Bus interchange – Warragul	\$5.80	\$2.90	\$11.40	\$5.70
Ripplebrook	Poowong East	\$5.80	\$2.90	\$11.40	\$5.70
	Poowong	\$4.40	\$2.20	\$8.80	\$4.40
	Timms Rd – Poowong	\$4.00	\$2.00	\$8.00	\$4.00
	Athlone Primary School	\$3.00	\$1.50	\$6.00	\$3.00
	Drouin South	\$3.00	\$1.50	\$6.00	\$3.00
	Drouin Station	\$4.00	\$2.00	\$8.00	\$4.00
	Bus interchange – Warragul	\$4.40	\$2.20	\$8.80	\$4.40
Drouin South	Poowong East	\$6.60	\$3.30	\$11.40	\$5.70
	Poowong	\$5.80	\$2.90	\$11.40	\$5.70
	Timms Rd – Poowong	\$4.40	\$2.20	\$8.80	\$4.40
	Athlone Primary School	\$4.00	\$2.00	\$8.00	\$4.00
	Ripplebrook	\$3.00	\$1.50	\$6.00	\$3.00
	Drouin Station	\$3.00	\$1.50	\$6.00	\$3.00
	Bus interchange – Warragul	\$4.00	\$2.00	\$8.00	\$4.00
Drouin Station	Poowong East	\$6.60	\$3.30	\$11.40	\$5.70
	Poowong	\$5.80	\$2.90	\$11.40	\$5.70
	Timms Rd – Poowong	\$5.80	\$2.90	\$11.40	\$5.70
	Athlone Primary School	\$4.40	\$2.20	\$8.80	\$4.40
	Ripplebrook	\$4.00	\$2.00	\$8.00	\$4.00
	Drouin South (Hall)	\$3.00	\$1.50	\$6.00	\$3.00
	Bus interchange – Warragul	\$3.00	\$1.50	\$6.00	\$3.00
Bus interchange – Warragul	Poowong East	\$8.00	\$4.00	\$11.40	\$5.70
	Poowong	\$6.60	\$3.30	\$11.40	\$5.70
	Timms Rd – Poowong	\$6.60	\$3.30	\$11.40	\$5.70
	Athlone Primary School	\$5.80	\$2.90	\$11.40	\$5.70
	Ripplebrook	\$4.40	\$2.20	\$8.80	\$4.40
	Drouin South	\$4.00	\$2.00	\$8.00	\$4.00
	Drouin Station	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Sale – Loch Sport

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Sale	Longford	\$3.00	\$1.50	\$6.00	\$3.00
	Golden Beach	\$5.80	\$2.90	\$11.40	\$5.70
	Paradise Beach	\$6.60	\$3.30	\$11.40	\$5.70
	Loch Sport	\$11.40	\$5.70	\$11.40	\$5.70
Longford	Sale	\$3.00	\$1.50	\$6.00	\$3.00
	Golden Beach	\$4.40	\$2.20	\$8.80	\$4.40
	Paradise Beach	\$5.80	\$2.90	\$11.40	\$5.70
	Loch Sport	\$9.60	\$4.80	\$11.40	\$5.70
Golden Beach	Sale	\$5.80	\$2.90	\$11.40	\$5.70
	Longford	\$4.40	\$2.20	\$8.80	\$4.40
	Paradise Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Loch Sport	\$5.80	\$2.90	\$11.40	\$5.70
Paradise Beach	Sale	\$6.60	\$3.30	\$11.40	\$5.70
	Longford	\$5.80	\$2.90	\$11.40	\$5.70
	Golden Beach	\$3.00	\$1.50	\$6.00	\$3.00
	Loch Sport	\$5.80	\$2.90	\$11.40	\$5.70
Loch Sport	Sale	\$11.40	\$5.70	\$11.40	\$5.70
	Longford	\$9.60	\$4.80	\$11.40	\$5.70
	Golden Beach	\$5.80	\$2.90	\$11.40	\$5.70
	Paradise Beach	\$5.80	\$2.90	\$11.40	\$5.70

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Sale – Maffra – Tyers – Traralgon

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Sale	Maffra	\$3.00	\$1.50	\$6.00	\$3.00
	Tinamba	\$3.00	\$1.50	\$6.00	\$3.00
	Heyfield	\$4.00	\$2.00	\$8.00	\$4.00
	Cowwarr	\$4.40	\$2.20	\$8.80	\$4.40
	Toongabbie	\$5.80	\$2.90	\$11.40	\$5.70
	Glengarry	\$5.80	\$2.90	\$11.40	\$5.70
	Tyers Primary School	\$6.60	\$3.30	\$11.40	\$5.70
	Traralgon	\$6.60	\$3.30	\$11.40	\$5.70
Maffra	Sale	\$3.00	\$1.50	\$6.00	\$3.00
	Tinamba	\$3.00	\$1.50	\$6.00	\$3.00
	Heyfield	\$4.00	\$2.00	\$8.00	\$4.00
	Cowwarr	\$4.40	\$2.20	\$8.80	\$4.40
	Toongabbie	\$5.80	\$2.90	\$11.40	\$5.70
	Glengarry	\$5.80	\$2.90	\$11.40	\$5.70
	Tyers Primary School	\$6.60	\$3.30	\$11.40	\$5.70
	Traralgon	\$6.60	\$3.30	\$11.40	\$5.70
Tinamba	Sale	\$3.00	\$1.50	\$6.00	\$3.00
	Maffra	\$3.00	\$1.50	\$6.00	\$3.00
	Heyfield	\$3.00	\$1.50	\$6.00	\$3.00
	Cowwarr	\$4.40	\$2.20	\$8.80	\$4.40
	Toongabbie	\$4.40	\$2.20	\$8.80	\$4.40
	Glengarry	\$5.80	\$2.90	\$11.40	\$5.70
	Tyers Primary School	\$6.60	\$3.30	\$11.40	\$5.70
	Traralgon	\$6.60	\$3.30	\$11.40	\$5.70
Heyfield	Sale	\$4.00	\$2.00	\$8.00	\$4.00
	Maffra	\$4.00	\$2.00	\$8.00	\$4.00
	Tinamba	\$3.00	\$1.50	\$6.00	\$3.00
	Cowwarr	\$4.00	\$2.00	\$8.00	\$4.00
	Toongabbie	\$4.00	\$2.00	\$8.00	\$4.00
	Glengarry	\$4.40	\$2.20	\$8.80	\$4.40
	Tyers Primary School	\$5.80	\$2.90	\$11.40	\$5.70
	Traralgon	\$5.80	\$2.90	\$11.40	\$5.70

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Cowwarr	Sale	\$4.40	\$2.20	\$8.80	\$4.40
	Maffra	\$4.40	\$2.20	\$8.80	\$4.40
	Tinamba	\$4.40	\$2.20	\$8.80	\$4.40
	Heyfield	\$4.00	\$2.00	\$8.00	\$4.00
	Toongabbie	\$3.00	\$1.50	\$6.00	\$3.00
	Glengarry	\$4.00	\$2.00	\$8.00	\$4.00
	Tyers Primary School	\$4.40	\$2.20	\$8.80	\$4.40
	Traralgon	\$4.40	\$2.20	\$8.80	\$4.40
Toongabbie	Sale	\$5.80	\$2.90	\$11.40	\$5.70
	Maffra	\$5.80	\$2.90	\$11.40	\$5.70
	Tinamba	\$4.40	\$2.20	\$8.80	\$4.40
	Heyfield	\$4.00	\$2.00	\$8.00	\$4.00
	Cowwarr	\$3.00	\$1.50	\$6.00	\$3.00
	Glengarry	\$3.00	\$1.50	\$6.00	\$3.00
	Tyers Primary School	\$4.00	\$2.00	\$8.00	\$4.00
	Traralgon	\$4.00	\$2.00	\$8.00	\$4.00
Glengarry	Sale	\$5.80	\$2.90	\$11.40	\$5.70
	Maffra	\$5.80	\$2.90	\$11.40	\$5.70
	Tinamba	\$5.80	\$2.90	\$11.40	\$5.70
	Heyfield	\$4.40	\$2.20	\$8.80	\$4.40
	Cowwarr	\$4.00	\$2.00	\$8.00	\$4.00
	Toongabbie	\$3.00	\$1.50	\$6.00	\$3.00
	Tyers Primary School	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon	\$3.00	\$1.50	\$6.00	\$3.00
Tyers Primary School	Sale	\$6.60	\$3.30	\$11.40	\$5.70
	Maffra	\$6.60	\$3.30	\$11.40	\$5.70
	Tinamba	\$6.60	\$3.30	\$11.40	\$5.70
	Heyfield	\$5.80	\$2.90	\$11.40	\$5.70
	Cowwarr	\$4.40	\$2.20	\$8.80	\$4.40
	Toongabbie	\$4.00	\$2.00	\$8.00	\$4.00
	Glengarry	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon	\$3.00	\$1.50	\$6.00	\$3.00

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Traralgon	Sale	\$6.60	\$3.30	\$11.40	\$5.70
	Maffra	\$6.60	\$3.30	\$11.40	\$5.70
	Tinamba	\$6.60	\$3.30	\$11.40	\$5.70
	Heyfield	\$5.80	\$2.90	\$11.40	\$5.70
	Cowwarr	\$4.40	\$2.20	\$8.80	\$4.40
	Toongabbie	\$4.00	\$2.00	\$8.00	\$4.00
	Glengarry	\$3.00	\$1.50	\$6.00	\$3.00
	Tyers Primary School	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Sale – Seaspray

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Sale	Longford	\$3.00	\$1.50	\$6.00	\$3.00
	Seaspray	\$5.80	\$2.90	\$11.40	\$5.70
Longford	Sale	\$3.00	\$1.50	\$6.00	\$3.00
	Seaspray	\$4.40	\$2.20	\$8.80	\$4.40
Seaspray	Sale	\$5.80	\$2.90	\$11.40	\$5.70
	Longford	\$4.40	\$2.20	\$8.80	\$4.40

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Sale – Stratford

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Sale	Stratford	\$4.00	\$2.00	\$8.00	\$4.00
Stratford	Sale	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## San Remo – Cowes (flat fee service)

		Cowes	Wimbledon Heights	Sunset Strip	Sunderland Bay	Rhyll	Cape Woolamai	Newhaven	San Remo
Single									
San Remo	Full	\$4.40	\$4.40	\$4.00	\$4.00	\$4.00	\$3.00	\$3.00	
	Conc.	\$2.20	\$2.20	\$2.00	\$2.00	\$2.00	\$1.50	\$1.50	
Newhaven	Full	\$4.40	\$4.40	\$4.00	\$4.00	\$3.00	\$3.00		\$6.00
	Conc.	\$2.20	\$2.20	\$2.00	\$2.00	\$1.50	\$1.50		\$3.00
Cape Woolamai	Full	\$4.40	\$4.00	\$4.00	\$4.00	\$3.00		\$6.00	\$6.00
	Conc.	\$2.20	\$2.00	\$2.00	\$2.00	\$1.50		\$3.00	\$3.00
Rhyll	Full	\$4.00	\$3.00	\$3.00	\$3.00		\$6.00	\$6.00	\$8.00
	Conc.	\$2.00	\$1.50	\$1.50	\$1.50		\$3.00	\$3.00	\$4.00
Sunderland Bay	Full	\$3.00	\$3.00	\$3.00		\$6.00	\$8.00	\$8.00	\$8.00
	Conc.	\$1.50	\$1.50	\$1.50		\$3.00	\$4.00	\$4.00	\$4.00
Sunset Strip	Full	\$3.00	\$3.00		\$6.00	\$6.00	\$8.00	\$8.00	\$8.00
	Conc.	\$1.50	\$1.50		\$3.00	\$3.00	\$4.00	\$4.00	\$4.00
Wimbledon Heights	Full	\$3.00		\$6.00	\$6.00	\$6.00	\$8.00	\$8.80	\$8.80
	Conc.	\$1.50		\$3.00	\$3.00	\$3.00	\$4.00	\$4.40	\$4.40
Cowes	Full		\$6.00	\$6.00	\$6.00	\$8.00	\$8.80	\$8.80	\$8.80
	Conc.		\$3.00	\$3.00	\$3.00	\$4.00	\$4.40	\$4.40	\$4.40
Return fare									

## Traralgon – Churchill (includes Churchill to Boolarra) (myki fares)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Traralgon	Hazelwood North	\$4.00	\$2.00	\$8.00	\$4.00
	Churchill	\$4.00	\$2.00	\$8.00	\$4.00
	Boolarra	\$4.40	\$2.20	\$8.80	\$4.40
Hazelwood North	Traralgon	\$4.00	\$2.00	\$8.00	\$4.00
	Churchill	\$3.00	\$1.50	\$6.00	\$3.00
	Boolarra	\$4.00	\$2.00	\$8.00	\$4.00
Churchill	Traralgon	\$4.00	\$2.00	\$8.00	\$4.00
	Hazelwood North	\$3.00	\$1.50	\$6.00	\$3.00
	Boolarra	\$4.00	\$2.00	\$8.00	\$4.00
Boolarra	Traralgon	\$4.40	\$2.20	\$8.80	\$4.40
	Hazelwood North	\$4.00	\$2.00	\$8.00	\$4.00
	Churchill	\$4.00	\$2.00	\$8.00	\$4.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Traralgon South – Traralgon (myki fares)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Traralgon South	Shakespeare St (Hyland Hwy) – Traralgon	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon Station	\$3.00	\$1.50	\$6.00	\$3.00
	Church St – Traralgon	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon Plaza	\$3.00	\$1.50	\$6.00	\$3.00
Shakespeare St (Hyland Hwy) – Traralgon	Traralgon South	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon Station	\$3.00	\$1.50	\$6.00	\$3.00
	Church St – Traralgon	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon Plaza	\$3.00	\$1.50	\$6.00	\$3.00
Traralgon Station	Traralgon South	\$3.00	\$1.50	\$6.00	\$3.00
	Shakespeare St (Hyland Hwy) – Traralgon	\$3.00	\$1.50	\$6.00	\$3.00
	Church St – Traralgon	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon Plaza	\$3.00	\$1.50	\$6.00	\$3.00
Church St – Traralgon	Traralgon South	\$3.00	\$1.50	\$6.00	\$3.00
	Shakespeare St (Hyland Hwy) – Traralgon	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon Station	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon Plaza	\$3.00	\$1.50	\$6.00	\$3.00
Traralgon Plaza	Traralgon South	\$3.00	\$1.50	\$6.00	\$3.00
	Shakespeare St (Hyland Hwy) – Traralgon	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon Station	\$3.00	\$1.50	\$6.00	\$3.00
	Church St – Traralgon	\$3.00	\$1.50	\$6.00	\$3.00

## Tyers – Traralgon (myki fares)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Tyers Town Centre	Traralgon Plaza	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon Station	\$3.00	\$1.50	\$6.00	\$3.00
Traralgon Plaza	Tyers Town Centre	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon Station	\$3.00	\$1.50	\$6.00	\$3.00
Traralgon Station	Tyers Town Centre	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon Plaza	\$3.00	\$1.50	\$6.00	\$3.00

## Wonthaggi – Cape Paterson – Inverloch – Leongatha (school service)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (Concession)
Wonthaggi	Cape Paterson	\$3.00	\$1.50	\$6.00	\$3.00
	Inverloch	\$4.00	\$2.00	\$8.00	\$4.00
	Leongatha	\$5.80	\$2.90	\$11.40	\$5.70
Cape Paterson	Wonthaggi	\$3.00	\$1.50	\$6.00	\$3.00
	Inverloch	\$3.00	\$1.50	\$6.00	\$3.00
	Leongatha	\$5.80	\$2.90	\$11.40	\$5.70
Inverloch	Wonthaggi	\$4.00	\$2.00	\$8.00	\$4.00
	Cape Paterson	\$3.00	\$1.50	\$6.00	\$3.00
	Leongatha	\$4.40	\$2.20	\$8.80	\$4.40
Leongatha	Wonthaggi	\$5.80	\$2.90	\$11.40	\$5.70
	Cape Paterson	\$5.80	\$2.90	\$11.40	\$5.70
	Inverloch	\$4.40	\$2.20	\$8.80	\$4.40

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Wonthaggi Town Service (Cape Paterson)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Cape Paterson	Wonthaggi	\$3.00	\$1.50	\$6.00	\$3.00
Wonthaggi	Cape Paterson	\$3.00	\$1.50	\$6.00	\$3.00

## Wonthaggi – Inverloch – Leongatha

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Wonthaggi	Inverloch	\$4.00	\$2.00	\$8.00	\$4.00
	Leongatha	\$5.80	\$2.90	\$11.40	\$5.70
Inverloch	Wonthaggi	\$4.00	\$2.00	\$8.00	\$4.00
	Leongatha	\$4.40	\$2.20	\$8.80	\$4.40
Leongatha	Wonthaggi	\$5.80	\$2.90	\$11.40	\$5.70
	Inverloch	\$4.40	\$2.20	\$8.80	\$4.40

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Wonthaggi – Traralgon (includes Inverloch – Leongatha, Wonthaggi – Inverloch and Wonthaggi – Leongatha)

		Traralgon	Latrobe Hospital	Mid Valley Shopping Centre	Morwell	Mirboo Nth	Leongatha	Inverloch	Wonthaggi
		Single							
Wonthaggi	Full	\$11.40	\$11.40	\$11.40	\$11.40	\$9.60	\$5.80	\$3.00	
	Conc.	\$5.70	\$5.70	\$5.70	\$5.70	\$4.80	\$2.90	\$1.50	
Inverloch	Full	\$11.40	\$11.40	\$11.40	\$11.40	\$6.60	\$4.40		\$6.00
	Conc.	\$5.70	\$5.70	\$5.70	\$5.70	\$3.30	\$2.20		\$3.00
Leongatha	Full	\$9.60	\$9.60	\$8.00	\$8.00	\$4.40		\$8.80	\$11.40
	Conc.	\$4.80	\$4.80	\$4.00	\$4.00	\$2.20		\$4.40	\$5.70
Mirboo Nth	Full	\$6.60	\$5.80	\$5.80	\$4.40		\$8.80	\$11.40	\$11.40
	Conc.	\$3.30	\$2.90	\$2.90	\$2.20		\$4.40	\$5.70	\$5.70
Morwell	Full	\$3.00	\$3.00	\$3.00		\$8.80	\$11.40	\$11.40	\$11.40
	Conc.	\$1.50	\$1.50	\$1.50		\$4.40	\$5.70	\$5.70	\$5.70
Mid Valley Shopping Centre	Full	\$3.00	\$3.00		\$6.00	\$11.40	\$11.40	\$11.40	\$11.40
	Conc.	\$1.50	\$1.50		\$3.00	\$5.70	\$5.70	\$5.70	\$5.70
Latrobe Hospital	Full	\$3.00		\$6.00	\$6.00	\$11.40	\$11.40	\$11.40	\$11.40
	Conc.	\$1.50		\$3.00	\$3.00	\$5.70	\$5.70	\$5.70	\$5.70
Traralgon	Full		\$6.00	\$6.00	\$6.00	\$11.40	\$11.40	\$11.40	\$11.40
	Conc.		\$3.00	\$3.00	\$3.00	\$5.70	\$5.70	\$5.70	\$5.70
		Return fare							

## Yallourn North – Newborough – Moe (school service) (myki fares)

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Yallourn North	Newborough	\$4.00	\$2.00	\$8.00	\$4.00
	Moe	\$4.00	\$2.00	\$8.00	\$4.00
Newborough	Yallourn North	\$4.00	\$2.00	\$8.00	\$4.00
	Moe	\$3.00	\$1.50	\$6.00	\$3.00
Moe	Yallourn North	\$4.00	\$2.00	\$8.00	\$4.00
	Newborough	\$3.00	\$1.50	\$6.00	\$3.00

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays.

## Yarram – Traralgon

From	To	Single (full)	Single (concession)	Daily (full)	Daily (concession)
Yarram	Won Wron	\$4.00	\$2.00	\$8.00	\$4.00
	Woodside turn-off	\$4.40	\$2.20	\$8.80	\$4.40
	Grand Ridge Rd turn-off – Carrajung	\$5.80	\$2.90	\$11.40	\$5.70
	Gormandale	\$5.80	\$2.90	\$11.40	\$5.70
	Traralgon	\$9.60	\$4.80	\$11.40	\$5.70
Won Wron	Yarram	\$4.00	\$2.00	\$8.00	\$4.00
	Woodside turn-off	\$4.00	\$2.00	\$8.00	\$4.00
	Grand Ridge Rd turn-off – Carrajung	\$4.00	\$2.00	\$8.00	\$4.00
	Gormandale	\$4.40	\$2.20	\$8.80	\$4.40
	Traralgon	\$6.60	\$3.30	\$11.40	\$5.70
Woodside turn-off	Yarram	\$4.40	\$2.20	\$8.80	\$4.40
	Won Wron	\$4.00	\$2.00	\$8.00	\$4.00
	Grand Ridge Rd turn-off – Carrajung	\$3.00	\$1.50	\$6.00	\$3.00
	Gormandale	\$4.00	\$2.00	\$8.00	\$4.00
	Traralgon	\$5.80	\$2.90	\$11.40	\$5.70
Grand Ridge Rd turn-off – Carrajung	Yarram	\$5.80	\$2.90	\$11.40	\$5.70
	Won Wron	\$4.00	\$2.00	\$8.00	\$4.00
	Woodside turn-off	\$3.00	\$1.50	\$6.00	\$3.00
	Gormandale	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon	\$4.40	\$2.20	\$8.80	\$4.40
Gormandale	Yarram	\$5.80	\$2.90	\$11.40	\$5.70
	Won Wron	\$4.40	\$2.20	\$8.80	\$4.40
	Woodside turn-off	\$4.00	\$2.00	\$8.00	\$4.00
	Grand Ridge Rd turn-off – Carrajung	\$3.00	\$1.50	\$6.00	\$3.00
	Traralgon	\$4.40	\$2.20	\$8.80	\$4.40
Traralgon	Yarram	\$9.60	\$4.80	\$11.40	\$5.70
	Won Wron	\$6.60	\$3.30	\$11.40	\$5.70
	Woodside turn-off	\$5.80	\$2.90	\$11.40	\$5.70
	Grand Ridge Rd turn-off – Carrajung	\$4.40	\$2.20	\$8.80	\$4.40
	Gormandale	\$4.40	\$2.20	\$8.80	\$4.40

Customers won't pay more than \$8.00 (\$4.00 concession) on weekends and public holidays

# Chapter 6:

## Operator-set fare tables

# Grampians region (west) fare tables

Services operated by private operators are not subject to the regional fare cap. All services listed in Chapter 6 are in this category. The fares for these services are determined by the operator. Customers using services by private operators will pay the operator-set fare for their travel on that service (this may be higher than the regional fare cap) and if transferring to a service operated by, or on behalf of, the Victorian Government, the customer will need to pay the additional fare of the subsidised service up to the regional fare cap amount.

**Please note:** Customers who are not entitled to free travel should always pay a fare, even if travelling only a single stop. When a customer travels between non-listed stops within the same town, a single zone fare is charged (\$3.00 for full fare and \$1.50 for concession).

Due to the large number of stops within Victoria, only major stops are listed in fare tables.

## Ararat – Horsham (includes Stawell – Horsham)

		Horsham	Dadswells Bridge	Stawell	Great Western	Ararat
		Single				
Ararat	Full	\$23.00	\$12.80	\$6.40	\$6.40	
	Conc.	\$11.50	\$6.40	\$3.20	\$3.20	
Great Western	Full	\$17.60	\$8.80	\$4.20		\$13.00
	Conc.	\$8.80	\$4.40	\$2.10		\$6.50
Stawell	Full	\$15.00	\$6.40		\$8.00	\$13.00
	Conc.	\$7.50	\$3.20		\$4.00	\$6.50
Dadswells Bridge	Full	\$8.80		\$13.00	\$17.60	\$25.60
	Conc.	\$4.40		\$6.50	\$8.80	\$12.80
Horsham	Full		\$17.60	\$30.00	\$35.00	\$46.20
	Conc.		\$8.80	\$15.00	\$17.50	\$23.10
Return fare						

## Maryborough to Bendigo via Dunolly

		La Trobe University (Sharon St - Bendigo)	Bendigo Station (Bay 11)	BSSC - Park Rd	Marist College	Marong Hotel	Hazeldene	Laanecoorie	Dunolly	Maryborough Station
		Single								
Maryborough Station	Full	\$20.40	\$20.40	\$20.40	\$20.40	\$20.40	\$20.40	\$18.60	\$14.20	
	Conc.	\$10.20	\$10.20	\$10.20	\$10.20	\$10.20	\$10.20	\$9.30	\$7.10	
Dunolly	Full	\$20.40	\$20.40	\$20.40	\$20.40	\$20.40	\$20.40	\$12.40		\$26.40
	Conc.	\$10.20	\$10.20	\$10.20	\$10.20	\$10.20	\$10.20	\$6.20		\$13.20
Laanecoorie	Full	\$20.40	\$20.40	\$20.40	\$20.40	\$18.60	\$16.20		\$22.40	\$33.40
	Conc.	\$10.20	\$10.20	\$10.20	\$10.20	\$9.30	\$8.10		\$11.20	\$16.70
Hazeldene	Full	\$12.40	\$12.40	\$12.40	\$12.40	\$8.80		\$29.80	\$36.40	\$36.40
	Conc.	\$6.20	\$6.20	\$6.20	\$6.20	\$4.40		\$14.90	\$18.20	\$18.20
Marong Hotel	Full	\$12.40	\$12.40	\$12.40	\$8.80		\$15.60	\$33.40	\$36.40	\$36.40
	Conc.	\$6.20	\$6.20	\$6.20	\$4.40		\$7.80	\$16.70	\$18.20	\$18.20
Marist College	Full	\$8.80	\$8.80	\$8.80		\$15.60	\$22.40	\$36.40	\$36.40	\$36.40
	Conc.	\$4.40	\$4.40	\$4.40		\$7.80	\$11.20	\$18.20	\$18.20	\$18.20
BSSC – Park Rd	Full	\$8.80	\$8.80		\$15.60	\$22.40	\$22.40	\$36.40	\$36.40	\$36.40
	Conc.	\$4.40	\$4.40		\$7.80	\$11.20	\$11.20	\$18.20	\$18.20	\$18.20
Bendigo Station (Bay 11)	Full	\$8.80		\$15.60	\$15.60	\$22.40	\$22.40	\$36.40	\$36.40	\$36.40
	Conc.	\$4.40		\$7.80	\$7.80	\$11.20	\$11.20	\$18.20	\$18.20	\$18.20
La Trobe University (Sharon St – Bendigo)	Full		\$15.60	\$15.60	\$15.60	\$22.40	\$22.40	\$36.40	\$36.40	\$36.40
	Conc.		\$7.80	\$7.80	\$7.80	\$11.20	\$11.20	\$18.20	\$18.20	\$18.20
Return fare										

Maryborough to Bendigo via Dunolly continued

		La Trobe University (Sharon St) - Bendigo	Bendigo Station (Bay 11)	BSSC – Park Rd	Marist College	Marong Hotel	Hazeldene	Laanecoorie	Dunolly	Maryborough Station
<b>Weekly</b>										
Maryborough Station	Full	\$169.00	\$169.00	\$169.00	\$169.00	\$169.00	\$169.00	\$152.40	\$120.40	
	Conc.	\$84.50	\$84.50	\$84.50	\$84.50	\$84.50	\$84.50	\$76.20	\$60.20	
Dunolly	Full	\$169.00	\$169.00	\$169.00	\$169.00	\$169.00	\$169.00	\$104.60		\$1,295.60
	Conc.	\$84.50	\$84.50	\$84.50	\$84.50	\$84.50	\$84.50	\$52.30		\$647.80
Laanecoorie	Full	\$169.00	\$164.40	\$164.40	\$164.40	\$148.40	\$132.80		\$1,122.40	\$1,641.20
	Conc.	\$84.50	\$82.20	\$82.20	\$82.20	\$74.20	\$66.40		\$561.20	\$820.60
Hazeldene	Full	\$104.60	\$104.60	\$104.60	\$104.60	\$72.60		\$1,467.60	\$1,814.40	\$1,814.40
	Conc.	\$52.30	\$52.30	\$52.30	\$52.30	\$36.30		\$733.80	\$907.20	\$907.20
Marong Hotel	Full	\$104.60	\$104.60	\$104.60	\$72.60		\$776.80	\$1,641.20	\$1,814.40	\$1,814.50
	Conc.	\$52.30	\$52.30	\$52.30	\$36.30		\$388.40	\$792.10	\$907.20	\$875.70
Marist College	Full	\$72.60	\$72.60	\$72.60		\$776.80	\$1,122.40	\$1,814.40	\$1,814.40	\$1,814.40
	Conc.	\$36.30	\$36.30	\$36.30		\$388.40	\$561.20	\$907.20	\$907.20	\$907.20
BSSC – Park Rd	Full	\$72.60	\$72.60		\$776.80	\$1,122.40	\$1,122.40	\$1,814.40	\$1,814.40	\$1,814.40
	Conc.	\$36.30	\$36.30		\$388.40	\$561.20	\$561.20	\$907.20	\$907.20	\$907.20
Bendigo Station (Bay 11)	Full	\$72.60		\$776.80	\$776.80	\$1,122.40	\$1,122.40	\$1,814.40	\$1,814.40	\$1,814.40
	Conc.	\$36.30		\$374.90	\$388.40	\$561.20	\$561.20	\$907.20	\$907.20	\$907.20
La Trobe University (Sharon St) – Bendigo	Full		\$776.80	\$776.80	\$776.80	\$1,122.40	\$1,122.40	\$1,814.40	\$1,814.40	\$1,814.40
	Conc.		\$388.40	\$388.40	\$388.40	\$561.20	\$561.20	\$907.20	\$907.20	\$907.20
<b>Term</b>										

Maryborough to Bendigo via Dunolly continued

		La Trobe University (Sharon St) - Bendigo	Bendigo Station (Bay 11)	BSSC – Park Rd	Marist College	Marong Hotel	Hazeldene	Laanecoorie	Dunolly	Maryborough Station
		Year								
Maryborough Station	Full	\$6,597.80	\$6,597.80	\$6,597.80	\$6,597.80	\$6,597.80	\$6,597.80	\$5,967.60	\$4,711.40	
	Conc.	\$3,298.90	\$3,298.90	\$3,298.90	\$3,298.90	\$3,298.90	\$3,298.90	\$2,983.80	\$2,355.70	
Dunolly	Full	\$6,597.80	\$6,597.80	\$6,597.80	\$6,597.80	\$6,597.80	\$6,597.80	\$4,080.80		
	Conc.	\$3,298.90	\$3,298.90	\$3,298.90	\$3,298.90	\$3,298.90	\$3,298.90	\$2,040.40		
Laanecoorie	Full	\$6,597.80	\$6,597.80	\$6,597.80	\$6,597.80	\$5,967.60	\$5,336.60			
	Conc.	\$3,298.90	\$3,298.90	\$3,298.90	\$3,298.90	\$2,983.80	\$2,668.30			
Hazeldene	Full	\$4,080.80	\$4,080.80	\$4,080.80	\$4,080.80	\$2,824.80				
	Conc.	\$2,040.40	\$2,040.40	\$2,040.40	\$2,040.40	\$1,412.40				
Marong Hotel	Full	\$4,080.80	\$4,080.80	\$4,080.80	\$2,824.80					
	Conc.	\$2,040.40	\$2,040.40	\$2,040.40	\$1,412.40					
Marist College	Full	\$2,824.80	\$2,824.80	\$2,824.80						
	Conc.	\$1,412.40	\$1,412.40	\$1,412.40						
BSSC – Park Rd	Full	\$2,824.80	\$2,824.80							
	Conc.	\$1,412.40	\$1,412.40							
Bendigo Station (Bay 11)	Full	\$2,824.80								
	Conc.	\$1,412.40								
La Trobe University (Sharon St) – Bendigo	Full									
	Conc.									

**Melton – Ballarat (school service)**  
 (includes Greendale – Ballarat school service)

		Ballarat	Blackwood	Greenvale	Myrnong	Bacchus Marsh (Zone 2)	Melton (Zone 2)
		Single					
Melton (Zone 2)	Full	\$33.60					
	Conc.	\$16.80					
Bacchus Marsh (Zone 2)	Full	\$28.40					
	Conc.	\$14.20					
Myrnong	Full	\$26.80					
	Conc.	\$13.40					
Greenvale	Full	\$28.40					
	Conc.	\$14.20					
Blackwood	Full	\$33.60					
	Conc.	\$16.80					
Ballarat	Full		\$67.40	\$56.80	\$53.40	\$56.80	\$67.40
	Conc.		\$33.70	\$28.40	\$26.70	\$28.40	\$33.70
Return fare							

## Stawell – Ararat (school service)

		Ararat		Stawell	
		Single			
Stawell	Full	\$6.40			
	Conc.	\$3.20			
Ararat	Full			\$13.00	
	Conc.			\$6.50	
Return fare					

## Stawell – Ballarat

		Ballarat		Beaufort		Buangor		Ararat		Great Western		Stawell	
		Single											
Stawell	Full	\$30.20	\$16.80	\$12.60	\$6.40	\$4.20							
	Conc.	\$15.10	\$8.40	\$6.30	\$3.20	\$2.10							
Great Western	Full	\$27.20	\$14.80	\$9.60	\$6.40						\$8.00		
	Conc.	\$13.60	\$7.40	\$4.80	\$3.20						\$4.00		
Ararat	Full	\$22.40	\$9.60	\$6.40					\$13.00	\$13.00			
	Conc.	\$11.20	\$4.80	\$3.20					\$6.50	\$6.50			
Buangor	Full	\$14.80	\$6.40			\$13.00	\$19.20	\$25.00					
	Conc.	\$7.40	\$3.20			\$6.50	\$9.60	\$12.50					
Beaufort	Full	\$9.60		\$13.00	\$19.20	\$29.40	\$33.60						
	Conc.	\$4.80		\$6.50	\$9.60	\$14.70	\$16.80						
Ballarat	Full		\$19.20	\$29.40	\$45.00	\$54.20	\$60.60						
	Conc.		\$9.60	\$14.70	\$22.50	\$27.10	\$30.30						
Return fare													

## Stawell - Pomonal - Halls Gap

	Pomonal	Halls Gap	Ararat	Halls Gap (via Pomonal)	Stawell
<b>Morning route</b>	<b>Single</b>				
Stawell	Full	\$10.80	\$5.80	\$5.80	\$10.80
	Conc.	\$5.40	\$2.90	\$2.90	\$5.40
Halls Gap (via Pomonal)	Full				\$21.60
	Conc.				\$10.80
Ararat	Full				\$11.80
	Conc.				\$5.90
Halls Gap	Full				\$11.80
	Conc.				\$5.90
Pomonal	Full				\$21.60
	Conc.				\$10.80
<b>Return fare</b>					
	Stawell	Pomonal	Halls Gap	Halls Gap (via Pomonal)	Ararat
<b>Afternoon route</b>	<b>Single</b>				
Ararat	Full	\$5.80	\$10.80		\$16.80
	Conc.	\$2.90	\$5.40		\$8.40
Pomonal	Full			\$3.00	
	Conc.			\$1.50	
Halls Gap (via Pomonal)	Full				\$33.60
	Conc.				\$16.80
Halls Gap	Full				\$5.80
	Conc.				\$2.90
Pomonal	Full				\$21.60
	Conc.				\$10.80
Stawell	Full				\$11.80
	Conc.				\$5.90
<b>Return fare</b>					

# Loddon Mallee (north) fare tables

**Please note:** Customers that are not entitled to free travel should always pay a fare, even if travelling only a single stop. When a customer travels between non-listed stops within the same town, a single zone fare is charged (\$3.00 for full fare and \$1.50 for concession). Due to the large number of stops within Victoria, only major stops are listed in fare tables.

## Echuca – Barmah

		Barmah	Cummeragunja	Moama	Echuca
		Single fares			
Echuca	Full	\$4.60	\$4.60	\$4.60	
	Conc.	\$2.30	\$2.30	\$2.30	
Moama	Full	\$4.60	\$4.60		
	Conc.	\$2.30	\$2.30		
Cummeragunja	Full	\$4.60			
	Conc.	\$2.30			
Barmah	Full				
	Conc.				



[transport.vic.gov.au](http://transport.vic.gov.au)